FLORIDA PUBLIC SERVICE COMMISSION

PROGRESS ENERGY FLORIDA

DOCKET NO. 090079-EI

MINIMUM FILING REQUIREMENTS

SECTION C - NET OPERATING INCOME SCHEDULES

PROJECTED TEST YEAR 2010



Progress Energy Florida, Inc. Docket # 090079-El

Minimum Filing Requirements Section C - Net Operating Income Schedules

Projected Test Year 2010

Table of Contents

<u>Schedule</u>	Title	Page No.
C-1	Adjusted Jurisdictional Net Operating Income Calculation	1
C-2	Net Operating Income Adjustments	4
C-3	Jurisdictional Net Operating Income Adjustments	10
C-4	Jurisdictional Separation Factors - Net Operating Income	16
C-5	Operating Revenues Detail	64
C-6	Budgeted Versus Actual Operating Income and Expenses	66
C-7	Operation and Maintenance Expenses - Test Year	73
C-8	Detail of Changes in Expenses	74
C-9	Five Year Analysis - Change in Cost	76
C-10	Detail of Rate Case Expenses for Outside Consultants	77
C-11	Uncollectible Accounts	78
C-12	Administrative Expenses	79
C-13	Miscellaneous General Expenses	81
C-14	Advertising Expenses	83
C-15	Industry Association Dues	86
C-16	Outside Professional Services	89
C-17	Pension Cost	90
C-18	Lobbying, Other Political Expenses and Civic / Charitable Contributions	92
C-19	Amortization / Recovery Schedule - 12 Months	93
C-20	Taxes Other Than Income Taxes	96
C-21	Revenue Taxes	99
C-22	State and Federal Income Tax Calculation	100
C-23	Interest in Tax Expense Calculation	107
C-24	Parent(s) Debt Information	108
C-25	Deferred Tax Adjustment	110

Progress Energy Florida, Inc. Docket # 090079-EI

Minimum Filing Requirements Section C - Net Operating Income Schedules Projected Test Year 2010

Table of Contents

<u>Scneauie</u>	<u> </u>	Page No.
C-26	Income Tax Returns	111
C-27	Consolidated Tax Information	112
C-28	Miscellaneous Tax Information	113
C-29	Gains and Losses on Disposition of Plant or Property	114
C-30	Transactions with Affiliated Companies	115
C-31	Affiliated Company Relationships	117
C-32	Non-Utility Operations Utilizing Utility Assets	135
C-33	Performance Indices	136
C-34	Statistical Information	137
C-35	Payroll and Fringe Benefit Increases Compared to CPI	138
C-36	Non-Fuel Operation and Maintenance Expense Compared to CPI	140
C-37	O & M Benchmark Comparison by Function	141
C-38	O & M Adjustments by Function	143
C-39	Benchmark Year Recoverable O & M Expenses by Function	145
C-40	O & M Compound Multiplier Calculation	147
C-41	O & M Benchmark Variance by Function	148
C-42	Hedging Costs	166
C-43	Security Costs	167
C-44	Revenue Expansion Factor	168

	 	_	
SCH	111		r 1

ADJUSTED JURISDICTIONAL NET OPERATING INCOME CALCULATION

Page 1 of 3

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC.	Explanation:		ear, the prior ye	risdictional net operating income ear and the most recent	Type of data shown	Projected Test Year Ended Prior Year Ended	ed 12/31/201 12/31/200	
Docket No. 090079-EI		,	(Thousands)		-	Historical Year Ended Witness: Toomey / Slusser	12/31/2008	
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	
Line	Total	Non-	Total		Juris.	Juris.	Adjusted	
No.	Company Per Books	Electric Utility	Electric (A) - (B)	Jurisdictional Factor (1)	Amount (C) • (D)	Adjustments (Sched C-2)	Juris. Amt (E) + (F)	
1		-,						
2 Operating Revenues:								
3 Sales of Electric Energy	5,535,104		5,535,104	various	5,325,714	(3,937,997)	1,387,716	
4 Other Operating Revenues	231,509		231,509	various	130,202	<u> </u>	130,202	
5								
6 Total Operating Revenues	5,766,614	•	5,766,614		5,455,915	(3,937,997)	1,517,918	
7								
8 Operating Expenses:								
9 Fuel and Net Interchange	3,199,918		3,199,918	various	3,156,366	(3,148,241)	8,125	
10 Other Operation and Maintenance Expense	972,634		972,634	various	868,922	(155,551)	713,371	
11 Depreciation and Amortization	609,454		609,454	various	419,156	(61,287)	357,869	
12 Taxes Other than Income	386,357		386,357	various	368,054	(238,466)	129,587	
13 Current/Deferred Income Taxes - Federal and State	109,041		109,041	various	207,286	(162,796)	44,490	
14 Charge Equivalent to Investment Tax Credit	(1,755)	•	(1,755)		(1,547)		(1,547)	
15 (Gain)/Loss on Disposition of Utility Property	-		-		•	(2,523)	(2,523)	
16 (Gain)/Loss on Reacquired Bonds	-		-		-	-	•	
17 Regulatory Practices Reconciliation	-		-	_	-	<u> </u>		
18								
19 Total Operating Expenses	5,275,650	•	5,275,650		5,018,236	(3,768,864)	1,249,372	
20								
21				-				
22 Net Operating Income	490,964		490,964	<u>.</u>	437,679	(169,133)	268,546	
23								
24								

25 (1) Jurisdictional factor has been rounded to four places. 26

27

Supporting Schedules: C-2, C-4, C-6

Recap Schedules: A-1

DOCUMENT NUMBER-DATE 02437 MAR 208

FPSC-COMMISSION CLERK

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:			urisdictional net operating income rear and the most recent	Type of data shown:	Projected Test Year Ended	12/31/2010	
Company: PROGRESS ENERGY FLORIDA INC.		historical ye	аг.		2	Prior Year Ended	12/31/2009	
D 1 (A) 000070 FI			/		-	_ Historial Year Ended	12/31/2008	
Docket No. 090079-EI			(Thousands)			Witness: Toomey / Slusser		
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	
Line	Total	Non-	Total	, ,	Juris.	Juris.	Adjusted	
No.	Company	Electric	Electric	Jurisdictional	Amount	Adjustments	Juris. Amt	
	Per Books	Utility	(A) - (B)	Factor (1)	(C) * (D)	(Sched C-2)	(E) + (F)	
1			1 1 1 1 1			\	\ - / \\ /	
2 Operating Revenues:								
3 Sales of Electric Energy	5,359,294		5,359,294	various	5,145,990	(3,761,399)	1,384,591	
4 Other Operating Revenues	192,681		192,681	various	129,416		129,416	
5				-	· · · · · · · · · · · · · · · · · · ·		120,110	
6 Total Operating Revenues	5,551,975	-	5,551,975		5,275,406	(3,761,399)	1,514,007	
7					. ,	(-,,,	.,0,001	
8 Operating Expenses:								
9 Fuel and Net Interchange	3,172,972		3,172,972	various	3,151,905	(3,146,867)	5,038	
10 Other Operation and Maintenance Expense	870,692		870,692	various	794,451	(142,859)	651,592	
11 Depreciation and Amortization	494,182		494,182	various	285,989	(7,261)	278,729	
12 Taxes Other than Income	367,091		367,091	various	356,303		123,429	
13 Current/Deferred Income Taxes - Federal and State	155,057		155,057	various	212,606		104,357	
14 Charge Equivalent to Investment Tax Credit	(4,546)		(4,546)	1	(4,546)		(4,546)	
15 (Gain)/Loss on Disposition of Utility Property	· -				•	(2,630)	(2,630)	
16 (Gain)/Loss on Reacquired Bonds	-		-			-	(2,000)	
17 Regulatory Practices Reconciliation	-		-			<u>.</u>	-	
18				-				
19 Total Operating Expenses	5,055,447		5,055,447		4,796,707	(3,640,740)	1,155,967	
20					, ,	(0,0.10,1.10)	1,100,001	
21								
22 Net Operating Income	496,528	•	496,528	-	478,699	(120,659)	358,039	
23						(,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	000,000	
24								
25 (1) Jurisdictional factor has been rounded to four places	\$							

25 (1) 26 27

 \sim

Supporting Schedules: C-2, C-4, C-6

Recap Schedules: A-1

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC.	Explanation:		ear, the prior y	urisdictional net operating income ear and the most recent	_	Projected Test Year Ended Prior Year Ended	12/31/2010 12/31/2009	
Docket No. 090079-EI			(Thousands)		Δ	Historial Year Ended Witness: Toomey / Slusser	12/31/2008	
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	
Line	Total	Non-	Total		Juris.	Juris.	Adjusted	
No.	Company Per Books	Electric Utility	Electric (A) - (B)	Jurisdictional Factor (1)	Amount (C) * (D)	Adjustments (Sched C-2)	Juris. Amt	
1	rei books	Othey	(^/- (0)	1 80(0) (1)	(0) (0)	(Oched C-2)	(E) + (F)	
Operating Revenues:								
3 Sales of Electric Energy	4,549,980		4,549,980	various	4,358,011	(2,979,435)	1,378,576	
4 Other Operating Revenues	180,911		180,911	various	130,674	(=,0.0,100)	130,674	
5				-			,,,,,,,,	
6 Total Operating Revenues	4,730,891		4,730,891		4,488,685	(2,979,435)	1,509,250	
7	, - ,		• •		,,	(-,,,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
8 Operating Expenses:								
9 Fuel and Net Interchange	2,628,138		2,628,138	various	2,612,508	(2,605,339)	7,169	
10 Other Operation and Maintenance Expense	816,441		816,441	various	755,490	(178,815)	576,675	
11 Depreciation and Amortization	299,544		299,544	various	272,703	4,874	277,577	
12 Taxes Other than Income	309,269		309,269	various	300,115	(195,136)	104,979	
13 Current/Deferred Income Taxes - Federal and State	184,322		184,322	various	160,089	(1,144)	158,945	
14 Charge Equivalent to Investment Tax Credit	(5,940)		(5,940)		(5,460)	•	(5,460)	
15 (Gain)/Loss on Disposition of Utility Property	-		-		(7,788)	5,667	(2,120)	
16 (Gain)/Loss on Reacquired Bonds	-		-			-	-	
17 Regulatory Practices Reconciliation	<u>-</u>			_			-	
18								
19 Total Operating Expenses	4,231,774	•	4,231,774		4,087,656	(2,969,892)	1,117,764	
20								
21				_				
22 Net Operating Income	499,117	•	499,117	_	401,028	(9,543)	391,486	
23								
24								
25 (1) Jurisdictional factor has been rounded to four place	es.							

Supporting Schedules: C-2, C-4, C-6

27

Recap Schedules: A-1

ω

FLORIDA PUBLIC SERVICE COMMISSION

Explanation: Provide a schedule of net operating income adjustments for the

Type of data shown:

Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-EI		test year, the prior year and the most recent historical year. Provide the details of all adjustments on Schedule C-3. (Thousands)									 X Projected Test Year Ended Prior Year Ended Historical Year Ended Witness: Toomey / Slusser 				
		(1)	Adjustments (1) (2) (3) (4) (5) (6) (7) (8) (9) (10) (11)												
Line No.	Juris. Amt Sched. C-1 Col. (E)	Recoverable Fuel	Recoverable ECCR	Recoverable ECRC	Recoverable ARO	Recoverable SCRS	Recoverable Capacity/ NCR	Corporate Aircraft	Franchise & Gross Rcpts Tax	Gain/Loss on Sale of Plant	Promotional Advertising	Interest on Tax Defiiency	Misc Interest Expense		
Operating Revenues: Sales of Electric Energy Other Operating Revenues	5,325,714 130,202	(2,833,296)	(89,334)	(234,562)		-	(544,777)		(236,041)						
5 6 Total Operating Revenues	5,455,915	(2,833,296)	(89,334)	(234,562)	-	•	(544,777)	•	(236,041)	-	•	•	•		
7 8 Operating Expenses: 9 Fuel and Net Interchange 10 Other Operation and Maintenance Expense 11 Depreciation and Amortization 12 Taxes Other than Income	3,156,366 868,922 419,156 368,054	(2,823,483) - (590) (1,800)	(84,428) (1,484) (64)	(63,370) (59,213) (169)		-	(324,759) (4,925) (392)	(3,126)	(236,041)		(3,388)	2,351	-		
13 Current/Def Income Taxes - Fed and State 14 Charge Equivalent to Investment Tax Credit 15 (Gain)/Loss on Disposition of Utility Property 16 (Gain)/Loss on Reacquired Bonds 17 Regulatory Practices Reconciliation	207,286 (1,547) - -	(2,864)		(43,131)	-	-	(82,821)	1,206	· - ·	973 (2,523)	1,307	(907)	-		
18 19 Total Operating Expenses 20	5,018,236	(2,828,736)	(87,272)	(165,883)	-	•	(412,897)	(1,920)	(236,041)	(1,550)	(2,081)	1,444			
21 22 Net Operating Income	437,679	(4,560)	(2,062)	(68,680)	•	-	(131,881)	1,920		1,550	2,081	(1,444)			
23 24 25 26 27															

									90 - 0.0
FLORIDA PUBLIC SERVICE COMMISSION						e of net operating income adjustments for the	е Туре	of data shown:	
DESCRIPTION OF THE POWER OF THE						year and the most recent historical year.	V Dt-		40040040
Company: PROGRESS ENERGY FLORIDA INC.					Provide the details	s of all adjustments on Schedule C-3.		cted Test Year Ended Year Ended	12/31/2010 12/31/2009
Docket No. 090079-EI						(Thousands)		rical Year ended	12/31/2008
						,	Witne	ess: Toomey / Slusser	
					Adjustr	nents			
	(13)	(14)	(15)	(16)	(17)	(18)			
ine	Industry	Economic	Rate	Retail	Income Tax	Def Tax		Total	Adjusted
No.	Association	Development	Simulation	Rate Case	Interest	AFUDC		Adjustments	Jurisdictiona
	Dues			Expenses	Syncronization	Debt			NOI
1 2 Operating Revenues:									
3 Sales of Electric Energy			14					(3,937,997)	1,387,71
4 Other Operating Revenues			• •					(5,551,551)	130,20
5									100,20
6 Total Operating Revenues	-	•	14	•	-	•		• (3,937,997)	1,517,91
7									
8 Operating Expenses:									
9 Fuel and Net Interchange	(20)	(36)		4 204				(3,148,241)	
10 Other Operation and Maintenance Expense 11 Depreciation and Amortization	(22)	(36)		1,394				(155,551) (61,287)	
12 Taxes Other than Income								(238,466)	
13 Current/Def Income Taxes - Fed and State	9	14	5	(538)	(34,732)	(22)		(162,796)	
14 Charge Equivalent to Investment Tax Credit	•		_	(/	(,,	(/		-	(1,54
15 (Gain)/Loss on Disposition of Utility Property								(2,523)	
16 (Gain)/Loss on Reacquired Bonds								· · ·	•
17 Regulatory Practices Reconciliation				<u> </u>				<u> </u>	
18	44	(00)		050	(0.4.720)	400 1		/a 700 00 //	
19 Total Operating Expenses	(14)	(22)	5	856	(34,732)	(22)		- (3,768,864)	1,249,37
20 21								······································	
22 Net Operating Income	14	22	9	(856)	34,732	22		(169,133)	268,54
23									
24								*	
25									
26									
27									

NET OPERATING INCOME ADJUSTMENTS

Page 3 of 6

FLORIDA PUBLIC SERVICE COMMISSION Explanation: Provide a schedule of net operating income adjustments for the test year, the prior year and the most recent historical year. Company: PROGRESS ENERGY FLORIDA INC. Provide the details of all adjustemnts on Schedule C-3.									the				12/31/2010 12/31/2009	
D	ocket No. 090079-EI												12/31/2008	
_			Adjustments											
1:	ne	Juris. Amt	(1) Recoerable	(2) Recoverable	(3)	(4) Recoverable	(5) Recoverable	(6) Recoverable	(7) Comparete	(8) Franchise &	(9)	(10)	(11)	(12)
N		Sched, C-1	Fuel	ECCR	ECRC	ARO	SCRS	Capacity/	Corporate Aircraft	Gross Ropts	Gain/Loss on Sale of	Promotional Advertising	Interest on Tax	Misc
IN	J.	Col. (E)	ruci	LOCK	LONG	ANO	SUNS	NCR	Alluall	Tax	Plant	Advertising	Defilency	Interest Expense
	1	(-)								Tux	Tidit	· · · · · · · · · · · · · · · · · · ·	Domoney	LAPERISE
	2 Operating Revenues:													
	3 Sales of Electric Energy	5,145,990	(2,837,417)	(78,161)	(83,350)		-	(531,837)		(230,634)				
	4 Other Operating Revenues	129,416												
	5													
	6 Total Operating Revenues	5,275,406	(2,837,417)	(78,161)	(83,350)	-	•	(531,837)	-	(230,634)	•	-	•	-
	7													
	8 Operating Expenses:													
	9 Fuel and Net Interchange	3,151,905	(2,805,611)					(341,256)						
	0 Other Operation and Maintenance Expense	794,451	-	(76,489)			-	(5,731)	(3,112)			(3,675)	1,023	1,690
	1 Depreciation and Amortization	285,989	(1,530)	(267)	(5,464)			(00.0)		(000.00.0)				
	2 Taxes Other than Income	356,303	(1,740)	(56)	(60)		-	(384)	4 004	(230,634)	4.045			
	3 Current/Def Income Taxes - Fed and State	212,606	(11,008)	(520)	(8,224)	-	-	(71,158)	1,201	-	1,015	1,418	(394)	(652)
	4 Charge Equivalent to Investment Tax Credit	(4,546)									(0.000)			
	5 (Gain)/Loss on Disposition of Utility Property 6 (Gain)/Loss on Reacquired Bonds	-									(2,630)			
	7 Regulatory Practices Reconciliation													
	8				<u>~~~~</u>									
	9 Total Operating Expenses	4,796,707	(2,819,889)	(77,333)	(70,255)		_	(418,529)	(1,912)	(230,634)	(1,616)	(2,257)	628	1,038
	0	1,100,101	(=,0.0,000)	(,555)	(, 0,200)			(110,020)	(1,012)	(200,004)	(1,010)	(2,237)	020	1,036
	- 1													
2	2 Net Operating Income	478,699	(17,528)	(829)	(13,095)		-	(113,308)	1,912	•	1,616	2,257	(628)	(1,038)
2	3	33											==	
	4													
2	5													
2	6													
	7													

NET OPERATING INCOME ADJUSTMENTS

Page 4 of 6

			•	test year, the prior	e of net operating income adjustments for the year and the most recent historical year.	**	Type of data shown: Projected Test Year Ended				
					of all adjustemnts on Schedule C-3. (Thousands)	X Prior Year Ende	Projected Test Year Ended X Prior Year Ended Historical Year ended Witness: Toomey / Slusser				
(13) Industry association Dues	(14) Economic Development	(15) Rate Simulation	(16) Rate Case Expenses	(17) Income Tax Interest Syncronization	(18) Def Tax AFUDC Debt		Total Adjustments	Adjusted Jurisdictional NOI			
		•					(3,761,399) -	1,384,591 129,416			
•	•	-	•	-	•		(3,761,399)	1,514,007			
(22)	(35)		-				(3,146,867) (142,859) (7,261)	5,038 651,592 278,729			
9	13	-		(19,925)	(23)		(232,874) (108,249) - (2,630)	123,429 104,357 (4,546) (2,630)			
(14)	(21)	•	•	(19,925)	(23)		(3,640,740)	1,155,967			
14	21	-		19,925	23		(120,659)	358,039			
	Industry ssociation Dues (22)	Industry ssociation Dues Economic Development (22) (35) 9 13 (14) (21)	Industry Economic Saciation Development Dues Simulation (22) (35) 9 13 (14) (21)		(13) (14) (15) (16) (17) Industry Economic Rate Rate Case Income Tax ssociation Development Simulation Expenses Interest Syncronization	(13)	Thousands X	Thousands Thou			

NET OPERATING INCOME ADJUSTMENTS

Page 5 of 6

	FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC.				Explanation:	test year, the	prior year and t	erating income a ne most recent h stemnts on Sche	nistorical year.	the		Type of data shown: Projected Test Year Ended 12/3				
C	Oocket No. 090079-EI				(Thousands)								Prior Year Ended 1 X Historical Year ended 1 Witness: Toomey / Slusser			
_			Adjustments								, ,					
			(1)	(2)	(3)	(4)	(5)	(6)	(7)	(8)	(9)	(10)	(11)	(12)		
	ine No.	Juris. Amt Sched. C-1 Col. (E)	Recoerable Fuel	Recoverable ECCR	Recoverable ECRC	Recoverable ARO	Recoverable SCRS	Recoverable Capacity/ NCR	Corporate Aircraft	Franchise & Gross Rcpts Tax	Gain/Loss on Sale of Plant	Promotional Advertising	Interest on Tax Defiiency	Misc Interest Expense		
	1								•							
	Operating Revenues: Sales of Electric Energy	4.358.011	(2,608,704)	(69,660)	(41,206)		(65,766)			(402 240)						
	4 Other Operating Revenues	130,674	(2,000,704)	(05,000)	(41,200)		(03,700)	•		(193,348)						
-	5	100,011														
	6 Total Operating Revenues	4,488,685	(2,608,704)	(69,660)	(41,206)	•	(65,766)		-	(193,348)	•	•	•	•		
	7															
	8 Operating Expenses: 9 Fuel and Net Interchange	2,612,508	(2,605,339)													
	10 Other Operation and Maintenance Expense	755,490	(2,000,000)	(68,529)	(30,836)		(65,719)	(2,899)	(2,964)			(3,479)	(4,456)) 121		
	11 Depreciation and Amortization	272,703	-	(149)	29	(4)	(00,7.10)	5,728	(2,004)			(0,413)	(4,400)	121		
	12 Taxes Other than Income	300,115	(1,622)	(23)	(433)		(47)			(192,957)						
	13 Current/Def Income Taxes - Fed and State	160,089	(668)	(370)	(3,848)		•	(1,071)	1,143	(151)	818	1,342	1,719	(47		
	14 Charge Equivalent to Investment Tax Credit	(5,460)														
	15 (Gain)/Loss on Disposition of Utility Property	(7,788)									(2,120)	•				
	16 (Gain)/Loss on Reacquired Bonds															
	17 Regulatory Practices Reconciliation 18										·					
	19 Total Operating Expenses	4,087,656	(2,607,629)	(69,071)	(35,088)	(4)	(65,766)	1,705	(1,821)	(193,108)	(1,303)	(2,137)	(2,737)) 74		
	20	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	(-,,	(,,-,	(,,	(1)	(++,-++)	1,	(-,,	(100,100)	(1,000)	(2,107)	(2,101)	′ •		
:	21															
1	22 Net Operating Income	401,028	(1,075)	(589)	(6,119)	4	0	(1,705)	1,821	(240)	1,303	2,137	2,737	(74		
	23															
	24															
	25															
•	26															

Company: PROGRESS ENER	FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC.						or year and the me	g income adjustmer ost recent historical nts on Schedule C-3	year.	Type of data shown: Projected Test Year Ended Prior Year Ended			12/31/2010 12/31/2009	
Docket No. 090079-EI							(Thousands)			X	Historical Year Witness: Toom		12/31/2008	
Line No.		(13) Industry Association Dues	(14) Economic Development	(15) Sebring Revenue and Depreciation	(18) Income Tax Interest Syncronization	(19) Def Tax AFUDC Debt						Total Adjustments	Adjusted Jurisdictional NO!	
2 Operating Revenues: 3 Sales of Electric Energy 4 Other Operating Revenues	i			(750)			***					(2,979,435) -	1,378,576 130,674	
6 Total Operating Revenue 7 8 Operating Expenses: 9 Fuel and Net Interchange	s	٠	٠	(750)	•	•			-	•		(2,979,435)		
10 Other Operation and Maint 11 Depreciation and Amortiza 12 Taxes Other than Income	tion	(21)	(33)	(730)								(2,605,339) (178,815) 4,874 (195,136)	576,675 277,577 104,979	
13 Current/Def Income Taxes 14 Charge Equivalent to Inves 15 (Gain)/Loss on Disposition 16 (Gain)/Loss on Reacquired 17 Regulatory Practices Reco 18	stment Tax Credit of Utility Property Bonds	8	13	(7)	7,788	(25)				***************************************		(1,144) - 5,667 - -	158,945 (5,460) (2,120)	
19 Total Operating Expense 20	s	(13)	(20)	(738)	7,788	(25)	•	•	•	•	•	(2,969,892)	1,117,764	
21 22 Net Operating Income 23 24 25 26 27		13	20	(12)	(7,788)) 25	•	•	-		•	(9,543)	391,486	

FLO	RIDA PUBLIC SERVICE COMMISSION	Explanation: List and explain all proposed adjustmen for the test year, the prior year and the n				
Com	pany: PROGRESS ENERGY FLORIDA INC.	for the test year, the prior year and the h	nost recent instelled year.	X	Projected Test Year Ended Prior Year Ended	12/31/2010 12/31/2009
Dock	et No. 090079-EI	(Thousands)		-	Historical Year Ended Witness: Toomey / Slusser	12/31/2008
	(A)	(B)	(C)	(D) Juris.	(E)	· · · · · ·
Line		Reason for Adjustment or Ommission	Total	Separation	Jurisdictional	
No.	Adjustment	(Provide Supporting Schedules)	Adjustment	Factor (1)	Adjustment	
1						
2	Recoverable Fuel	(1)	(4,560)	1.00000	(4,560)	
3	Recoverable ECCR	(2)	(2,062)	1.00000	(2,062)	
4	Recoverable ECRC	(3)	(68,680)		(68,680)	
5	Recoverable ARO	(4)	•	1.00000	-	
6	Recoverable SCRS	(5)		1.00000	•	
7	Recoverable Capacity/NCR	(6)	(131,881)	1.00000	(131,881)	
8	Corporate Aircraft	(7)	2,190	0.87692	1,921	
1 0 9	Franchise & Gross Rcpts Tax	(8)	0	1.00000	-	
10	Gain/Loss on Sale of Plant	(9)	1,758	0.88160	1,549	
11	Promotional Advertising	(10)	2,373	0.87692	2,081	
12	Interest on Tax Deficiency	(11)	(1,638)	0.88160	(1,444)	
13	Misc Interest Expense	(12)	0	0.91288	•	
14	Industry Association Dues	(13)	15	0.88160	13	
15	Economic Development	(14)	22	1.00000	22	
16	Rate Simulation	(15)	9	1.00000	9	
17	Retail Rate Case Expenses	(16)	(856)	1.00000	(856)	
18	Income Tax Interest Synchronization	(17)	34,732	1.00000	34,732	
19	Deferred Tax AFUDC Debt	(18)	25	0.88160	22	
20						
21						
22						
23						
24						
25						
26						
27	TOTAL ADJUSTMENTS		(168,551)		(169,132)	
Supp	orting Schedules:				Recap Schedules: C-2	

FLORIDA PUBLIC SERVICE COMMISSION		IC SERVICE COMMISSION	Explanation: List and explain all proposed adjustments to net operating income Type of data shown:			
Company: PROGRESS ENERGY FLORIDA INC.			for the test year, the prior year and the most recent historical year. NERGY FLORIDA INC. X Projected Test Year En			
			_ Prior Year Ended	12/31/2010 12/31/2009		
Docket N	No 0900	179-FI	_ Historical Year Ended	12/31/200		
Dockeri	10. 0000	77 O-C1	Witness: Toomey / Slusser	12/3 1/2000		
	·	(A)	(B)			
Line			Reason for Adjustment or Omission			
No.		Adjustment	(Provide Supporting Schedules)			
1				· · · · · · · · · · · · · · · · · · ·		
2	(1)	Recoverable Fuel	To exclude Fuel Cost Recovery Clause - not proposed as a component of base rates			
3	(2)	Recoverable ECCR	To exclude Energy Conservation Cost Recovery Clause - not proposed as a component of base reates			
4	(3)	Recoverable ECRC	To exclude Environmental Cost Recovery Clause - not proposed as a component of base rates			
5	(4)	Recoverable ARO	To exclude Asset Retirement Obligations - not proposed as a component of base rates			
6	(5)	Recoverable SCRS	To exclude Storm Cost Recovery Surcharge - not proposed as a component of base rates			
7	(6)	Recoverable Capacity/NCR	To exclude Purchased Power Cost Recovery and Nuclear Cost Recovery - not proposed as a component of base rates			
8	(7)	Corporate Aircraft	To exclude cost of corporate aircraft in order to comply with Commission guidelines			
9	(8)	Franchise & Gross Rcpts Tax	To exclude the revenues received from ratepayers and the taxes paid in order to comply with Commission guidelines			
10	(9)	Gain/Loss on Sale of Plant	To include the amortization of gains/losses on sale of plant in service in order to comply with Commission guidelines			
11	(10)	Promotional Advertising	To exclude the cost of promotional advertising in order to comply with Commission guidelines			
12	(11)	Interest on Tax Deficiency	To include interest paid to and received from the I.R.S. on tax deficienies and settlements in order to comply with Commission	on guidelines		
13	(12)	Misc Interest Expense	To include miscellaneous interest expense recorded below the line in order to comply with Commission guidelines			
14	(13)	Industry Association Dues	To exclude certain industry association dues in order to comply with Commission guidelines			
15	(14)	Economic Development	To exclude 5% of economic development expenses in order to comply with Commission guidelines			
16	(15)	Rate Simulation	To adjust budget revenues to calculation using detailed billing determinants and revenue development per the MFRs E-13a-	d		
17	(16)	Retail Rate Case Expenses	To include the cost of this rate case proceeding to be amortized over a two year period			
18	(17)	Income Tax Interest Synchronization	To adjust income tax exp to reflect interest exp inherent in allowed rate base as opposed to gross interest exp reflected in pe	er books tax exp.		
19	(18)	Deferred Tax AFUDC Debt	To exclude deferred tax on AFUDC debt in order to comply with Commission guidelines			
20						
21						
22						
23						
24						
25						
26						
Supporti	na Sche	edules:	Recap Schedules: C-2			

FLOF	RIDA PUBLIC SERVICE COMMISSION	Explanation: List and explain all proposed adjustments to net operating income for the test year, the prior year and the most recent historical year.			Type of data shown:		
Com	pany: PROGRESS ENERGY FLORIDA INC.		•		Projected Test Year Ended	12/31/2010	
Dock	et No. 090079-EI	(Thousands)			Prior Year Ended Historical Year ended Witness: Toomey / Slusser	12/31/2009 12/31/2008	
	(A)	(B)	(C)	(D) Juris.	(E)		
Line		Reason for Adjustment or Ommission	Total	Separation	Jurisdictional		
No.	Adjustment	(Provide Supporting Schedules)	Adjustment	Factor (1)	Adjustment		
1							
2	Recoverable Fuel	(1)	(17,528)	1.00000	(17,528)		
3	Recoverable ECCR	(2)	(829)	1.00000	(829)		
4	Recoverable ECRC	(3)	(13,095)	1.00000	(13,095)		
5	Recoverable ARO	(4)	0	1.00000	-		
6	Recoverable SCRS	(5)	0	1.00000	-		
7	Recoverable Capacity/NCR	(6)	(113,308)	1.00000	(113,308)		
8	Corporate Aircraft	(7)	2,085	0.91670	1,912		
ડે 9	Franchise & Gross Rcpts Tax	(8)	0	1.00000	•		
10	Gain/Loss on Sale of Plant	(9)	1,758	0.91926	1,616		
11	Promotional Advertising	(10)	2,463	0.91670	2,258		
12	Interest on Tax Deficiency	(11)	(684)	0.91926	(628)		
13	Misc Interest Expense	(12)	(1,130)	0.91926	(1,039)		
14	Industry Association Dues	(13)	15	0.91670	14		
15	Economic Development	(14)	22	1.00000	22		
16	Rate Simulation	(15)	0	1.00000	-		
17	Rate Case Expenses	(16)	0	1.00000	-		
18	Income Tax Interest Synchronization	(17)	19,925	1.00000	19,925		
19 20	Deferred Tax AFUDC Debt	(18)	25	0.91926	23		
21							
22							
23							
24							
25							
26							
	OTAL ADJUSTMENTS		(120,282)		(120,659)		
Supp	orting Schedules:			· · · · · · · · · · · · · · · · · · ·	Recap Schedules: C-2		

FLORIDA PUBLIC SERVICE COMMISSION			Explanation: List and explain all proposed adjustments to net operating income Type of data shown:
Company: PROGRESS ENERGY FLORIDA INC.			for the test year, the prior year and the most recent historical year. Projected Test Year Ended 12/31/2010
			X Prior Year Ended 12/31/2009
Docket	No. 0900)79-EI	Historical Year ended 12/31/2008
			Witness: Toomey / Slusser
· - · - · · ·	· · · · · · · · · · · · · · · · · · ·	(A)	(B)
Line			Reason for Adjustment or Omission
No.		Adjustment	(Provide Supporting Schedules)
1			
2	(1)	Recoverable Fuel	To exclude Fuel Cost Recovery Clause - not proposed as a component of base rates
3	(2)	Recoverable ECCR	To exclude Energy Conservation Cost Recovery Clause - not proposed as a component of base reates
4	(3)	Recoverable ECRC	To exclude Environmental Cost Recovery Clause - not proposed as a component of base rates
5	(4)	Recoverable ARO	To exclude Asset Retirement Obligations - not proposed as a component of base rates
6	(5)	Recoverable SCRS	To exclude Storm Cost Recovery Surcharge - not proposed as a component of base rates
7	(6)	Recoverable Capacity/NCR	To exclude Purchased Power Cost Recovery and Nuclear Cost Recovery - not proposed as a component of base rates
8	(7)	Corporate Aircraft	To exclude cost of corporate aircraft in order to comply with Commission guidelines
9	(8)	Franchise & Gross Rcpts Tax	To exclude the revenues received from ratepayers and the taxes paid in order to comply with Commission guidelines
10	(9)	Gain/Loss on Sale of Plant	To include the amortization of gains/losses on sale of plant in service in order to comply with Commission guidelines
11	(10)	Promotional Advertising	To exclude the cost of promotional advertising in order to comply with Commission guidelines
12	(11)	Interest on Tax Deficiency	To include interest paid to and received from the I.R.S. on tax deficienies and settlements in order to comply with Commission guidelines
13	(12)	Misc Interest Expense	To include miscellaneous interest expense recorded below the line in order to comply with Commission guidelines
14	(13)	Industry Association Dues	To exclude certain industry association dues in order to comply with Commission guidelines
15	(14)	Economic Development	To exclude 5% of economic development expenses in order to comply with Commission guidelines
16	(15)	Rate Simulation	To adjust budget revenues to calculation using detailed billing determinants and revenue development per the MFRs E-13a-d
17	(16)	Rate Case Expenses	To include the cost of this rate case proceeding to be amortized over a two year period
18	(17)	Income Tax Interest Synchronization	To adjust income tax exp to reflect interest exp inherent in allowed rate base as opposed to gross interest exp reflected in per books tax exp
19	(18)	Deferred Tax AFUDC Debt	To exclude deferred tax on AFUDC debt in order to comply with Commission guidelines
20	, ,		
21			
22			
23			
24			
25			
26			
27			
C	ting Sche	adulas:	Recap Schedules: C-2

FLO	RIDA PUBLIC SERVICE COMMISSION	Explanation: List and explain all proposed adjustments for the test year, the prior year and the mo		Type of data shown:		
Com	pany: PROGRESS ENERGY FLORIDA INC.	(Thousands)			_ Projected Test Year Ende	
Dock	et No. 090079-EI				Prior Year Ended Historical Year ended Witness: Toomey / Slusser	12/31/2010 12/31/2009 12/31/2008
	(A)	(B)	(C)	(D) Juris.	(E)	
Line		Reason for Adjustment or Ommission	Total	Separation	Jurisdictional	
No.	Adjustment	(Provide Supporting Schedules)	Adjustment	Factor (1)	Adjustment	
1						
2	Recoverable Fuel	(1)	(1,075)	1.00000	(1,075)	
3	Recoverable ECCR	(2)	(589)	1.00000	(589)	
4 5	Recoverable ECRC Recoverable ARO	(3)	(6,119)	1.00000	(6,119)	
6	Recoverable SCRS	(4)	4	1.00000	4	
7	Recoverable Capacity/NCR	(5)	(1.705)	1.00000 1.00000	0 (4.705)	
8	Corporate Aircraft	(6) (7)	(1,705) 1,987	0.91670	(1,705)	
	Franchise & Gross Rcpts Tax	(8)	(240)	1.00000	1,821 (240)	
9 10	Gain/Loss on Sale of Plant	(9)	1,423	0.91537	1,302	
11	Promotional Advertising	(10)	2,331	0.91670	2,137	
12	Interest on Tax Deficiency	(11)	2,978	0.91926	2,737	
13	Misc Interest Expense	(12)	(1,130)	Various	(74)	
14	Industry Association Dues	(13)	14	0.91670	13	
15	Economic Development	(14)	20	1.00000	20	
16	Sebring Revenue & Deprec	(15)	(12)	1.00000	(12)	
17	Income Tax Interest Synchronization	(17)	(35,087)	0.22196	(7,788)	
18	Deferred Tax AFUDC Debt	(16)	27	0.91926	25	
19						
20					•	
21					-	
22					•	
23					•	
24 25					•	
25 26					•	
	OTAL ADJUSTMENTS		(37,174)		(9,543)	
Supp	orting Schedules:				Recap Schedules: C-2	

FLORIE	LORIDA PUBLIC SERVICE COMMISSION Explanation: List and explain all proposed adjustments to net operating income Type of data shown: for the test year, the prior year and the most recent historical year.				
Compa	nv: PRO	GRESS ENERGY FLORIDA INC.		Projected Test Year Ended 12/31/2010	
Compa	19.110	ONESS ENERGY FESTION ING.		Prior Year Ended 12/31/2009	
Docket	No. 0900	079-EI		Historical Year ended 12/31/2008	
		· · · - ·	<u>-</u>	Witness: Toomey / Slusser	
				·	
		(A)	(B)		
Line			Reason for Adjustment or Omission		
No.		Adjustment	(Provide Supporting Schedules)		
1					
2	(1)	Recoverable Fuel	To exclude Fuel Cost Recovery Clause - not proposed as a component of base rates		
3	(2)	Recoverable ECCR	To exclude Energy Conservation Cost Recovery Clause - not proposed as a component of base		
4	(3)	Recoverable ECRC	To exclude Environmental Cost Recovery Clause - not proposed as a component of base rate	S	
5	(4)	Recoverable ARO	To exclude Asset Retirement Obligations - not proposed as a component of base rates		
6	(5)	Recoverable SCRS	To exclude Storm Cost Recovery Surcharge - not proposed as a component of base rates		
7	(6)	Recoverable Capacity/NCR	To exclude Purchased Power Cost Recovery and Nuclear Cost Recovery - not proposed as a	component of base rates	
8	(7)	Corporate Aircraft	To exclude cost of corporate aircraft in order to comply with Commission guidelines		
9	(8)	Franchise & Gross Rcpts Tax	To exclude the revenues received from ratepayers and the taxes paid in order to comply with 0		
10	(9)	Gain/Loss on Sale of Plant	To include the amortization of gains/losses on sale of plant in service in order to comply with C	ommission guidelines	
11	(10)	Promotional Advertising	To exclude the cost of promotional advertising in order to comply with Commission guidelines		
12	(11)	Interest on Tax Deficiency	To include interest paid to and received from the I.R.S. on tax deficienies and settlements in or		
13	(12)	Misc Interest Expense	To include miscellaneous interest expense recorded below the line in order to comply with Cor	nmission guidelines	
14	(13)	Industry Association Dues	To exclude certain industry association dues in order to comply with Commission guidelines	_	
15	(14)	Economic Development	To exclude 5% of economic development expenses in order to comply with Commission guide		
16	(15)	Sebring Revenue & Deprec	To exclude revenues and depreciation expense associated with Sebring in order to comply with		
17	(17)	Income Tax Interest Synchronization	To adjust income tax exp to reflect interest exp inherent in allowed rate base as opposed to gr	oss interest exp reflected in per books tax exp.	
18	(16)	Deferred Tax AFUDC Debt	To exclude deferred tax on AFUDC debt in order to comply with Commission guidelines		
19					
20					
21					
22					
23					
24					
25					
26 27					
21					
Suppor	ting Sche	edules:		Recap Schedules: C-2	

Page 1 of 48

FLORIDA PUBLIC SERVICE COMMISSION	- Explanation:	Provide jurisdictional factors for net operating income for the	Type of data shown:
Company: PROGRESS ENERGY FLORIDA INC.		test year and the most recent historical year if the test year is projected.	X Projected Test Year Ended 12/31/2010 Prior Year Ended 12/31/2009
Docket No. 090079-EI	(Tho	usands)	Historial Test Year Ended 12/31/2008 Witness: Toomey / Slusser

			(A)	(B)	(C)	
Line		Account	Total	FPSC	Jurisdictional	
No.	Account	Title	Company	Jurisdictional	Sep Factor	
1		OPERATING REVENUES				
2						
3		<u>Class-Retail</u>	1,623,744	1,623,744	1.00000	
4		Class-Wholesale	209,001	-	-	
5		Non-Class - Production Demand Related	92	80	0.86631	
6		Non-Class - Transmission Related	298	202	0.67629	
7		Adjustment- Franchise & Gross receipts Tax	(236,041)	(236,041)	1.00000	·
8		Adjustment- Revenue Rate Simulation	14	14	1.00000	
9		Adjustment-		-		
o 10		Total Sales of Electricity	1,597,107	1,387,998	0.86907	
11						
12		Other Operating Revenues				
13	4500001	Interest - Delig A/C & LPC - Rate Base Related	22,320	19,388	0.86863	
14	4510001	Service Charges - Dist Service Related	26,300	26,300	1.00000	
15			•			
16	4540001	Rent From Elec Prop - Retail Related	1,100	955	0.86863	
17	4540002	CR3 Participants - Production Demand	900	780	0.86631	
18	4540004	PT Holdings/Rev Sharing - Rate Base Related	1,478	1,284	0.86863	
19	4540005	Rent - Lighting - Retail Related	60,750	60,750	1.00000	
20	4540006	Rent -Non Lighting - Equipment Rental	7,050	7,050	1.00000	
21	4540007	Rent -Joint Use - Distribution Primary	11,655	11,611	0.99624	
22	4540008	Rent - Transmission - Trans Related	415	281	0.67629	
23	4560001	Other Electric Revenue - Distribution Primary	1,510	1,504	0.99624	
24		Other Electric Revenue - Wholesale	790	-	-	
25	456000T	Wheeling Revenue - Class Related	97,048	•	-	
26		Wheeling Revenue - Transmission Related	13	9	0.67629	
27	4560020	State Sales Tax Collected - Energy Non-Fuel Related	10	9	0.86863	
28		Total Other Operating Revenues	231,339	129,921	0.56160	
29						
30		TOTAL OPERATING REVENUES	1,828,446	1,517,918	0.83017	
31						

SCHEDULE C-4

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

Page 2 of 48

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-EI			Explanation: Provide jurisdictional factors for net operating income for test year and the most recent historical year if the test year is projected.			Type of data shown: X Projected Test Year Ended Prior Year Ended Historial Test Year Ended	12/31/2010 12/31/2009 12/31/2008
				(Thousands)		Witness: Toomey / Slusser	
			(A)	(B)	(C)		
ne	A	Account	Total	FPSC	Jurisdictional		
0.	Account	Title OPERATION & MAINTENANCE EXPENSES	Company	Jurisdictional	Sep Factor	<u> </u>	
	1 2	OPERATION & MAINTENANCE EXPENSES					
	3	PRODUCTION EXPENSES					
	4	PRODUCTION EXPENSES					
	5 5012000	Fuel - Non Recoverable					
	6	Non-Recoverable Energy	5,080	4,816	0.94789		
	7	Total Fuel - Non Recoverable	5,080	4.816	0.94789		
	8 500-50 7	Steam Generation-Operation	0,000	4,010	0.547.65		
	9	Base - Demand	23,200	20,523	0.88462		
	10	Intermediate - Demand	12,204	7,091	0.58105		
	11	Peaking - Demand	-		0.91520		
	12	Total Steam Generation - Operation	35,404	27,614	0.77998		
	13 510-514	Steam Generation - Maintenance	,	<u></u>	5		
	14	Base - Energy	42,659	40,436	0.94789		
	15	Intermediate - Energy	4,000	3,792	0.94789		
	16	Peaking - Energy	· -	·-	0.94789		
	17	Direct Assign - Tallahassee Buyback			-		
	18	Direct Assign Wholesale	12,160		-		
	19	Total Steam Generation - Maintenance	58,818	44,228	0.75193		
	20 5182300	Nuclear Fuel - Non-Recoverable					
	21	Non-Recoverable Energy	582	552	0.94789		
	22	Non-Recoverable Energy - Tallahassee Buyback	9	-	-		
	23	Direct Assign Retail - Energy	1,100	1,100	1.00000		
	24	Total Nuclear Fuel - Non-Recoverable	1,691	1,652	0.97699		
	25 517	Operations Supervision Engineering					
	26	Base - Demand	2,221	1,964	0.88462		
	27	Base - Demand - Tallahassee Buyback	33	-			
	28	Total Operations Supervision Engineering	2,253	1,964	0.87177		
	29 519	Coolant & Water					
	30	Base - Demand	4,659	4,121	0.88462		
	31	Base - Demand - Tallahassee Buyback	65	-			
	32	Total Coolant & Water	4,724	4,121	0.87237		
	33 520	Steam Expenses					
	34	Base - Demand	13,508	11,949	0.88462		
	35	Base - Demand - Tallahassee Buyback	174	-	<u> </u>		
	36	Total Steam Expenses	13,682	11,949	0.87335		
	37						

Page 3 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the	Type of data shown:
		test year and the most recent historical year if the test year	X Projected Test Year Ended 12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		is projected.	Prior Year Ended 12/31/2009
			Historical Test Year Ended 12/31/2008
Docket No. 090079-EI			Witness: Toomey / Slusser
		(Thousands)	ŕ

		(A)	(B)	(C)
	Account	Total	FPSC	Jurisdictional
Account	Title	Company	Jurisdictional	Sep Factor
1 521	Nuclear Steam Other Sources			
2	Base - Energy	•	-	0.88462
3	Base - Energy - Tallahassee Buyback	-		-
4	Total Nuclear Steam Other Sources	-	-	-
5 5210001	Steam Other Sources			
6	Base - Energy	-	-	0.88462
7	Base - Energy - Tallahassee Buyback	•		-
8	Total Steam Other Sources	-	-	=
9 522	Steam Transfer Credit			
10	Total Steam Transfer Credit		-	-
11 523	Nuclear - Electric Expenses			
12	Base - Demand	9	8	0.88462
13	Base - Demand - Tallahassee Buyback	-	•	-
14	Total Nuclear - Electric Expenses	9	8	0.88462
15 524	Nuclear - Misc Power Expenses			
16	Base - Demand	42,572	37,660	0.88462
17	Base - Demand - Tallahassee Buyback	617	· -	-
18	Total Nuclear - Misc Power Expenses	43,189	37,660	0.87198
19 525	Nuclear - Rents		·	
20	Base - Demand	-	•	0.88462
21	Base - Demand - Tallahassee Buyback	-	•	-
22	Total Nuclear - Rents	•	-	-
23 528	Nuclear - Maintenance Supervisor & Engineering			
24	Base - Energy	10,779	10,218	0.94789
25	Direct Assign Retail - Energy	1,500	1,500	1.00000
26	Direct Assign Wholesale	915	1.	•
27	Base - Energy - Tallahassee Buyback	132	-	-
28	Total Nuclear - Maintenance Supervisor & Engineering	13,327	11,718	0.87923
29 529	Nuclear - Maintenance Structures		,	0.07020
30	Base - Demand	2,634	2,330	0.88462
31	Base - Demand - Tallahassee Buyback	39	2,000	0.00402
32	Total Nuclear - Maintenance Structures	2,672	2,330	0.87179
33 530	Nuclear - Maintenance Reactor Plant Equipment	2,0,2	2,000	0.07179
34	Base - Energy	11,877	11,258	0.94789
35	Direct Assign Wholesale	1,009	11,250	0.54705
36	Base - Energy - Tallahassee Buyback	169	-	-
	Total Nuclear - Maintenance Reactor Plant Equipment	13,055	11,258	0.86239
37	rotal Nuclear - Maintenance Reactor Flant Equipment	13,000	11,200	0.00239

Supporting Schedules: C-19, C-20, C-21, C-22

Recap Schedules: C-1

7

SCHEDULE C-4

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

Page 4 of 48

STORINA PURI IO OFFICION COMMISSIONI	Explanation:	Provide jurisdictional factors for net operating income for the	Type of data shown:
FLORIDA PUBLIC SERVICE COMMISSION		test year and the most recent historical year if the test year	X Projected Test Year Ended 12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		is projected.	Prior Year Ended 12/31/2009
Docket No. 090079-El			Historical Test Year Ended 12/31/2008 Witness: Toomey / Slusser

(Thousands)

		(A)	(B)	(C)	
	Account	Total	FPSC	Jurisdictional	
Account		Company	Jurisdictional	Sep Factor	
1 531	Nuclear - Maintenance Electric Plant			0.04700	
2	Base - Energy	6,223	5,899	0.94789	
3	Direct Assign Wholesale	528	-	•	
4	Base - Energy - Tallahassee Buyback	32			
5	Total Nuclear - Maintenance Electric Plant	6,783	5,899	0.86960	
6 532	Nuclear - Maintenance Misc Nuclear Plant			0.00400	
7	Base - Demand	2,155	1,906	0.88462	
8	Base - Demand - Tallahassee Buyback	17	-		
9	Total Nuclear - Maintenance Misc Nuclear Plant	2,172	1,906	0.87777	
10 5472000					
11	Non-Recoverable Energy	1,748	1,657	0.94789	
12	Total Fuel - Other Prod Base	1,748	1,657	0.94789	
13 546-550				0.00400	
14	Base - Demand	12,895	11,407	0.88462	
15	Peaking - Demand	9,178	8,400	0.91520	
16	Total Other Power Gen - Operation	22,073	19,807	0.89734	
17 551-554					
18	Peaking - Demand	16,757	15,336	0.91520	
19	Base - Energy	32,771	31,063	0.94789	
20	Direct Assign Wholesale	2,783		-	
21	Total Other Power Gen - Maintenance	52,311	46,399	0.88699	
22 5550709	PP CAP - Base - Nonrecoverable - WH				
23	Direct Assign Wholesale	51,676	•	-	
24	Total PP CAP - Base - Nonrecoverable - WH	51,676	-	•	
25 5550710					
26	Non-Recoverable Demand	-	<u> </u>	1.00000	
27	Total PP CAP - Base - Nonrecoverable - Retail	-	-	-	
28 5560000	0 Sys Control & Dispatch				
29	Base - Demand	1,324	1,171	0.88462	
30	Intermediate - Demand	251	146	0.58105	
31	Peaking - Demand	577	528	0.91520_	
32	Total Sys Control & Dispatch	2,152	1,845	0.85745	
33 557000 1	1 Other Pwr Supply Expenses			<u></u>	
34	Total Other Pwr Supply Expenses	-	-	-	
35					
36	TOTAL PRODUCTION O&M EXPENSES	332,822	236,832	0.71159	
37					

SCHEDULE C-4

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

Page 5 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the test year and the most recent historical year if the test year	Type of data shown: X Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		is projected.	Prior Year Ended Historical Test Year Ended	12/31/2009 12/31/2008
Docket No. 090079-El		(Thousands)	Witness: Toomey / Slusser	

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
	1	TRANSMISSION EXPENSES			
	2				
	3	Transmission-Operation			
	4 56000	Supervision & Engineering			
	5	Production Base	166	147	0.88462
	6	Production Intermediate	9	5	0.58105
	7	Production Peaking	50	46	0.91520
	8	Transmission	4,967	3,359	0.67629
	9	Total Supervision & Engineering	5,192	3,557	0.68509
	10 56100	Load Dispatching			
	11	Transmission	5,636	3,812	0.67629
	12	Total Load Dispatching	5,636	3,812	0.67629
	13 56200	Station Expenses	•		
	14	Production Base	13	11	0.88462
	15	Production Intermediate	1	0	0.58105
	16	Production Peaking	4	4	0.91520
	17	Transmission	387	262	0.67629
	18	Total Station Expenses	405	277	0.68509
	19 56300	OH Line Expenses			
	20	Transmission	371	251	0.67629
	20 21	Total OH Line Expenses	371	251	0.67629
	22 56400	UG Line Expenses			
	22 36400 23	Total UG Line Expenses	-		
	23 24 56500	Trans of Electricity by Others	_		
		Total Trans of Electricity by Others			-
	25	Miscellaneous Expenses			
	26 56600		406	359	0.88462
	27	Production Base	21	12	0.58105
	28	Production Intermediate	123	113	0.91520
	29	Production Peaking	10,755	7,273	0.67629
	30	Transmission	10,755	7,273 485	0.99624
	31	FERC 890 - Distribution		465	0.99024
	32	FERC 890 - D/A Wholesale	939	8,243	0.64745
	33	Total Miscellaneous Expenses	12,731	,	0.04745
	34 56700	Rents		_	
	35	Total Rents	-	-	-
	36			10.110	0.66323
	37	Total Transmission-Operation	24,336	16,140	0.66323

SC		

Page 6 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the	Type of data shown:	
TEGRIDATI ODEIO CENTIOE COMMISSIONI	•	test year and the most recent historical year if the test year	X Projected Test Year Ended 12/31/	/2010
Company: PROGRESS ENERGY FLORIDA INC.		is projected.	Prior Year Ended 12/31/	/2009
Company, 1 NOONEDO ENERO 1 1 EORIDA INO.			Historical Test Year Ended 12/31/	/2008
Docket No. 090079-EI			Witness: Toomey / Slusser	
DOCKET NO. 03007 3-L1			•	

·π	hοι	ısar	٦d	s)

		(A)	(B)	(C)	
	Account	Total	FPSC	Jurisdictional	
Account	Title	Company	Jurisdictional	Sep Factor	
1	Transmission - Maintenance				
2 56800	Supervision & Engineering				
3	Production Base	77	69	0.88462	
4	Production Intermediate	4	2	0.58105	
5	Production Peaking	24	22	0.91520	
6	<u>Transmission</u>	2,324	1,571	0.67629	
7	Total Supervision & Engineering	2,429	1,664	0.68509	
8 56900	Structures				
9	Production Base	14	12	0.88462	
10	Production Intermediate	1	0	0.58105	
11	Production Peaking	4	4	0.91520	
12	<u>Transmission</u>	411	278	0.67629	
13	Total Structures	430	295	0.68509	
14 57000	Station Equipment				
15	Production Base	175	155	0.88462	
16	Production Intermediate	9	5	0.58105	
17	Production Peaking	53	49	0.91520	
18	Transmission	5,249	3,550	0.67629	
19	Total Station Equipment	5,486	3,759	0.68509	
20 57100	Overhead Lines				
21	Production Base	377	333	0.88462	
22	Production Intermediate	20	12	0.58105	
23	Production Peaking	114	105	0.91520	
24	Transmission	11,299	7,641	0.67629_	
25	Total Overhead Lines	11,810	8,091	0.68509	
26 57200	Underground Lines	•	-		
27	Total Underground Lines			-	
28 57300	Miscellaneous Expenses				
29	Production Base	27	24	0.88462	
30	Production Intermediate	1	1	0.58105	
31	Production Peaking	8	7	0.91520	
32	Transmission	809	547	0.67629	
33	Total Miscellaneous Expenses	845	579	0.68509	
34	. Otalooliidiioodo Exponoo				
35	Total Transmission - Maintenance	21,000	14,387	0.68509	
36	Total Transmission - Maintenance		,		
37	TOTAL TRANSMISSSION O&M	45,336	30,527	0.67335	

SCI	11.17	Λ.

Page 7 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the	Type of c	lata shown:	
	·	test year and the most recent historical year if the test year	X	Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		is projected.		Prior Year Ended	12/31/2009
				Historical Test Year Ended	12/31/2008
Docket No. 090079-EI				Witness: Toomey / Slusser	
		(They seeds)			

(TI	housand	S
-----	---------	---

	•	(A) Total	(B) FPSC	(C) Jurisdictional	
	Account		Jurisdictional	Sep Factor	
Account		Company	Junsdictional	Sep Factor	
1	DISTRIBUTION EXPENSES				
2	Distribution On service :				
3	Distribution-Operation				
4 58000	Supervision & Engineering	12,651	12,603	0.99624	
5 .	Primary Distribution	8,256	8,256	1.00000	
6	Secondary Distribution	8,256 3,443	3,443	1.00000	
7	<u>Services</u>	3,443 874	3,443 854	0,97631	
8	Metering	2,585	2,585	1.00000	
9	<u>Lighting</u>	·	2,565 16	0.98667	
10	IS Equipment	<u>16</u> 27,825	27,757	0.99754	
11	Total Supervision & Engineering	27,825	21,151	0.99734	
12 58100	Load Dispatching	5 942	5,790	0.99624	
13	Primary Distribution	<u>5,812</u> 5,812	5,790	0.99624	
14	Total Load Dispatching	5,812	5,790	0.99024	
15 58200	Station Expenses	811	808	0.99624	
16	Primary Distribution			0.98667	
17	IS Equipment	1	<u>1</u> 810	0.99623	
18	Total Station Expenses	813	810	0.99023	
19 58300	Overhead Lines	0.707	0.757	0.99624	
20	Primary Distribution	2,767	2,757	1.00000	
21	Secondary Distribution	1,004	1,004 294	1.0000	
22	<u>Services</u>	294		1.00000	
23	<u>Lighting</u>	318	318	0.98667	
24	IS Equipment	6	6		
25	Total Overhead Lines	4,390	4,379	0.99761	
26 58400	Underground Lines		4.040	0.00004	
27	Primary Distribution	1,052	1,048	0.99624	
28	Secondary Distribution	972	972	1.00000	
29	<u>Services</u>	1,085	1,085	1.00000	
30	Total Underground Lines	3,110	3,106	0.99873	
31 58500	Street Lighting			4.0000	
32	<u>Lighting</u>	4,807	4,807	1.00000	
33	Total Street Lighting	4,807	4,807	1.00000	
34 58600	Meter Expenses				
35	Services	10,738	10,738	1.00000	
36	Total Meter Expenses	10,738	10,738	1.00000	
37					

Supporting Schedules: C-19, C-20, C-21, C-22

SCHEDULE C-4 JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

Page 8 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the	Type of data shown:	
Company: PROGRESS ENERGY FLORIDA INC.		test year and the most recent historical year if the test year is projected.	X Projected Test Year Ended Prior Year Ended	12/31/2010 12/31/2009
Docket No. 090079-El		• •	Historical Test Year Ended Witness: Toomey / Slusser	12/31/2008

(Thousands)

		(A)	(B)	(C)
	Account	Total	FPSC	Jurisdictional
Account	Title	Company	Jurisdictional	Sep Factor
1 58700	Customer Installation Exp			
2	<u>Services</u>	770	770	1.00000
3	Total Customer Installation Exp	770	770	1.00000
4 58800	Miscellaneous Expenses			
5	Primary Distribution	8,887	8,854	0.99624
6	Secondary Distribution	5,800	5,800	1.00000
7	<u>Services</u>	2,419	2,419	1.00000
8	<u>Metering</u>	614	600	0.97631
9	<u>Lighting</u>	1,816	1,816	1.00000
10	IS Equipment	11	11	0.98667
11	Total Miscellaneous Expenses	19,548	19,500	0.99754
12 58900	Rents			
13	Primary Distribution	411	409	0.99624
14	Secondary Distribution	268	268	1.00000
15	Services	112	112	1,00000
16	Metering	28	28	0.97631
17	Lighting	84	84	1,00000
18	IS Equipment	1	1	0.98667
19	Total Rents	903	901	0.99754
20				
21	Total Distribution-Operation	78,715	78,557	0.99799
22			 	
23	Distribution-Maintenance			
24 59000	Supervision & Engineering			
25	Primary Distribution	24	23	0.99624
26	Secondary Distribution	15	15	1.00000
27	Services	6	6	1,00000
28	<u>Metering</u>	2	2	0.97631
29	Lighting	5	5	1,00000
30	IS Equipment	0	Ö	0.98667
31	Total Supervision & Engineering	52	52	0.99754
32 59100	Structures	52	32	0.00704
33	Primary Distribution	(0)	(0)	0.99624
	Total Structures	(0)	(0)	0.99624
34	Total Structures	(0)	(0)	0.99024
35				
36				
37				

Supporting Schedules: C-19, C-20, C-21, C-22

Recap Schedules: C-1

SCHEDULE C-4

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

Page 9 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Provide jurisdictional factors for net operating income for the	Type of data shown:	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	test year and the most recent historical year if the test year is projected.	Prior Year Ended	12/31/2010 12/31/2009 12/31/2008
Docket No. 090079-EI		Witness: Toomey / Slusser	12/3 1/2000

(Thousands)

ne			(A)	(B)	(C) Jurisdictional
		Account	Total	FPSC	Sep Factor
	Account	Title	Company	Jurisdictional	Sep Factor
	1 59200	Station Expenses	0.407	0.005	0.99624
	2	Primary Distribution	3,107	3,095	
	3	Secondary Distribution	2,028	2,028	1.00000
	4	Services	846	846	1.00000
	5	<u>Metering</u>	215	210	0.97631
	6	<u>Lighting</u>	635	635	1.00000
	7	IS Equipment	4	4	0.98667
	8	Total Station Expenses	6,834	6,817	0.99754
	9 59300	Overhead Lines			
	10	Primary Distribution	28,897	28,788	0.99624
	11	Secondary Distribution	10,487	10,487	1,00000
	12	Services	3,070	3,070	1.00000
	13	Lighting	3,323	3,323	1.00000
	14	IS Equipment	62	61	0.98667
	15	Total Overhead Lines	45,838	45,729	0.99761
	16 59400	Underground Lines			
	17	Primary Distribution	2,761	2,751	0.99624
	18	Secondary Distribution	2,552	2,552	1.00000
	19	Services	2,849	2,849	1.00000
	20	Total Underground Lines	8,162	8,152	0.99873
	21 59500	Line Transformers	·		
	22	Secondary Distribution	5,034	5,034	1.00000
	23	Total Line Transformers	5,034	5,034	1.00000
	24 59600	Street Lighting			
	25	Total Street Lighting		<u>-</u>	•
	26 59700	Meters			
	27	Metering	(2)	(2)	0.97631
	28	Total Meters	(2)	(2)	0.97631
	29 59800	Miscellaneous Distribution Plant	(/	``	
	30	Primary Distribution	134	133	0.99624
	31	Secondary Distribution	87	87	1.00000
		Services	36	36	1,00000
	32		9	9	0.97631
	33	Metering	27	27	1.00000
	34	<u>Lighting</u>	0	0	0.98667
	35	IS Equipment Total Miscellaneous Distribution Plant	294	293	0.99754
	36	TOTAL MISCELLANEOUS DISTRIBUTION PLANT	234	233	0.00704
	37	D1 4-14 - 41 B4-1-4	66 211	66,074	0.99792
	38	Distribution - Maintenance	66,211	00,074	0.33132
	39		444.000	144 620	0.99796
	40	TOTAL DISTRIBUTION O&M	144,926	144,630	0.59790

SC	H	E	Dι	JL	Ε	C	-
					_		

Page 10 of 48

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC.		Explanation:	Provide jurisdictional factors for n test year and the most recent hist is projected.	Type of data shown: X Projected Test Year Ended Prior Year Ended Historical Test Year Ended Witness: Toomey / Slusser	12/31/2010 12/31/2009 12/31/2008		
DOCKE	Oocket No. 090079-EI			(Thousands)		•	
Line		Account	(A) Total	(B) FPSC	(C) Jurisdictional		
No.	Account	Title	Company	Jurisdictional	Sep Factor		
	1	CUSTOMER ACCOUNT EXPENSE					
	2 90100	Supervision					
	3	Meter Reading	296	291	0.98021		
	4	Customer Records	1,345	1,345	0.99999		
	5	<u>Billing</u>	1,359	1,342	0.98769		
	6	<u>Services</u>	602	602	1.00000		
	7	Total Supervision	3,602	3,579	0.99372		
	8 90200	Meter Reading					
	9	Meter Reading	2,869	2,812	0.98021_		
	10	Total Meter Reading	2,869	2,812	0.98021		
	11 90300	Customer Receipts & Collections Expense					
	12	Customer Records	13,019	13,019	0.99999		
	13	Billing	13,147	12,985	0.98769		
	14	Services	5,822		1,00000		
	15	Total Customer Receipts & Collections Expense	31,987	31,825	0.99494		
	16 90400	Uncollectible Accounts					
	17	Uncollectible	13,815	13,815	1.00000		
	18	Total Uncollectible Accounts	13,815		1.00000		
	19 90500	Miscellaneous	,				
	20	Meter Reading	157	154	0.98021		
	21	Customer Records	714		0.99999		
	22	Billing	721		0.98769		
	23	Services	319		1.00000		
	24	Total Miscellaneous	1,912	· · · · · · · · · · · · · · · · · · ·	0.99373		
	25	, otal migochanovas	.,512	.,			
	25 26	TOTAL CUSTOMER ACCOUNT EXPENSE	54,185	53,932	0.99532		
		TOTAL COSTOMEN ACCOUNT EXPENSE	5-1,100				
	27						
	28						
	29						
	30						
	31						
	32						
	33						
	34						
	35						
	36						
	37						

26

23

25

26 27 **91300**

28

29

31

32

33 34

35

36 37

24 **91200**

30 91600

SCHEDULE C-4

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

1,270

1,270

418

(36)

382

1.652

1.00000

1.00000

1.00000

1.00000

1.00000

1.00000

1.00000

Page 11 of 48

Type of data shown: Provide jurisdictional factors for net operating income for the FLORIDA PUBLIC SERVICE COMMISSION Projected Test Year Ended 12/31/2010 test year and the most recent historical year if the test year Prior Year Ended 12/31/2009 is projected. Company: PROGRESS ENERGY FLORIDA INC. 12/31/2008 Historical Test Year Ended Witness: Toomey / Slusser Docket No. 090079-EI (Thousands) (A) (B) (C) **FPSC** Jurisdictional Account Total Line **Jurisdictional** Sep Factor Company No. Account Title **CUSTOMER SERVICE & INFORMATION EXPENSE** 2 90600 **Customer Account P/R Account** 1.00000 3 Retail Customer Related **Total Customer Account P/R Account** 5 90700 Supervision 1.00000 59 Retail Customer Related 6 59 1.00000 **Total Supervision** 59 **Customer Assistance** 8 90800 1.00000 2,390 2.390 9 Retail Customer Related 2,390 1.00000 10 **Total Customer Assistance** 2,390 Information & Instructional Advertising 11 90900 1.00000 12 Retail Customer Related 13 **Total Information & Instructional Advertising** 14 91000 Miscellaneous (2) 1.00000 Retail Customer Related (2) 15 1.00000 (2) (2) 16 Total Miscellaneous 17 2,448 1.00000 **TOTAL CUSTOMER SERVICE & INFORMATION EXPENSI** 2,448 18 19 20 SALES EXPENSE Commercial & Industrial 21 91100 1.00000 Retail Customer Related 22

> 1,270 1,270

> > 418

(36)

382

1.652

Supporting Schedules: C-19, C-20, C-21, C-22

Total Commercial & Industrial

Total Demonstration & Selling

Miscellaneous Sales Expense

Adjustment L - Economic Development

Total Miscellaneous Sales Expense

Demonstration & Selling

Retail Customer Related

Retail Customer Related

Retail Customer Related

TOTAL SALES EXPENSE

Total Advertising

Advertising

Recap Schedules: C-1

SCHEDULE C-4	JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

Page 12 of 48

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-EI		test y	de jurisdictional factors for ne ear and the most recent histo jected.	Type of data shown: X Projected Test Year Ended 12/31/20 Prior Year Ended 12/31/20		
		(Thousands)			Historical Test Year Ended 12/31/20 Witness: Toomey / Slusser	
			(A)	(B)	(C)	
Line		Account	Total	FPSC	Jurisdictional	
No.	Account	Title	Company	Jurisdictional	Sep Factor	
	1	ADMINISTRATIVE & GENERAL EXPENSES				
	2 92000	Salaries				
	3	Labor Related	64,881	56,895	0.87692	
	4	Wholesale	1,275	~	-	
	5	Total Salaries	66,156	56,895	0.86001	
	6 92100	Office Supplies				
	7	Labor Related	26,488	23,228	0.87692	
	8	Wholesale	295	-	-	
	9	Total Office Supplies	26,783	23,228	0.86726	
	10 92300	Outside Service				
	11	Labor Related	33,325	29,224	0.87692	
	12	Wholesale	8	<u> </u>	-	
	13	Total Outside Service	33,333	29,224	0.87670	
	14 92400	Property Insurance - Storm Damage				
	15	Production	(210)	(186)	0.88462	
	16	Transmission	-	-	0.67629	
	17	Distribution	14,821	14,785	0.99757	
	18	Gross Plant	6,313	5,566	0.88160	
	19	Wholesale	(101)	<u> </u>		
	20	Total Property Insurance - Storm Damage	20,823	20,165	0.96839	
	21 92500	Insurance & Damages				
	22	Labor Related	9,821	8,612	0.87692	
	23	Total Insurance & Damages	9,821	8,612	0.87692	
	24 92600	Pension & Benefits				
	25	Labor Related	118,652	104,048	0.87692	
	26	Wholesale	239	<u> </u>		
	27	Total Pension & Benefits	118,891	104,048	0.87515	
	28 92800	Regulatory Commission				
	20	M/holesale	584		_	

(745)

(745)

584

584

(849)

(851)

0.87692

0.87563

Supporting Schedules: C-19, C-20, C-21, C-22

Wholesale
Total Regulatory Commission
Duplicate Charges
Labor Related

Wholesale
Total Duplicate Charges

29

30 31 92900

32

33

Recap Schedules: C-1

``

SCHEDULE C-4

JURISDICTIONAL	SEPARATION FACTORS	 NET OPERATING INCOME

Page 13 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the	Type of data shown:	
	·	test year and the most recent historical year if the test year	X Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		is projected.	Prior Year Ended	12/31/2009
			Historical Test Year Ended	12/31/2008
Docket No. 090079-EI			Witness: Toomey / Slusser	
534.6(1.6, 555.75 =		(Thousands)	·	

	(A)	(B)	(C)
Account	Total	FPSC	Jurisdictional
Account Title	Company	Jurisdictional	Sep Factor
1 93000 Miscellaneous - General Advertising			
2 <u>Labor Related</u>	4,734	4,151	0.87692
3 Total Miscellaneous - General Advertising	4,734	4,151	0.87692
4 93100 Rents			
5 <u>Labor Related</u>	7,907	6,934	0.87692
6 Total Rents	7,907	6,934	0.87692
7 93200 Maintenance of Structures & Equipment			
8 <u>Labor Related</u>	879	771	0.87692
9 Total Maintenance of Structures & Equipment	879	771	0.87692
10 93500 Maintenance of General Plant			
11 <u>Labor Related</u>	1,122	984	0.87692
12 Total Maintenance of General Plant	1,122	984	0.87692
13 Adjustment E - Retail Rate Case Expenses	1,394	1,394	1.00000
14 Adjustment G - Corporate Aircraft	(3,565)	(3,126)	0.87692
15 Adjustment I - Miscellaneous Interest Expense	-	-	0.87692
16 Adjustment J - Interest on Tax Deficiency	2,667	2,351	0.88160
17 Adjustment K - Image Building Advertising	(3,863)	(3,388)	0.87692
18 Adjustment M - Industry Association Dues	(25)	(22)	0.88160
19 TOTAL ADMINISTRATIVE & GENERAL EXPENSES	286,789	251,475	0.87686
20			
21 TOTAL OPERATION & MAINTENANCE EXPENSES	868,158	721,495	0.83106
22			
23			
24			

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the	Type of data shown:
Company: PROGRESS ENERGY FLORIDA INC.		test year and the most recent historical year if the test year	X Projected Test Year Ended 12/31/2010
Company, PROGRESS ENERGY PEORIDA INC.		is projected.	Prior Year Ended 12/31/2009
Destroy No. 000070 Ft			Historial Test Year Ended 12/31/2008
Docket No. 090079-EI			Witness: Toomey / Slusser
		Thousands)	

ine		Account	(A) Total	(B) FPSC	(C) Jurisdictional	
No.	Account	Title	Company	Jurisdictional	Sep Factor	
1						
2		DEPRECIATION & AMORTIZATION EXPENSES				
3		•				
4		Production Plant				
5		Production Plant - Base	157,439	139,274	0.88462	
6		Production Plant - Intermediate	15,810	9,187	0.58105	
7		Production Plant - Peaking	21,137	19,345	0.91520	
8		Production Plant - DA Wholesale	72		•	
9		Subtotal Production Plant	194,458	167,805	0.86294	
10						
11		Transmission Plant				
12		Transmission Plant - Base	1,040	920	0.88462	
13		Transmission Plant - Intermediate	55	32	0.58105	
14		Transmission Plant - Peaking	316	289	0.91520	
15		Transmission Plant - Transmission	43,022	29,095	0.67629	
16		Transmission Plant - Dist Primary	916	912	0.99624	
17		Transmission Plant - D/A Wholesale	1,766			
18		Subtotal Transmission Plant	47,114	31,248	0.66325	
19						
20		Distribution Plant				
21		<u>Distribution Plant</u> - Primary Distribution	54,850	54,644	0.99624	
22		<u>Distribution Plant</u> - Secondary Distribution	45,207	45,207	1.00000	
23		<u>Distribution Plant</u> - Services Distribution	14,277	14,277	1.00000	
24		<u>Distribution Plant</u> - Metering Distribution	11,121	10,858	0.97631	
25		Distribution Plant - Lighting	17,539	17,539	1.00000	
26		Distribution Plant - IS Equipment Distribution	68	67	0.98667	
27		Total Distribution Plant	143,062	142,592	0.99671	
28						
29		Total General Plant				
30		General Plant - Labor Related	17,145	15,034	0.87692	
31		General Plant - Retail Customer Related	282	282	1.00000	
32		General Plant - Production Plant	-	-	0.86631	
33		General Plant - Dist Primary	912	908	0.99624	
34		Total General Plant	18,338	16,224	0.88474	
35						
36		TOTAL DEPRECIATION & AMORTIZATION EXPENSES	402,973	357,869	0.88807	

Supporting Schedules: C-19, C-20, C-21, C-22

Recap Schedules: C-1

Recap Schedules: C-1

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-EI		Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent historical year if the test year is projected.			Type of data shown:	
			(Thousand	s)	(Thousands)	
Line		Account	(A) Total	(B) FPSC	(C) Jurisdictional	
No.	Account	Title TAYES OTHER THAN INCOME	Company	Jurisdictional	Sep Factor	
1 2 3		TAXES OTHER THAN INCOME				
4 5		<u>Payroll Taxes</u>	21,646	18,982	0.87692	
6 7		Property Taxes - Excluding Tallahassee Property Taxes - Tallahassee D/A Whis	124,111 89	109,483 -	0.88213 -	
8 9 10		Franchise Fee	118,260	118,260	1.00000	
11 12		Gross Receipts Taxes	117,781	117,781	1.00000	
13 14		Regulatory Assessment Fee & Misc	1,123 (236,041)	1,123 (236,041)	1.00000 1.00000	
15 16		Adjustment - Exclude Franchise & GRT (Revenue Taxes)				
17 18		TOTAL TAXES OTHER THAN INCOME	146,970	129,587	0.88173	
19 20		OTHER OPERATING EXPENSE ITEMS:				
21 22		Gain/Loss on Sale of Property	(2,862)	(2,516)	0.87927	
23 24 25 26 27 28		TOTAL OTHER OPERATING EXPENSE ITEMS	(2,862)	(2,516)	0.87927	

Supporting Schedules: C-19, C-20, C-21, C-22

_		
-		

 ω

				•
FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the	Type of data shown:	
Company: PROGRESS ENERGY FLORIDA INC.		test year and the most recent historical year if the test year is projected.	X Projected Test Year Ended Prior Year Ended	12/31/2010 12/31/2009
Docket No. 090079-EI		(Thousands)	Historial Test Year Ended Witness: Toomey / Slusser	12/31/2008

(Thousands)

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1		STATE & FEDERAL CURRENT INCOME TAXES			
2					
3		Operating Revenues ·	1,828,446	1,517,918	0.83017
4					
5		Less: O&M Expenses	868,158	721,495	0.83106
6		Less: Deprecation Expenses	402,973	357,869	0.88807
7		Less: Taxes Other than Income	146,970	129,587	0.88173
8		Less: Miscellaneous Other Expenses	(2,862)	(2,523)	0.88160
9		Less: Interest Charges	205,338	178,362	0.86863
10		Net Operating Income Before Income Taxes	207,870	133,127	0.64043
11					
12		Permanent Differences - Federal & State	(16,356)	(14,420)	0.88160
13		Temporary Differences - Federal	(123,672)	(109,029)	0.88160
14		Temporary Differences - State	(115,788)	(102,078)	0.88160
15		• •	(****,****)	(,,	2.00.00
16		Current Taxable Income for State	75,726	16.629	0.21959
17					
18		Current State Income Tax @ 5.5%	4,165	915	0.21959
19		3	.,		3.2.333
20		Current Taxable Income for Federal	63,677	8,764	0.13763
21					
22		Current Federal Income Tax @ 35%	22,287	3,067	0.13763
23		•	,	-,	
24		Total Current SIT & FIT	26,452	3,982	0.15053
25				545.55	
26		Provision for Deferred Income Taxes	45,948	40,508	0.88160
27		Amortization of ITC	(1,755)	(1,547)	0.88160
28			(, , ,	(1)-11/	5.55700
29		Total Income Taxes	70,645	42,943	0.60787
30				72,010	0.00707
31		NET OPERATING INCOME	342,562	268,546	0.78393
32				200,010	0.70000

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the	Type of data show	n:	
		test year and the most recent historical year if the test year	Projected	l Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		is projected.	X Prior Yea	r Ended	12/31/2009
			Historial	Test Year Ended	12/31/2008
Docket No. 090079-EI			Witness:	Toomey / Slusse	er
	(Th	ousands)		ĺ	

			(A)	(B)	(C)	
Line		Account	Total	FPSC	Jurisdictional	
No	. Account	Title	Company	Jurisdictional	Sep Factor	
1		OPERATING REVENUES				
2						
3		<u>Class-Retail</u>	1,615,225	1,615,225	1.00000	
4		Class-Wholesale	213,303	. •	•	
5		Non-Class - Production Demand Related	•	-	0.93753	
6		Non-Class - Transmission Related			0.70597	
7		Adjustment- Franchise & Gross receipts Tax	(230,634)	(230,634)	1.00000	
8		Adjustment- Revenue Rate Simulation		-	1.00000	
9		Total Sales of Electricity	1,597,894	1,384,591	0.86651	
10						
3 11		Other Operating Revenues				
12		Interest - Delig A/C & LPC - Rate Base Related	22,320	20,466	0.91693	
13	4510001	Service Charges - Service Related	25,011	25,011	1.00000	
14						
15	4540001	Rent From Elec Prop - Retail Related	1,100	1,100	1.00000	
16	4540002	CR3 Participants - Production Plant	900	821	0.91251	
17	4540004	PT Holdings/Rev Sharing - Rate Base Related	1,478	1,356	0.91693	
18	4540005	Rent - Lighting - Retail Related	59,630	59,630	1.00000	
19	4540006	Rent -Non Lighting - Equipment Rental	7,050	7,050	1.00000	
20	4540007	Rent -Joint Use - Distribution Primary	11,426	11,380	0.99597	
21	4540008	Rent - Transmission - Trans Related	415	293	0.70597	
22	4560001	Other Electric Revenue - Distribution Primary	2,300	2,291	0.99597	
23	456000T	Wheeling Revenue - Wholesale Related	63,025	-	-	
24		Wheeling Revenue - Transmission Related	13	9	0.70597	
25	4560020	State Sales Tax Collected - Energy Non-Fuel Related	10	9	0.91693	
26		Other Electric Revenue (IC Var) - Energy Non-Fuel Related	_		0.95765	
27	45600TP	Ancillary Services Provided		-	0.91251	
28	4560022	Commission Tax Collected		-	1.00000	
29	4560030	Unbilled Retail Revenue	-	•		
30	4560033	Unbilled Wholesale Revenue				
31	4560097	Deferred Capacity Revenue		-		
32		Accr GPIF Revenue				
33	4560099	Deferred Fuel Revenue	-			
34		Total Other Operating Revenues	194,679	129,416	0.66477	
35			,,,,,	,	0.00	
36		TOTAL OPERATING REVENUES	1,792,573	1,514,007	0.84460	
30		TOTAL OF EIGHTHA METEROLO	1,702,070	1,017,007	0.01100	

37

SCHEDULE C-4	ļ

Page 18 of 48

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC.			· te	ovide jurisdictional factors for nest year and the most recent hist	Type of data shown: Projected Test Year Ended 12/31/2		
			is	projected.		Projected Test Year Ended X Prior Year Ended	12/31/20
					Historical Test Year Ended	12/31/200	
Jocket I	No. 090079-EI	ı	(The	ousands)		Witness: Toomey / Slusser	12011200
			`				
		A	(A) Total	(B) FPSC	(C) Jurisdictional		
Line		Account					
No.	Account	Title	Company	Jurisdictional	Sep Factor		
1		OPERATION & MAINTENANCE EXPENSES					
2							
3		PRODUCTION EXPENSES					
4		5 I No Bernanda					
5	5012000	Fuel - Non Recoverable	3,566	3,415	0.95765		
6		Non-Recoverable Energy Total Fuel - Non Recoverable	3,566	3,415	0.95765		
,	500 507		3,300	5,415	0.937 03		
8	500-507	Steam Generation-Operation	19,921	18,676	0.93753		
9		Base - Demand	11,471	9,067	0.79046		
10		Intermediate - Demand	11,471	9,007	0.88979		
11		Peaking - Demand	31,391	27,743	0.88379		
12		Total Steam Generation - Operation	31,391	21,143	0.00379		
13	510-514		34.039	32,598	0.95765		
14		Base - Energy	2,651	2,539	0.95765		
15		Intermediate - Energy	2,031	2,333	0.95765		
16		Peaking - Energy	12,081	-	0.33703		
17		Direct Assign Wholesale	12,001	_			
18		Tallahassee Buyback Total Steam Generation - Maintenance	48,772	35,136	0.72043		
19	5400000		40,772	33,130	0.72040		
20	5182300		546	522	0.95765		
21		Non-Recoverable Energy Tallahassee Buyback	8	-	-		
22		Direct Assign Retail - Energy	1,100	1,100	1.00000		
23		Total Nuclear Fuel - Non-Recoverable	1,654	1,622	0.98117		
24	547	Operations Supervision Engineering	1,034	1,022	0.00117		
25	517	Base - Demand	2,099	1,967	0,93753		
26 27		Base - Demand - Tallahas <u>see Buyback</u>	31	,,,,,,	-		
		Total Operations Supervision Engineering	2,129	1,967	0.92394		
28	519	Coolant & Water	2,120	1,551	0.0200 1		
29 30	519	Base - Demand	4,323	4,053	0.93753		
31		Base - Demand - Tallahassee Bu <u>yback</u>	67	-	-		
		Total Coolant & Water	4,390	4,053	0.92329		
32	E20	Steam Expenses	4,000	1,000	0.02020		
33 34	520	Base - Demand	12,322	11,552	0.93753		
34		Base - Demand - Tallahassee Buyback	204		-		
36		Total Steam Expenses	12,526	11,552	0.92223		
		rotal Steam Expenses	12,320	11,002	0.0222		
37							

Type of data shown:

FLORIDA PUBLIC SERVICE COMMISSION

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

Explanation: Provide jurisdictional factors for net operating income for the

company: PROGRESS ENERGY FLORIDA INC.			is proj (Thous:	iected. ands)		Projected Test Year Ended
Line No.	Account	Account Title	(A) Total Company	(B) FPSC Jurisdictional	(C) Jurisdictional Sep Factor	
NO. 1	521	Nuclear Steam Other Sources	Company	garisdictional	0001 00001	
2	02 ·	Base - Energy	-	-	0.93753	
3		Base - Energy - Tallahassee Buyback	-	-	<u>.</u>	
4		Total Nuclear Steam Other Sources	-		-	
5	5210001		-			
6	0210001	Total Steam Other Sources	-	-	-	
7	522	Steam Transfer Credit				
8	722	Base - Energy	<u> </u>	_	0.93753	
9		Base - Energy - Tallahassee Buyback	-	-	-	
10		Total Steam Transfer Credit	-		-	
11	523	Nuclear - Electric Expenses				
12	323	Base - Demand	10	9	0.93753	
13		Base - Demand - Tallahassee Buyback	0	- -	-	
14		Total Nuclear - Electric Expenses	10	9	0.91241	
15	524	Nuclear - Misc Power Expenses				
16	324	Base - Demand	37,675	35,322	0.93753	
17		Base - Demand - Tallahassee Buyback	560		-	
18		Total Nuclear - Misc Power Expenses	38,235	35,322	0.92380	
19	525	Nuclear - Rents	,	• ==		
20	320	Base - Demand	_	-	0.93753	
21		Base - Demand - Tallahassee Buyback	_	-	-	
22		Total Nuclear - Rents		•		
23	528	Nuclear - Maintenance Supervisor & Engineering				
24	320	Base - Energy	11,876	11,373	0.95765	
25		Direct Assign Retail	1,500	1,500	1.00000	
26		Direct Assign Wholesale	1,237	•	-	
27		Base - Energy - Tallahassee Buyback	229	_	-	
28		Total Nuclear - Maintenance Supervisor & Engineering	14,842	12,873	0.86737	
29	529	Nuclear - Maintenance Structures	,	•		
30	323	Base - Demand	1,786	1,675	0.93753	
31		Base - Demand - Tallahassee Buyback	26	•	•	
32		Total Nuclear - Maintenance Structures	1,813	1,675	0.92394	
33	530	Nuclear - Maintenance Reactor Plant Equipment	.,	•		
34	550	Base - Energy	10,579	10,131	0.95765	
35		Direct Assign Wholesale	1,102		-	
36		Base - Energy - Tallahassee Buyback	192		-	
37		Total Nuclear - Maintenance Reactor Plant Equipment	11,873	10,131	0.85333	

	ORIDA PUBLIC SERVICE COMMISSION mpany: PROGRESS ENERGY FLORIDA INC.			Provide jurisdictional factors for ne test year and the most recent histo is projected.		Type of data shown: Projected Test Year Ended 12/31/		
	o 090079-EI		(Thousands)	- -	X Prior Year Ended Historical Test Year Ended Witness: Toomey / Slusser	12/31/2009 12/31/2008	
Line		Account	(A) Total	(B) FPSC	(C) Jurisdictional			
No.	Account	Title	Company	Jurisdictional	Sep Factor			
1	531	Nuclear - Maintenance Electric Plant						
2		Base - Energy	6,412	6,140	0.95765			
. 3		Direct Assign - Wholesale	668	-	-			
4		Base - Energy - Tallahassee Buyback	164	<u> </u>	_			
5		Total Nuclear - Maintenance Electric Plant	7,244	6,140	0.84770			
6	532	Nuclear - Maintenance Misc Nuclear Plant						
7		Base - Demand	2,149	2,015	0.93753			
8		Base - Demand - Tallahassee Buyback	45					
9		Total Nuclear - Maintenance Misc Nuclear Plant	2,194	2,015	0.91837	-		
10	5472000	Fuel - Other Prod Base						
11		Non-Recoverable Energy	1,771	1,696	0.95765			
12		Total Fuel - Other Prod Base	1,771	1,696	0.95765			
13	546-550	Other Power Gen - Operation						
14		Base - Demand	11,917	11,173	0.93753			
15		Peaking - Demand	8,590	7,643	0.88979			
16		Total Other Power Gen - Operation	20,507	18,816	0.91753			
17	551-554	Other Power Gen - Maintenance		7.054	0.00070			
18		Peaking - Demand	8,602	7,654	0.88979			
19		Base - Energy	22,159	21,220	0.95765			
20		<u>Direct Assign - Wholesale</u>	2,307		0.0704.0			
21		Total Other Power Gen - Maintenance	33,068	28,874	0.87318			
22	5550709	PP CAP - Base - Nonrecoverable - WH	00.405					
23		Direct Assign - Wholesale	26,105 26,105	-	<u> </u>			
24		Total PP CAP - Base - Nonrecoverable - WH	26,105	-				
25	5550/10	PP CAP - Base - Nonrecoverable - Retail Direct Assign - Retail	_		1.00000			
26		Total PP CAP - Base - Nonrecoverable - Retail			1.00000_			
27	5550000		-	-	-			
28	2260000	Sys Control & Dispatch Base - Demand	1,295	1,214	0.93753			
29		Intermediate - Demand	255	201	0.79046			
30 31		Peaking - Demand	580	516	0.88979			
		Total Sys Control & Dispatch	2,129	1,931	0.90694			
32	EE70004	•	2,125	1,331	0.50054			
33 34	5570001	Total Other Pwr Supply Expenses						
		Total Other PWI Supply Expenses	•	-	•			
35		TOTAL DRODUCTION OF M EVDENCES	264,219	204,973	0.77577			
36		TOTAL PRODUCTION O&M EXPENSES		204,513	0.11311			

LORIDA PUBLIC SERVICE COMMISSION		ERVICE COMMISSION		ovide jurisdictional factors for ne st year and the most recent hist		Type of data shown:		
ompany	y: PROGRES	SS ENERGY FLORIDA INC.	is	projected.	_	Projected Test Year Ended 12/31/20		
					_	X Prior Year Ended 12/31/20		
ocket N	lo: 090079-El	1				Historical Test Year Ended 12/31/20		
			(The	ousands)		Witness: Toomey / Slusser		
			(A)	(B)	(C)			
Line		Account	Total	FPSC	Jurisdictional			
No.	Account	Title	Company	Jurisdictional	Sep Factor			
1		TRANSMISSION EXPENSES						
2								
3		Transmission-Operation .						
4	56000	Supervision & Engineering						
5		Production Base	45	42	0.93753			
6		Production Intermediate	5	4	0.79046			
7		Production Peaking	9	8	0.88979			
8		Transmission	5,083	3,589	0.70597			
9		Total Supervision & Engineering	5,142	3,643	0.70840			
10	56100	Load Dispatching						
11		Transmission	5,592	3,948	0.70597			
12		Total Load Dispatching	5,592	3,948	0.70597			
13	56200	Station Expenses						
14		Production Base	4	3	0.93753			
15		Production Intermediate	0	0	0.79046			
16		Production Peaking	1	1	0.88979			
17		Transmission	396	280	0.70597			
18		Total Station Expenses	401	284	0.70840			
19	56300	OH Line Expenses						
20		Transmission	367	259	0.70597			
21		Total OH Line Expenses	367	259	0.70597			
22	56400	UG Line Expenses						
23		Total UG Line Expenses	-	•	-			
24	56500	Trans of Electricity by Others				•		
25		Total Trans of Electricity by Others	-	-	•			
26	56600	Miscellaneous Expenses						
27		Production Base	52	48	0.93753			
28		Production Intermediate	5	4	0.79046			
29		Production Peaking	10	9	0.88979			
30		Transmission	5,138	3,627	0.70597			
31		FERC 890 - Distribution	233	232	0.99597			
32		FERC 890 - D/A Wholesale	449					
33		Total Miscellaneous Expenses	5,886	3,921	0.66605			
34	56700	Rents						
35		Total Rents	-	-	-			
36								
37		Total Transmission-Operation	17,388	12,054	0.69323			

SCHEDULE C-4

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

FLORIDA	A PUBLIC SE	RVICE COMMISSION	te	rovide jurisdictional factors for neest year and the most recent hist		Type of data shown:		
Compan	y: PROGRES	SS ENERGY FLORIDA INC.	is	projected.		Projected Test Year Ended 12/31/2019 X Prior Year Ended 12/31/2009		
						X Prior Year Ended 12/31/2009 Historical Test Year Ended 12/31/2009		
Docket N	10 090079-E	1	σt	nousands)		Witness: Toomey / Slusser		
			(A)	(B)	(C)			
Line		Account	Total	FPSC	Jurisdictional Sep Factor			
No.	Account	Title	Company	Jurisdictional	Sep Factor			
1		Transmission - Maintenance						
2	56800	Supervision & Engineering	24	31	0.93753			
3		Production Base	34	3	0.79046			
4		Production Intermediate	4 7	6	0.88979			
5		Production Peaking	3,793	2,678	0.70597			
6		<u>Transmission</u>	3,837	2,078	0.70840			
7		Total Supervision & Engineering	3,637	2,718	0.70040			
8	56900	Structures	4	4	0.93753			
9		Production Base	0	0	0.79046			
10		Production Intermediate	0	1	0.88979			
11		Production Peaking	422	298	0.70597			
12		Transmission	427	302	0.70840			
13		Total Structures	427	302	0.70040	·		
14	57000	Station Equipment	40	37	0.93753			
15		Production Base	40	3	0.79046			
16		Production Intermediate	8	7	0.88979			
17		Production Peaking	4,494	3,173	0.70597			
18		Transmission	4,546	3,220	0.70840			
19	57400	Total Station Equipment Overhead Lines	4,540	3,220	0.7 00 40			
20	57100	Production Base	70	66	0.93753			
21		Production Intermediate	7	6	0.79046			
22		Production Peaking	14	13	0.88979			
23		Transmission	7,963	5,622	0.70597			
24		Total Overhead Lines	8,056	5,707	0.70840			
25	57200	Underground Lines	-	-	555.15			
26 27	5/200	Total Underground Lines		-	-			
28	57300	Miscellaneous Expenses						
29	5/300	Production Base	7	7	0.93753			
30		Production Intermediate	1	1	0.79046			
31		Production Peaking	i	1	0.88979			
32		Transmission	822	580	0.70597			
33		Total Miscellaneous Expenses	831	589	0.70840			
34		I can inidendifecto Expenses	331					
35		Total Transmission - Maintenance	17,697	12,536	0.70840			
36		iotai iranomiosion - mantenance						
37		TOTAL TRANSMISSSION O&M	35,085	24,591	0,70088			
3/		TO THE TRANSMISSION OWN						

Supporting Schedules: C-19, C-20, C-21, C-22

Page 23 of 48

		RVICE COMMISSION	Explanation:	Provide jurisdictional factors for r test year and the most recent his		Type of data shown:			
ompany	r: PROGRES	SS ENERGY FLORIDA INC.		is projected.		Projected Test Year Ended			
						X Prior Year Ended	12/31/200		
ocket N	o: 090079-EI			(Th		Historical Test Year Ended			
				(Thousands)		Witness: Toomey / Slusser			
			(A)	(B)	(C)				
Line		Account	Total	FPSC	Jurisdictional				
No.	Account	Title	Company	Jurisdictional	Sep Factor				
1		DISTRIBUTION EXPENSES							
2		Distribution Occupation							
3		Distribution-Operation							
4	58000	Supervision & Engineering	11,653	11,606	0.99597				
5		Primary Distribution	7,665		1.00000				
6		Secondary Distribution	7,665 3,287		1.00000				
/		Services	3,267 835		0.98840				
8		Metering	2,445		1.00000				
9		<u>Lighting</u>	2,445	•	0.98039				
10		IS Equipment	25,900		0.99780				
11	50400	Total Supervision & Engineering	25,900	25,643	0.99760				
12	58100	Load Dispatching	5,742	5,719	0.99597				
13		Primary <u>Distribution</u> Total Load Dispatching	5,742		0.99597				
14	50000		5,742	5,119	0.88387				
15	58200	Station Expenses Primary Distribution	800	797	0.99597				
16		IS Equipment	1	1	0.98039				
17		Total Station Expenses	801		0.99595				
18	58300	Overhead Lines	001	730	0.0000				
19	58300	Primary Distribution	2,707	2,696	0.99597				
20		Secondary Distribution	980		1.00000				
21		Services	288		1.00000				
22		Lighting	323		1.00000				
23		IS Equipment	6		0.98039				
24 25		Total Overhead Lines	4,305		0.99744				
	58400	Underground Lines	4,500	4,204	5.55747				
26 27	50400	Primary Distribution	1,046	1,041	0.99597				
28		Secondary Distribution	959		1.00000				
20 29		Services	1,120		1.00000				
30		Total Underground Lines	3,124		0.99865				
	50500	Street Lighting	5,124	5,125	0.0000				
31	58500	Lighting	4,627	4,627	1.00000				
32 33		Total Street Lighting	4,627		1.00000				
	59600	Meter Expenses	4,027	4,027	1.00000				
34	58600	Services	10,635	10,635	1.00000				
35			10,635		1.00000				
36 37		Total Meter Expenses	10,030	10,000	1.0000				

Page 24 of 48

CONEDULE O		CONTROL OF A STATE OF						
FLORIDA PUBLIC S	SERVICE COMMISSION		Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent historical year if the test year					
Company: PROGRE	ESS ENERGY FLORIDA INC.	is pr	is projected.			Projected Test Year Ended 12/31/201		
					X Pri	ior Year Ended		12/31/2009
Docket No 090079-1	EI				His	storical Test Year	Ended	12/31/2008
		(Thou	sands)		Wi	itness:	Toome	// Slusser
		(A)	(B)	(C)				
Line	Account	Total	FPSC	Jurisdictional				
No. Account	Title	Company	Jurisdictional	Sep Factor				
1 58700	Customer Installation Exp							
	0	754	764	4 00000				

Line		Account	Total	FPSC	Jurisdictional	
No.	Account	Title	Company	Jurisdictional	Sep Factor	
1	58700	Customer Installation Exp				
2		Services	751	751	1.00000	
3		Total Customer Installation Exp	751	751	1.00000	
. 4	58800	Miscellaneous Expenses				
5		Primary Distribution	9,235	9,198	0.99597	
6		Secondary Distribution	6,074	6,074	1.00000	
7		Services	2,605	2,605	1.00000	
8		<u>Metering</u>	661	654	0.98840	
9		Lighting	1,938	1,938	1.00000	
10		IS Equipment	12	12	0.98039	
11		Total Miscellaneous Expenses	20,525	20,480	0.99780	
12	58900	Rents				
13		Primary Distribution	405	404	0.99597	
14		Secondary Distribution	267	267	1.00000	
15		Services	114	114	1.00000	
16		Metering	29	29	0.98840	
39 17		Lighting	85	85	1.00000	
18		IS Equipment	1	1	0.98039	
19		Total Rents	901	899	0.99780	
20						
21		Total Distribution-Operation	77,312	77,166	0.99812	
22						
23		Distribution-Maintenance				
24	59000	Supervision & Engineering				
25		Primary Distribution	40	40	0.99597	
26		Secondary Distribution	26	26	1.00000	
27		<u>Services</u>	11	11	1.00000	
28		<u>Metering</u>	3	3	0.98840	
29		<u>Lighting</u>	8	8	1.00000	
30		IS Equipment	0	0	0.98039	
31		Total Supervision & Engineering	89	88	0.99780	
32	59100	Structures				
33		Primary Distribution	0	0	0.99597_	
34		Total Structures	0	0	0.99597	
35						
36						
37						

Supporting Schedules: C-19, C-20, C-21, C-22

Page 25 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the		Type of data shown:	
FLORIDA FUBLIC SERVICE COMMISSION	Explanation.	test year and the most recent historical year if the test year		rype or data shown.	
		test year and the most recent historical year in the test year			
Company: PROGRESS ENERGY FLORIDA INC.		is projected.		Projected Test Year E	nded 12/31/2010
			X	Prior Year Ended	12/31/2009
Docket No 090079-E!				Historical Test Year Er	nded 12/31/2008
		(Thousands)	_	Witness:	Toomey / Slusser

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1	59200	Station Expenses			
2		Primary Distribution	1,848	1,840	0.99597
3		Secondary Distribution	1,215	1,215	1.00000
. 4		Services	521	521	1.00000
5		Metering	132	131	0.98840
6		Lighting	388	388	1.00000
7		IS Equipment	2	2	0.98039
8		Total Station Expenses	4,107	4,098	0.99780
9	59300	Overhead Lines	.,	.,	
10		Primary Distribution	20,029	19,949	0.99597
11		Secondary Distribution	7,252	7,252	1.00000
12		Services	2,134	2,134	1.00000
13		<u>Lighting</u>	2,392	2,392	1.00000
14		IS Equipment	45	. 44	0.98039
15		Total Overhead Lines	31,852	31,770	0.99744
16	59400	Underground Lines	,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
17		Primary Distribution	2,549	2,539	0.99597
18		Secondary Distribution	2,339	2,339	1.00000
19		Services	2,730	2,730	1.00000
20		Total Underground Lines	7,618	7,608	0.99865
21	59500	Line Transformers	,	·	
22		Secondary Distribution	4,614	4,614	1.00000
23		Total Line Transformers	4,614	4,614	1.00000
24	59600	Street Lighting	, <u>-</u>	,	
25		Total Street Lighting		-	-
26	59700	Meters	0		
27		Total Meters	0	-	
28	59800	Miscellaneous Distribution Plant			
29	00000	Primary Distribution	113	112	0.99597
30		Secondary Distribution	74	74	1.00000
31		Services	32	32	1.00000
32		Metering	8	8	0.98840
33		Lighting	24	24	1.00000
34		Total Miscellaneous Distribution Plant	251	250	0.99781
35		Total Miscendicous Distribution Figure	201	200	0.55701
36		Distribution - Maintenance	48,531	48,429	0.99790
37		Signification - Maintenance	.0,00	10,120	0.007.00
38		TOTAL DISTRIBUTION O&M	125,842	125,595	0.99803
30		TOTAL DISTRIBUTION ON THE	120,042	120,000	0.0000

Supporting Schedules: C-19, C-20, C-21, C-22

Page 26 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the test year and the most recent historical year if the test year	 Type of data shown:		
Company: PROGRESS ENERGY FLORIDA INC.		is projected.	 Projected Test Year	Ended	12/31/2010
Docket No 090079-El		(They and a)	 Prior Year Ended Historical Test Year Ended		12/31/2009 12/31/2008
		(Thousands)	Witness:	Toomey	/ Slusser

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1		CUSTOMER ACCOUNT EXPENSE			
2	90100	Supervision			
3		<u>Meter Reading</u>	295	287	0.97536
4		<u>Customer Records</u>	1,542	1,542	0.99999
5		<u>Billing</u>	1,211	1,181	0.97479
6		<u>Services</u>	439	439	1.00000
7		Total Supervision	3,487	3,449	0.98915
8	90200	Meter Reading			
9		Meter Reading	2,767	2,699	0.97536
10		Total Meter Reading	2,767	2,699	0.97536
11	90300	Customer Receipts & Collections Expense			
12		<u>Customer Records</u>	14,563	14,563	0.99999
13		Billing	11,443	11,154	0.97479
14		Services	4,146	4,146	1.00000
15		Total Customer Receipts & Collections Expense	30,152	29,863	0.99043
16	90400	Uncollectible Accounts		·	
17		<u>Uncollectible</u>	13,113	13,113	1.00000
18		Total Uncollectible Accounts	13,113	13,113	1.00000
19	90500	Miscellaneous	·	·	
20		Meter Reading	163	159	0.97536
21		Customer Records	850	850	0.99999
22		Billing	668	651	0.97479
23		Services	242	242	1.00000
24		Total Miscellaneous	1,923	1,902	0.98915
25			·	•	
26		TOTAL CUSTOMER ACCOUNT EXPENSE	51,442	51,027	0.99192
27					
28					
29					
30					
31					
32					
33					
34					
35					
33					

Page 27 of 48

		ERVICE COMMISSION	Explanation:	Provide jurisdictional factors for r test year and the most recent his			Type of data shown:	
Compar	y: PROGRES	SS ENERGY FLORIDA INC.		is projected.			Projected Test Year Ended	12/31/2010
Docket I	No 090079-E	A .	(Thousands)			<u>X</u>	Prior Year Ended Historical Test Year Ended Witness: Toome	12/31/2009 12/31/2008 y / Slusser
1:	***	A	(A) Total	(B) FPSC	(C) Jurisdictional			
Line No.	Account	Account Title	Company	Jurisdictional	Sep Factor			
1	Account	CUSTOMER SERVICE & INFORMATION EXPENSE	Company	our sale to real	OCP / GOLO			
2	90600	Customer Account P/R Account						
3		Retail Customer Related	-	-	1.00000			
4		Total Customer Account P/R Account	-	-	-			
5	90700	Supervision						
6		Retail Customer Related	64		1.00000			
7		Total Supervision	64	64	1.00000			
8	90800	Customer Assistance						
9		Retail Customer Related	2,394		1.00000			
10		Total Customer Assistance	2,394	2,394	1.00000			
11	90900	Information & Instructional Advertising Retail Customer Related		_	1.00000			
12 13		Total Information & Instructional Advertising		 	1.00000			
14	91000	Miscellaneous	_		-			
15	31000	Retail Customer Related	0	0	1.00000			
16		Total Miscellaneous			1,0000			
17								
18		TOTAL CUSTOMER SERVICE & INFORMATION EXPENSE	2,458	2,458	1.00000			
19								
20		SALES EXPENSE						
21	91100	Commercial & Industrial						
22		Retail Customer Related			1.00000			
23		Total Commercial & Industrial	•	-	-			
24	91200	Demonstration & Selling						
25		Retail Customer Related	1,221		1.00000			
26		Total Demonstration & Selling	1,221	1,221	1.00000			
27	91300	Advertising			1.00000			
28 29		Retail Customer Related Total Advertising			1.00000			
30	91600	Miscellaneous Sales Expense	_	_	-			
31	31000	Retail Customer Related	344	344	1.00000			
32		Adjustment - Economic Development	(35		1.00000			
33		Total Miscellaneous Sales Expense	310		1.00000			
34								
35		TOTAL SALES EXPENSE	1,531	1,531	1.00000			
36								
37								

		ERVICE COMMISSION SS ENERGY FLORIDA INC.	test	ide jurisdictional factors for no year and the most recent histo ojected.		Type of data shown: Projected Test Year Ended 12/31/2010 X Prior Year Ended 12/31/2009
Docket N	o. 090079-E	31	(Thous	sands)	Ξ	Historical Test Year Ended 12/31/2008 Witness: Toomey / Slusser
Line		Account	(A) Total	(B) FPSC	(C) Jurisdictional	
No.	Account	Title	Company	Jurisdictional	Sep Factor	
1	710000111	ADMINISTRATIVE & GENERAL EXPENSES	Sompany			
2	92000	Salaries				
3		Labor Related .	64,399	59,034	0.91670	
4		Wholesale	1,275	· <u>-</u>	-	
5		Total Salaries	65,674	59,034	0.89890	
6	92100	Office Supplies	·			
7		Labor Related	26,750	24,522	0.91670	
8		Wholesale	295	•		
9		Total Office Supplies	27,045	24,522	0.90670	
10	92300	Outside Service				
11		Labor Related	33,159	30,396	0.91670	
12		<u>Wholesale</u>	8	-	<u>-</u>	
13		Total Outside Service	33,167	30,396	0.91647	
14	92400	Property Insurance - Storm Damage				
15		<u>Production</u>	6	6	0.93753	
16		<u>Transmission</u>	-	-	0.70597	
17		<u>Distribution</u>			0.99597	
18		Gross Plant	11,457	10,532	0.91926	
19		Wholesale				
20		Total Property Insurance - Storm Damage	11,463	10,538	0.91927	
21	92500	Insurance & Damages	0.040	0.444	0.04070	
22		<u>Labor Related</u>	9,942	9,114 9,114	0.91670 0.91670	
23		Total Insurance & Damages	9,942	9,114	0.91670	
24	92600	Pension & Benefits	400 522	100 409	0.91670	
25		<u>Labor Related</u> Wholesale	109,532 239	100,408	0.91670	
26		Total Pension & Benefits	109,771	100,408	0.91470	
27	02000	Regulatory Commission	109,771	100,400	0.91470	
28 29	92800	Wholesale	472			
30		Total Regulatory Commission	472	-		
31	92900	Duplicate Charges	7,2	-		
32	32300	Labor Related	(849)	(778)	0.91670	
33		Wholesale	(1)	(,,,,,	-	
33 34		Total Duplicate Charges	(850)	(778)	0.91535	
35		Total Dupilcate Offarges	(888)	(,,,,)	0.01000	
36						
37						
31						

		ERVICE COMMISSION SS ENERGY FLORIDA INC.	Explanation:	Provide jurisdictional factors for ne test year and the most recent histo is projected.		Type of data shown: Projected Test Year Ended 12/31/2010
Oocket N	lo. 090079-E	ı	((Thousands)	=	X Prior Year Ended 12/31/2009 Historical Test Year Ended 12/31/2008 Witness: Toomey / Slusser
Line		Account	(A) Total	(B) FPSC	(C) Jurisdictional	
No.	Account	Title	Company	Jurisdictional	Sep Factor	Control West Control
1	93000	Miscellaneous - General Advertising				
2		Labor Related	4,624	4,239	0.91670	
. 3		<u>Wholesale</u>		-	-	
4		Total Miscellaneous - General Advertising	4,624	4,239	0.91670	
5	93100	Rents				
6		<u>Labor Related</u>	7,811	7,160	0.91670	
7		Total Rents	7,811	7,160	0.91670	
8	93200	Maintenance of Structures & Equipment				
9		Labor Related	867	795	0.91670	
10		Total Maintenance of Structures & Equipment	867	795	0.91670	
11	93500	Maintenance of General Plant				
12		Labor Related	1,122	1,029	0.91670	
13		Total Maintenance of General Plant	1,122	1,029	0.91670	
14		Adjustment - Retail Rate Case Expenses	-		1.00000	
15		Adjustment - Advertising	(4,009)		0.91670	
16		Adjustment - Industry Association Dues	(24)		0.91670	
17		Adjustment - Interest on Tax Deficiency	1,113	1,023	0.91926	
18		Adjustment - Corporate Aircraft	(3,395)		0.91670	
19		Adjustment - Miscellaneous Interest Expense	1,839	1,690	0.91926	
20		TOTAL ADMINISTRATIVE & GENERAL EXPENSES	266,631	246,456	0.92433	
21 22		TOTAL OPERATION & MAINTENANCE EXPENSES	747,208	656,630	0.87878	
23						
24						
25						
26						
27						
28						
29						
30						
31						
32						
33						
34						
35						
36						
37						

F	LORIDA PI	UBLIC SERVIC	DE COMMISSION	Explanation:	Provide jurisdictional factors for net operatest year and the most recent historical ye		Type of data shown: Projected Test Year Ended	12/31/2010
C	Company: P	ROGRESS EN	NERGY FLORIDA INC.		is projected.		X Prior Year Ended	12/31/2009
							Historial Test Year Ended	12/31/2008
	ocket No.	090079-EI			(The		Witness: Toomey / Slusser	
					(Thousands)			
-				(A)	(B)	(C)		
	Line		Account	Total	FPSC	Jurisdictional		
	No.	Account	Title	Company	Jurisdictional	Sep Factor		
-	1							
	2		DEPRECIATION & AMORTIZATION EXPENSES					
	3							
	4		Production Plant					
	5		Production Plant - Base	113,268	106,192	0.93753		
	6		Production Plant - Intermediate	9,365	7,403	0.79046		
	7		Production Plant - Peaking	18,865	16,786	0.88979		
	8		Production Plant - DA Wholesale	1,456	<u>-</u>	-		
	9		Subtotal Production Plant	142,954	130,381	0.91205		
	10							
	11		Transmission Plant					
_	12		Transmission Plant - Base	922	864	0.93753		
45	13		Transmission Plant - Intermediate	49	39	0.79046		
	14		Transmission Plant - Peaking	302	269	0.88979		
	15		Transmission Plant - Transmission	30,984	21,874	0.70597		
	16		Subtotal Transmission Plant	32,257	23,045	0.71444		
	17							
	18		Distribution Plant					
	19		Distribution Plant - Primary Distribution	50,989	50,784	0.99597		
	20		Distribution Plant - Secondary Distribution	36,251	36,251	1.00000		
	21		Distribution Plant - Services Distribution	13,550	13,550	1.00000		
	22		<u>Distribution Plant</u> - Metering Distribution	4,436	4,384	0.98840		
	23		Distribution Plant - Lighting	3,614	3,614	1.00000		
	24		Distribution Plant - IS Equipment Distribution	60		0.98039		
	25		Total Distribution Plant	108,900	108,641	0.99763		
	26							
	27		Total General Plant					
	28		General Plant - Labor Related	17,867	16,379	0.91670		
	29		General Plant - Retail Customer Related	282	282	1.00000		
	30		General Plant - Production Plant			0.91251		
	31		Total General Plant	18,149	16,660	0.91799		
	32							
	33		TOTAL DEPRECIATION & AMORTIZATION EXPENSES	302,259	278,729	0.92215		
	34					_		

SUIL	DULE C-4		JONIODICTIONAL SELAN	ATION ACTORO-NET OF ENAMED	IIIOOIVIL		r ago o r or re
Comp		ERVICE COMMISSION SS ENERGY FLORIDA INC. P-EI	tesi is p	vide jurisdictional factors for net operati year and the most recent historical year rojected.		Type of data shown: Projected Test Year Ended Prior Year Ended Historial Test Year Ended Witness: Toomey / Slusser	12/31/2010 12/31/2009 12/31/2008
			(Tho	usands)			
	ne lo. Accour	Account nt Title	(A) Total Company	(B) FPSC Jurisdictional	(C) Jurisdictional Sep Factor		
	1	TAXES OTHER THAN INCOME					
	2 3 4 5	<u>Payroll Taxes</u>	20,174	18,494	#N/A		
	6 7 8 9	Property Taxes - Excluding Tallahassee Property Taxes - Tallahassee D/A Whis	112,818 -	103,709 -	0.91926 0.91626		
	10 11	<u>Franchise Fee</u>	115,555	115,555	1.00000		
<u>,</u>	12 13 14	<u>Gross Receipts Taxes</u>	115,079	115,079	1.00000		
•	15 16	Regulatory Assessment Fee & Misc	1,226	1,226	1.00000		
•	17 18	Adjustment - Exclude Franchise & GRT (Revenue Taxes)	(230,634)	(230,634)	1.00000		
	19	TOTAL TAXES OTHER THAN INCOME	134,218	123,429	0.91962		
	20 21 22	OTHER OPERATING EXPENSE ITEMS:					
	23	Gain/Loss on Sale of Property	(2,862)	(2,630)	0.91926		
:	2 4 25	TOTAL OTHER OPERATING EXPENSE ITEMS	(2,862)	(2,630)	0.91926		
	26 27 28 29 30 31 32 33 34 35						
:	37						

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the	Type of data shown:
	,	test year and the most recent historical year if the test year	Projected Test Year Ended 12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		is projected.	X Prior Year Ended 12/31/2009
			Historial Test Year Ended 12/31/2008
Docket No. 090079-EI			Witness: Toomey / Slusser
		(Thousands)	

					400
			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1		STATE & FEDERAL CURRENT INCOME TAXES			
2		0 " 5	4 700 572	4.544.007	0.04400
3		Operating Revenues	1,792,573	1,514,007	0.84460
4			747.000	050 000	0.07070
5		Less: O&M Expenses	747,208	656,630	0.87878
6		Less: Deprecation Expenses	302,259	278,729	0.92215
/		Less: Taxes Other than Income	134,218	123,429	0.91962
8		Less: Miscellaneous Other Expenses	(2,862)	(2,630)	0.91926
9		Less: Interest Charges	181,087	166,044	0.91693
10		Revenue Before Income Taxes	430,663	291,806	0.67758
11				~ ***	
12		Permanent Differences - Federal & State	(8,309)	(7,638)	0.91926
13		Temporary Differences - Federal	252,921	232,500	0.91926
14		Temporary Differences - State	243,651	223,979	0.91926
15					A 0.77.F.A
16		Current Taxable Income for State	666,005	508,147	0.67758
17					
18		Current State Income Tax @ 5.5%	36,630	24,820	0.67758
19					
20		Current Taxable Income for Federal	638,645	491,849	0.77014
21					
22		Current Federal Income Tax @ 35%	223,526	172,147	0.77014
23					
24		Total Current SIT & FIT	260,156	196,967	0.75711
25					
26		Provision for Deferred Income Taxes	(98,781)	(92,610)	0.93753
27		Amortization of ITC	(4,546)	(4,546)	1.00000
28					
29		Total Income Taxes	156,829	99,811	0.63643
30					
31		NET OPERATING INCOME	454,920	358,039	0.78704
32					
33					
34					
35					
36					

SCHEDULE C-4

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

Page 33 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide jurisdictional factors for net operating income for the test year and the	Type of data shown:	
	most recent historical year if the test year is projected.	Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		Prior Year Ended	12/31/2009
		X Historical Test Year Ended	12/31/2008
Docket No. 090079-El		Witness: Toomey / Slusse	er

(Thousands)

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Fitle	Company	Jurisdictional	Sep Factor
1		OPERATING REVENUES			
2					
3		Class-Retail	1,572,674	1,572,674	1.00000
4		Class-Wholesale	182,465	•	•
5		Non-Class - Production Demand Related	-	•	0.93753
6		Non-Class - Transmission Related			0.70597
7		Adjustment- Franchise & Gross receipts Tax	(193,348)	(193,348)	1.00000
8		Adjustment- Revenue Rate Simulation	-	•	1.00000
9		Adjustment - Sebring Revenue	(750)	(750)	1.00000
10		Total Sales of Electricity	1,561,041	1,378,576	0.88311
11			4,540,476		
12		Other Operating Revenues			
13	4500001	Interest - Delig A/C & LPC - Rate Base Related	22,775	20,883	0.91693
14	4510001	Service Charges - Service Related	24,254	24,254	1.00000
15					
16	4540001	Rent From Elec Prop - Retail Related	2,009	1,842	0.91693
17	4540002	CR3 Participants - Production Plant	986	899	0.91251
18	4540004	PT Holdings/Rev Sharing - Rate Base Related	1,475	1,353	0.91693
19	4540005	Rent - Lighting - Retail Related	59,326	59,326	1.00000
20	4540006	Rent -Non Lighting - Equipment Rental	6,829	6,829	1.00000
21	4540007	Rent -Joint Use - Distribution Primary	11,593	11,546	0.99597
22		Rent - Transmission - Trans Related	366	258	0.70597
23	4560001	Other Electric Revenue - Distribution Primary	2,445	2,435	0.99597
24	456000T	Wheeling Revenue - Wholesale Related	41,802	•	•
25		Wheeling Revenue - Transmission Related	13	9	0.70597
26	4560020	State Sales Tax Collected - Energy Non-Fuel Related	11	10	0.91693
27	4560021	Other Electric Revenue (IC Var) - Energy Non-Fuel Related	101	97	0.95765
28	45600TP	Ancillary Services Provided	1,730	1,579	0.91251
29	45600TR		0	,,0.0	
30	456001R	Commission Tax Collected	183	183	1.00000
31	4560022	Unbilled Retail Revenue	(830)	(830)	1.00000
32	4560030	Unbilled Wholesale Revenue	3,949	(000)	1.00000
32 33	4560033 4560097	Deferred Capacity Revenue	5,949	_	
	4560097 4560096	Accr GPIF Revenue	-		•
34 25		Deferred Fuel Revenue	<u> </u>	_	-
35 36	4560099	Total Other Operating Revenues	179,017	130,674	0.72995
36 37		rotal other operating kevenues	175,017	130,074	0.12990
37		TOTAL OPERATING REVENUES	1,740,057	1,509,250	0.86736
38 39		TOTAL OPERATING REVENUES	1,740,057	1,509,250	0.00730

SCHEDULE C-4

FLORIDA PUBLIC SERVICE COMMISSION

Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent historical year if the test year is projected.

Company: PROGRESS ENERGY FLORIDA INC.

Prior Year Ended 12/31/2010

Prior Year Ended 12/31/2009

Mitness: Toomey / Slusser

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

(Thousands)

			(A)	(B)	(C)	
Line		Account	Total	FPSC	Jurisdictional	
No.	Account	Title	Company	Jurisdictional	Sep Factor	
1		OPERATION & MAINTENANCE EXPENSES				
2		•				
3		PRODUCTION EXPENSES				
4						
5	5012000	Fuel - Non Recoverable				
6		Non-Recoverable Energy - Base	4,037	3,866	0.95765	
7		Non-Recoverable Energy - Intermediate	324	310	0.95765	
8		Non-Recoverable Energy - Peaking	-	-	0.95765	
9		Non-Recoverable Energy	53	51	0.95765	
10		Total Fuel - Non Recoverable	4,414	4,227	0.95765	
11	500-507	Steam Generation-Operation				
12		Base - Demand	21,895	20,527	0.93753	
13		Intermediate - Demand	13,427	10,613	0.79046	
14		Peaking - Demand	19	17	0.88979	
15		Total Steam Generation - Operation	35,340	31,157	0.88163	
16	510-514	Steam Generation - Maintenance				
17		Base - Energy	26,596	25,469	0.95765	
18		Intermediate - Energy	15,039	14,402	0.95765	
19		Peaking - Energy	468	448	0.95765	
20		Total Steam Generation - Maintenance	42,103	40,320	0.95765	
21	5182300	Nuclear Fuel - Non-Recoverable				
22		Non-Recoverable Energy	1,525	1,460	0.95765	
23		Last Core Nuclear Fuel - D/A Retail	113	113	1.00000	
24		Total Nuclear Fuel - Non-Recoverable	1,638	1,573	0.96057	
25	517	Operations Supervision Engineering				
26		Base - Demand	1,273	1,194	0.93753	
27		Base - Demand - Tallahassee Buyback	19	-	<u>-</u>	
28		Total Operations Supervision Engineering	1,292	1,194	0.92362	
29	519	Coolant & Water				
30		Base - Demand	4,147	3,888	0.93753	
31		Base - Demand - Tallahassee Buyback	56	-	<u> </u>	
32		Total Coolant & Water	4,203	3,888	0.92504	
33	520	Steam Expenses				
34		Base - Demand	10,644	9,979	0.93753	
35		Base - Demand - Tallahassee Buyback	124		<u></u>	
36		Total Steam Expenses	10,768	9,979	0.92671	
37			,			

Page 35 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide jurisdictional factors for net operating income for the test year and	Type of data shown:	
	the most recent historical year if the test year is projected.	Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	· · · · · · · · · · · · · · · · · · ·	Prior Year Ended	12/31/2009
,		X Historical Test Year Ended	12/31/2008
Docket No. 090079-FI		Witness: Toomey / Slusse	er

(Thousands)

		A	(A)	(B)	(C)
Line		Account Title	Total	FPSC	Jurisdictional Sep Factor
No.	Account 521	Nuclear Steam Other Sources	Company	Jurisdictional	Sep racior
1	521	Base - Energy			0.93753
2		Base - Energy - Tallahassee Buyback	•	-	0.93733
3		Total Nuclear Steam Other Sources	-	-	
4	5210001	Steam Other Sources	-	*	•
5	5210001				0.93753
7		Base - Energy Base - Energy - Tallahassee Buyback		-	0.30100
8		Total Steam Other Sources		-	
9	522	Steam Transfer Credit	•	-	-
-	522				0.93753
10		Base - Energy Base - Energy - Tallahassee Buyback			0.93733
11		Total Steam Transfer Credit		-	· · · · · · · · · · · · · · · · · · ·
12	523	Nuclear - Electric Expenses	-	-	•
13	523		4	3	0,93753
14		Base - Demand		3	0,93733
15		Base - Demand - Tallahassee Buyback	4	3	0.93753
16		Total Nuclear - Electric Expenses	4	3	0,93753
17	524	Nuclear - Misc Power Expenses	39,667	37,189	0,93753
18		Base - Demand	518	37,109	0.93/53
19		Base - Demand - Tallahassee Buyback	40,185	37,189	0.92544
20		Total Nuclear - Misc Power Expenses	40,100	37,109	0.92344
21	525	Nuclear - Rents			0.93753
22		Base - Demand	•	•	0.93/53
23		Base - Demand - Tallahassee Buyback		<u> </u>	
24		Total Nuclear - Rents	-	-	•
25	528	Nuclear - Maintenance Supervisor & Engineering	40.440	0.700	0.00750
26		Base - Energy	10,419	9,768	0.93753
27		EOL Nuclear M&S - D/A Retail	147	147	1.00000
28		Base - Energy - Tallahassee Buyback	100		
29		Total Nuclear - Maintenance Supervisor & Engineering	10,667	9,916	0.92960
30	529	Nuclear - Maintenance Structures			
31		Base - Demand	1,748	1,639	0.93753
32		Base - Demand - Tallahassee Buyback	10	-	<u> </u>
33		Total Nuclear - Maintenance Structures	1,758	1,639	0.93217
34	530	Nuclear - Maintenance Reactor Plant Equipment			
35		Base - Energy	15,631	14,654	0.93753
36		Base - Energy - Tallahassee Buyback	120	-	
37		Total Nuclear - Maintenance Reactor Plant Equipment	15,750	14,654	0.93041

Supporting Schedules: C-19, C-20, C-21, C-22

FLORIDA PUBLIC SERVICE COMMISSION

Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent historical year if the test year is projected.

Company: PROGRESS ENERGY FLORIDA INC.

Docket No. 090079-EI

Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent historical year if the test year is projected.

Projected Test Year Ended 12/31/2009

Historical Test Year Ended 12/31/2008

Witness: Toomey / Slusser

(Thousands)

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
	Account	Title	Company	Jurisdictional	Sep Factor
1	531	Nuclear - Maintenance Electric Plant			
2		Base - Energy	1,863	1,747	0.93753
3		Base - Energy - Tallahassee Buyback	18	<u> </u>	
4		Total Nuclear - Maintenance Electric Plant	1,882	1,747	0.92840
5	532	Nuclear - Maintenance Misc Nuclear Plant			
6		Base - Demand	2,867	2,688	0.93753
7		Base - Demand - Tallahassee Buyback	18	•	
8		Total Nuclear - Maintenance Misc Nuclear Plant	2,885	2,688	0.93155
9	5472000	Fuel - Other Prod Base			
10		Non-Recoverable Energy - Base	805	770	0.95765
11		Non-Recoverable Energy - Interm	8	8	0.95765
12		Non-Recoverable Energy - Peaking	616	590	0.95765
13		Total Fuel - Other Prod Base	1,429	1,368	0.95765
14	546-550	Other Power Gen - Operation			
15		Base - Demand	12,661	11,870	0.93753
16		Peaking - Demand	7,626	6,785	0.88979
17		Total Other Power Gen - Operation	20,287	18,656	0.91958
18	551-554	Other Power Gen - Maintenance			
19		Peaking - Demand	11,090	9,868	0.88979
20		Base - Energy	23,155	22,175	0.95765
21		Total Other Power Gen - Maintenance	34,245	32,042	0.93567
22	5550709	PP CAP - Base - Nonrecoverable - WH			
23		Non-Recoverable Demand	28,654	-	<u> </u>
24		Total PP CAP - Base - Nonrecoverable - WH	28,654	-	-
25	5550710	PP CAP - Base - Nonrecoverable - Retail			
26		Non-Recoverable Demand		•	1.00000
27		Total PP CAP - Base - Nonrecoverable - Retail	-	-	-
	5560000	Sys Control & Dispatch			
29		Base - Demand	1,377	1,291	0.93753
30		Intermediate - Demand	271	214	0.79046
31		Peaking - Demand	616	548	0.88979
32		Total Sys Control & Dispatch	2,265	2,054	0.90693
	5570001	Other Pwr Supply Expenses	13	12	0.91251
34		Total Other Pwr Supply Expenses	13	12	0.91251
35					
36		TOTAL PRODUCTION O&M EXPENSES	259,783	214,307	0.82494
37					

Supporting Schedules: C-19, C-20, C-21, C-22

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

Page 37 of 48

FLORIDA PUBLIC SERVICE COMMISSION

Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent historical year if the test year is projected.

Company: PROGRESS ENERGY FLORIDA INC.

Docket No. 090079-E1

Type of data shown:

Projected Test Year Ended 12/31/2010

Prior Year Ended 12/31/2009

Mitness: Toomey / Slusser

(Thousands)

Line		Account	(A) Total	(B) FPSC	(C) Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1		TRANSMISSION EXPENSES			
2					
3		Transmission-Operation			
4	56000	Supervision & Engineering			0.00750
5		Production Base	37	35	0.93753
6		Production Intermediate	5	4	0.79046
7		Production Peaking	6	5	0.88979
8		<u>Transmission</u>	4,780	3,375	0.70597
9		Total Supervision & Engineering	4,829	3,419	0.70809
10	56100	Load Dispatching - Transmission			
11		Transmission	4,756	3,357	0.70597
12		Total Load Dispatching	4,756	3,357	0.70597
13	56200	Station Expenses			
14		Production Base	2	2	0.93753
15		Production Intermediate	0	0	0.79046
16		Production Peaking	0	0	0.88979
17		Transmission	269	190	0.70597
18		Total Station Expenses	272	193	0.70809
19	56300	OH Line Expenses			
20		Transmission	72	51	0.70597
21		Total OH Line Expenses	72	51	0.70597
22	56400	UG Line Expenses			
23	00.00	Total UG Line Expenses		-	-
24	56500	Trans of Electricity by Others			
25	50000	Total Trans of Electricity by Others	 	-	-
26	56600	Miscellaneous Expenses			
27	50000	Production Base	54	51	0.93753
28		Production Intermediate	8	6	0.79046
26 29		Production Peaking	9	8	0.88979
29 30		Transmission	6,926	4,889	0.70597
		Total Miscellaneous Expenses	6,996	4,954	0.70809
31	56700	Rents	0,000	,,55 .	
32	20/00	Total Rents			•
33		Total Relics			
34		Total Transmission Operation	16,925	11,974	0.70748
35		Total Transmission-Operation	10,323	11,074	0.10170
36					
37					

Page 38 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide jurisdictional factors for net operating income for the test year and	Type of data shown:	
	the most recent historical year if the test year is projected.	Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		Prior Year Ended	12/31/2009
		X Historical Test Year Ended	12/31/2008
Docket No. 090079-El		Witness: Toomey / Slusser	r

(Thousands)

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1		Transmission - Maintenance			
2	56800	Supervision & Engineering			
3		Production Base	10	10	0.93753
4		Production Intermediate	1	1	0.79046
5		Production Peaking	2	2	0.88979
6		Transmission	1,317	930	0.70597
7		Total Supervision & Engineering	1,331	942	0.70809
8	56900	Structures			
9		Production Base	3	3	0.93753
10		Production Intermediate	0	0	0.79046
11		Production Peaking	0	0	0.88979
12		Transmission	379	268	0.70597
13		Total Structures	383	271	0.70809
14	57000	Station Equipment			
15	0.000	Production Base	67	63	0.93753
16		Production Intermediate	9	7	0.79046
17		Production Peaking	11	10	0.88979
18		Transmission	8,528	6,021	0.70597
19		Total Station Equipment	8,615	6,100	0.70809
20	57100	Overhead Lines	·		
21	000	Production Base	54	50	0.93753
22		Production Intermediate	8	6	0.79046
23		Production Peaking	9	8	0.88979
24		Transmission	6,861	4,844	0.70597
25		Total Overhead Lines	6,932	4,908	0.70809
26	57200	Underground Lines	-	-	
27	31200	Total Underground Lines	•	-	-
28	57300	Miscellaneous Expenses			
	5/300	Production Base	я	8	0.93753
29		Production base Production Intermediate	1	1	0.79046
30		Production Intermediate Production Peaking	1	1	0.88979
31			1,045	738	0.70597
32		<u>Transmission</u> Total Miscellaneous Expenses	1,055	747	0.70809
33		i otai miscelianeous Expenses	1,035	171	0.70009
34		Total Transmission Maintenance	18,316	12,969	0.70809
35		Total Transmission - Maintenance	10,310	12,909	0.70009
36			25 244	24.042	0.70780
37		TOTAL TRANSMISSSION O&M	35,241	24,943	0.70780

Supporting Schedules: C-19, C-20, C-21, C-22

Page 39 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide jurisdictional factors for net operating income for the test year and	Type of data	a shown:		
		the most recent historical year if the test year is projected.		Projected Test Ye	ear Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		, , , ,		Prior Year Ended	j	12/31/2009
, ·			Х	Historical Test Ye	ear Ended	12/31/2008
Docket No. 090079-EI				Witness:	Toomey / Slusser	

(Thousands)

Line No. 1	A	Account			
	A		Total	FPSC	Jurisdictional
4	Account	Title	Company	Jurisdictional	Sep Factor
		DISTRIBUTION EXPENSES			
2					
3		Distribution-Operation ·			
4	58000	Supervision & Engineering			
5		Primary Distribution	9,396	9,358	0.99597
6		Secondary Distribution	6,286	6,286	1.00000
7		<u>Services</u>	2,766	2,766	1.00000
8		<u>Metering</u>	709	700	0.98840
9		<u>Lighting</u>	2,034	2,034	1.00000
10		IS Equipment	16	16	0.98039
11		Total Supervision & Engineering	21,207	21,160	0.99781
12	58100	Load Dispatching			
13		Primary Distribution	4,496	4,478	0.99597
14		Total Load Dispatching	4,496	4,478	0.99597
15	58200	Station Expenses			
16		Primary Distribution	61	61	0.99597
17		IS Equipment	0	0	0.98039
18		Total Station Expenses	61	61	0.99594
19	58300	Overhead Lines			
20		Primary Distribution	3,293	3,280	0.99597
21		Secondary Distribution	1,187	1,187	1.00000
22		Services	359	359	1.00000
23		Lighting	492	492	1.00000
24		IS Equipment	9	9	0.98039
25		Total Overhead Lines	5,340	5,326	0.99748
	58400	Underground Lines			
27		Primary Distribution	750	747	0.99597
28		Secondary Distribution	687	687	1.00000
29		Services	814	814	1.00000
30		Total Underground Lines	2,251	2,248	0.99866
	58500	Street Lighting			
32		Lighting	5,151	5,151	1.00000
33		Total Street Lighting	5,151	5,151	1,00000
	58600	Meter Expenses		·	
35		Services	8,863	8,863	1.00000
36		Total Meter Expenses	8,863	8,863	1.00000
37			, -	,	

Supporting Schedules: C-19, C-20, C-21, C-22

285

191

84

21

42

42

0.99597

1.00000

1.00000

0.98840

0.99597

0.99597

SCHEDULE C-4			JURISDIC HONAL SEPA	ARATION FACTORS - NET	Page 40 of		
FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC.			Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent historical year if the test year is projected.			Type of data shown: Projected Test Year Ended 12/31/2010 Prior Year Ended 12/31/2009	
Company	. I WOOKE	o Litera i Lordon into				X Historical Test Year Ended 12/31/2008	
Docket No. 090079-EI		1				Witness: Toomey / Slusser	
			(Thousa	ands)			
·			(A)	(B)	(C)		
Line		Account	Total	FPSC	Jurisdictional		
No.	Account	Title	Company	Jurisdictional	Sep Factor		
1	58700	Customer Installation Exp					
2		<u>Services</u>	1,391	1,391	1.00000		
3		Total Customer Installation Exp	1,391	1,391	1.00000		
4	58800	Miscellaneous Expenses					
5		Primary Distribution	9,828	9,789	0.99597		
6		Secondary Distribution	6,575	6,575	1.00000		
7		<u>Services</u>	2,893	2,893	1.00000		
8		<u>Metering</u>	741	733	0.98840		
9		<u>Lighting</u>	2,128	2,128	1.00000		
10		IS Equipment	17	16	0.98039		
11		Total Miscellaneous Expenses	22,181	22,133	0.99781		
12	58900	Rents					

286

191

84

22

42

62 1.00000 62 17 <u>Lighting</u> 0.98039 18 IS Equipment 0 0.99781 19 Total Rents 646 644 20 0.99817 71,586 71,455 21 **Total Distribution-Operation** 22 23 Distribution-Maintenance 24 59000 Supervision & Engineering 25 1,111 1,106 0.99597 Primary Distribution 26 743 743 1.00000 Secondary Distribution 27 327 327 1.00000 Services 83 0.98840 28 Metering 84 240 240 1.00000 29 Lighting 2 0.98039 30 IS Equipment 2,507 2,501 0.99781

Supporting Schedules: C-19, C-20, C-21, C-22

Structures

Primary Distribution

Total Structures

Primary Distribution

<u>Services</u>

<u>Metering</u>

Secondary Distribution

Total Supervision & Engineering

COLLEDING C 4

13

14

15

16

31

32

33

34

35 36 37

59100

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide jurisdictional factors for net operating income for the test year and	Type of data shown:	
	the most recent historical year if the test year is projected.	Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		Prior Year Ended	12/31/2009
		X Historical Test Year Ended	12/31/2008
Docket No. 090079-EI		Witness: Toomey / Sluss	er
	(Thousands)		

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1	59200	Station Expenses			
2		Primary Distribution	2,164	2,156	0.99597
3		Secondary Distribution	1,448	1,448	1.00000
4		Services	637	637	1.00000
5		<u>Metering</u>	163	161	0.98840
6		<u>Lighting</u>	469	469	1.00000
7		IS Equipment	4	4	0.98039
8		Total Station Expenses	4,885	4,874	0.99781
9	59300	Overhead Lines			
10		Primary Distribution	18,387	18,313	0.99597
11		Secondary Distribution	6,630	6,630	1.00000
12		<u>Services</u>	2,005	2,005	1.00000
13		<u>Lighting</u>	2,745	2,745	1.00000
14		IS Equipment	50	49	0.98039
15		Total Overhead Lines	29,818	29,743	0.99748
16	59400	Underground Lines			
17		Primary Distribution	2,694	2,683	0.99597
18		Secondary Distribution	2,469	2,469	1.00000
19		Services	2,924	2,924	1.00000
20		Total Underground Lines	8,087	8,076	0.99866
21	59500	Line Transformers			
22		Secondary Distribution	81	81	1.00000
23		Total Line Transformers	81	81	1.00000
24	59600	Street Lighting			
25		<u>Lighting</u>	10	10	1.00000
26		Total Street Lighting	10	10	1.00000
27	59700	Meters			
28		<u>Metering</u>	884	874	0.98840
29		Total Meters	884	874 .	0.98840
30	59800	Miscellaneous Distribution Plant			
31		Primary Distribution	1,195	1,190	0.99597
32		Secondary Distribution	799	799	1.00000
33		<u>Services</u>	352	352	1.00000
34		<u>Metering</u>	90	89	0.98840
35		<u>Lighting</u>	259	259	1.00000
36		IS Equipment	2	2	0.98039
37		Total Miscellaneous Distribution Plant	2,696	2,690	0.99781
38					,
39		Distribution - Maintenance	49,009	48,891	0.99758
40					
41		TOTAL DISTRIBUTION O&M	120,595	120,346	0.99793

Supporting Schedules: C-19, C-20, C-21, C-22

FLORIDA PUBLIC SERVICE COMMISSION Explanation: Provide jurisdictional factors for net operating income for the test year and Type of data shown: 12/31/2010 Projected Test Year Ended the most recent historical year if the test year is projected. Prior Year Ended 12/31/2009 Company: PROGRESS ENERGY FLORIDA INC. Historical Test Year Ended 12/31/2008 Toomey / Slusser Docket No. 090079-EI Witness:

(Thousands)

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1		CUSTOMER ACCOUNT EXPENSE			
2	90100	Supervision			
3		Meter Reading	214	209	0.97536
4		Customer Records	1,078	1,078	0.99999
5		Billing	847	826	0.97479
6		Services	307	307	1.00000
7		Total Supervision	2,447	2,420	0.98911
8	90200	Meter Reading			
9		Meter Reading	2,814	2,745	0.97536
10		Total Meter Reading	2,814	2,745	0.97536
11	90300	Customer Receipts & Collections Expense			
12		Customer Records	14,159	14,159	0,99999
13		Billing	11,125	10,845	0.97479
14		Services	4,031	4,031	1.00000
15		Total Customer Receipts & Collections Expense	29,316	29,035	0.99043
16	90400	Uncollectible Accounts			
17		<u>Uncollectible</u>	12,512	12,512	1.00000
18		Wholesale	1,037	<u>-</u>	<u>-</u>
19		Total Uncollectible Accounts	13,549	12,512	0.92348
20	90500	Miscellaneous			
21		Meter Reading	157	153	0.97536
22		Customer Records	803	803	0.99999
23		Billing	631	615	0.97479
24		Services	229	229	1.00000
25		Total Miscellaneous	1,819	1,799	0.98913
26					
27		TOTAL CUSTOMER ACCOUNT EXPENSE	49,944	48,511	0.97131
28					, , , , , , , , , , , , , , , , , , , ,
29					
30					
31					
32					
33					
34					
35					
36					
37					
٠,					

Page 43 of 48

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide jurisdictional factors for net operating income for the test year and	Type of data shown:	
TEOTHORY OBEIG CENTICE COMMISSION	the most recent historical year if the test year is projected.	Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	the most recent meterical year in the test year to projected.	Prior Year Ended	12/31/2009
Company, PROGRESS ENERGY FLORIDA INC.		X Historical Test Year Ended	12/31/2008
Docket No. 090079-El		Witness: Toomey / Slusser	

(Thousands)

			(A)	(P)	(C)
		A	(A) Total	(B) FPSC	Jurisdictional
Line		Account		Jurisdictional	Sep Factor
No.	Account	Title	Company	Junsdictional	Зер гасци
1		CUSTOMER SERVICE & INFORMATION EXPENSE			
2	90600	Customer Account P/R Account			1.00000
3		Retail Customer Related	<u> </u>	<u> </u>	1.00000
4		Total Customer Account P/R Account	-	-	-
5	90700	Supervision		20	1.00000
6		Retail Customer Related	20		1.00000
7		Total Supervision	20	20	1.00000
8	90800	Customer Assistance		0.000	1.00000
9		Retail Customer Related	2,802	2,802	1.00000
10		Total Customer Assistance	2,802	2,802	1.00000
11	90900	Information & Instructional Advertising			4 00000
12		Retail Customer Related	-		1.00000
13		Total Information & Instructional Advertising	-	-	-
14	91000	Miscellaneous			4.0000
15		Retail Customer Related	143	143	1.00000
16		Total Miscellaneous	143	143	1.00000
17					
18		TOTAL CUSTOMER SERVICE & INFORMATION EXPENSE	2,965	2,965	1.00000
19					
20		SALES EXPENSE			
21	91100	Commercial & Industrial			
22		Retail Customer Related		.	1.00000
23		Total Commercial & Industrial	-	•	-
24	91200	Demonstration & Selling			
25		Retail Customer Related	1,434	1,434	1.00000
26		Total Demonstration & Selling	1,434	1,434	1.00000
27	91300	Advertising			
28		Retail Customer Related	160	160	1.00000
29		Total Advertising	160	160	1.00000
30	91600	Miscellaneous Sales Expense			
31		Retail Customer Related	43	43	1.00000
32		Adjustment - Economic Development	(33)	(33)	1.00000_
33		Total Miscellaneous Sales Expense	10	10	1.00000
34					
35		TOTAL SALES EXPENSE	1,605	1,605	1.00000
36					
37					

w

Supporting Schedules: C-19, C-20, C-21, C-22

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide jurisdictional factors for net operating income for the test year and	Type of data shown:	
	the most recent historical year if the test year is projected.	Projected Test Year Ended 1:	2/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		Prior Year Ended 1:	2/31/2009
•		X Historical Test Year Ended 12	2/31/2008
Docket No. 090079-El		Witness: Toomey / Slusser	
	(Thousands)		

Line		Account	(A) Total	(B) FPSC	(C) Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1		ADMINISTRATIVE & GENERAL EXPENSES	· · · · · · · · · · · · · · · · · · ·		
2	92000	Salaries			
3		Labor Related	57,553	52,759	0.91670
4		Wholesale	1,275	-	-
5		Total Salaries	58,828	52,759	0.89683
6	92100	Office Supplies			
7		Labor Related	25,929	23,769	0.91670
8		Wholesale	295	•	•
9		Total Office Supplies	26,224	23,769	0.90638
10	92300	Outside Service			
11		Labor Related	33,774	30,961	0.91670
12		Wholesale	8		
13		Total Outside Service	33,782	30,961	0.91648
14	92400	Property Insurance - Storm Damage			
15		<u>Production</u>	6	6	0.93753
16		Transmission	-	-	0.70597
17		<u>Distribution</u>	-	-	0.99597
18		Gross Plant	10,210	9,386	0.91926
19		<u>Wholesale</u>	0		
20		Total Property Insurance - Storm Damage	10,216	9,391	0.91927
21	92500	Insurance & Damages			
22		Labor Related	8,882	8,142	0.91670
23		Total Insurance & Damages	8,882	8,142	0.91670
24	92600	Pension & Benefits			
25		Labor Related	47,736	43,760	0.91670
26		<u>Wholesale</u>	239		
27		Total Pension & Benefits	47,975	43,760	0.91213
28	92800	Regulatory Commission			
29		<u>Wholesale</u>	381		<u> </u>
30		Total Regulatory Commission	381	-	•
31	92900	Duplicate Charges			
32		Labor Related	(1,511)	(1,385)	0.91670
33		<u>Wholesale</u>	(2)	•	-
34		Total Duplicate Charges	(1,513)	(1,385)	0.91537
35					
36					
37					

Supporting Schedules: C-19, C-20, C-21, C-22

Page 45 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide jurisdictional factors for net operating income for the test year and	Type of data shown:	
	the most recent historical year if the test year is projected.	Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		Prior Year Ended	12/31/2009
		X Historical Test Year Ended	12/31/2008
Docket No. 090079-El		Witness: Toomey / Slusser	
	(They see a de)		

(Thousands)

			(A)	(B)	(C)
Line		Account	Total	FPSC	Jurisdictional
No.	Account	Title	Company	Jurisdictional	Sep Factor
1	93000	Miscellaneous - General Advertising			
2		Labor Related	3,893	3,569	0.91670
3		Total Miscellaneous - General Advertising	3,893	3,569	0.91670
4	93100	Rents			
5		Labor Related	8,198	7,515	0.91670
6		CR3 Tallahassee Buyback	367		
7		Total Rents	8,566	7,515	0.87737
8	93200	Maintenance of Structures & Equipment			
9		Labor Related	-		0.91670
10		Total Maintenance of Structures & Equipment	•	-	-
11	93500	Maintenance of General Plant			
12		Labor Related	3,802	3,485	0.91670
13		Total Maintenance of General Plant	3,802	3,485	0.91670
14		Adjustment - Advertising	(3,795)	(3,479)	0.91670
15		Adjustment - Industry Association Dues	(23)	(21)	0.91670
16		Adjustment - Interest on Tax Deficiency	(4,848)	(4,456)	0.91926
17		Adjustment - Corporate Aircraft	(3,234)	(2,964)	0.91670
18		Adjustment - Miscellaneous Interest Expense	1,839	121	Various
19		TOTAL ADMINISTRATIVE & GENERAL EXPENSES	190,977	171,167	0.89627
20			100,011		0.00027
		TOTAL OPERATION & MAINTENANCE EXPENSES	661,111	583,844	0.88313
21		TOTAL OPERATION & MAINTENANCE EXPENSES	001,111	565,644	0.00313
22					
23					
24					
25					
26					
27					
28					
29					
30					
31					
32					
33					
34					
35					

SCHEDULE C-4

JURISDICTIONAL SEPARATION FACTORS - NET OPERATING INCOME Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent

Type of data shown:

Projected Test Year Ended
Prior Year Ended

12/31/2010 12/31/2009 12/31/2008

Page 46 of 48

Historical Test Year Ended 1: Witness: Toomey / Slusser

Docket No. 090079-EI

FLORIDA PUBLIC SERVICE COMMISSION

Company: PROGRESS ENERGY FLORIDA INC.

(Thousands)

historical year if the test year is projected.

Line	Account unt Title	(A) Total Company	(B) FPSC Jurisdictional	(C) Jurisdictional Sep Factor
No. Acco	unt nae	Company	Julisticutorial	Gep i actor
2	DEPRECIATION & AMORTIZATION EXPENSES			
2	DEFRECIATION & AMORT EATION EXPENSES			
J 1	Production Plant			
-	Production Plant - Base	100,065	93,814	0.93753
5	Production Plant - Intermediate	13,561	10,720	0.79046
7	Production Plant - Peaking	19,591	17,432	0.88979
.,,	Production Plant - DA Wholesale	259	*	-
9	Subtotal Production Plant	133,477	121,966	0.91376
10	Subtotal Froduction Flaint	100,477	721,000	0.01070
11	Transmission Plant			
12	Transmission Plant - Base	244	229	0.93753
13	Transmission Plant - Intermediate	35	28	0.79046
14	Transmission Plant - Peaking	41	36	0.88979
15	Transmission Plant - Transmission	28,904	20,405	0.70597
16	Subtotal Transmission Plant	29,224	20,698	0.70826
17		·	·	
18	Distribution Plant			
19	Distribution Plant - IS Equipment Distribution	119,627	119,395	0.99806
20	Sebring Rider Depreciation - Retail	730	730	1.00000
21	Total Distribution Plant	120,357	120,125	0.99807
22				
23	Total General Plant			
24	General Plant - Labor Related	14,540	13,329	0.91670
25	General Plant - Retail Customer Related	2,386	2,190	Various
26	General Plant - Production Plant			0.91251
27	Total General Plant	16,926	15,519	0.91685
28				
29	Adjustments			
30	Sebring Rider Depreciation	(730)	(730)	1.00000
31	Total Adjustments	(730)	(730)	
32				
33	TOTAL DEPRECIATION & AMORTIZATION EXPENSES	299,253	277,577	0.92757
34				
35				
36				
37				

Page 47 of 48

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent	Type of data shown:	
	historical year if the test year is projected.	Projected Test Year Ended 12/3	/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Prior Year Ended 12/3	/31/2009
		X Historical Test Year Ended 12/	/31/2008
Docket No. 090079-EI		Witness: Toomey / Slusser	

(Thousands)

	-			(0)	(0)
			(A) T-4-1	(B) FPSC	(C) Jurisdictional
Line	AA	Account Title	Total Company	Jurisdictional	Sep Factor
No.	Account	TAXES OTHER THAN INCOME	Company	Julisticitorial	Gep r actor
1		TAXES OTHER THAN INCOME			
3					
· A		Payroll Taxes	20,917	19,175	0.91670
- 4		rayioli taxes	20,317	15,175	0.57010
6		Property Taxes - Excluding Tallahassee	92,305	84,853	0.91926
7		Property Taxes - Tallahassee D/A Whis	-	-	0.91626
8		Troperty reves - remaindeded by twins			******
9		Franchise Fee	94,289	94,289	1.00000
10		110.00000	- ,=	·	
11		Gross Receipts Taxes	98,667	98,667	1.00000
12			·		
13		Regulatory Assessment Fee & Misc	821	821	1.00000
14			142	131	0.91926
15		Adjustment - Exclude Franchise & GRT (Revenue Taxes)	(192,957)	(192,957)	1.00000
16					
17		TOTAL TAXES OTHER THAN INCOME	114,186	104,979	0.91937
18					
19		OTHER OPERATING EXPENSE ITEMS:			
20					
21		Gain/Loss on Sale of Property	(2,317)	(2,120)	0.91537
22					
23		TOTAL OTHER OPERATING EXPENSE ITEMS	(2,317)	(2,120)	0.91537
24					
25					
26					

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide jurisdictional factors for net operating income for the test year and the most recent	Type of data shown:	
FLORIDA PUBLIC SERVICE COMMISSION	historical year if the test year is projected.	Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	modifical jobs in the lost jobs to projection	Prior Year Ended	12/31/2009
		X Historical Test Year Ended	12/31/2008
Docket No. 090079-FI		Witness: Toomey / Slusser	

(1	nousands)
----	-----------

			(A) Total	(B) FPSC	(C) Jurisdictional
Line No.	Account	Account Title	Company	Jurisdictional	Sep Factor
1	Account	STATE & FEDERAL CURRENT INCOME TAXES	Company	ounsaletional	oop i dotoi
2		STATE & FEDERAL CORRENT INCOME TAXES			
3		Operating Revenues .	1,740,057	1,509,250	0.86736
1		Operating revenues	1,1 10,001	1,000,200	
5		Less: O&M Expenses	661,111	583,844	0.88313
6		Less: Deprecation Expenses	299,253	277,577	0.92757
7		Less: Taxes Other than Income	114,186	104,979	0.91937
Ŕ		Less: Miscellaneous Other Expenses	(2,317)	(2,120)	0.91537
9		Less: Interest Charges	(=,= · · /	(,,	
10		Revenue Before Income Taxes	667,824	544,970	0.81604
11		115-15-16-16-16-16-16-16-16-16-16-16-16-16-16-			
12		Current Taxable Income for State	667,824	544,970	0.81604
13					
14		Current State Income Tax @ 5.5%	11,075	5,858	0.52894
15		3			
16		Current Taxable Income for Federal	656,749	539,112	0.82088
17					
18		Current Federal Income Tax @ 35%	34,069	18,020	0.52894
19					
20		Total Current SIT & FIT	45,144	23,879	0.52894
21					
22		Provision for Deferred Income Taxes	133,221	122,465	0.91926
23		Amortization of ITC	(5,940)	(5,460)	0.91926
24					
25		Tax on Gain/Loss on Disposition of Property	894	818	Various
26		Deferred Tax AFUDC Debt	(27)	(25)	0.91926
27		Franchise & Gross Receipts Tax	(151)	(151)	1.00000
28		Interest Synch Adjustment	21,461	7,788	N/A
29		Tax on Corporate Aircraft Allocation	1,247	1,143	0.91670
30		Tax on Misc Interest Expense	(709)	(47)	Various
31		Tax on Interest on Tax Deficiency	1,870	1,719	0.91926
32		Tax on Image Building Advertising	1,464	1,342	0.91670
33		Tax on Economic Development	13	13	1.00000
34		Tax on Industry Association Dues	9	8	0.91670
35		Tax on Sebring Rider	(7)	(7)	1.00000
36					
37		Total Income Taxes	198,488	153,484	0.77327
38					
39		NET OPERATING INCOME	469,336	391,486	0.83413

SCF		

OPERATING REVENUES DETAIL

Page 1 of 2

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide a schedule of operating revenue by primary account	Type of data shown:	
		for the test year. Provide the per books amounts and the	X Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		adjustments required to adjust the per books amounts to	Prior Year Ended	12/31/2009
		reflect the requested test year operating revenues.	Historical Year Ended	12/31/2008
Docket No. 090079-EI			Witness: Toomey/Slusser	

(Thousands)

			Adjustments									_		
			(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)	(L)
ine	Account	Account	Per	Non-	Jurisdictional			Franchise	Gross Receipts	3		Company	Total	Adjusted Total
No.	No.	Title .	Books	Jurisdictional	(A) - (B)	Fuel	Conservation	Fees	Tax	Environmental	Capacity	Adjustments	(D) thru (J)	(C) - (K)
1		Sales of Electricity											• • • • • • • • • • • • • • • • • • • •	
2	440	Residential Sales	\$2,662,721	0	\$2,662,721	\$1,197,137	\$45,003	\$61,768	\$64,617	\$118,165	\$274,440	\$0	\$1,761,130	\$901,591
3	442	Commercial Sales	1,396,113	0	1,396,113	730,043	27,444	42,720	33,747	72,060	167,361	0	1,073,375	322,738
4	443	Industrial Sales	422,283	0	422,283	240,740	9,050	4,624	9,984	23,762	55,189	0	343,350	78,933
5	444	Public Street & Highway Lighting	2,564	0	2,564	1,493	56	58	63	147	342	0	2,160	404
6	445	Other Sales to Public Authorities	385,109	0	385,109	206,960	7,780	9,089	9,370	20,428	47,445	0	301,073	84,036
7	446	Sales to Railroads & Railways	0	0	0	0	0	0	0	0	0	0	0	. 0
8	448	Interdepartmental Sales	0	0	. 0	0	0	0	0	0	0	0	0	0
9		Total Sales to Ultimate Customers	4,868,790	0	4,868,790	2,376,373	89,334	118,260	117,781	234,562	544,777	0	3,481,088	1,387,702
0	447	Sales for Resale	666,314	666,033	281								0	281
1		Totals Sales of Electricity	5,535,104	666,033	4,869,071	2,376,373	89,334	118,260	117,781	234,562	544,777	(14)	3,481,074	1,387,998
12	449.1	(Less) Provision for Rate Refunds	0		0							` ,		
13		Total Revenue Net of Refund Provision	5,535,104	666,033	4,869,071	2,376,373	89,334	118,260	117,781	234,562	544,777	(14)	3,481,074	1,387,998
4														
5		Other Operating Revenues												
6	450	Forfeited Discounts	22,320	2,932	19,388								-	19,388
7	451	Miscellaneous Service Revenues	26,300	•	26,300								-	26,300
8	453	Sales of Water & Water Power	-	-	•								-	
9	454	Rent from Electric Property	83,348	637	82,711								-	82,711
0	455	Interdepartmental Rents	-	-	•								-	
21	456	Deferred Fuel Revenue	-	-	-								-	
2	456	Unbilled Revenue	170	170	-								-	-
3	456	Other Electric Revenues	99,371	97,849	1,522									1,522
4		Total Other Operating Revenues	231,509	101,589	129,921	0	0	0	0	Ö	0	. 0	0	
5		· -		,	•					_	_			0,02
6		Total Electric Operating Revenues	\$5,766,614	\$767,622	\$4,998,992	\$2,376,373	\$89,334	\$118,260	\$117,781	\$234,562	\$544,777	(\$14)	\$3,481,074	\$1,517,918

SCHEDULE C-5							OPERATING REVENUES DETAIL									
FLOR	DA PUB	LIC SERVICE COMMISSION		Provide a schedule of operating revenue by primary account Type of data shown:												
_						•		•	amounts and the							
Comp	Company: PROGRESS ENERGY FLORIDA INC.							•	ooks amounts to)		Projected Test Prior Year End		12/31/2010		
				reflect the rec	uested test ye	ar operating	revenues.			12/31/2009						
роске	t No. 090	0079-EI					(T)					Historical Year	Ended	12/31/2008		
							(Thousands)			,	Witness: Too	mey / Slusser				
				-				· · · · · · · · · · · · · · · · · · ·		stments				-		
	_		(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)		
	Accoun		Per	Non-	Jurisdictional				Gross Receipts			Company	Total	Adjusted Tota		
No.	No.	Title	Books	Jurisdictional	(A) - (B)	Fuel	Conservation	Fees	Tax	Environmental	Capacity	Adjustments	(D) thru (J)	(C) - (K)		
1		Sales of Electricity														
. 2	440	Residential Sales	\$2,625,145	0	\$2,625,145	\$1,241,997	\$39,632	\$60,891	\$63,699	\$42,264	\$273,255	\$0	\$1,721,739	\$903,407		
3	442	Commercial Sales	1,350,846	0	1,350,846	747,364	23,849	41,331	32,650	25,432	160,938	0	1,031,563	319,283		
4	443	Industrial Sales	407,408	0	407,408	246,002	7,850	4,495	9,616	8,371	52,957	0	329,292			
5	444	Public Street & Highway Lighting	2,582	0	2,582	1,594	51	58	63	54	345	0	2,165	417		
6	445	Other Sales to Public Authorities	372,000	0	372,000	212,452	6,779	8,780	9,050	7,229	44,342	0	288,632	83,368		
7	446	Sales to Railroads & Railways	0	0	0	0	0	0	0	0	0	0	0	0		
8	448	Interdepartmental Sales	0	0	0	0	0	0	0	0	0	0	0	0		
6		Total Sales to Ultimate Customers	4,757,982		4,757,982	2,449,409	78,161	115,555	115,079	83,350	531,837	0	3,373,391	1,384,591		
10		Sales for Resale	601,311	601,311	0								0	0		
11		Totals Sales of Electricity	5,359,294	601,311	4,757,982	2,449,409	78,161	115,555	115,079	83,350	531,837	0	3,373,391	1,384,591		
12		(Less) Provision for Rate Refunds	0		0											
13		Total Revenue Net of Refund Provision	5,359,294	601,311	4,757,982	2,449,409	78,161	115,555	115,079	83,350	531,837	0	3,373,391	1,384,591		
14																
15		Other Operating Revenues														
16		Forfeited Discounts	22,320	1,854	20,466								-	20,466		
17	451	Miscellaneous Service Revenues	25,011	-	25,011								-	25,011		
18		Sales of Water & Water Power		-	-								-			
19	454	Rent from Electric Property	81,999	370	81,630								-	81,630		
20		Interdepartmental Rents	-	-	-								-	-		
21	456	Deferred Fuel Revenue			-								-	-		
22	456	Unbilled Revenue	170	170	-								-			
23		Other Electric Revenues	63,180	60,871	2,309						· · · · · · · · · · · · · · · · · · ·		-	2,309		
24 25		Total Other Operating Revenues	192,681	63,265	129,416	0	0	0	0	0	0	0	0	129,416		

\$115,079

\$83,350

\$531,837

\$5,551,975 \$664,576 \$4,887,398 \$2,449,409 \$78,161 \$115,555

9

26

27 28 **Total Electric Operating Revenues**

\$0 \$3,373,391 \$1,514,007

\sim				_	~ "	٠
SC	m	- Г Н	н	-	(i-t	١

FLORIDA PUBLIC SERVICE COMMISSION

BUDGETED VERSUS ACTUAL OPERATING INCOME AND EXPENSES

Explanation: If the test year is PROJECTED, provide the budgeted versus actual

Page 1 of 7

Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-EI			:	operating revenues and expenses by primary account for a historical five year period and the forecasted data for the test year and the prior year. (Thousands)									Type of data shown: X Projected Test Year Ended X Prior Year Ended X Historical Year Ended Witness: Toomey/Joyner/Oliver/ Young/Morman			
Line	Account		(A 200) 04	(B 200) 05	(C) 2006		(D) 2007		(E) 2008		(F) 2009	(G) 2010		
No.	No.	Account Title	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Budget	Budget		
	1 Operating	Revenues										· · · · · · · · · · · · · · · · · · ·				
	2	Sales of Electric Energy														
	3 4401000	Residential - Sales	1,806,252	1,841,420	2,000,607	2,060,044	2,360,716	2,111,629	2,363,142	2,472,724	2,273,650	2,384,615	2,625,145	2,662,721		
	4 4421000	Commercial - Sales	853,366	884,200	948,550	986,611	1,151,511	977,639	1,153,051	1,187,970	1,127,544	1,172,602	1,350,846	1,396,113		
	5 4431000	Industrial - Sales	253,959	265,347	284,365	305,747	345,703	295,070	317,415	352,663	308,065	338,891	407,408	422,283		
	6 4441000	Str & H/W Lighting - Sales	1,492	1,592	1,645	1,714	2,003	1,602	1,892	2,102	1,842	2,186	2,582	2,564		
	7 4451000	Sales - Public Authorities	209,035	215,598	240,205	247,278	299,097	244,352	302,878	310,544	291,613	313,135	372,000	385,109		
	8	Total Sales to Ultimate Consumers	3,124,103	3,208,157	3,475,372	3,601,394	4,159,030	3,630,292	4,138,378	4,326,003	4,002,714	4,211,429	4,757,982	4,868,790		
	9 4477000	Revenue - Other	235,145	167,742	16,920	262,512	301,994	231,073	418,383	359,448	537,342	394,839	580,273	634,157		
	10 447100E	Sales - Elec Util - Interchange Power	33,191	42,874	328,591	59,737	19,098	59,737	17,298	21,760	11,398	35,828	21,039	32,157		
	11	Total Sales for Resale	268,335	210,615	345,511	322,249	321,092	290,810	435,681	381,208	548,740	430,667	601,311	666,314		
	12 4491450	Prov For Rate Refund - Public Auth	-	-	(960)	-	•	-	-	-	-		-	-		
~	13 4491460	Prov For Refund - 07	(1,658)	-	•	(19,134)	-	-	-	-	•		-	-		
	14 4491465	Prov For Refund - 08	(8,981)	(16,163)	-	-	971	-	-	-	-	-	-	-		
	15 4491470	Prov For Refund - Wholesale	(630)	- (40.400)	(1,328)	- (40.404)	(1,869)		(1,675)	-	(1,474)	-		-		
	16	Provision for Rate Refunds	(11,269)	(16,163)	(2,288)	(19,134)	(899)	2 004 400	(1,675)		(1,474)	-				
	17 18	Total Sales of Electric Energy	3,381,168	3,402,609	3,818,595	3,904,509	4,479,223	3,921,102	4,572,384	4,707,211	4,549,980	4,642,096	5,359,294	5,535,104		
	19	Other Operating Revenues														
	20 4500001	Late Payment Charge - Retail	8,582	7,744	10,616	8,055	22,682	8,175	23,058	22,320	22,775	22,320	22,320	22,320		
	21 4510000	Misc Service Revenues	22,416	20,933	23,991	22,191	27,107	22,635	25,045	27,536	24,254	24,379	25,011	26,300		
	22 4540000	Rent	62,538	55,190	63,360	57,959	73,411	59,071	79,007	73,174	82,583	79,243	81,999	83,348		
	23 4560001	Other Electric Revenue	235	81	1,899	251	2,825	254	2,064	2,460	2,445	2,100	2,300	2,300		
	24 456000T	Wheeling-Transm Operating Revs	40,886	38,407	41,119	43,512	37,927	41,777	38,636	41,614	41,815	43,086	63,038	97,061		
	25 45600TP	Wheeling Ancillary Service Rev	1,101	1,393	2,142	•	1,222	-	1,538	•	1,730	-	-	-		
	26 45600TR	Wheeling - CCR Retail	1,045	-	348	-	345	-	508	-	334	•	-			
	27 4560011	ECCR	4	-	1	•	1	-	-	-	-	-	-	-		
	28 4560020	Oth Elec Rev Comm Collec	11	-	11	-	11	-	11	10	11	11	10	10		
	29 4560021	Oth Elec Rev - Inter Pwr	967 173	-	747	-	411	-	209	404	101	-	470	470		
	30 4560022	Oth Elec Rev Comm Coll Util Tx	7,016	•	192 (6,170)	•	201	-	181	191	183	191	170	170		
	31 4560030	Retail Unbilled Revenue Wholesale Unbilled Revenue		•	(6,170)	•	(4,014)	-	1,323	•	(830)	-	-	-		
	32 4560033 33 4560096		(119) (642)	(2,400)	(1,607)		(579)	-	2,728 2,154	4 5 4 7	3,949	(607)	(0.460)	-		
	34 4560097	GPIF Amortization	, ,	(2,400)	7,661	11,358	(2,079) 2,021	-	2,134	1,547	1,561	(607)	(2,168)	-		
	35 456009 <i>1</i>	Def Capacity Revenues Def Fuel Revenues	1,837 (585)	•	1,037	11,330	(80,808)	-	(56,323)	-		•	-	-		
	36 4300099	Total Other Electric Revenues	145,464	121,348	145,408	143,325	80.683	131,911	120,139	168,852	180,911	170,723	192,681	231,509		
	37	Total Operating Revenues	3,526,632	3,523,957	3,964,003	4,047,833	4,559,907	4,053,014	4,692,523	4,876,063	4,730,891	4,812,819	5,551,975	5,766,614		

Type of data shown:

	FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-EI			operating reve	r is PROJECTE enues and expe year period and year	Type of data sho	12/31/2010 12/31/2009 12/31/2008							
Dock				and the prior year. (Thousands)									XX Historical Year Ended 12/31/20 Witness: Toomey/Joyner/Oliver/Sorrick/ Young/Morman	
Line	Account		(<i>J</i>		(E 20		(C 20		(D)))7	(E) 200		(F) 2009	(G) 2010
No.	No.	Account Title	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Budget	Budget
	1 Operation	n Expenses							•					
	2 5013000	Fuel - Recoverable	654,085	622,069	787,096	790,613	787,960	708,487	916,607	1,000,817	948,284	900,426	734,922	699,168
	3 5183000	Nuclear Fuel - Recoverable	24,323	56	22,009	5,752	23,334	6,232	22,906	22,220	24,393	24,944	21,188	39,642
	4 5188200	Nuclear - Decom & Decon	1,765	1,684	1,849	1,805	2,005	1,841	61	91			-	-
	5 5188000	Nuclear - Disposal Cost	6,291	23,783	5,463	22,052	6,010	23,600	5,787	5,592	6,042	6,236	4,864	6,552
	6 5473000	Fuel - Oth Prod - Recoverable	450,138	375,093	662,582	617,650	619,046	642,218	744,552	842,409	1,004,354	1,005,071	1,480,872	1,576,920
	7	Fuel Expense-Recoverable	1,136,603	1,022,685	1,478,999	1,437,873	1,438,355	1,382,379	1,689,913	1,871,129	1,983,073	1,936,677	2,241,846	2,322,281
	8 5550704	Firm Purch Pwr - Rtl - Rec	124,737	169,026	127,010	120,047	160,884	121,085	153,696	154,062	160,730	144,161	165,702	194,724
	9 5550705	Firm Purch Pwr - Whl - Rec	-	-	9,110	-	5,412	-	5,821	5,169	7,105	5,028	7,297	10,705
	2 5550707	Interchange Received	136,002	37,426	245,497	118,816	231,691	117,880	318,775	318,985	369,897	294,018	281,831	290,709
1	0 5550708	Purch Pwr - Cap Retail - Rec	290,056	303,760	317,077	324,380	340,126	340,296	378,690	384,308	355,474	401,884	341,256	324,759
	1	Purchase Power Recoverable	550,795	510,212	698,694	563,243	738,113	579,261	856,982	862,524	893,206	845,090	796,086	820,896
	2 5572001	Deferred Capacity Expense	102	0	(12,198)	-	5,457	-	(2,944)	5,381	30,685	14,800	(16,775)	(1,048)
- '	3 5572002	Deferred Fuel Expense	37,662	197,891	(154,785)	88,057	315,480	70,056	17,363	(39,064)	(307,480)	(188,636)	125,710	6,111
	4	Deferred Fuel Expense	37,764	197,891	(166,983)	88,057	320,937	70,056	14,419	(33,683)	(276,795)	(173,836)	108,935	5,063
	5 6	Total Recoverable Fuel Expense & Purch Power	1,725,162	1,730,788	2,010,710	2,089,173	2,497,405	2,031,696	2,561,314	2,699,970	2,599,484	2,607,931	3,146,867	3,148,241
1	7 5550706	Firm Purch Pwr - Whl - Base	4,848	-	_	3,873	-	5,462	-	-	-		-	_
1	8 5550709	Purch Pwr - Cap Whl - Base	13,022	13,307	15,372	13,014	24,212	13,464	28,511	29,556	28,654	31,168	26,105	51,676
1	9 5550710	Purch Pwr - Cap Rtl - Base			-	-	-	-	-	•	-		-	-
2	20	Nonrecoverable Purchased Power	17,870	13,307	15,372	16,886	24,212	18,926	28,511	29,556	28,654	31,168	26,105	51,676
	?1 ?2	Total Fuel, Purchased Power and Other	1,743,032	1,744,095	2,026,082	2,106,059	2,521,617	2,050,621	2,589,825	2,729,526	2,628,138	2,639,098	3,172,972	3,199,918
2	3 5012001	Fossil Steam Fuel	-	-	25	-	-	-	-	_	-			
2	4 5060001	Fossil Misc. Steam Power Exp	5,449	-	4,567	1,000	1,048	0	1,527	1,739	2,880	1,871	2,340	-
2	5 5240001	Nuc Misc Power Exp - Recoverable	2,575	-	1,570	1,217	1,121	-	1,071	1,497	2,386	3,824	3,707	_
2	6 5472001	CT Fuel - Recoverable	•	-	25	-	-	_	-	-	· -	·	,	
2	7 5490001	CT Misc Power Exp-Recoverable	401	-	(12)	-	13	-	23	-	589		302	-
	19	Non-Fuel Expenses - Recoverable	8,425	•	6,175	2,217	2,182	0	2,621	3,236	5,855	5,694	6,349	-
3	0 9080100	Customer Asst Exp - Conservation Program	56,225	64,992	55,367	62,405	54,767	61,959	57,630	73,654	66,968	77,140	72,658	72,618
3	1 9080110	Conservation Deferral	662	(0)	1,472	(4,482)	1,963	0	1,916	(9,996)	(7,972)	(12,526)	(6,795)	299
3	2 9080120	Amort of Load Management Switches	599	160	654	628	696	596	1,005	931	1,851	1,725	2,688	3,574
	3 9090100	Info & Instruc Adv-Conservation Program	3,031	3,373	2,905	3,300	3,733	3,309	8,026	6,664	7,682	8,201	7,939	7,936
_	4	ECCR - Recoverable	60,517	68,525	60,398	61,851	61,160	65,864	68,577	71,253	68,529	74,541	76,489	84,428

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC.				operating reve	is PROJECTE enues and expe year period and year.	Type of data sho XX XX XX	12/31/2010 12/31/2009 12/31/2008							
Doo	ket No. 09007	9-EI				Witness: Toomey/Joyner/Oliver/Sorrick/ Young/Morman								
Line	e Account		(A 200		(E 20			(C) 2006		(D) 2007		8	(F) 2009	(G) 2010
No.		Account Title	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Budget	Budget
	1 5090001	Sulfur Dioxide Allow - Recov	15,239	11,934	31,062	21,279	7,671	18,088	9,437	11,477	14,757	17,980	28,826	9,675
	2 5140001	FOS Main of Misc Steam Plant - Rec	367	-	1,143	1,657	5,619	1,657	4,258	5,100	4,326	3,890	8,218	28,003
	3 5320001	Nuc Maint of Misc Nuc Plant - Rec	-	-	8	-	7	-	67	-	19	58	-	-
	4 5730001	Trans Maint of Misc Trans Plant - Rec	635	727	1,091	1,150	2,700	1,150	2,014	1,545	1,823	1,413	3,691	3,691
	5 5980001	Dist Maint of Misc Distrib Plant - Rec	6,772	5,168	7,906	7,355	15,222	7,355	19,706	19,269	22,765	15,978	11,457	18,069
	6 9350003	Deferred Environmental Cost	(2,204)	0	5,916	18,076	(8,364)	0	19,600	17,008	(12,854)	887	4,316	3,932
	7 8	ECRC (Evnironmental) - Recoverable	20,809	17,829	47,126	49,516	22,856	28,249	55,082	54,399	30,836	40,206	56,508	63,370
	9 9240001	Recoverable Storm Damage Reserve	-	-	-	-	-	-	46,626	64,515	65,719	69,848	-	-
	10 Various	Nuclear Cost Recovery	-	-	-	-	-	-	-	•	2,952		5,731	4,925
	11 12	Other Recoverable Costs	•	•	•	•	•	•	46,626	64,515	68,671	69,848	5,731	4,925
	13 5012000	Fossil Steam Fuel	3,978	5,132	5,323	4,139	3,419	3,995	3,269	3,410	4,414	636	3,566	5,080
_	14 5182300	Nuclear Fuel - Misc. & Labor	1,590	1,640	1,580	1,594	1,547	1,618	1,569	1,563	1,638	1,630	1,654	1,691
33	15 5472000	CT Fuel NP	2,258	3,200	2,799	3,142	1,643	3,088	1,456	2,039	1,429	1,639	1,771	1,748
	16 17	Base-Recoverable Fuel Handling Expenses	7,826	9,972	9,702	8,875	6,609	8,702	6,294	7,012	7,481	3,905	6,991	8,519
	18	Total Clause-Recoverable	1,832,784	1,830,449	2,139,781	2,219,643	2,607,815	2,144,735	2,762,731	2,922,929	2,802,029	2,829,387	3,318,049	3,352,640
	19 20	Total Base-Recoverable	7,826	9,972	9,702	8,875	6,609	8,702	6,294	7,012	7,481	3,905	6,991	8,519
	21	Other Base Recoverable												
	22 5000000	Oper Supv & Engineering	1,638	2,418	1,542	2,352	1,440	2,494	1,398	2,372	7,922	4,410	6,055	6,210
	23 5020000	Steam Expenses	8,606	8,213	8,288	7,200	7,498	7,307	6,951	10,005	8,621	12,531	12,410	12,006
	24 5040001	Steam Trans - Cr - Steam Prod	•	•	•	-	-	-	-	•	-		•	-
	25 5050000	Electric Expenses	1	263	8	304	41	304	2	147	34	-	25	25
	26 5060000	Misc Stm Power Exp	18,287	20,010	20,652	21,190	19,237	24,698	24,037	20,919	18,764	23,532	12,901	17,164
	27 5070000	Rents	-	-	-	-	-	-	-	-	-		-	-
	28 29	Steam Generation-Operation	28,533	30,904	30,490	31,046	28,216	34,803	32,388	33,443	35,341	40,473	31,391	35,404
	30 5170000	Nuclear Oper Supr & Eng	6	(0)	157	344	1,323	386	1,231	1,381	1,292	1,512	2,129	2,253
	31 5190000	Nuclear Coolants & Water	2,682	3,183	3,608	3,020	3,740	3,054	3,634	3,786	4,203	4,259	4,390	4,724
	32 5200000	Nuclear Steam Expenses	9,275	9,865	11,554	10,653	9,519	10,691	10,829	12,030	10,768	11,801	12,526	13,682
	35 5230000	Nuclear Electric Expenses	4		12	13	13	11	8	9	4	-	10	9
	36 5240000 37 5250000	Misc Nuclear Power Expenses Rents - Nuclear	29,247	32,388	33,096	32,325	34,124 -	34,894 -	38,057	35,946 -	40,185 -	37,940	38,235	4 3,189
	38	Nuclear Generation-Operation	41,214	45,436	48,427	46,355	48,718	49,037	53,759	53,152	56,452	55,513	57,290	63,859

Com		SERVICE COMMISSION RESS ENERGY FLORIDA INC. 9-EI	•	If the test year operating reve historical five y and the prior y	nues and expe ear period and		12/31/2010 12/31/2009 12/31/2008 r/Sorrick/							
			(A		(B		(C)		(D)		Young/Morma (E)		(F)	(G)
Line			200		200	-	200	-	200		2008		2009	2010
No.	No.	Account Title	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Budget	Budget
	1 5460000	Oper Supv & Engineering	8,387	7,570	14,120	6,200	8,191	6,753	7,703	7,036	3,962	6,842	2,132	2,553
	2 5480000	Generation Expenses	4,223	331	4,342	180	4,996	230	5,282	289	7,796	14	8,480	9,229
	3 5490000	Misc Oth Power Gen Exps	6,150	8,362	6,931	8,883	6,513	9,426	7,570	7,312	8,384	10,000	9,896	10,291
	4 5500000	Rents	-	-		•	-	-	•	-	145		<u> </u>	
	5 6	Other Power Generation-Operation	18,760	16,262	25,393	15,264	19,701	16,408	20,555	14,637	20,287	16,856	20,507	22,073
	7 5560000	Sys Con & Load Dispatch	5.066	6,037	5,756	2,684	3,884	2,839	3,343	2,806	2,265	1,951	2,129	2,152
	8 5570001	Other Power Supply Expenses	23	-	44	_,,	22	-,	41	-,000	12	.,	-,	-,
	9	Other Power Supply Expenses-Oper	5,089	6,037	5,800	2,684	3,906	2,839	3,384	2,806	2,277	1,951	2,129	2,152
	10		-,,	-,	-,	_,	-,	_,	-,	_,	-,	.,	_,	
	11 5600000	Oper Supv & Engineering	2,606	208	2,205	1.837	1,968	1,832	1,574	1,551	4,829	2.025	5,142	5,192
	19 5610000	Load Dispatching	381	(2)	763	4,026	3,452	4,258	4,289	4,080	4,756	4,257	5,592	5,636
	20 5620000	Station Expenses	183	272	-	277	303	278	117	374	272	382	401	405
	21 5630000	Trans Overhead Line Expenses	313	65	406	70	485	70	37	438	72	472	367	371
69	22 5650000	Trans of Electricity by Others	3	-	-	-	-	-	-	-	-			
	23 5660000	Misc Transmission Exps	12,744	16,724	18,079	10,661	15,840	11,244	15,710	15,830	6,996	17,408	5,886	12,731
	24 5670000	Substation	0	-	-	-	-	-	-	-	-			
	25	Transmission-Operation	16,230	17,266	21,453	16,870	22,049	17,681	21,727	22,273	16,925	24,544	17,388	24,336
	26 27 5800000	Oper Supv & Engineering	6.613	5.614	8,574	4,850	8,708	4.874	10,353	34,427	21,207	33,400	25,900	27,825
	28 5810000	Load Dispatching	4,082	-	3,946	3,291	3,999	3,372	4,018	4,392	4,496	4,267	5.742	5,812
	29 5820000	Station Expenses	277	461	494	483	497	483	60	748	61	775	801	813
	30 5830000	Overhead Line Expenses	4.712	2,131	1,319	1,932	1,413	1.935	5,498	1,163	5,340	1,088	4,305	4,390
	31 5840000	Underground Line Expenses	2	-,	1,275	2.658	(117)	1,585	3,266	(1,364)	2,251	13	3.124	3,110
	32 5850000	St Lighting - Hi Pres Sodium	5,265	4,415	4,085	4.017	3.747	4,018	4,514	3,623	5,151	4,646	4,627	4,807
	33 5860000	Meter Expenses	7,300	6,276	6,440	7,667	7,327	7,868	9.032	7,332	8,863	7,223	10,635	10,738
	34 5870000	Customer Installation Exp	542	•	598	-	431	-	984	1,116	1,391	656	751	770
	35 5880000	Misc Distribution Exp	28,592	33,172	34,484	40,702	37,013	34,502	39,164	45,084	22,181	41,215	20,525	19,548
	36 5890000	Rents	1,611	1,718	3,286	559	3,329	463	573	1,671	645	2,616	901	903
	37	Distribution-Operation	58,996	53,787	64,501	66,160	66,348	59,099	77,462	98,192	71,586	95,897	77,312	78,715
	38													

4EDI		

BUDGETED VERSUS ACTUAL OPERATING INCOME AND EXPENSES

Page 5 of 7

FLORIDA PUBLIC	C SERVICE COMMISSION	Explanation:	•				s actual			Type of data sho			
Company: PROG	RESS ENERGY FLORIDA INC.				enses by primar I the forecasted		et vear		-		Projected Test Prior Year End		12/31/2010 12/31/2009
company. r 100	NEOD ENERGY FEORIDA MO.		and the prior y		a die lorecasted	data ioi die te.	ot year		-		Historical Year		12/31/2009
Docket No. 09007	79-EI		,		(Thousands)				-			ney/Joyner/Olive	
					,						Young/Mormar		
Line Account		(,	A) 004	(E		(C 200)	(D 200)	(E)		(F)	(G)
No. No	. Account Title	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	2008		2009	2010
1 9010000		1,802	3,252	1,225	1,480	1,301	1,370	1,350	1,737	Actual 2,447	Budget 2,322	Budget 3.487	Budget 3,602
2 9020000	•	8,486	8,002	10,007	8,969	5,394	9,217	2,792	3,007	2, 44 7 2,814	2,322	2,767	3,602 2,869
3 9030000		23,708	26,082	24,435	24,527	26,075	25,166	28,000	27,576	29,316	28,120	30,152	2,009 31,987
4 9040000	Uncollectible Accounts	4,978	3,728	9,639	5,298	13,114	6,298	14,313	9,488	13,548	10,091	13,113	13,815
5 9050000		10,475	8,460	8,627	8,404	4,473	8,786	4,594	4,330	1,818	3,691	1,923	1,912
6	Customer Account Expense	49,448	49,524	53,933	48,677	50,356	50,837	51,049	46,138	49,943	47,214	51,442	54,185
7	automor ribbant Expondo	10,110	10,021	00,000	40,011	00,000	00,007	31,043	40,130	43,343	47,214	31,442	34,103
8 9070000	Energy Assistance Supv	-	-	712	1,021	870	1,205	852	1,081	20	1,175	64	59
9 9080000	Customer Assist Expense	3,365	3,345	2,701	2,625	2,644	2,708	2,678	2,672	2,802	2,614	2,394	2,390
10 9100000		241	175	64	477	33	477	191	382	143	273	2,004	2,330
11	Customer Serv-Other/Base Rec	3,606	3,520	3,477	4,123	3,547	4,389	3,721	4,135	2,965	4,062	2,458	2,448
12		-,	-,	-,	.,	-,	.,	-,	,,	2,000	1,002	2,100	2,770
13 9110000	Sales Supervision	11	-	13	12	-	12	-	298	-	-	-	_
14 9120000	Demonstration & Selling	1,454	367	1,990	2,459	1,820	2,450	1,690	1,952	1,434	2,305	1,221	1,270
15 9130000	Advertising	527	-	31	650	2	700	-	-	161	· •	· -	_
16 9160000	Misc Sales Expense	247	514	330	509	543	512	274	595	43	592	344	418
17	Sales Expense	2,239	881	2,364	3,630	2,364	3,674	1,964	2,845	1,638	2,897	1,565	1,688
18													
19	Admin & General Expenses												
20 9200000	Salaries Gen Off Employees	73,601	71,272	56,149	70,473	50,064	70,186	57,012	58,428	58,828	63,887	67,187	67,719
21 9210000	Office Supplies & Expenses	23,167	21,871	31,423	19,807	37,971	19,866	31,320	26,716	26,224	20,242	25,533	25,220
22 9230000		28,363	29,701	30,648	28,447	35,261	28,427	34,341	33,626	33,782	34,054	33,167	33,333
23 9240000		10,656	10,374	10,496	9,479	10,257	9,461	9,628	16,996	10,216	10,377	11,463	20,823
24 9250000	,	6,879	9,611	18,200	12,398	6,124	12,283	13,571	8,038	8,882	9,722	9,942	9,821
25 9260000	Pension & Benefits	34,350	56,582	145,836	53,442	45,457	57,106	57,607	52,061	47,976	53,142	109,771	118,891
26 9280000	Regulatory Commission-Exp	2	•	-	302	160	300	291	-	381	426	472	584
27 9290000	Duplicate Charges-Cr	(600)	972	(433)	(461)	(749)	(462)	(924)	(548)	(1,513)	(773)	(850)	(851)
28 9300000	· · · · · · · · · · · · · · · · · · ·	3,767	(4,040)	7,631	1,535	3,423	6,373	10,230	10,427	3,893	5,280	4,624	4,734
29 9310000		7,950	10,421	6,274	6,471	6,881	7,192	9,989	8,456	8,566	9,119	7,811	7,907
30	Total Admin & General - Operations	188,135	206,763	306,224	201,893	194,849	210,733	223,064	214,200	197,235	205,477	269,119	288,182
31	Total Operation Expenses - Base Recoverable	412,250	430,381	562,062	436,702	440,054	449,501	489,073	491,821	454,649	494,883	530,602	573,041
22	Total Base Becoverable Evaposes	420.076	440 252	E74 764	445 577	446 669	450 202	40E 267	400 000	400 400	100 700		

445,577

2,219,643

2,665,221

446,663

2,607,815

3,054,478

458,203

2,144,735

2,602,938

495,367

2,762,731

3,258,098

498,833

2,922,929

3,421,762

420,076

1,832,784

2,252,860

440,352

1,830,449

2,270,801

571,764

2,139,781

2,711,545

32

33

34

Total Base Recoverable Expenses

Total Operation Expenses

Total Clause Recoverable Expenses

498,789

2,829,387

3,328,176

537,593

3,318,049

3,855,642

581,560

3,352,640

3,934,201

462,130

2,802,029

3,264,159

	C SERVICE COMMISSION	Explanation:		nues and expe	nses by primar	account for a					Projected Test		12/31/2010
Company: PROG	RESS ENERGY FLORIDA INC.		•	•	the forecasted	data for the tes	st year		_		Prior Year End		12/31/2009
Docket No. 09007	79-EI		and the prior y		(Thousands)				_		Historical Year Witness: Toon Young/Mormar	ney/Joyner/Olive	12/31/2008 er/Sorrick/
		(/	4)	(B		(C		(D		(E)		(F)	(G)
Line Account No. No.	. Account Title	20 Actual	04 Budget	200 Actual)5 Budget	200 Actual		200		200		2009	2010
	Ince Expenses	Actual	bouget	Aduai	Duoyei	Actual	Budget	Actual	Budget	Actual	Budget	Budget	Budget
2 5100000	Maint Supv & Engineering .	3,464	2,954	3,781	3,683	2,558	2,971	1,931	3,330	2.081	4,057	5.664	5.465
3 5110000	Maint Of Structures	1,436	23	1,610	340	1,489	2,377	2,018	3,330	4.018	4,03 <i>1</i> 895	6.592	•
4 5120000	Maint Of Boiler Plant	5,670	14,946	9.310	18,251	9,998	20,933	10,901	16,804	11,457	8,462		5,265
5 5130000	Maint Of Electric Plant	4,460	4,979	4,415	3,952	4,269	2,969	3,106	6.292	3,920	8,154	24,206 8,460	32,448
6 5140000	Maint Of Misc Steam Plant	27,395	17,586	25,823	13,512	22,664	16,660	28,078	15,773	20,628	18,060	3,850	13,136
7	Steam Generation - Maintenance	42,425	40,488	44,939	39,738	40,978	43,748	46.034	42.209	42,104	<u>-</u>		2,505
8	oteam contration - maintenance	72,720	40,400	44,505	55,750	40,370	45,740	40,034	42,203	42,104	39,627	48,772	58,818
9 5280000	Maint Supv & Eng - Nuclear	11,955	9,281	13,145	9,468	8,269	9,615	9,827	10,003	10.667	40.026	44.040	42.227
10 5290000	Maint Of Structures - Nuc	1,173	708	898	7400 740	6,329	723	1,537	694	10,667 1,758	10,036	14,842	13,327
11 5300000	Maint Of Structures - Water	13,057	18,104	18,691	16,274	17,244	16,961	17,510		•	2,473	1,813	2,672
12 5310000	Maint Of Reactor & Equi	2,614	199	2,483	2,465	(2,416)	2,680	2,650	19,617 1,290	15,751	17,101	11,873	13,055
13 5320000	Maint Of Misc Nuc Plant	1,455	396	2,555	1,094	1,880	1,054	2,050	2.839	1,882 2,885	2,862	7,244	6,783
14	Nuclear Generation - Maintenance	30,254	28.688	37.772	30.041	31,305	31.033	34,076	34,443	32,943	1,734 34,206	2,194	2,172
15		•	•	•		•	,	•	,	•	,	37,965	38,009
16 5510000	Maint Supv & Engineering	354	14,980	382	20,137	722	20,999	528	11,666	1,092	15,011	2,948	4,006
17 5520000	Maint Of Structures	322	43	183	46	144	47	88	-	761	16	3,876	13,309
18 5530000	Maint Gen & Elec Equip	2,470	2,169	1,827	811	2,812	788	2,128	906	11,981	878	23,863	31,896
19 5540000	Maint Misc Power Gen Plt	13,146	2,961	9,339	1,970	11,831	2,193	18,831	14,627	20,412	21,423	2,381	3,100
20 21	Other Power-Generation-Maintenance	16,292	20,152	11,731	22,964	15,509	24,027	21,575	27,199	34,246	37,329	33,068	52,311
22 5680000	Maint Supv & Engineering	-	-	-	-	-	-	-		1,331		3,837	2,429
23 5690000	Maint of Structures	41	249	-	0	130	0	230	331	383	447	427	430
24 5700000	Maint of Instruments & Relay	1,333	1,247	1,654	4,732	2,900	4,723	4,565	1,427	8,615	1,515	4,546	5,486
25 5710000	Maint of Overhead Lines-69KV	8,376	8,306	7,238	5,143	7,072	5,143	7,041	6,917	6,932	7,794	8,056	11,810
26 5720000	Maint of Underground Lines-115KV	, -	-	-	-	-	-	-	•	´•	, -	-,	,
27 5730000	Maint of Misc Trans Plant	102	-	908	100	1,525	100	453	-	1,055	0	831	845
28 29	Transmission - Maintenance	9,851	9,802	9,800	9,976	11,626	9,966	12,289	8,675	18,316	9,756	17,697	21,000
30 5900000	Maint Supv & Engineering	115		1.866	942	2,209	948	2,523	2	2,507	0	90	
31 5910000	Maint of Structures	31	59	41	47	132	47	2,525 14		2,507 42		89 0	52
32 5920000	Maint of Station Equipment	1.793	2,242	2,282	2,348	2,575	2,349	3,483	2.245	4.885	2.299	-	(0)
33 5930000	Maint of Overhead Lines	16,320	18,205	44,201	28,002	31,190	16,495	30.541	2,245 17.956	4,000 29,818	2,299 15.092	4,107	6,834
34 5940000	Maint of Overhead Lines Maint of Underground Lines	302	357	9,656	8,637	9,869	338	8,882	9,073	8,087	9,720	31,852	45,838
35 5950000	Maint of Onderground Enles Maint of Line Transformers	303	2,183	119	1,618	556	1,598	417	3,013	6,067 80	9,720	7,618 4,614	8,162 5.034
36 5960000	Maint of Eine Transoffiers Maint of Street Lights & Signs	000	2,100	113	1,010	J J0	1,000	711	•	10	U	4,014	5,034
37 5970000	Maint of Steet Eights & Sights Maint of Meters	13	934	639	1	824	1	471	683	884	720	0	/01
38 5980000	Maint of Misc Distrib Property	298	-	145	. '	726	'	1,700	003	2,696	720 2	0 251	(2)
39	Distribution - Maintenance	19,176	23,980	58,949	41,595	48,081	21,774	48,031	29.959	49.009	27,833	251 48,531	294 66,211

FLOF	IDA PUBLIC	SERVICE COMMISSION	Explanation:	If the test year operating reve	is PROJECTED						Type of data sho	own: Projected Test	Year Ended	12/31/2010
Comp	any: PROGF	RESS ENERGY FLORIDA INC.		,	rear period and	the forecasted	data for the tes	st year		-		Prior Year Ende		12/31/2009
				and the prior y		~···				-		Historical Year		12/31/2008
Dock	et No. 09007	9-EI				(Thousands)						Witness: 1 oom Young/Morman	ney/Joyner/Olive	r/Somck/
			(/	\)	(B		(C		(D)	(E)		(F)	(G)
Line	Account		20		200	-	200		200		2008	-	2009	2010
No.	No. 1	Account Title	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Actual	Budget	Budget	Budget
	2 9320000	Maint of General Plant	-	-	19	-	(0)		_	-		-	867	879
	3 9350000	Maint of Structures	2,988	889	2,973	1,032	3,776	1,018	3,680	1,128	3,802	1,137	1,122	1,122
	4	Admin & General - Maintenance	2,988	889	2,992	1,032	3,776	1,018	3,680	1,128	3,802	1,137	1,989	2,001
	5	Total Maintenance - Base-Recoverable	120,986	124,000	166,183	145,346	151,274	131,566	165,685	143,613	180,420	149,888	188,022	238,351
	6	Total O&M - Base Recoverable	541,061	564,352	737,947	590,923	597,937	589,769	661,052	642,446	642,550	648,677	725,614	819,912
	7	Total Operations & Maint Expense	2,373,845	2,394,801	2,877,728	2,810,567	3,205,752	2,734,504	3,423,783	3,565,375	3,444,579	3,478,064	4,043,663	4,172,552
	8													
	9	Other Operating Expenses												
1	0 4030000	Depreciation	265,494	282,058	270,052	274,210	266,862	307,439	287,222	283,782	301,443	302,014	329,840	473,906
	1 2	Depreciation	265,494	282,058	270,052	274,210	266,862	307,439	287,222	283,782	301,443	302,014	329,840	473,906
4	3 4060000	Amort of Acq Adjustment	(412)	(341)	(411)	(341)	(411)	(341)	(411)	(342)	(411)	(341)	(341)	(341)
\sim	4 4044001	Amort of Limited Term Electric Plant	- '	-	11,111	11,365	10,458	`- ´	5,071	6,913	2,231	1,123	-	-
	5 4073100	Reg Debit - Fuel	-	-	-	•	-	-	12,425	•	(597)	-		
1	6 4074002	SFAS 143 - Reg. Credit	-	-	(188)	-	(25)	-	(27)	(27)	(785)	(28)	-	-
1	7 404-407	Amort - Recoverable	(1,869)	3,507	53,340	73,073	126,663	133,218	74,138	66,942	(5,713)	(468)	160,990	132,196
1	8 4073002	SFAS 143 - Reg. Debit	-	-	(11,191)	(19,131)	(15,698)	-	(16,525)	(16,502)	(16,659)	(16,996)	(18,280)	(19,237)
1	9 4073701	Amortization - Storm Exp -WHSE	-	-	434	434	434	-	434	434	1,990	1,782	2,872	2,872
2	0 4250100	Misc Amortization - Elm City Acquisition		-	-	-	•		116	-	822	648	822	822
2	1	Amortization	(2,281)	3,166	53,095	65,400	121,420	132,877	75,221	57,418	(19,122)	(14,280)	146,062	116,311
	2	Total Depreciation & Amortization	263,213	285,224	323,147	339,610	388,282	440,316	362,443	341,200	282,321	287,734	475,902	590,218
	3													
	4 4080000	Taxes Other Than Income Taxes	254,105	264,683	278,511	287,873	309,074	296,629	308,923	321,469	309,269	319,923	367,091	386,357
	5 6	Taxes (Other Than Income)	254,105	264,683	278,511	287,873	309,074	296,629	308,923	321,469	309,269	319,923	367,091	386,357
-	7 4110101	Accretion Expense	17,369	-	14,728	17,637	15,500	17,637	16,330	16,310	17,223	16,805	18,280	19,237
	8	Accretion Expense	17,369	•	14,728	17,637	15,500	17,637	16,330	16,310	17,223	16,805	18,280	19,237
	0 4090000	Income Taxes - Federal & State	78,246	210,441	180,790	212,380	237,428	229.877	184,361	142,725	48,026	227,590	253,838	157,941
-	1 4100000	Prov for Def Income Taxes	386,372	(32,288)	174,735	-	243,555	(61,971)	298,703	27,428	1,042,755	227,000	233,636	107,341
	2 4110000	Deferred Taxes - Credit	(276,341)	(5.918)	(233,876)	(41,521)	(291,641)	(5,937)	(343,283)	(684)	(912,399)	(45,259)	(103,327)	(50,655)
	3	Income Taxes on Operating Income	188,277	172,235	121,649	170,859	189,342	161,969	139,781	169,469	178,382	182,331	150,510	107,286
-	-	g Income After Income Taxes	429,823	407,014	348,240	421,288	451,956	401,959	441,263	462,240	499,117	527,962	496,528	490,964

FLOF	RIDA PUBLIC	C SERVICE COMMISSION		Explanation			nue require					Type of d	ata shown:		
·	oany: PROG et No. 09007	RESS ENERGY FLORIDA INC. 79-EI		historical test year, provide actual monthly operation and maintenance expense by primary account for the test year. (Thousands)						Projected Test Year Ended Prior Year Ended Historical Test Year Ended Witness: N/A			12/31/2010 12/31/2009 12/31/2008		
			(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)	(M)
Line A No.	Account No.	Account Title	Month	Month	Month	Month	Month	Month	Month	Month	Month	Month	Month	Month	Total
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27			This sched	dule is not a	applicable s	ince the tes	st year is Pr	ojected and	l not Histori	cal					
Supp	orting Sched	lules:									Recap Scl	nedules:			

SCH	FDI	II F	C-8

DETAIL OF CHANGES IN EXPENSES

Page 1 of 2

FLOR	DA PUBLIC	SERVICE/COMMISSION	Explanation:		primary accounts that exceed 1/2		e of data shown:	- d - d 40/04/0040
Comp	any: PROGR	ESS ENERGY FLORIDA INC.			g expenses and ten percent from h reason for the change.	the phor year to the	 X Projected Test Year E Y Prior Year Ended Prior Year Ended 	12/31/2010 12/31/2009 12/31/2008
Docke	t No. 090079	-EI		(Thous	ands)		Witness: Toomey/You Sorrick	
		, , , , , , , , , , , , , , , , , , , ,		(A) Test Year	(B) Prior Year	(C) Increase/(I	(D)	(E) Reasons
Line No.	Account No.	Account		Ended 12/31/2010	Ended 12/31/2009	Dollars	Percent	for change
1	5090000	Sulfur Dioxide Allow - Recov		9,675	28,826	(A) - (B) (19,151)	(C) / (B) -66%	(A)
2 3 4	5120000	Maint Of Boiler Plant		32,448	24,206	8,242	34%	(B)
5	5130000	Maint Of Electric Plant		13,136	8,460	4,676	55%	(C)
7	5140000	Maint Of Misc Steam Plant		30,508	12,068	18,439	153%	(D)
9 10	5180000	Nuclear Fuel - Recoverable		47,885	27,705	20,180	73%	(E)
11	5520000	Maint Of Structures		13,309	3,876	9,433	243%	(F)
12 13 14	5530000	Maint Gen & Elec Equip		31,896	23,863	8,033	34%	(G)
15 16	5570000	Deferred Fuel Expense		5,063	108,935	(103,872)	-95%	(H)
17 18	5660000	Misc Transmission Exps		12,731	5,886	6,845	116%	(1)
19 20	5710000	Maint of Overhead Lines-69KV		11,810	8,056	3,754	47%	(J)
20 21 22	5920000	Maint of Station Equipment		6,834	4,107	2,727	66%	(K)
22 23 24	5930000	Maint of Overhead Lines		45,838	31,852	13,986	44%	(L)
24 25 26	5980000	Maint of Misc Distrib Property		18,363	11,707	6,656	57%	(M)
20 27 28	9080000	ECCR - Recoverable		76,492	68,550	7,941	12%	(N)
20 29 30	9240000	Property Insurance		20,823	11,463	9,360	82%	(O)

Supporting Schedules:

		SERVICE COMMISSION Explanation: ESS ENERGY FLORIDA INC.	(.0005) of total opera	in primary accounts that exceed 1/2 ting expenses and ten percent from ach reason for the change.		rpe of data shown: X Projected Test Year E X Prior Year Ended	Ended 12/31/2010 12/31/2009
,	l No. 090079		test year. Quantity e	ach reason for the change.		_ Prior Year Ended _ Prior Year Ended Witness: Toomey/You Sorrick	12/31/2008
			(A) Test Year	(B) Prior Year	(C) Increase/	(D) (Decrease)	(7) Reasons
Line No.	Account No.	Account ·	Ended	Ended	Dollars (A) - (B)	Percent (C) / (B)	for change
1	(A)	Not Included in Rate Base - Recovery Clause				(-/-,-/-	
3	(B)	The increase is due to a higher number of scheduled be	oiler outages, pump reb	uilds, and water wall replacements	taking place in 2010 than in 2	2009.	
5	(C)	The increase is due to a higher number of scheduled tu	rbine outages taking pla	ace in 2010 than in 2009.			
6 7	(D)	The increase is due to the ECRC Recovery Clause, wh	ich is not included in Ra	ate Base.			
8 9	(E)	Not Included in Rate Base - Recovery Clause					
1 10	(F)	The increase is due to scheduled maintenance due on	Combined Cycles Plant	S.			
12 13	(G)	The increase is due to a higher number of scheduled C	Combustion Turbines ou	itages taking place in 2010 than in 2	2009.		
14 15	(H)	Not Included in Rate Base - Recovery Clause					
16 17	(1)	Due to forecasted expenses to comply with recent FER	C Order 890.				
18 19	(J)	The increase is due to Vegetation Management and B	onding and Grounding.	Funding for these programs is need	led to maintain the positive tro	end in transmission reliability i	measures.
20 21	(K)	Due to increases in targeted maintenance programs, so	uch as bushing replacer	ments and cap and insulator replace	ements, needed to maintain th	ne positive trend in reliability m	neasures.
22 23 24	(L)	Due to additional funding necessary to meet the require cycles.	ements of the Commissi	ion's order for a 3yr Feeder/5 yr Bra	nch line plan on Vegetation N	Management requiring all lines	to be trimmed in those
25 26	(M)	The increase is due to the ECRC Recovery Clause, wh	ich is not included in Ra	ate Base.			
27 28	(N)	Not Included in Rate Base - Recovery Clause					
29 30 31	(O)	Due to an increase in the annual accrual to the Storm [Damage Reserve of \$9.0	3 million. This was based on the res	sults of an updated hurricane	risk assessment study.	

Supporting Schedules: C-6

FLC	PRIDA PUBLIC SERVICE COMMISSION		Explanation:	Provide a sche for the last five	e change in cost,	oup,	Type of data sh	nown:				
Con	npany: PROGRESS ENERGY FLORIDA	INC.				•				Projected Test		12/31/2010
									$\overline{\underline{x}}$	Prior Year Ende	ed	12/31/2009
Doc	ket No. 090079-El				(Thousands)				X	Historical Year	Ended	12/31/2008
											ney/Joyner/Oliver	
											Morman/Wyckoff	
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	(L)
4.5		. . ,	200		200		200		20		20	
Line		Type of	Dollars	% Change	Dollars	% Change	Dollars	% Change	Dollars	% Change	Dollars	% Change
No		Cost	(\$000)	Prior Year	(\$000)	Prior Year	(\$000)	Prior Year	(\$000)	Prior Year	(\$000)	Prior Year
	1 2 5	Variable	¢ 4.704.474	22.00/	e 4700052	2 40/	e 4 740 400	0.20/	£ 0.057.400	27.70/	A 0.007.045	4.004
	2 Fuel	Variable Variable	\$ 1,761,474	33.6%	\$ 1,706,953	-3.1% 16.2%	\$ 1,712,133	0.3%	\$ 2,357,130	37.7%	\$ 2,327,345	-1.3%
	Purchase Power & Interchange Energy Conservation	Variable Variable	762,325 61,160	6.8% 1.3%	885,493 68,577	10.2%	921,860 68,529	4.1% -0.1%	822,191	-10.8%	872,573	6.1%
		Variable Variable	22,856	-51.5%	55,082	141.0%	30,836	-0.1% -44.0%	76,489	11.6%	84,428	10.4%
	5 Environmental Cost Recovery	Variable Variable		-51.5% 0.0%	55,062	0.0%	2,952	-44.0% 0.0%	56,508	83.3%	63,370	12.1%
	6 Nuclear Cost Recovery		-		46,626	0.0%			5,731	94.2%	4,925	-14.1%
	7 Storm Cost Recovery	Variable	404.040	0.0%			65,719	40.9%	-	-100.0%	-	0.0%
	8 Production	Variable	194,942	-9.0%	218,065	11.9%	231,131	6.0%	238,114	3.0%	~ 281,145	18.1%
	9 Transmission	Variable	33,675	7.7%	34,016	1.0%	35,241	3.6%	35,085	-0.4%	45,336	29.2%
	0 Distribution	Variable	114,428	-7.3%	125,493	9.7%	120,595	-3.9%	125,842	4.4%	144,926	15.2%
	1 Customer Account Expense	Variable	50,356	-6.6%	51,049	1.4%	49,943	-2.2%	51,442	3.0%	54,185	5.3%
	2 Customer Service & Sales Expense	Variable	5,911	1.2%	5,685	-3.8%	4,603	-19.0%	4,024	-12.6%	4,136	2.8%
	3 Administrative & General	Variable	198,624	-35.8%	226,744	14.2%	201,037	-11.3%	271,108	34.9%	290,183	7.0%
	4 Depreciation & Amortization	Fixed	403,782	19.5%	378,773	-6.2%	299,544	-20.9%	494,182	65.0%	609,454	23.3%
	5 Taxes Other Than Income	Variable	309,074	11.0%	308,923	0.0%	309,269	0.1%	367,091	18.7%	386,357	5.2%
	6 Income Taxes	Variable	189,342	55.6%	139,781	-26.2%	178,382	27.6%	150,510	-15.6%	107,286	-28.7%
	7 Interest (w/o AFUDC)	Variable	155,524	20.8%	185,036	19.0%	236,365	27.7%	261,081	10.5%	303,855	16.4%
1												
	9 Total		4,263,475	13.9%	4,436,296	4.1%	4,468,139	0.7%	5,316,528	19.0%	5,579,504	4.9%
2												
2												
2			•									
2												
2												
2												
	6 Dollars shown are for the Twelve Mo	nths Ended D	ecember 31.									
2												
2												
2	9											

FLO	RIDA PUBL	LIC SERVICE COMMISSION		Provide a detailed breakdown of rate case exp provided for each outside consultant, attorney,			Туре	of data shown:		
	pany: PRO	GRESS ENERGY FLORIDA INC. 079-EI		consultant providing professional services for t				X Pri	ojected Test Year Ended or Year Ended torical Year Ended tness: Toomey	12/31/2010 12/31/2009 12/31/2008
Line No.		(A) Vendor Name	(B) Counsel, Consultant, or Witness	(C) Specific Services Rendered	(D) Fee (\$)*	(E) Basis of Charge	(F) Travel Expenses (\$)	(G) Other	(H) Total D+F+G	(I) Type of Service*
	1 2 3 4 5	Various TOTAL OUTSIDE CONSULTA	* - · · · - · · · · · · · · · · · · · ·	s Outside Professional Consultants	\$600,000 600,000		\$0	\$0 0	\$600,000 600,000	B, O, R, S
	6 7 8	Various TOTAL OUTSIDE LEGAL SEI	Counsel RVICES	Legal Services	<u>2,000,000</u> 2,000,000		0	0 -	2,000,000 2,000,000	L
	9 10	Various		Travel Expenses	0		110,000	0	110,000	Misc
!	11 12	Various		Printing, Administrative Support & Other	0		77,000	0	77,000	Misc
	13 14	TOTALS			\$2,600,000		\$187,000	\$0	\$2,787,000	
	15 16 17 18	*Type of Service: A = Accounting B = Cost of Capital C = Engineering								
	19 20 21 22	L = Legal O = Other R = Rate Design S = Cost of Service								
	23 24			SCHEDULE OF RATE CASE EXP	PENSE AMORTIZAT	ION IN TEST YE	ΔR		<u> </u>	_
	25		Total	Rate Order	Amortization	Unamortized	Test Year			
	26	Rate Case	Expenses	Date	Period	Amount	Amortization			
	27	Docket No. 090079-El	\$2,787,000	N/A	2 Years	\$2,787,000	\$1,393,500			
	28	NOTE: PEF is requesting that p	projected rate case expen	ses be included in the calculation of its 2010 ba	ase rates through an			year period.		

Supporting Schedules:

	PUBLIC SERVICE COMMISSION	Explana	historical years and the test	ation concerning bad debts for year. In addition, provide a ca		Type of data shown:	*
	PROGRESS ENERGY FLORIDA INC. 090079-EI		debt component of the Reve	nue Expansion Factor. (Thousands)	 X Projected Test Year Ended X Prior Year Ended X Historical Test Year Ended Witness: Toomey/Morman 	12/31/2010 12/31/2009 12/31/2008	
Line	(A)	(B) Write-Offs (Retail)	(C) Gross Revenues From Sales of Electricity	(D) Adjustments to Gross Revenues	(E) Adjusted Gross	(F) Bad Debt* Factor	
No.	Year	(see note 1)	(Retail)	(Specify)	Revenues	(B)/(E)	
1	2005 Actual	\$7,139	\$3,475,374		\$3,475,374	0.002054	
2	2006 Actual	13,114	4,159,030		4,159,030	0.003153	
3	2007 Actual	15,518	4,138,378		4,138,378	0.003750	
4	2008 Actual	12,512	4,002,713		4,002,713	0.003126	
5	2009 Budget (see note 2)	13,113	4,757,982		4,757,982	0.002756	
6 7	2010 Budget (see note 2)	\$13,815	\$4,868,790		\$4,868,790	0.002837	
8 9							
10							
11							
12							
13							
14	Note 1: Column B represents the net of	f bad debts written off a	nd recoveries.				
15	Note 2: Bad debt projections are based	d on historical arrears.					
16							
17							
18							
19							
20							
21							
22							
Supporting	Schedules:					Recap Schedules:	

FLORIDA PUBLIC SERVICE COMMISSION

Explanation: Provide a schedule of jurisdictional administrative, general,

Type of data shown:

Compa	any: PROGRESS ENERGY FLORIDA INC.	customer service, R&D, and other by category and on a per custom and the most recent historical ye	er miscellaneous expenses ner basis for the test year	, i	pe of data snown: X Projected Test Year Ended Prior Year Ended X Historical Year Witness: Wyckoff/Morman	12/31/2010 12/31/2009 12/31/2008
		(Thousands)				
Line No.	Jurisdictional Administrative Expenses Excluding Recoverable Conservation	(A) Test Year Ended 2010	(B) Historical Year Ended 2008	(C) Difference (A) - (B)	(D) Percent Increase/(Decrease) (C)/(B)	
1 2 3	Administrative & General Expense	\$ 250,115	\$ 178,250	71,864	40.32%	
4 5	General Advertising Expense (MFR C-14)	2,126	2,063	63	3.05%	
6 7	Miscellaneous General Expense (MFR C-13)	2,026	1,653	373	22.56%	
79 9 10	Total Administrative & General Expenses (Accounts 920 - 935)	\$ 254,267	181,966	\$72,300	39.73%	
11 12 13	Customer Accounting Expense (Accounts 901 - 905)	53,932	48,511	5,421	11.17%	
14 15 16	Customer Service & Information Expense (Accounts 907 - 910)	2,448	2,965	(518)	-17.46%	
17 18 19	Sales Expense (911 - 919)	1,688_	1,638	50	3.08%	
20 21 22	Total Jurisdictional Administrative Expenses (Accounts 901 - 935)	<u>\$ 312,334</u>	\$ 235,080	77,254	32.86%	
23 24 25	Average Number of Customers (MFR C-33)	1,655	1,639	17	1.01%	
26 27	Administrative Expense per Customer	\$ 188.67	<u>\$ 143.44</u>	\$ 45.24	31.54%	
Suppo	rting Schedules: C-4, C-6, C-13			Re	cap Schedules:	

SCH	EDI	11 6	<u> </u>	9
31 .F	ורו או	л т	٠,-	_

ADMINISTRATIVE EXPENSES

Page 2 of 2

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide a schedule of jurisdictional administrative, general,	Type of data shown:	
	customer service, R&D, and other miscellaneous expenses	_ Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	by category and on a per customer basis for the test year	X Prior Year Ended	12/31/2009
	and the most recent historical year.	X Historical Year	12/31/2008
Docket No. 090079-El		Witness: Wyckoff/Morman	

(Thousands)

Line No.	Jurisdictional Administrative Expenses Excluding Recoverable Conservation	(A) Test Year Ended 2009	(B) Historical Year Ended 2008	(C) Difference (A) - (B)	(D) Percent Increase/(Decrease) (C)/(B)
1 2	Administrative & General Expense	\$ 246,314	\$ 178,250	68,063	38.18%
3 4 5	General Advertising Expense (MFR C-14)	2,221	2,063	158	7.66%
6 7	Miscellaneous General Expense (MFR C-13)	2,017	1,653	364	22.05%
8 9 10	Total Administrative & General Expenses (Accounts 920 - 935)	\$ 250,552	181,966	\$68,586	37.69%
11 12 13	Customer Accounting Expense (Accounts 901 - 905)	51,027	48,511	2,515	5.19%
14 15 16	Customer Service & Information Expense (Accounts 907 - 910)	2,458	2,965	(507)	-17.10%
17 18	Sales Expense (911 - 919)	1,531	1,638	(107)	-6.52%
19 20 21 22	Total Jurisdictional Administrative Expenses (Accounts 901 - 935)	\$ 305,568	\$ 235,080	70,487	29.98%
23 24	Average Number of Customers (MFR C-33)	1,642	1,639	4	0.22%
25 26 27	Administrative Expense per Customer	\$ 186.04	\$ 143.44	\$ 42.60	29.70%

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-EI			Explanation:	Provide a schedule of the charges to A (Miscellaneous General Expenses) by for the most recent historical year. Agg that do not exceed \$100,000 and all sir exceed \$100,000.	type of charge regate all charges	Type of data shown: _ Projected Test Year Ended X Prior Year Ended _ Historical Test Year Ended Witness: Toomey / Wyckoff	12/31/2010 12/31/2009 12/31/2008
_				(A)	(B)	(C)	
	ine	Description		Electric Utility (000)	Factor	Jurisdictional	
<u>N</u>	<u>lo.</u>	Description		(000)	Pacion	Amount (000)	
	2	Total Miscellaneous General Expenses of \$100,000 or Les	S				
	4 5	Miscellaneous Other Expenses/Adjustments		42	0.91670	39	
81	6 7	Miscellaneous General Expenses Exceeding \$100,000:					
	8	Industry Association Dues		1,707	0.91670	1,565	
	9 10	Treasury Fees		452	0.91670	414	
12 13 14	11 12 13	Total Account 930.2 - Miscellaneous General Expenses		\$2,201		\$2,017	
	14 15	Average Number of Customers		1,642		1,642	
	16 17	Miscellaneous General Expenses Per Customer		\$1.34		\$1.23	

MISCELLANEOUS GENERAL EXPENSES

Page 2 of 2

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide a schedule of the charges to Account 930.2	Type of data shown:	
	(Miscellaneous General Expenses) by type of charge	Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	for the most recent historical year. Aggregate all charges	_ Prior Year Ended	12/31/2009
	that do not exceed \$100,000 and all similar charges that	X Historical Test Year Ended	12/31/2008
Docket No. 090079-El	exceed \$100,000.	Witness: Toomey / Wyckoff	

		(A)	(B)	(C)
Line		Electric Utility	Juris	sdictional
No.	Description	(000)	Factor	Amount (000)
1				
2	Total Miscellaneous General Expenses of \$100,000 or Less			
3				
4	Miscellaneous Other Expenses/Adjustments	(\$67)	0.91670	(\$62)
5				
6	Miscellaneous General Expenses Exceeding \$100,000:			
& 7 N				
8	Industry Association Dues	4,325	0.91670	3,965
9	Inventory Obsolescence	2,134	0.91670	1,957
10	Florida Sales Tax Audit	(4,935)	0.91670	(4,524)
11	Treasury Fees	346_	0.91670	317
12				
13	Total Account 930.2 - Miscellaneous General Expenses	\$1,803		\$1,653
14				
15				
16	Average Number of Customers	1,639		1,639
17				
18	Miscellaneous General Expenses Per Customer	<u>\$1.10</u>		\$1.01

\sim	`'	_			\sim	1 4
\ I	ு	⊢ ।	11 11	-	C-1	12

ADVERTISING EXPENSES

Page 1 of 3

Witness: Toomey/Slusser/Wyckoff

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide a schedule of advertising expenses by subaccounts for	Type of data shown:		
	the test year and the most recent historical year for each type of	X Projected Test Year Ended	12/31/2010	
Company: PROGRESS ENERGY FLORIDA INC.	advertising that is included in base rate cost of service.	_ Prior Year Ended	12/31/2009	
		Historical Year Ended	12/31/2008	

Docket No. 090079-EI

			(A)	(B)	(C)	
Lin€	Account	Account ·	Electric	Jurisdictio	onal Factor	
No.	No.	Title	Utility (000)	Factor	Amount (000)	
1 /	Account 909				-	
2	9090100	Total Energy Conservation Advertising	\$0 (1)		\$ 0	
3						
4	Account 913					
5	9130000	Advertising - Promotional	0		0	
6						
7		Total Account 909 & 913	0		0	
8						
9						
	Account 930		** ***			
11	9301000	Other General Advertising	\$2,424			
12		Total Account 930	2,424	0.87692	2,126 (2)	
13						
14		Total Advertising Expense	\$2,424		\$2,126	
15			4.055		4.055	
16		Average Number of Customers	1,655		1,655	
17		Advertising Francisco con Contamor	¢1 46		#4 20	
18		Advertising Expense per Customer	<u> \$1.46</u>		<u>\$1.28</u>	
19						
20						
21			in the 909 account and is removed from fully adjust			
22			notional/image building advertising as reflected on	MFR C-2. This number		
23		is higher than 930 as it contains labor charge	es in account 920.			
24						
25						
26						
27						

FLORIDA PUBLIC SERV!CE COMMISSION	Explanation: Provide a schedule of advertising expenses by subaccounts for	Type of data shown:	
	the test year and the most recent historical year for each type of	_ Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	advertising that is included in base rate cost of service.	X Prior Year Ended	12/31/2009
		_ Historical Year Ended	12/31/2008
Docket No. 090079-El		Witness: Toomey/Slusser/Wy	ckoff

Line	Account	Account		(A)	(B)	(C)	
Line	Account	Account ·		Electric	Jurisdictio		
No.	No.	Title		Utility (000)	Factor	Amount (000)	
2	Account 909 9090100	Total Energy Conservation Advertising		\$0 (1)		\$ 0	
4	Account 913						
5	9130000	Advertising - Promotional		0		0	
6 7		Total Account 909 & 913		0		0	
8							
10	Account 930						
11	9301000	Other General Advertising	\$2,423				
12 13		Total Account 930		2,423	0.91670	2,221 (2)	
14 15		Total Advertising Expense		\$2,423		\$2,221	
16 17		Average Number of Customers		1,642		1,642_	
18		Advertising Expense per Customer		<u>\$1.48</u>		<u>\$1.35</u>	
19 20						<u>-</u>	
21		(1) Energy conservation advertising is recorded in the					
22		(2) \$3.675M is the retail portion removed for promotion		ertising as reflected on	MFR C-2. This number		
23		is higher than 930 as it contains labor charges in	account 920.				
24							
25							
26							
_27	ortina Schodul						

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide a schedule of advertising expenses by subaccounts for	Type of data shown:	
	the test year and the most recent historical year for each type of	_ Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	advertising that is included in base rate cost of service.	_ Prior Year Ended	12/31/2009
		X Historical Year Ended	12/31/2008
Docket No. 090079-EI		Witness: Toomey/Slusser/W	vckoff

Line Account	Account	(A) Electric	(B)	(C) onal Factor	
No. No.	Title	Utility (000)	Factor	Amount (000)	
1 Account 909		Cunty (000)	racioi	Amount (000)	
2 9090100	Total Energy Conservation Advertising	\$0 (1)		\$ 0	
4 Account 913					
5 9130000 6	Advertising - Promotional	160_	0.91670	147	
7 8	Total Account 909 & 913	160		147	
9					
10 Account 930					
11 9301000	Other General Advertising	<u>\$2,090</u>			
12 13	Total Account 930	2,090	0.91670	1,916 (2)	
14	Total Advertising Expense	\$2,250		\$2,063	
15					
16	Average Number of Customers	1,639_		1,639_	
17 18	Advertising Expense per Customer	¢4 27		#4.00	
	Advertising Expense per Customer	<u>\$1.37</u>		<u>\$1.26</u>	
19 20					
21	(1) Energy conservation advertising was recorded	ed in the 909 account and was removed from fin	al fully adjusted exetem.	omounto	
22	(2) \$3.479M is the retail portion removed for pro-				
23	is higher than 930 as it contains labor charge		OIT WILLY O-Z. THIS HUTTL)CI	
24	to mignor than 500 do it contains labor onling				
25					
26					
27					
Supporting Sched	lules:	And the second s		Recap Schedules: C-12	

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide a schedule of industry association dues included in cost of	Type of data shown:
	service by organization for the test year and the most recent	X Projected Test Year Ended 12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	historical year. Indicate the nature of each organization.	_ Prior Year Ended 12/31/2009
	Individual dues less than \$10,000 may be aggregated.	_ Historical Year Ended 12/31/2008
Docket No. 090079-El		Witness: Toomey/Oliver/Joyner/

.ine	(B)	(C) Electric Utility	D) Jurisdi		
No. Organization	Nature of Organization	(000)	Factor	Amount	
1				- <u> </u>	
2 Electric Power Research Institute	Technical/Professional	\$1,912	0.87692	\$1,677	
3 Institute of Nuclear Power Organization	Technical/Professional	1,266	0.87692	1,110	
4 Edison Electric Institute	Business Association	866	0.87692	759	
5 Florida Reliability Coordinating Group	Technical/Professional	530	0.87692	465	
6 Westinghouse Pressurized Water Reactor Group	Technical/Professional	469	0.87692	411	
7 North American Electric Reliability Corporation	Business Association	350	0.87692	307	
8 Florida Electric Reliability Corp.	Technical/Professional	350	0.87692	307	
9 Florida Electric Power Coordinating Group	Technical/Professional	275	0.87692	241	
10 Southeastern Electric Exchange	Technical/Professional	30	0.87692	26	
11 Florida Council of 100	Technical/Professional	26	0.87692	23	
12					
13					
14 Dues less than \$10,000 Aggregated		231	0.87692	203	
15		****			
16					
17 Total Industry Association Dues		\$ 6,305	0.87692	\$ 5,529	
18					
19 Average Number of Customers		1,655		1,655	
20					
21 Dues Per Customer		\$ 3.81		\$ 3.34	
22					
23 Lobby Expenses Included in Industry Association Dues	and excluded from net operating income.	\$173			
24		4			
25					
26					
27					

Young/Sorrick/Morman

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide a schedule of industry association dues included in cost of	Type of data shown:	-
	service by organization for the test year and the most recent	_ Projected Test Year Ended 12	2/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	historical year. Indicate the nature of each organization.	X Prior Year Ended 12	2/31/2009
· •	Individual dues less than \$10,000 may be aggregated.	_ Historical Year Ended 12	2/31/2008
Docket No. 090079-EI		Witness: Toomey/Oliver/Joyne	er/
		Young/Sorrick/Morman	

Line	(A)	(B)	(C) Electric Utility	(D Jurisdi		
No.	Organization	Nature of Organization	(000)	Factor	Amount	
1						
2	Electric Power Research Institute	Technical/Professional	1,883	0.91670	\$1,726	
3	Institute of Nuclear Power Organization	Technical/Professional	1,110	0.91670	1,018	
4	Edison Electric Institute	Business Association	843	0.91670	773	
5	Florida Reliability Coordinating Group	Technical/Professional	530	0.91670	486	
6	Westinghouse Pressurized Water Reactor Group	Technical/Professional	567	0.91670	520	
7	North American Electric Reliability Corporation	Business Association	350	0.91670	321	
'8	Florida Electric Reliability Corp.	Technical/Professional	350	0.91670	321	
9	Florida Electric Power Coordinating Group	Technical/Professional	275	0.91670	252	
10	Southeastern Electric Exchange	Technical/Professional	30	0.91670	28	
11	Florida Council of 100	Technical/Professional	26	0.91670	24	
12	!					
13						
14	Dues less than \$10,000 Aggregated		243	0.91670	223	
15	·					
16	Total Industry Association Dues		\$ 6,207		\$ 5,690	
17	•		<u></u>			
	Average Number of Customers		1,642		1,642	
19						
	Dues Per Customer		\$ 3.78		\$ 3.47	
21						
	2 Lobby Expenses Included in Industry Association Dues a	and excluded from net operating income.	. \$168			
23		, , , ,	,			
24						
25						
26	·					

Supporting Schedules:

FLORIDA PUBLIC SERVICE COMMISSION	Explanation: Provide a schedule of industry association dues included in cost of	Type of data shown:	
	service by organization for the test year and the most recent	_ Projected Test Year Ende	ed 12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.	historical year. Indicate the nature of each organization.	_ Prior Year Ended	12/31/2009
	Individual dues less than \$10,000 may be aggregated.	X Historical Year Ended	12/31/2008
Docket No. 090079-EI		Witness: Toomey/Oliver/	Joyner/
		Young/Sorrick/Morman	

(A) .	(B)	(C)	(D		
ne		Electric Utility	Jurisdi		
o. Organization	Nature of Organization	(000)	Factor	Amount	
2 Electric Power Research Institute	Technical/Professional	\$1,084	0.91670	\$994	
3 North American Electric Reliability Corporation	Business Association	1,041	0.91670	954	
4 Institute of Nuclear Power Organization	Technical/Professional	954	0.91670	875	
5 Edison Electric Institute	Business Association	769	0.91670	705	
6 Westinghouse Pressurized Water Reactor Group	Technical/Professional	537	0.91670	493	
7 Florida Reliability Coordinating Group	Technical/Professional	425	0.91670	390	
8 Florida Electric Power Coordinating Group	Technical/Professional	325	0.91670	298	
9 Florida Chamber of Commerce	Business Association	100	0.91670	92	
10 The Construction Industry Institute	Technical/Professional	36	0.91670	33	
11 Southeastern Electric Exchange	Technical/Professional	27	0.91670	25	
12 Gridwise Alliance	Technical/Professional	10	0.91670	9	
13					
14					
15 Dues Less than \$10,000 Aggregated		152	0.91670	140	
16					
17 Total Industry Association Dues		\$ 5,463		\$ 5,008	
18					
19 Average Number of Customers		1,639		1,639	
20					
21 Dues Per Customer		\$ 3.33		\$ 3.06	
22					
23 Lobby Expenses Included in Industry Association Due	s and excluded from net operating income	. \$164			
24	1 3	·			
25					
26					
27					

Com	RIDA PUBLIC SERVICE COMMISSION IPANY: PROGRESS ENERGY FLORIDA INC. Ket No. 090079-EI	Explanation: Provide the following informat services during the test year. accounting, financial, enginee is used, provide on both a pro exceeding the greater of \$1,00 maintenance expenses.	Segregate the services by ring, legal or other. If a pri jected and a historical bas	y types such as rojected test period sis for services	Type of data shown: xx Projected Test Year Ended 12/31/2010 xx Prior Year Ended 12/31/2009 xx Historical Test Year Ended 12/31/2008 Witness: Toomey/Sorrick/Wyckoff/Young			
Line No.	(A) Type of Service	(B) Description of Services	(C) Account (s) Charged	(D) Test Year Costs (000)	(E) Prior Year Costs (000)	(F) Historical Year Costs (000)		
	1 2 Accounting 3 4 Financial 5 6 Engineering 7		Mariana OM		4.000	0.400		
89	8 Legal 9	Various PEF Legal Matters	Various O&M	3,836	4,006	3,489		
	10 Other (Specify) 11 Security Services 12	Security of Nuclear and Fossil Plant Sites	Various O&M	10,992	10,703	10,609		
	13 14 Total Outside Professional Services 15 16 17 18			14,829	<u>14,710</u>	14,098		
	19 20 21 22 23							
	24 25 26 27 28							
	29 30	·						
	porting Schedules:				Recap Schedules:			

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide the following information concerning	ng pension cost for the test year	and Type of data sho	wn:	
Company: PROGRESS ENERGY FLORIDA INC.		the most recent historical year if the test ye	ar is projected.	X	X Projected Test Year Ended X Prior Year Ended X Historical Test Year Ended	12/31/2010 12/31/2009 12/31/2008
Docket No. 090079-EI				, ·	Witness: Toomey	12/3/1/2000
		(Thousands)			•	
Progress Energy Pension Plan		(A)	(B)	(C)		

Progress Energy Pension Plan	(A)	(B)	(C)
Line	Test Year	Prior Year	Historical Year
No. Description	2010 (*)	2009 (*)	2008
1 Service Cost	18,880	18,402	16,801
2 Interest Cost	54,472	53,087	50,788
3 Actual Return on Assets (Gain) Loss	(63,561)	(33,130)	320,841
4 Net Amortization and Deferral	35,339	11,020	(411,020)
5 Amortization of Prior Service Cost	(287)	(287)	(753)
6 Total Net Periodic Pension Cost	44,843	49,092	(23,343)
7			·
8 For the Year:			
9 Expected Return on Assets (Gain)	(63,561)	(57,977)	(90,180)
10 Assumed Rate of Return on Plan Assets	8.75%	8.75%	9.00%
11 Amortization of Transition Asset or Obligation	0	0	0
2 Percent of Pension Cost Capitalized	31.00%	30.00%	0.00%
13 Pension Cost Recorded in Account 926	30,942	34,364	(23,343)
14 Minimum Required Contribution Per IRS	Note 5	Note 5	Note 6
15 Maximum Allowable Contribution Per IRS	Note 5	Note 5	Note 6
16 Actual Contribution Made to the Trust Fund	Note 7	Note 7	Note 7
17 Actuarial Attribution Approach Used for Funding	Note 5	Note 5	Traditional credit cost method
18 Assumed Discount Rate for Computing Funding	Note 5	Note 5	Note 8
19 Allocation Method Used to Assign Costs if the Utility is not the			
20 Sole Participant in the Plan. Attach the relevant procedures.	Note 1	Note 1	Note 1
21			
22 At Year End:			
23 Accumulated Benefit Obligation	Note 4	Note 4	845,664
24 Projected Benefit Obligation	915,757	895,184	872,490
25 Vested Benefit Obligation	Note 2	Note 2	Note 2
6 Assumed Discount Rate (Settlement Rate)	6.28% Note 8	6.28% Note 8	6.28% Note 8
77 Assumed Rate for Salary Increases	4.25%/4.0% Note 3	4.25%/4.0% Note 3	4.25% Note 9
28 Fair Value of Plan Assets	808,415	707,965	650,353
29 Market Related Value of Assets	808,415	707,965	650,353
30 Balance in Working Capital (Specify Account No.)	0	0	0
upporting Schedules:			Pagas Cahadulas:

Supporting Schedules:

FLORIDA PUBLIC SERVICE COMMISSION		Explanation:	Provide the following information conce the most recent historical year if the tes	ear and Type of data shown: XX Projected Test Year Ended	12/31/201	
Company:	PROGRESS ENERGY FLORIDA INC.		the most recent historical year if the tes	ryear is projected.	XX Prior Year Ended XX Historical Test Year Ended	12/31/200 12/31/200 12/31/200
Docket No	o. 090079-EI		(Thousands)		Witness: Toomey	12/0 1/200
	Progress Energy Pension Plan		(A)	(B)	(C)	
Line	, rogross Energy i onclosi i ian		Test Year	Prior Year	Historical Year	
No.	Description		2010 (*)	2009 (*)	2008	
1 2	Notes:					
3						
4	(*)	Projected information	on			
5 6	1	For the non-hargain	ning plan Progress Energy Florida's cost	s are primarily based on its actu	al employees and its portion of plan assets.	
7	•				costs related to the bargaining unit plan.	
8		,.	·g, · · · · · · · · · · · · · · · · · ·		the state of the s	
9	2	Vested benefit oblig	gation is not required to be disclosed for (SAAP and is not supplied with P	rogress Energy Florida's actuarial information.	
10		·	•	,,	•	
11	3				salary increases are not taken into account when	
12					as they occur. Therefore, the 4.0% reflected for	
13		nonbargaining is or	nly used to escalate salaries to the application	able projection year.		
14						
15	4	Information is not re	eadily available on a projected basis.			
16		2000 Dlan Voor for	dian requirements will be available in mic	1 2000 2010 Dian Veer funding	information will be available in mid 2040	
17 18	5	2009 Plan Year fur	loing requirements will be available in mic	1-2009. 2010 Plan Year lunding	information will be available in mid-2010.	
19	6	For the 2008 Plan	Vear the hargaining unit plan had a minir	num contribtuion of \$4.79 million	n and a maximum tax-deductible contribution of	
20	O				d on a total plan basis; any related contributions are then	
21			n's legal entity particpants based on their			
22		anocatos to the pla	into logar onliny participante based on their			
23	7	During 2008, Progr	ress Energy Florida contributed approxima	ately \$147,000 to the bargaining	unit plan; the remaining 2008 Plan Year contributions	
24			9. Due to its funded status, Progress Er			
25		The projected net p	periodic pension cost on Line 6 reflects as	sumed Progress Energy Florida	Pension contributions of \$79.1 million in 2009 and	
26		\$92.7 million in 201	10. Refer to Note 5.			
27						
28	8	Represents the we	ighted-average discount rate of the non-b	argaining and bargaining unit pl	ans.	
29						
30	9	Salary escalation r	ate is only applicable for the bargaining u	nit plan for 2008; refer to Note 3.		
31						
32						
33	Schedules:			J.,	Recap Schedules:	

SCHEDULE C-18 FLORIDA PUBLIC SERVICE COMMISSION Explanation:				Lobbying, Other Political Expenses and Civic/Charitable Contributions							Page 1 of 1	
				Provide a schedule by organization of any expenses for lobbying, civic, political and related activities or for civic/charitable contributions				Type of data shown:				
Company: PROGRESS ENERGY FLORIDA INC.			included for rec	included for recovery in cost of service for the test year and the most recent historical year.					XX Projected Tes XX Prior Year End		12/31/2010 12/31/2009	
Docket No.	090079-EI			room motorio						XX Prior Year Ended XX Historical Year Ended Witness: Toomey		12/31/2008
Line No.	(Thousands)	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	1		····									
	2											
	3											
	4											
	5											
	6											
	7											
	8											
	9 10											
	11											
	12											
	13					Not App	olicable					
	14		E	Expenses for lobb	vina, civic, politic			orded below	the line, accor	ınt 426.		
	15				,g,, p				,			
	16											
	17											
	18											
	19											
	20											
	21											
	22											
	23											
	24											
	25											
	26											
	27											

Recap Schedules:

Supporting Schedules:

SCH	ווום=	EC.	-10

5	CHEDULE	C-19				AMORTIZATION/RECO	OVERY SCH	HEDULE - 12 MONTHS	Page 1 of 3
FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-EI					unt currently	ization/Recovery amount y in effect or proposed and s)	Type of data shown: X Projected Test Year Ended 12/31/2010 Prior Year Ended 12/31/2009 Historical Year Ended 12/31/2008 Witness: Toomey		
-	Line No.	Account/ Sub-Account No.	Plant Account Title		(A) Total Amort/Recovery Expense	(B) Total Amount of Amortization/ Recovery Remaining	(C) Effective Date	(D) Amortization/ Recovery Period	Reason
	1	4031001	FAS 143 - Nuc Decom - Depreciation Expense	(1)	0	20,542	Various	Various	Depreciation of ARO asset per FAS 143. Total recovery amount relates to ARO assets net of depreciation and impacts the activity in accounts 4073002 and 4074002.
	2 3 4	4044001	Amortization of Limited Term Electric Plant	(2)	0	11,542	Various	Various	Related primarily to the amortization of software.
93	5	4060001	Amortization of Acquisition Adjustment		(341)	(2,120)	Various	Various	Amortization of Tallahassee CR Buyback, TECO Line Acquisition & Progress Telecom Asset Acquisition Adjustment.
	7 8	4073002	FAS 143 - Regulatory Debit		(19,237)	-	Various	Various	Regulatory impact of ARO depreciation and accretion which is a recorded regulatory liability on the utility by the ratemaking actions of regulatory agencies.
	9 10	4073701	Amortization - Storm Expense - WH		2,872	7,926	Various	Various	Amortization of 2004 storm damage costs in excess of the storm damage reserve.
	11 12	4074002	FAS 143 - Regulatory Credit		0	•	Various	Various	Regulatory impact of ARO depreciation and accretion which is a return of amounts to customers through rates.
	13	4250100	Misc Amortization		822	24,374	Various	Various	Amortization of Hines 4 Turbine & Withalacoochie River Electric Cooperative Territorial Agreement Purchase of Distribution assets.
	14 15 16 17 18 19 20 21	4110101	FAS 143 Accretion Expense		19,237	311,463	Various	Various	Accretion of ARO liability per FAS 143. Total recovery amount relates to the ARO liability balance and impacts accounts 4073002 and 4074002.
	22 23		ed from rate base						

Note: This MFR excludes clause recoverable amortization

(2) - Included in depreciation expense in 2009 & 2010

COUEDIN E C.10	

SCHEDULE	E C-19				AMORTIZATION/RECO	OVERY SCI	HEDULE - 12 MONTHS	Page 2 of 3
Company:	CORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC. Cocket No. 090079-EI			Explanation:	Type of data shown: Projected Test Year Ended 12/31/2010 X Prior Year Ended 12/31/2009 Historical Year Ended 12/31/2008 Witness: Toomey			
				(4)	(0)	(0)	(D)	
Line No.	Account/ Sub-Account No.	Plant Account Title		(A) Total Amort/Recovery Expense	(B) Total Amount of Amortization/ Recovery Remaining	(C) Effective Date	(D) Amortization/ Recovery Period	Reason
1		FAS 143 - Nuc Decom - Depreciation Expense	(1)	CAPERISE 0	20,542	Various	Various	Depreciation of ARO asset per FAS 143. Total recovery amount relates to ARO assets net of depreciation and impacts the activity in accounts 4073002 and 4074002.
2 3 4	4044001	Amortization of Limited Term Electric Plant	(2)	0	11,542	Various	Various	Related primarily to the amortization of software.
5 6	4060001	Amortization of Acquisition Adjustment		(341)	(2,461)	Various	Various	Amortization of Tallahassee CR Buyback, TECO Line Acquisition & Progress Telecom Asset Acquisition Adjustment.
7	4073002	FAS 143 - Regulatory Debit		(18,280)	-	Various	Various	Regulatory impact of ARO depreciation and accretion which is a recorded regulate liability on the utility by the ratemaking actions of regulatory agencies.
9 10	4073701	Amortization - Storm Expense - WH		2,872	10,797	Various	Various	Amortization of 2004 storm damage costs in excess of the storm damage reserve
11 12	4074002	FAS 143 - Regulatory Credit		0	-	Various	Various	Regulatory impact of ARO depreciation and accretion which is a return of amounts to customers through rates.
13	4250100	Misc Amortization		822	25,196	Various	Various	Amortization of Hines 4 Turbine & Withalacoochie River Electric Cooperative Territorial Agreement Purchase of Distribution assets.
14 15 16 17 18 19 20 21 22	4110101	FAS 143 Accretion Expense		18,280	330,699	Various	Various	Accretion of ARO liability per FAS 143. Total recovery amount relates to the ARO liability balance and impacts accounts 4073002 and 4074002.

Note: This MFR excludes clause recoverable amortization

(1) - Excluded from rate base(2) - Included in depreciation expense in 2009 & 2010

SCH	IFDI.	II F	C-19	

AMORTIZATION/RECOVERY SCHEDULE - 12 MONTHS

Page 3 of 3

FLORIDA	PUBLIC SERVICE	COMMISSION
LONDA	I OBEIO CEITTICE	0011111100101

Company: PROGRESS ENERGY FLORIDA INC.

Docket No. 090079-EI

Explanation:

Provide a schedule for each Amortization/Recovery amount by account or sub-account currently in effect or proposed and

not shown on Schedule B-9.

(Thousands)

Type of data shown:

__ Projected Test Year Ended 12/31/2010

Prior Year Ended

12/31/2009

X Historical Year Ended Witness: Toomey

12/31/2008

_		Account/		(A) Total	(B) Total Amount	(C)	(D)	
	Line No.	Sub-Accoun No.	t Plant Account Title	Amort/Recovery Expense	of Amortization/ Recovery Remaining	Effective Date	Amortization/ Recovery Period	Reason
_	1	4031001	FAS 143 - Nuc Decom - Depreciation Expense	355	20,542	Various	Various	Depreciation of ARO asset per FAS 143. Total recovery amount relates to ARO assets net of depreciation and impacts the activity in accounts 4073002 and 4074002.
	3	4044001	Amortization of Limited Term Electric Plant	2,230	11,542	Various	Various	Related primarily to the amortization of software.
	4 5 6	4060001	Amortization of Acquisition Adjustment	(411)	(2,802)	Various	Various	Amortization of Tallahassee CR Buyback, TECO Line Acquisition & Progress Telecom Asset Acquisition Adjustment.
95	7 8	4073002	FAS 143 - Regulatory Debit	(16,659)		Various	Various	Regulatory impact of ARO depreciation and accretion which is a recorded regulatory liability on the utility by the ratemaking actions of regulatory agencies.
	9	4073701	Amortization - Storm Expense - WH	1,990	13,669	Various	Various	Amortization of 2004 storm damage costs in excess of the storm damage reserve.
10 11		4074002	FAS 143 - Regulatory Credit	(785)		Various	Various	Regulatory impact of ARO depreciation and accretion which is a return of amounts to customers through rates.
	13 14	4250100	Misc Amortization	822	26,018	Various	Various	Amortization of Hines 4 Turbine & Withalacoochie River Electric Cooperative Territorial Agreement Purchase of Distribution assets.
	15	4110101	FAS 143 Accretion Expense	17,223	348,979	Various	Various	Accretion of ARO liability per FAS 143. Total recovery amount includes 4073002 and 4074002.
16 17 18 19	4044002	Sebring - Over/(Under) Recovery	730	-	Apr-93	15 years	Amortization of Sebring electric system to recover the remainder of the base purchase price over a period of 15 years per Order PSC-92-1468-FOF-EU.	

Note: This MFR excludes clause recoverable amortization

		, i , , i							-
LORIDA PL	JBLIC SERVICE COMMISSION	•			than income taxes for		ype of data sho	own:	
`omnonie Di	BOODESS ENERGY ELORIDA INC				se year + 1, and the te		.,	-	12/31/20
Jompany: P	ROGRESS ENERGY FLORIDA INC.		year. For each tax, indicate the amount charged to operating <u>X</u> Projected Test Year Ended expenses. Complete columns 5, 6 and 7 for the historical base Prior Year Ended						
Docket No.	000070 EI				Prior Year Ended	12/31/20			
Docket No.	090079-E1	y	ear and test year	only.			_	Historical Year Ended	12/31/20
(000's)								Witness: Toomey/Slusser	
000 3)		(A)	(B)	(C)	(D)	(E)	(F)	(C)	
		('')	(5)	(0)	Amount Charged	(=)	(F)	(G) Jurisdictional	
Line	·		Tax	Total	to Operating	Jurisdio	rtional	Amt Charged to	
No.	Type of Tax	Rate	Basis	Amount	Expense	Factor	Amount	Operating Expense	
1	Federal Unemployment	0.800%	\$34,875	279	\$235	0.87732	\$206	\$206	
2	· •		, , , , , ,		4200	0.07702	Ψ200	Ψ200	
3	State Unemployment	5.400%	21,000	1,134	954	0.87732	837	837	
4	, ,			ŕ				007	
5	5 FICA	7.650%	317,935	24,322	20,457	0.87732	17,947	17,947	
6	3						·	,•	
7	Federal Vehicle-Highway Use	Variable	Variable						
8	3								
9	- · · · · · · · · · · · · · · · · · · ·	Variable							
10									
11		0.072%	4,963,113	3,548	1,123	1.0000	1,123	1,123	
12		11		405 400	405 400				
13		Variable	Variable	125,122	125,122	0.8816	110,304	110,304	
14		2.50%	42 045	447 704	447 704	4.0000			
15 16	•	2.50%	13,815	117,781	117,781	1.0000	117,781	117,781	
17		Variable	Variable	118,260	118,260	1.0000	110 260	440,000	
18		Valiable	Variable	110,200	110,200	1.0000	118,260	118,260	
19		Variable	Variable						
20	•	741.0010	· anabio						
21		Variable	Variable						
22									
23		Variable	Variable						
24	-								
25									
26		Variable	Variable						
27		Variable	Variable			-			
28				\$390,446	\$383,932		\$366,458	\$366,458	
29			_	-	(A)				

FLORIDA P	PUBLIC SERVICE COMMISSION	,	Explanation: Provide a schedule of taxes other than income taxes for the historical base year, historical base year + 1, and the test								
Company: F	PROGRESS ENERGY FLORIDA INC.		year. For each tax	, indicate the ar	nount charged to ope and 7 for the historic	Projected Test Year Ended X Prior Year Ended		12/31/2010 12/31/2009			
	090079-EI		year and test year	only.		Historical Year Ended Witness: Toomey/Slusser	12/31/2008				
(000's)		(A)	(B)	(C)	(D)	(E)	(F)	(G)			
Line	•		Tax	Total	Amount Charged to Operating	Jurisdio	tional	Jurisdictional Amt Charged to			
No.	Type of Tax	Rate	Basis	Amount	Expense	Factor	Amount	Operating Expense			
	1 Federal Unemployment	0.800%	\$32,500	\$260	\$219	0.91670	\$201	\$201	·		
	2										
	3 State Unemployment	5.400%	19,574	1,057	889	0.91670	815	815			
	4 E 510A	7.650%	296,314	22,668	19,066	0.91670	17,478	47.470			
	5 FICA 6	7.000%	290,314	22,000	19,000	0.91070	17,470	17,478			
	7 Federal Vehicle-Highway Use	Variable	Variable								
	8		7 31.22.12								
	9 State Intangible	Variable									
1	10										
	11 Regulatory Assessment Tax	0.072%	4,849,668	3,466	1,226	1.0000	1,226	1,226			
	12 13 P+-T	Variable	Variable	112,818	112,818	0.0402	102 700	102 700			
	13 Property Taxes 14	variable	vanable	112,010	112,010	0.9193	103,709	103,709			
	15 Gross Receipts	2.50%	13,113	115,079	115,079	1.0000	115,079	115,079			
	16		,		,		,	,			
	17 Franchise Fee	Variable	Variable	115,555	115,555	1.0000	115,555	115,555			
	18										
	19 Occupational Licenses	Variable	Variable								
	20	M:	Madabla								
	21 Licenses - Vehicles 22	Variable	Variable								
	23 Licenses - Hauling Permits	Variable	Variable								
	24	Vanable	7 di labio								
	25 Other (Specify)										
	26 Sales Taxes and Special Fuels	Variable									
	27 Documentary Stamps	Variable	Variable_	*****					-		
	28		=	\$370,903	\$364,852		\$354,063	\$354,063	=		
2	29 (A) The total per account 408 for 2009				(A)						

		BLIC SERVICE COMMISSION OGRESS ENERGY FLORIDA INC.	•	historical base year	r, historical bas	than income taxes for e year + 1, and the te mount charged to ope	st	pe of data show F	vn: Projected Test Year Ended	12/31/2010
Docket N	•	090079-EI			ete columns 5, 6	3 and 7 for the historic		 ,		
(000's)								•	Maiood. Toomby, oldood,	
			(A)	(B)	(C)	(D) Amount Charged	(E)	(F)	(G) Jurisdictional	
Line	•			Tax	Total	to Operating	Jurisdic	tional	Amt Charged to	
No.		Type of Tax	Rate	Basis	Amount	Expense	Factor	Amount	Operating Expense	
	1 2	Federal Unemployment	0.800%	\$33,625	\$269	\$243	0.91670	\$223	\$223	
	3 4	State Unemployment	5.400%	33,667	1,818	1,637	0.91670	1,501	1,501	
	5 6	FICA	7.650%	276,431	21,147	19,037	0.91670	17,451	17,451	
	7 8	Federal Vehicle-Highway Use	Variable	Variable						
	9	State Intangible	Variable							
	11 12	Regulatory Assessment Tax	0.072%	4,096,026	2,947	2,898	1.00000	2,898	2,898	}
	13 14	Property Taxes	Variable	Variable	92,305	92,305	0.91926	84,852	84,852	<u> </u>
	15 16	Gross Receipts	2.50%	12,978	98,667	98,667	1.00000	98,667	98,667	,
	17 18	Franchise Fee	Variable	Variable	94,289	94,289	1.00000	94,289	94,289	1
	19 20	Occupational Licenses	Variable	Variable						
	21 22	Licenses - Vehicles	Variable	Variable						
	23 24	Licenses - Hauling Permits	Variable	Variable						
	25	FL KWH Electric Power Tax	Variable	Variable	142	142	0.91926	131	131	
	26	Sales Taxes and Special Fuels	Variable	Variable						
	27	Documentary Stamps	Variable							_
	28	,		-	\$311,584	\$309,218		\$300,012	\$300,012	2
	29			-		(A)				

SCHEDULE C-21

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide a calculation of the Gross Receipt Tax and Regulatory	Type of data shown:	
TECHNIA TOBLIC GENVICE COMMISSION	Explanation.	Assessment Fee for the historical base year, historical base	X Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		year + 1, and the test year.	X Prior Year Ended X Historical Year Ended	12/31/2009 12/31/2008
Docket No. 090079-EI		(Thousands)	Witness: Toomey	12/3 1/2000

		(Pross Receipts Tax		Regu	Regulatory Assessment Fee			
е		Historical	Historical	Test	Historical	Historical	Test		
	Description	Base Year	Base Year +1	Year	Base Year	Base Year +1	Year		
		2008	2009	2010	2008	2009	2010		
1	•								
	? Total Sales of Electricity Before Rate Refunds	\$4,551,454	\$5,359,294	\$5,535,104	\$4,551,454	\$5,359,294	\$5,535,104		
3	Provision for Rate Refund - Wholesale	(1,474)	0	0	(1,474)	0	0		
4	Total Sales of Electricity	4,549,979	5,359,294	5,535,104	4,549,979	5,359,294	5,535,104		
5	j								
6	Other Operating Revenues				180,911	194,679	231,339		
7	•								
8	Total Electric Operating Revenues	4,549,979	5,359,294	5,535,104	4,730,890	5,553,973	5,766,444		
9									
10	Less Adjustments:								
11	Interchange Sales - Energy /Demand	11,398	23,374	34,759	11,398	23,374	34,759		
12	Revenue - Other	537,342	577,937	631,556	537,342	577,937	631,556		
13	Other Electric Revenue Interchange Sales				101	0	0		
14	Provision for Rate Refund -Wholesale				(1,474)	0	0		
15	Unbilled Revenue - Wholesale				3,949	0	0		
16	Wheeling Revenue - Wholesale				43,879	63,038	97,061		
17		19,262	16,950	16,950	19,262	16,950	16,950		
18	Interruptible/Curtailment Demand Credits	20,408	23,005	23,005	20,408	23,005	23,005		
19	Net Bad Debts Charged Off	12,978	13,113	13,815					
20		601,388	654,380	720,085	634,865	704,305	803,331		
21									
	? Taxable Revenues	3,948,591	4,704,914	4,815,020	4,096,026	4,849,668	4,963,113		
23									
24	Tax Rate	0.0250000	0.0250000	0.0250000	0.000720	0.000720	0.000720		
25	i								
26	7 Total Tax Amount	98,715	117,623	120,375	2,949	3,492	3,573		
27	Less: Tax Adjustments	(48)	(2,544)	(2,594)	(2)	(26)	(25)		
28	3 Total Adjusted Tax Amount	\$98,667	\$115,079	\$117,781	\$2,947	\$3,466	\$3,548		
29					 				
30)								
31									

Docket No 090079-El

FLORIDA PUBLIC SERVICE COMMISSION

Explanation:

Provide the calculation of state and federal income taxes for the historical base year and the projected test year.

Type of data shown:

Company: PROGRESS ENERGY FLORIDA INC.

XX Projected Test Year Ended 12/31/2010 Prior Year Ended Historical Year Ended

12/31/2009 12/31/2008

Witness: Toomey

		Current	Tax	Deferred	Tax	
Line						
No.	Description	State	Federal	State	Federal	
1	Net Utility Operating Income	\$490,964,080	\$490,964,080			
. 2	2 Add Income Tax Accounts	107,285,780	107,285,780			
3	3 Less Interest Charges (From C-23)	295,420,442	295,420,442			
4	4					
5	5 Taxable Income Per Books	302,829,418	302,829,418			
€	3					
7	7 Temporary Adjustments to Taxable Income (List)					
8	B Add: Book Depreciation	482,066,241	482,066,241	(\$482,066,241)	(\$482,066,241)	
9	9 Less: Tax Depreciation State	(665,754,827)		665,754,827		
10	Less: Tax Depreciation Federal		(657,870,836)		657,870,836	
11	1 Less: Book Depreciation on AFUDC Equity Temp	(13,478,824)	(13,478,824)	13,478,824	13,478,824	
12	2 AFUDC Debt: M	(18,858,851)	(18,858,851)	18,858,851	18,858,851	
	3 PEF Nuclear Fuel Amortization per Books	39,641,974	39,641,974	(39,641,974)	(39,641,974)	
14	4 Construction Period Interest	20,064,280	20,064,280	(20,064,280)	(20,064,280)	
	5 Removal Costs	(19,658,000)	(19,658,000)	19,658,000	19,658,000	
16	6 CIAC	44,222,218	44,222,218	(44,222,218)	(44,222,218)	
17	7 Pension	11,230,004	11,230,004	(11,230,004)	(11,230,004)	
11	8 OPEB Liability Change	6,200,055	6,200,055	(6,200,055)	(6,200,055)	
19	9 OPEB Liability Change (Temp) NON-TAX portion	(1,674,015)	(1,674,015)	1,674,015	1,674,015	
	0 FAS 112 Accruals	1,203,040	1,203,040	(1,203,040)	(1,203,040)	
2	1 SERP Liability Change	1,280,032	1,280,032	(1,280,032)	(1,280,032)	
22	2 Accrued Storm Damage Reserve	5,566,000	5,566,000	(5,566,000)	(5,566,000)	
2	3 Fuel Under Recovery (PEF)	0	-	-	-	
24	4 Reserve for Nuclear Outage (Pillar Years only)	14,600,004	14,600,004	(14,600,004)	(14,600,004)	
2	5 PEF Storm Deferral Amortization - Whisi	434,000	434,000	(434,000)	(434,000)	
26	6 PEF Storm Reserve Accrual (NEW)	9,355,596	9,355,596	(9,355,596)	(9,355,596)	
2	7 PEF OATT adder to amort of existing whal storm	3,663,676	3,663,676	(3,663,676)	(3,663,676)	
	8 PEF Recover Nuclear COL thru CCR	131,691,871	131,691,871	(131,691,871)	(131,691,871)	
2	9 PEF Nuclear EOL Last Core Nuclear Fuel Accrual	1,200,000	1,200,000	(1,200,000)	(1,200,000)	
3/	0 PEF Nuclear EOL M&S Accural	1,100,000	1,100,000	(1,100,000)	(1,100,000)	
3	1 PEF CPI on Nuclear Recovery DTA - Levy	48,946,199	48,946,199	(48,946,199)	(48,946,199)	
	2 PEF CPI on Nuclear Recovery DTA - CR3 uprate	9,257,997	9,257,997	(9,257,997)	(9,257,997)	
	3 PEF Amortization of Hines 4 Acq Adj	822,181	822,181	(822,181)	(822,181)	
	4 PEF Interest on Tax Deficiency	2,666,667	2,666,667	(2,666,667)	(2,666,667)	
	Sub-total Temporary Differences	\$115,787,519	\$123,671,510	(\$115,787,519)	(\$123,671,510)	

Supporting Schedules:

FLORIDA PUBLIC SERVICE COMMISSION

Explanation:

Type of data shown:

FLOF	CIDA FOBLIC SERVICE COMMISSION EXPIANAL			ear and the projected test year.		'	ype or data snor	wii.	
,	oany: PROGRESS ENERGY FLORIDA INC. et No 090079-El	,.	, are motorical base ye	and the projected test year.				XX Projected Test Year Ended Prior Year Ended Historical Year Ended Witness: Toomey	12/31/2010 12/31/2009 12/31/2008
		····	Current 1	Tax		Deferre	d Tax	vvialede. Veelingy	
Line		_						·········	
No.	Description 1		State	Federal		State	Federal		
	2 Total Temporary Differences (from Prior Page)		\$115,787,519	\$123,671,510		(\$115,787,519)	(\$123,671,5	510)	
	3								
	4 Permanent Adjustments - Operating								
	5 Non-Deductible Meals Expense		1,200,000	1,200,000					
	6 PEF Sec. 199 Manufacturers Deduction		(26,000,000)	(26,000,000)					
	7 Book Depreciation of AFUDC Equity Perm		13,478,824	13,478,824					
	8 PEF OPEB/FAS 106 (Medicare D) Reg Amort		(1,660,440)	(1,660,440)					
	9 PEF OPEB/FAS 106 (Medicare D) Perm		(5,202,484)	(5,202,484)					
	10 PEF OPEB/FAS 106 (Medicare D) Perm - NON-TAX		1,852,989	1,852,989					
	11 Total Permanent Adjustments	_	(16,331,111)	(16,331,111)		-	•		
	12			·					
	13 State Taxable Income		402,285,826			(115,787,519)			
<u>-</u>	14 State Income Tax (5.5%)		22,125,720	22,125,720		(6,368,314)			
<u> </u>	15					• • • •			
	16 Adjustments to State Income Tax (List)								
	17					-			
	18 Total adjustments to State Income Tax	_	-			-			
	19 State Income Tax	_	22,125,720			(6,368,314)	(6,368,3	314)	
	20	_					,	•	
	21 Federal Taxable Income			388,044,097			(117,303,1	196)	
	22 Federal Income Tax (35%)			135,815,434			(41,056,1	119)	
	23			• •			, , ,	•	
	24 Adjustments to Federal Income Tax								
	25 Tax Rate Differential - 34% to 35%						412,0	000	
	26 Amortization of Excess Deferred Tax						(1,888,0		
	27 Total Adjustments to Federal Income Tax		-	-		_	(1,476,0		
	28 Federal Income Tax			135,815,434		-	(42,532,1		
	29					-	(, , -	· · · · · · · · · · · · · · · · · · ·	
	30 ITC Amortization						(1,754,9	942)	
	31						(.,. 0 ,,0		
	32								
	33 Summary of Income Tax Expense:		State	Federal		Total			
	34 Current Tax Expense	5			\$	157,941,154			
	35 Deferred Income Taxes	,	(6,368,314)	(42,532,119)	•	(48,900,433)			
	36 Investment Tax Credits, Net		(0,000,014)	(1,754,942)		(1,754,942)			
	oo mirodininii Tax Oroma, mit	_	15 353 100	04.500.070		107.005.770			

15,757,406 \$

91,528,373

107,285,779

Supporting Schedules:

37 Total Income Tax Provision

STATE AND FEDERAL INCOME TAX CALCULATION

FLORIDA PUBLIC SERVICE COMMISSION

Explanation:

Provide the calculation of state and federal income taxes

Type of data shown:

Company: PROGRESS ENERGY FLORIDA INC.

for the historical base year and the projected test year.

Projected Test Year Ended 12/31/2010

Company. I NOCKEGO ENERGI I ECKIDA INC

XX Prior Year Ended Historical Year Ended Witness: Toomey 12/31/2009 12/31/2008

Docket No. 090079-EI

		Current	Tov	Deferred Tax			
.:		Current	ıax	Delerred	Tax		
Line No.	Description	State	Federal	State	Federal		
	1 Net Utility Operating Income	\$496,528,158	\$496,528,158				
*	2 Add Income Tax Accounts	150,510,497	150,510,497				
	3 Less Interest Charges (from C-23)	232,755,147	232,755,147				
	4						
	5 Taxable Income Per Books	414,283,509	414,283,509				
	6						
	7 Temporary Adjustments to Taxable Income (List)						
	8 Add: Book Depreciation	341,607,517	341,607,517	(\$341,607,517)	(\$341,607,517)		
	9 Less: Tax Depreciation State	(506,910,153)		506,910,153			
	10 Less: Tax Depreciation Federal		(497,640,197)		497,640,197		
	11 Less: Book Depreciation on AFUDC Equity Temp	(9,470,811)	(9,470,811)	9,470,811	9,470,811		
	12 AFUDC Debt: M	(33,460,395)	(33,460,395)	33,460,395	33,460,395		
	13 PEF Nuclear Fuel Amortization per Books	21,187,640	21,187,640	(21,187,640)	(21,187,640)		
	14 Construction Period Interest	82,341,941	82,341,941	(82,341,941)	(82,341,941)		
	15 Removal Costs	(19,658,000)	(19,658,000)	19,658,000	19,658,000		
	16 CIAC	44,222,218	44,222,218	(44,222,218)	(44,222,218)		
	17 Pension	2,688,847	2,688,847	(2,688,847)	(2,688,847)		
	18 OPEB Liability Change	6,256,788	6,256,788	(6,256,788)	(6,256,788)		
	19 OPEB Liability Change (Temp) NON-TAX portion	(1,689,333)	(1,689,333)	1,689,333	1,689,333		
	20 FAS 112 Accruals	1,101,570	1,101,570	(1,101,570)	(1,101,570)		
	21 SERP Liability Change	1,246,663	1,246,663	(1,246,663)	(1,246,663)		
	22 Accrued Storm Damage Reserve	5,566,000	5,566,000	(5,566,000)	(5,566,000)		
	23 Fuel Under Recovery (PEF)	146,154,866	146,154,866	(146,154,866)	(146,154,866)		
	24 Reserve for Nuclear Outage (Pillar Years only)	(14,076,210)	(14,076,210)	14,076,210	14,076,210		
	25 PEF Storm Deferral Amortization - Whisi	434,000	434,000	(434,000)	(434,000)		
	26 PEF Storm Reserve Accrual (NEW)	0	-	•	-		
	27 PEF OATT adder to amort of existing what storm	2,374,963	2,374,963	(2,374,963)	(2,374,963)		
	28 PEF Recover Nuclear COL thru CCR	139,412,460	139,412,460	(139,412,460)	(139,412,460)		
	29 PEF Nuclear EOL Last Core Nuclear Fuel Accrual	1,100,000	1,100,000	(1,100,000)	(1,100,000)		
	30 PEF Nuclear EOL M&S Accural	1,500,000	1,500,000	(1,500,000)	(1,500,000)		
	31 PEF CPI on Nuclear Recovery DTA - Levy	20,926,118	20,926,118	(20,926,118)	(20,926,118)		
	32 PEF CPI on Nuclear Recovery DTA - CR3 uprate	8,860,025	8,860,025	(8,860,025)	(8,860,025)		
	33 PEF Amortization of Hines 4 Acq Adj	822,181	822,181	(822,181)	(822,181)		
	34 PEF Interest on Tax Deficiency	1,112,500	1,112,500	(1,112,500)	(1,112,500)		
	Sub-total Temporary Differences	\$243,651,395	\$252,921,351	(\$243,651,395)	(\$252,921,351)		

Supporting Schedules:

Type of data shown:

FLORIDA PUBLIC SERVICE COMMISSION

36 Investment Tax Credits, Net

37 Total Income Tax Provision

Supporting Schedules:

STATE AND FEDERAL INCOME TAX CALCULATION

Provide the calculation of state and federal income taxes

Explanation:

for the historical base year and the projected test year. 12/31/2010 Company: PROGRESS ENERGY FLORIDA INC. Projected Test Year Ended XX Prior Year Ended 12/31/2009 Historical Year Ended 12/31/2008 Docket No. 090079-EI Witness: Toomey Current Tax Deferred Tax Line State Federal State Federal No. Description 2 Total Temporary Differences (from Prior Page) \$243,651,395 \$252,921,351 (\$243,651,395) (\$252,921,351) 4 Permanent Adjustments - Operating 5 Non-Deductible Meals Expense 1,200,000 1,200,000 6 PEF Sec. 199 Manufacturers Deduction (14,000,000)(14,000,000)7 Book Depreciation of AFUDC Equity Perm 9,470,811 9,470,811 8 PEF OPEB/FAS 106 (Medicare D) Reg Amort (1,708,649)(1,708,649)9 PEF OPEB/FAS 106 (Medicare D) Perm (5,112,780) (5,112,780)10 PEF OPEB/FAS 106 (Medicare D) Perm - NON-TAX 1.841.786 1.841.786 (8,308,832) (8,308,832) 11 Total Permanent Adjustments 13 State Taxable Income 649.626.072 (243,651,395) 103 14 State Income Tax (5.5%) 35,729,434 35,729,434 (13,400,827)16 Adjustments to State Income Tax (List) 18 Total adjustments to State Income Tax 19 State Income Tax 35,729,434 (13,400,827) 20 21 Federal Taxable Income 623,166,594 (239,520,524) 22 Federal Income Tax (35%) 218,108,308 (83,832,184) 24 Adjustments to Federal Income Tax 25 Tax Rate Differential - 34% to 35% 459,000 26 Amortization of Excess Deferred Tax (2.007,000)(1,548,000) 27 Total Adjustments to Federal Income Tax 28 Federal Income Tax 218,108,308 (85,380,184) 29 30 ITC Amortization (4,546,234) 31 32 Federal 33 Summary of Income Tax Expense: State 5 1 Total 35,729,434 \$ 218,108,308 253,837,742 34 Current Tax Expense (13,400,827) (85,380,184) (98,781,011) 35 Deferred Income Taxes

(4,546,234)

128,181,890

22,328,607 \$

(4,546,234)

Recap Schedules:

150,510,497

FLORIDA PUBLIC SERVICE COMMISSION

Explanation:

Provide the calculation of state and federal income taxes

Type of data shown:

Company: PROGRESS ENERGY FLORIDA INC.

for the historical base year and the projected test year.

Projected Test Year Ended 12/31/2010 Prior Year Ended

12/31/2009 12/31/2008

XX Historical Year Ended

Witness: Toomey

Docket No. 090079-EI

							Witness: Toomey		
		Current Tax		***	Deferred Tax				
Line									
No. Description	State	Federal	Total	State	Federal	Total			
1 Net Utility Operating Income	499,115,849	499,115,849				•••			
2 Add Income Tax Accounts	178,382,837	178,382,837							
3 Less Interest Charges (From C-23)	208,127,075	208,127,075		•	-				
4									
5 Taxable Income Per Books	469,371,611	469,371,611							
6									
7 Temporary Adjustments to Taxable Income (List)									
8 Add: Book Depreciation Excluding AFUDC Equity	298,828,949	298,828,949		(298,828,949)	(298,828,949)				
9 Less: Tax Depreciation	(418,710,691)	(497,472,272)		418,710,691	497,472,272				
10 AFUDC Debt	(28,237,751)	(28,237,751)		28,237,751	28,237,751				
11 Amortization of Nuclear Fuel per Books	24,393,284	24,393,284		(24,393,284)	(24,393,284)				
12 Construction Period Interest Capitalized per Tax	83,190,456	83,190,456		(83,190,456)	(83,190,456)				
13 Contribution in Aid of Construction	21,589,763	21,589,763		(21,589,763)	(21,589,763)				
14 Cost of Removal	(36,972,577)	(36,972,577)		36,972,577	36,972,577				
15 Pension	(70,431,456)	(70,431,456)		70,431,456	70,431,456				
16 OPEB Accrual per Book in Excess of Tax	7,963,174	7,963,174		(7,963,174)	(7,963,174)				
17 Amortization of Reacquired Debt per Book	3,886,921	3,886,921		(3,886,921)	(3,886,921)				
18 Storm Damage Accrual per Book	75,387,438	75,387,438		(75,387,438)	(75,387,438)				
19 Reserve for Obsolete Inventory	(280,671)	(280,671)		280,671	280,671				
21 Reserve for Nuclear Outage	12,278,852	12,278,852		(12,278,852)	(12,278,852)				
22 Storm Costs Deducted per Tax	(22,185,719)	(22,185,719)		22,185,719	22,185,719				
23 Deferred Compensation	3,583,593	3,583,593		(3,583,593)	(3,583,593)				
24 Under Recovered Fuel Costs	(132,665,572)	(132,665,572)		132,665,572	132,665,572				
25 Unbilled Revenue Recovery Clauses	3,503,008	3,503,008		(3,503,008)	(3,503,008)				
26 Under Recovered Environmental Costs	(13,810,908)	(13,810,908)		13,810,908	13,810,908				
27 Under Recovered Nuclear Costs	(5,752,156)	(5,752,156)		5,752,156	5,752,156				
28 Reserve for Environmental Clean Up	(10,430,633)	(10,430,633)		10,430,633	10,430,633				
29 Accrued Environmental Costs	8,531,783	8,531,783		(8,531,783)	(8,531,783)				
30 Sub-total Temporary Differences	(196,340,913)	(275,102,494)		196,340,913	275,102,494				

Supporting Schedules:

Docket No. 090079-EI

STATE AND FEDERAL INCOME TAX CALCULATION

Page 6 of 7

FLORIDA PUBLIC SERVICE COMMISSION

Explanation:

Provide the calculation of state and federal income taxes

Type of data shown:

Company: PROGRESS ENERGY FLORIDA INC.

for the historical base year and the projected test year.

Projected Test Year Ended 12/31/2010

XX Historical Year Ended

12/31/2009 12/31/2008

Prior Year Ended

						Wi	tness: Toomey	
		Current Tax			Deferred Tax			
Line								
No. Description	State	Federal	Total	State	Federal	Total		
1								
2 Sub-total Temporary Differences (from Prior Page)	(196,340,913)	(275,102,494)		196,340,913	275,102,494			
3								
5 Assert of leterates Tou Defeire and Backs	(0.000.070)	(C 000 C70)		0.000.070				
5 Amort of Interest on Tax Deficiency per Books	(6,008,679)	(6,008,679)		6,008,679	6,008,679			
6 Reserve for Last Core Nuclear Fuel	1,100,004	1,100,004		(1,100,004)	(1,100,004)			
7 Reserve for End of Life Materials & Supplies	1,500,000	1,500,000		(1,500,000)	(1,500,000)			
8 Non-qualified Nuclear Decommissioning Fund Earnings	533,365	533,365		(533,365)	(533,365)			
9 Research & Experimentation Deduction	(17,603,722)	(17,603,722)		17,603,722	17,603,722			
10 OPC Fuel Refund	(9,368,829)	(9,368,829)		9,368,829	9,368,829			
11 Excess Tax Gain(Loss) on Disposition of Property	(47,153,892)	(47,153,892)		47,153,892	47,153,892			
12 Miscellaneous Other	(1,066,149)	(1,812,149)		1,066,149	1,812,149			
13 Total Temporary Differences	(274,408,815)	(353,916,396)		274,408,815	353,916,396			
14								
15								
16 Permanent Adjustments								
17 Non-deductible Meals	1,211,260	1,211,260						
18 Book Depreciation AFUDC Equity	7,675,956	7,675,956						
19 FAS 106 Medicare Subsidy	(4,997,116)	(4,997,116)						
21 Special Deduction Preferred Stock	(60,000)	(60,000)						
22 Manufacturing Deduction	(3,300,000)	(3,300,000)						
23 Restricted Stock Dividends	(680,312)	(680,312)						
24 Restricted Stock Vestings	(8,148)	(8,148)						
25 NQSO - Excercised	(4,104)	(4,104)						
26 PSSP - Excercised	2,214,589	2,214,589						
27 Restricted Stock Units Tax	381,368	381,368						
28 Interest Expense	2,227,250	2,227,250						
29 Total Permanent Adjustments	4,660,743	4,660,743						
30								

Supporting Schedules:

FLORIDA PUBLIC SERVICE COMMISSION

Explanation:

Provide the calculation of state and federal income taxes for the historical base year and the projected test year.

Type of data shown:

Company: PROGRESS ENERGY FLORIDA INC.

Docket No. 090079-EI

Witness: Toomey

Projected Test Year Ended 12/31/2010 12/31/2009

Prior Year Ended XX Historical Year Ended

12/31/2008

		Current Tax			Deferred Tax	···	
Line							
No. Description	State	Federal	Total	State	Federal	Total	
1 State Taxable Income	199,623,539			274,408,815			
2 State Income Tax (5.5%)	10,979,000	10,979,000		15,092,000	15,092,000	•	
3 Adjustments to State Income Tax (List)							
4 True-up Tax Expense Prior Years	(578,313)			734,000		,	
5 FIN 48 Reserves	1,085,492			(1,242,873)			
6 Prior Flow Through Taxes				823,000			
7 FAS 123R				(12,192)			
8 Total adjustments to State Income Tax	507,179			301,935			
9 State Income Tax	11,486,179			15,393,935			
10							
11 Federal Taxable Income		109,136,958			338,824,396		
12 Federal Income Tax (35%)		38,198,000			118,588,539		
13							
14 Adjustments to Federal Income Tax							
15 True-up Tax Expense Prior Years		(7,178,748)			5,830,461		
16 FIN 48 Reserves		6,220,811			(6,962,714)		
17 FAS 123R					(90,626)		
18 Research & Experimentation Credit		(700,000)					
19 Amortization off of Excess Deferred Taxes					(2,076,000)		
20 Prior Flow Through Taxes					5,005,000		
21 Federal Tax Rate Differential Audit Adjustments	S				151,000		
22 Federal Tax Rate Differential 34% to 35%				_	457,000		
23 Total Adjustments to Federal Income Tax		(1,657,937)		_	2,314,121		
24 Federal Income Tax	_	36,540,063			120,902,660		
25				_			
26 ITC Amortization					(5,940,000)		
27							
28 Summary of Income Tax Expense:	<u>Federal</u>	<u>State</u>	<u>Total</u>				
29 Current Tax Expense	\$ 36,540,063 \$	11,486,179	\$ 48,026,242				
30 Deferred Income Taxes	120,902,660	15,393,935	136,296,595				
31 Investment Tax Credits, Net	(5,940,000)		(5,940,000)				
32 Total Income Tax Provision	\$ 151,502,723 \$	26,880,114	\$ 178,382,837				

Supporting Schedules:

Supporting Schedules:

FLORIDA PUBLIC SERVICE COMMISSION Explanati	 on: Provide the amount of interest jurisdictional operating taxes or 		Type of data shown:	
Company: PROGRESS ENERGY FLORIDA INC.	If the basis for allocating intere		X Projected	Test Year Ended 12/31/2010
Docket No. 090079-EI	differs from the basis used in a expense, the differing bases sh	Illocating current income tax	X Prior Year X Historical Witness:	Fended 12/31/2009 Year Ended 12/31/2008
		(Thousands)		
Line	(A) Historical Base Year Ended	(B) Prior Year Ended	(C) Test Year Ended	
No.	12/31/2008	12/31/2009	12/31/2010	
2 Interest on Long Term Debt				
3 First Mortgage Bonds	\$198,177	\$220,925	\$256,567	
4 PCB's	\$12,337	\$10,237	\$12,043	
5 Interest Expense - LTD Intercompany	1,520	0	0	
6 Other Long Term Debt	\$0	\$10,125	\$10,125	
7 Subtotal	212,033	241,287	278,735	
8			,	
9 10 Amortization of Premiums, Discounts, and Reaquired Debt	ሰ ስ ጋር ን	\$7.FF4	\$7.504	
11 Amortization of Premiums, Discounts, and Reaquired Debt	\$9,253	\$7,551	\$7,534	
12 Interest on Short Term Debt				
13 Interest on Short Term Debt	\$1,036	\$10,591	\$2,927	
14 Interest Expense - Money Pool	1,247	φ10,531 []	_ወ ደ,ጛደ <i>ነ</i>	
15 Subtotal	2,283	10,591	2,927	
16	2,200	10,001	2,521	
17 Interest on Customer Deposits	\$11,300	\$11,899	\$12,063	
18		, ,	¥ .=,000	
19 Other Interest Charges				
20 Interest on Income/Sales Tax Deficiency	(\$4,848)			
21 Other Interest Expense	6,342	(\$10,247)	\$2,595	
22 Subtotal	1,495	(10,247)	2,595	
23				
24 <u>Less: Interest Expense Allocated to Non Utility</u>	0	0	0	
25 20	(22.222)			
26 <u>Less Allowance for Funds Used During Construction</u>	(28,238)	(28,326)	(8,434)	
27 28 Net Interest Expense Used to Calculate NOI Taxes	200 427	000 755	005 400	
Zo <u>Net interest expense used to calculate not taxes</u>	208,127	232,755	295,420	

108

FLORIDA PUBLIC SERVICE COMMISSION	Explan	ation: Provide information required			ype of data shown:	
Company: PROGRESS ENERGY FLORIDA INC	C .	by reason of interest expens in the equity of the utility in o provide on both a projected	question. If a projected test		 X Projected Test Year Ended X Prior Year Ended X Historical Test Year Ended 	12/31/2010 12/31/2009 12/31/2008
Docket No. 090079-EI					Witness: Sullivan	
		(Thousa				
	(A)	(B)	(C)	(D)		-
Line No.	. Amount	Percent of Capital	Cost Rate	Weighted Cost		
1 2 2010: 3 4 Long Term Debt 5 Short Term Debt 6 Preferred Stock 7 Common Equity 8 Deferred Income Tax 9 Other (Specify) 10 11 Total		e parent Company of Progress Entment in Progress Energy Florida,		have any debt		
		e parent Company of Progress En tment in Progress Energy Florida,		have any debt		
24 25 26 27 28 29	<u> </u>		V	<u> </u>	Recap Schedules:	

SC	HF	DΙ	II F	C-24
-		-		U-74

PARENT(S) DEBT INFORMATION

Page 2 of 2

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA IN			se of parent(s) that may be in question. If a projected test p	vested	Type of data shown: X Projected Test Year Ended X Prior Year Ended X Historical Test Year Ended	12/31/2010 12/31/2009 12/31/2008
Docket No. 090079-EI					Witness: Sullivan	12/3 1/2000
		(Thousa	ands)			
	(A)	(B)	(C)	(D)		
Line No.	. Amount	Percent of Capital	Cost Rate	Weighted Cost		
1 2 2008: 3 4 Long Term Debt 5 Short Term Debt 6 Preferred Stock 7 Common Equity 8 Deferred Income Tax 9 Other (Specify)		he parent Company of Progress Er stment in Progress Energy Florida,	nergy Florida, Inc., does not h		_	
11 Total	0	0	0	0	 -	
12 13						
14 15 16 17 18						
19 20 21 22 Weighted cost of parent debt x 38.575% (or	r applicable consolidated	I tay rata) y aquitu of cubcidany				
23	applicable consolidated	tax rate, x equity or subsidiary				
24 25 26						
27 28 29						
Supporting Schedules:					Recap Schedules:	

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide the information required to present the excess/deficient deferred	Type of data shown:	
		tax balances due to protected and unprotected timing differences at the		
Company: PROGRESS ENERGY FLORIDA INC.		statutory tax rates in excess of the current tax rate. The protected deferred	X Projected Test Year Ended	12/31/2010
		tax balances represent timing differences due to Life and Method effect on	X Projected Test Year Ended	12/31/2009
Docket No. 090079-EI		depreciaton rates.	X Prior Year Ended	12/31/2008
			Witness: Toomey	

		(A)	(B)	(C)	(D)	(E)
Lir	ne (Thousands)	Protected	Unprotected	Unprotected	Unproctected	Total
No).	Tax Rate	Prior Flow Through	AFUDC	Tax Rate	(Excess)/Deficient
	Balance at Beginning of Historical Year	(17,134)	5,828	67,647	5,391	61,732
	2 Historical Year Amortization	2,076	(5,828)	(2,961)	(608)	(7,321)
	3 Originating Amounts			36,562		36,562
	4 Recoverable AFUDC Equity (Note E)			(10,046)		(10,046)
	5					
	6 Balance at Beginning of Projected Test Year	(15,058)	-	91,202	4,783	80,927
	7 Projected Test Year Amortization	2,007	-	(3,654)	(459)	(2,106)
	8 Originating Amounts	*		37,315		37,315
_	9					
10	10 Balance are Beginning of Projected Test Year	(13,051)	-	124,863	4,324	116,136
_	11 Projected Test Year Amortization	1,888	-	(5,199)	(412)	(3,723)
	12 Originating Amounts			5,429	. ,	5,429
	13					
	14 Balance at End of Projected Test Year	(11,163)	-	125,093	3,912	117,842
	15	, , ,			ŕ	,

(A) Protected Taxes on Depreciation Differences

Represents excess deferred taxes (the difference between the 46% tax rate and the 34% tax rate) related to protected depreciation differences. Under section 203(e) of the Tax Reform Act of 1986 public utilities are prohibited from flowing back excess taxes more rapidly than over the remaining lives of the property giving rise to the deferred taxes.

(B) Tax Benefits Previously Flowed Through

Represents tax benefits on property related temporary differences which were flowed through in rates where the temporary differences originated.

(C) Equity Component of AFUDC

24 Represents deferred tax liabilities recorded on the equity component of AFUDC. Amortization occurs as the assets associated with the AFUDC are depreciated.

(D) Effect of Tax Rate Change From 34% to 35% - Property

27 Represents the effect of the tax rate increase from 34% to 35% on property related cumulative temporary differences as of December 31, 1992.

29 (E) Recoverable AFUDC Equity

30 Represents the recoverable portion of AFUDC Equity that has been reclassed to the FAS 109 Regulatory Asset.

19

20

21 22

23

25

26

28

Page 1 of 1 INCOME TAX RETURNS SCHEDULE C-26 Type of data shown: Explanation: Provide a copy of the company's most recent consolidated FLORIDA PUBLIC SERVICE COMMISSION Federal Income Tax Return, State Income Tax Return and most Projected Test Year Ended 12/31/2010 recent final IRS revenue agent's report. Company: PROGRESS ENERGY FLORIDA INC. 12/31/2009 Prior Year Ended 12/31/2008 Historical Year Ended Docket No. 090079-EI Witness: Toomey (J) (K) (G) (H) (1) (F) (E) (C) (D) (B) (A) Line No. 3 The Company's tax returns and IRS revenue agent reports are available for review at the office of Progress Energy Florida, Inc.. 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25

26 27

001	1501		C-27
V .		11 -	(~//

Supporting Schedules:

CONSOLIDATED TAX INFORMATION

Page 1 of 1

F	FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide a sum	mary of the spec	cific tax effects (i	n dollars) of filin		Type of data	shown:		
	Company: PROGRESS ENERGY FLORIDA INC.		consolidated re of benefits to th	eturn for the test ne company and	year. Identify the to the ratepaye	ne nature and a ers.	mount		Projected Tes Prior Year End Historical Test Witness:	ded	12/31/2010 12/31/2009 12/31/2008
-	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	Line ·										
1	No.			<u> </u>							
	1 2										
	3 In accordance	e with the Com	mission's ruling in	the 1992 base	rate proceeding	, the Company	has not include	ed any conso	lidated tax		
	4	benefits in the	e cost of service	for the test year							
	5										
	6 7										
	8										
110	9										
	10										
	11										
	12 13										
	14										
	15										
	16										
	17 18										
	19										
	20										
	21										
	22 23										
	24										
	25										
	26										
	27										

Docket No. 090079-EI

Line No.

> 18 19 20

21

22

23

24

25

26

27

28 29

FLORIDA PUBLIC SERVICE COMMISSION

Company: PROGRESS ENERGY FLORIDA INC.

Explanation: Provide the requested miscellaneous information.

12/31/2010

12/31/2009 12/31/2008

6. Q. Complete the following chart for the last three years.

Parent Only

Total Group

Applicant Only

Total Group Excluding Parent & Applic

A. (000's)

Supporting Schedules:

Recap Schedules:

2007

(201,024)

454,695

(119,791)

(373,462)

Tax Basis

2006

(331,028)

556,816

1,487,683

1,261,895

2005

(306,085)

451,792

825,815

680,108

Type of data shown:

Income (Loss)

Book Basis

2006

(208,931)

326,725

571,160

453,366

2005

(188,341)

258,197

696,551

626,695

2007

(92,720)

315,819

503,567

280,468

Projected Test Year Ended

Toomey

Prior Year Ended

Witness:

X Historical Year Ended

Supporting Schedules:

RIDA PL	IBLIC SERVICE C	OMMISSION			•		_				Type of data s	hown:	
		GY FLORIDA I	NC.		prior years. Lis	st each item v	vith a gain or l	oss of \$1		X	Prior Year End	ed	12/31/2010 12/31/2009
ket No. 0	90079-EI							•		_			12/31/2008
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J) Net Book	(K)	(L) Amounts	(M) Prior Cases
				Original	Reclassi-	Reclassi-	Original		Depreciation	Value On	Book	Allowed	Test Year
	Description Of Property			Classification Account	fication Account(s)	fication Date(s)	Amount Recorded			Disposal Date	Gain Or (Loss)	Prior Cases	Ended 12/31/2006
1 2 2010 3	- Summary		The compa	ny has no gains o	or losses on disp	position of pla	ant forecasted	for the test year			\$0	N/A	N/A
6	- Summary		The compa	ny has no gains o	or losses on disp	position of pla	ant forecasted	for the prior yea	r.		\$0	N/A	N/A
8 Winte	er Park Operating (Center	6/08	101			139,347		467,272	139,347	4,005,190	N/A	N/A
11 Doug 12 13 14 15 16 17 18 19 20 21 22 23	las Avenue Distrib	ution Line	11/07	101			12,088		795,559	12,088	3,409,542	N/A	N/A
	npany: PF ket No. 0 ne be 2 2010 3 4 5 2009 6 7 8 Winte	(A) Description Of Property 2 2010 - Summary 3 4 5 2009 - Summary 6 7 8 Winter Park Operating (9 9 10 11 Douglas Avenue Distrib 12 13 14 15 16 17 18 19 20 21 22 23 24	(A) (B) The Description Date of Property Acquired of Property Acquired 1 2 2010 - Summary 3 4 5 2009 - Summary 6 7 8 Winter Park Operating Center 9 10 11 Douglas Avenue Distribution Line 12 13 14 15 16 17 18 19 20 21 22 23 24	npany: PROGRESS ENERGY FLORIDA INC. (A) (B) (C) (A) (B) (C) (B) (C) (C) (B) (C) (C) (B) (C) (D) (B) (C) (D) (B) (C) (B) (C) (C) (D) (D) (D) (D) (D) (D)	npany: PROGRESS ENERGY FLORIDA INC. ket No. 090079-EI (A) (B) (C) (D) Original Description Date Date Classification Description Date Disposed Account 1 2 2010 - Summary The company has no gains of the company has no gains	disposition of providing elect prior years. Listet No. 090079-El million or more allowed in prior years. Listet No. 090079-El million or more allowed in prior years. Listet No. 090079-El million or more allowed in prior years. Listet No. 090079-El million or more allowed in prior years. Listet No. 090079-El million or more allowed in prior years. Listet No. 090079-El million or more allowed in prior years. Listet No. 090079-El million or more allowed in prior years. Listet No. 09007-El million or more allowed in prior years. Listet No. 0900	disposition of plant and proproviding electric service for prior years. List each item willion or more, or more that allowed in prior cases, and the determinant of the property of the company has no gains or losses on disposition of plant and proproviding electric service for prior years. List each item willion or more, or more that allowed in prior cases, and the property of the	inpany: PROGRESS ENERGY FLORIDA INC. Inpany: PROGRESS ENERGY FLORIDA INC. Inpany: PROGRESS ENERGY FLORIDA INC. In inition or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or more than .1% of total allowed in prior cases, and the test year or million or more, or million o	disposition of plant and property previously used in providing electric service for the test year and the four prior years. List each item with a gain or loss of \$1 million or more, or more than 1% of total plant. List amou allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) The Description Date Date Classification fication fication fication Amount Additions Or Of Property Acquired Disposed Account Account(s) Date(s) Recorded (Retirements) The company has no gains or losses on disposition of plant forecasted for the test year of such prior cases. The company has no gains or losses on disposition of plant forecasted for the test year of such prior years. List each item with a gain or loss of \$1 million or more, or more than 1% of total plant. List amou allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) The Description Date Date Classification fication fication fication Amount Additions Or Account(s) Date(s) Recorded (Retirements) The company has no gains or losses on disposition of plant forecasted for the test year of such prior years. List each item with a gain or loss of \$1 million or more, or more than 1% of total plant. List amou allowed in prior cases. (A) (B) (C) (D) (E) (F) (G) (H) The Cassification fication fication fication Amount Additions Or Account(s) Date(s) Recorded (Retirements) The company has no gains or losses on disposition of plant forecasted for the test year of such prior cases. The Company has no gains or losses on disposition of plant forecasted for the test year of such prior cases. The Company has no gains or losses on disposition of plant forecasted for the prior year. The company has no gains or losses on disposition of plant forecasted for the prior year. The Company has no gains or losses on disposition of plant forecasted for the prior year. The Company has no gains or losses on disposition of plant forecasted for the test year of year for the test year of year for year. The Comp	disposition of plant and property previously used in providing electric service for the test year and the four prior years. List each item with a gain or sess of \$1 million or more, or more than .1% of total plant. List amounts allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (I) The Description Date Date Classification fication fication fication Amount Additions Or And Additions Or And Acquired Disposed Account Account(s) Date(s) Recorded (Retirements) Amortization The company has no gains or losses on disposition of plant forecasted for the test year. The company has no gains or losses on disposition of plant forecasted for the prior year. Winter Park Operating Center 6/08 101 139,347 467,272 Winter Park Operating Center 6/08 101 12,088 795,559 Winter Park Operating Center 6/08 101 12,088 795,559 The company has no gains or losses on disposition of plant forecasted for the prior year.	disposition of plant and property previously used in providing electric service for the test year and the four providing electric service for the test year and the four providing electric service for the test year and the four provident that again or loss of \$1 X X million or more, or more than .1% of total plant. List amounts 3 I allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (I) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (I) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (II) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (II) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (III) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (III) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (III) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (III) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (III) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (F) (G) (H) (III) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (F) (G) (H) (III) Net Book allowed in prior cases, and the test year of such prior cases. (A) (B) (F) (G) (H) (III) Net Book allowed in prior cases, and the test year of such prior cases. (A) (A) (B) (F) (F) (G) (H) (III) Net Book allowed in prior cases. (A) (A) (B) (F) (F) (G) (H) (F) (F) (G) (H) (F) (F) (F) (G) (H) (F) (F) (F) (F) (F) (F) (F) (F) (F) (F	disposition of plant and property previously used in providing electric service for the test year and the four heat year and the four providing electric service for the test year and the four higher year. List amounts allowed in prior years. List amounts allowed in prior cases, and the test year of such prior cases. (A) (B) (C) (D) (E) (F) (G) (H) (I) (J) (K) Net Book on Date Date Classification fication fication fication Amount Additions Or And Disposal Gain Or Or Property Acquired Disposed Account Account(s) Date(s) Recorded (Retirements) Amortization Date (Loss) 1 2 2010 - Summary The company has no gains or losses on disposition of plant forecasted for the test year. 2 2010 - Summary The company has no gains or losses on disposition of plant forecasted for the prior year. 8 Winter Park Operating Center 6/08 101 139,347 467,272 139,347 4,005,190 9 10 11 Douglas Avenue Distribution Line 11/07 101 12,088 795,559 12,088 3,409,542 139 14 15 16 16 17 18 19 19 200 21 19 10 10 10 10 10 10 10 10 10 10 10 10 10	disposition of plant and property previously used in providing electric service for the test year and the four year. List amounts allowed in prior years. List seach litem with a gain or less of \$1

	_
_	_
r	n

FLORIDA P	UBLIC SERVICE COMMISSION	Expl		e detailing transactions with affi	•		Type of data shown:		
Company: P	PROGRESS ENERGY FLORIDA INC. 090079-EI		contracts and fees	the test year including intercoms.	ipany charges, licer	ises,	Prior `	cted Test Year Ended Year Ended ical Year Ended ss: Toomey	12/31/2010 12/31/2009 12/31/2008
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(Н)
Line No.	Name of Company or Related Party	Relation to Utility	Type of Service Provided or Received	Effective Contract Date	Charge or Credit Amt (000)	During Year Account No.	Amount Included in Test Year (000)	to Allocat	Method Used e Charges Companies
1 2 Progr 3 4	ess Telecom Holding Company LLC	Affiliate	Note 1	Master Service & Wireless Attachments Agreements - 12/19/2003	\$2,831	1460071	\$2,831	No	te 5
6 Progra 7 8	ess Energy Carolinas	Affiliate	Note 2 Note 3	Utility Svc Agreements 1/1/2001	\$11,015 \$41,169	1460001 2340001	\$11,015 \$41,169		te 5 te 5
10 Progra 11 12 13 14 15	ess Energy Service Company LLC	Affiliate	Note 4	Utility Svc Agreements 12/1/2000	\$180,059	2340098	\$180,059	No	te 5
16 17 18 19 Note 2 20 Note 2	1: PEF provides network services, land 2: PEF provides load generation, trans 3: PEF receives IT. fuel procurement.	mission/distribution	on support, common nuclea	r services, technical services si	upport, core enviror	nmental services,	CT operations/maintenar	nce & outside support s	ervices to PE(

²¹ Note 3: PEF receives IT, fuel procurement, management services & customer services support from PEC.

²² Note 4: Service Company allocates shared corporate services (ex. legal, IT, accounting, HR, tax, treasury, environmental, risk mgt & other corporate services) to PEF.

²³ Note 5: Transactions with affiliates are on a cost basis.

Recap Schedules:

Supporting Schedules:

TRANSACTIONS WITH AFFILIATED COMPANIES

	DA PUBLIC SERVICE COMMISSION	Ex	•	etailing transactions with affiliat test year including intercompa			Type of data shown:	ed Test Year Ended 12/31/2010
·	ny: PROGRESS ENERGY FLORIDA INC. No. 090079-EI		contracts and fees.				X Prior Y	ear Ended 12/31/2009 cal Year Ended 12/31/2009
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)
Line No.	Name of Company or Related Party	Relation to Utility	Type of Service Provided or Received	Effective Contract Date	Charge or Credi Amt (000)	t During Year Account No.	Amount Included in Test Year (000)	Allocation Method Used to Allocate Charges Between Companies
1 2 3 4 5	Progress Telecom Holding Company LLC	Affiliate	Note 1	Master Service & Wireless Attachments Agreements - 12/19/2003	\$2,831	1460071	\$2,831	Note 5
-	Progress Energy Carolinas	Affiliate	Note 2 Note 3	Utility Svc Agreements 1/1/2001	\$11,015 \$41,169	1460001 2340001	\$11,015 \$41,169	Note 5 Note 5
10 11 12 13 14 15 16 17		Affiliate	Note 4	Utility Svc Agreements 12/1/2000	\$178,928	2340098	\$178,928	Note 5
20 21 22	Note 2: PEF provides load generation, transf Note 3: PEF receives IT, fuel procurement, n Note 4: Service Company allocates shared of Note 5: Transactions with affiliates are on a contraction	mission/distribution nanagement servi corporate services	n support, common nuclear servic ces & customer servicce support	from PEC.				utside support services to PEC.
33				······································				Schedules:

Supporting Schedules:

SOMEDOLE 0-31		AFFILIATED COMPANT RELATIONSHIPS			rage ron
FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide a copy of the Diversification Report included in the company's most recently filed Annual Report as required by Rule 25-6.135, Florida	Type of da	ata shown:	
Company: PROGRESS ENERGY FLORIDA INC.		Administrative Code. Provide any subsequent changes affecting the test year.		xx Projected Te	12/31/2010 12/31/2009
Docket No. 090079-EI		test year.		xx Historical Ye Witness:	12/31/2008
Line					
No.					
1					
2					
3					
4		See attached			
5 6					
0 7					
8					
9					
10					
11					
12					
13					
14					
15 16					
17					
18					
19					
20					
21					
22					
23					
24					
25					
26 27					
21					

Florida Public Service Commission	
Diversification Report	
<u>Progress Energy Florida Inc.</u>	
December 31, 2007	
December 51, 2007	

Affiliation of Officers and Directors

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

For each of the officials named in Part 1 of the Executive Summary, list the principal occupation or business affiliation if other than listed in Part 1 of the Executive Summary and all affiliations or connections with any other business or financial organizations, firms, or partnerships. For purposes of this part, the official will be considered to have an affiliation with any business or financial organization, firm or partnership in which he is an officer, director, trustee, partner, or a person exercising similar functions.

•	Principal		Affiliation or Connection with any Other Business or Financial Organization Firm or Partnership		
	Occupation or	Affiliation or			
Name	Business Affiliation	Connection	Name and Address		
Jeffrey Corbett	Sr. Vice President, Energy Delivery	Director	Chi Chi Rodriguez Foundation	Tampa, FL	
		Director	Salvador Dali Museum	St. Petersburg, FL	
			Junior Achievement of West Central Florida		
Will A. Garrett	Controller	None			
William D. Johnson	Chairman and CEO	Board Member	Daugherty Endowment Fund	Raleigh, NC	
		Board Member	Rex Hospital	Raleigh, NC	
		Chairman	Carolina Power & Light Company, DBA Progress Energy		
		Chairman	Florida Power Corporation- DBA Progress Energy		
		Chief Executive Officer	Florida Progress Corporation		
		Board Member	North Carolina Chamber Board		
		Chairman	Progress Capital Holdings, Inc.		
•		President	Progress Energy Foundation		
		Chief Executive Officer	Progress Energy, Inc.		
		Chairman	Progress Fuels Corporation		
		Chairman	Progress Holdings, Inc		
		Chairman	Progress Real Estate Holdings, Inc.		
4		Chairman	Progress Ventures, Inc.		
Michael Lewis	Director	Board Member	Pinellas Association for Retarded Citizens		
		Member	Univeristy of Florida Engineering Advisory Council		
leff Lyash	President	Council Member	Florida High Tech Corridor		
		Council Member	Metro Orlando Economic Development Commission	Orlando, FL	
•		Director	Enterprise Florida, Inc.	Orlando, FL	
		Director	Florida Chamber of Commerce		
		Director	SunTrust Bank	Tampa, FL	
		Director	The Southeaster Electric Exchange		
•		Director, Member, Chair	The Florida Orchestra	Tampa, FL	
		Director	Florida Reliability Coordinating Council (FRCC)	Tampa, FL	
		Director	Pinellas Education Foundation	Largo, FL	
		Director	Tampa Bay Partnership	Tampa, FL	
		Executive Committee	Florida Electric Power Coordinating Group (FCG)	Tampa, FL	
		Member	The Florida Council of 100	Tampa, FL	
		Trustees	Florida Chamber of Commerce Foundation, Inc.	, ,	
•	•	Board Member	The Museum of Fine Arts	St. Petersburg, FL	

Affiliation of Officers and Directors

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

For each of the officials named in Part 1 of the Executive Summary, list the principal occupation or business affiliation if other than listed in Part 1 of the Executive Summary and all affiliations or connections vith any other business or financial organizations, firms, or partnerships. For purposes of this part, the official will be considered to have an affiliation with any business or financial organization, firm or partnership in which he is an officer, director, trustee, partner, or a person exercising similar functions.

	Principal	ACCU	Affiliation or Connection with any Other Business or Financial Organization Firm or Partnership	
l Name	Occupation or Business Affiliation	Affiliation or	Name and Address	
Name		Connection	Name and Address	5
Llohn R. McArthur	Director, Senior Vice President	Board of Directors	Business - Industry Political Action Committee (BIPAC)	Raleigh, NC
		Board of Directors Board of Directors	Carolina Power & Light Company, DBA Progress Energy	Carolinas, Inc.
		Board of Directors	Florida Programa Corporation	
_		Board of Directors	Florida Progress Corporation	Kinatan NO
		Board of Directors	Global Transpark Foundation, Inc.	Kinston, NC
		Board of Directors	Progress Capital Holdings, Inc.	
		Board of Directors	Progress Energy Foundation, Inc.	
_		Board of Directors	Progress Energy Service Company, LLC	
		Board of Directors	Progress Energy, Inc.	
		Board of Directors	Progress Real Estate Holdings Inc.	
-		Board of Directors	Progress Real Estate Holdings, Inc. Progress Telecommunications Corporation	
		Board of Directors	, ,	
			Progress Ventures, Inc.	
		Board of Directors	PV Holdings, Inc.	
=		Board of Directors	Strategic Resource Solutions	
		Chair	Teach for America Eastern NC Advisory Board	Raleigh & Rocky Mt., N
Robert B. McGehee	Farmer Obeliance and OFO	Chairman	N.C. Education Lottery Commission	Raleigh, NC
жорея в. мсGenee 	Former Chairman and CEO	Board Member	WANO, Atlanta Center	Atlanta, GA
	(Deceased October 9, 2007)	Board Member	The Florida Council of 100	Tampa, FL
		CEO	Florida Progress Corporation	
		Chairman/Director	Progress Capital Holdings, Inc.	
-		Director	PV Holdings, Inc.	
		Director and President	Progress Energy Foundation, Inc.	
		Director/Chairman	Progress Energy Ventures, Inc.	
_		Director/Chairman	Progress Fuels Corporation	
		Director/Chairman	Progress Real Estate Holdings, Inc.	
		Executive Committee	Progress Energy, Inc.	
		Manager	Progress Energy Service Company, LLC Atomic Energy Committee of the Public Utility Communications and Transportation Law Section of the	
NAI. NAII.		Vice Chairman	American Bar Association	
Mark Mulhern	Senior VP Finance	Director	Dulcimer Land Company, Inc.	
-	·	President	Kanawha River Terminals, Inc.	
		President	Kentucky May Coal Company, Inc.	
		President	Marigold Dock, Inc.	
		Board Member	Microcell	
		President	Powell Mountain Coal Company, Inc.	
		President	Progress Fuels Corporation	
		President	Progress Synfuel Holdings, Inc.	
_		President	Progress Ventures, Inc.	
		President	PV Holdings, Inc.	
ames Scarola	Sr. Vice President	Board Member	Parr Shoals Reactor (Carolina/Virginia Corp Board)	

Affiliation of Officers and Directors

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

For each of the officials named in Part 1 of the Executive Summary, list the principal occupation or business affiliation if other than listed in Part 1 of the Executive Summary and all affiliations or connections with any other business or financial organizations, firms, or partnerships. For purposes of this part, the official will be considered to have an affiliation with any business or financial organization, firm or partnership in which he is an officer, director, trustee, partner, or a person exercising similar functions.

	Principal		Affiliation or Connection with any Other Business or Financial Organization Firm or Partnership	
	Occupation or	Affiliation or		
Name	Business Affiliation	Connection	Name and Address	
rank A. Schiller	General Counsel	Director	Capitan Corporation	
		Director	Carofund, Inc.	
		Director	Dulcimer Land Company, Inc.	
		Director	Florida Progress Funding Corporation	
		Director	Kanawha River Terminals, Inc.	
		Director	Kentucky May Coal Company, Inc.	
		Director	Marigold Dock, Inc.	
		Director	PEC Fort Drum, Inc.	
		Director	PIH Tax Credit Fund, III. IV, V	
		Director	PIH, Inc.	
		Director	Powell Mountain Coal Company, Inc.	
		Director	Progress Energy Envirotree, Inc.	
		Director	Progress Materials, Inc.	
		Director	Progress Provisional Holdings, Inc.	
		Director	Progress Reinsurance Company, Ltd.	
		Director	Progress Synfuel Holdings, Inc.	
		Director	Progress Telecommunications	
		Director	Stratetic Resource Solutions, Inc.	
		Director	West Drum Holdings Corporation	
eter M. Scott III	Director, Executive Vice President	Board Member	North Carolina Museum of Art Foundation Board	Raleigh, NC
	and Chief Financial Officer	Board Member	Nuclear Electric Insurance Limited (NEIL)	Wilimington, DE
		Board Member	RTI International	Raleigh, NC
		Board Member	UNC Board of Visitors	-
		Board Member	UNC Kenan-Flagler Business School's Board of Visitors	
		Board of Governors	Capital City Club	Raleigh, NC
		CFO	Florida Power Corporation	-
		CFO	Progress Energy Service Company, LLC	
		Director	Progress Fuels Corporation	
		Director	Progress Ventures Holdings, Inc.	
		Director	Progress Ventures, Inc.	•
		Director/President	Capitan Corporation	
		Director/President	Carofund, Inc.	
	•	Director/President	Progress Capital Holdings, Inc.	
		Director/Treasurer	Progress Energy Foundation, Inc.	
		Vice President	Progress Real Estate Holdings, Inc.	
aula Sims	Sr. Vice President	Board Member	Center for Energy and Economic Development	
effrey M. Stone	Chief Accounting Officer	None		
homas R. Sullivan	Vice President, Treasurer	None		
loyd Yates	President and CEO, PGN Carolinas	Board Member	Association of Edison Illuminating Companies	
		Chairman	Triangle Urban League	
		Board Member	American Heart Association	
		Board Member	Greater Raleigh Visitors Bureau	
		Board Member	High Five Board	

Business Contracts with Officers, Directors and Affiliates

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

List all contracts, agreements, or other business arrangements* entered into during the calendar year (other than compensation-related to position with respondent) between the respondent and each officer and director listed in Part 1 of the Executive Summary. In addition, provide the same information with respect to professional services for each firm, partnership, or organization with which the officer or director is affiliated.

Note: • Business agreement, for this schedule, shall mean any oral or written business deal which binds the concerned parties for products or services during the reporting year or future years.

Name of Officer or Director	Name and Address of Affiliated Entity	Amount	Identification of Product or Service
Jeff Lyash	Tampa Bay Partnership, Inc. Tampa, FL	5,000	Donation
Jeff Lyash	Florida Chamber of Commerce Tallahassee, Florida	10,000	Dues
Jeff Lyash	Pinellas County Education Foundation Largo, Florida	10,000	Donation
Jeff Lyash	The Florida Orchestra Tampa, Florida	10,000	Donation
Jeff Lyash	Florida Reliability Coordinating Group Tampa, Florida	7,143	Dues

Page 452

Reconciliation of Gross Operating Revenues Annual Report versus Regulatory Assessment Fee Return

Company: Progress Energy Florida Inc.

For the Year Ended December 31, 2007

For the current year, reconcile the gross operating revenues as reported on Page 300 of this report with the gross operating revenues as reported on the utility's regulatory assessment fee return. Explain and justify any differences between the reported gross operating revenues in column (h). (a) (h) (b) (c) (d) (e) (f) (g) **Gross Operating** Interstate and Adjusted Intrastate **Gross Operating** Interstate and Adjusted Intrastate Line Description Revenues per Sales for Resale **Gross Operating** Revenues per Sales for Resale **Gross Operating** Difference No. Page 300 RAF Return Adjustments Revenues Adjustments Revenues (d) - (g) Total Sales to Ultimate Customers (440-446, 448) \$ 4,138,377,879 | \$ 35,243,647 4,103,134,232 4,138,377,878 \$ 35,243,647 \$ 4,103,134,232 | \$ Sales for Resale (447) 435,681,011 435,889,941 (208,930)435,681,011 435,889,941 (208,930) (0) (0) Total Sales of Electricity 4,574,058,890 471,133,589 4,102,925,302 4,574,058,890 471,133,589 4,102,925,302 Provision for Rate Refunds (449.1) (1,675,074)(1,675,074)(1,675,074)(1,675,074)(0) Total Net Sales of Electricity 4,102,925,302 (0) 4.572,383,816 469,458,515 4,102,925,302 4,572,383,816 469,458,515 Page 453 Total Other Operating Revenues (450-456) 120,139,516 43,410,542 76,728,974 121,502,117 43,410,542 78,091,576 (1,362,601) (1) Other (Specify) 8 9 **Total Gross Operating Revenues** \$ 4,692,523,332 | \$ 512,869,056 | \$ 4,179,654,276 | \$ 4,693,885,933 | \$ 512,869,056 | \$ 4,181,016,878 | \$ (1,362,602)

Notes: (1) Difference reflects intercompany revenues that should have been considered part of operating revenues derived from intrastate business last year.

Analysis of Diversification Activity Changes in Corporate Structure

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

Provide any changes in corporate structure including partnerships, minority interest, and joint ventures and an updated organizational chart, including all affiliates.

Effective Date (a)	Description of Change (b)
1/1/2007	Progress Energy Service Company (PESC) was moved under Progress Ventures, Inc.
3/2/2007	Progress Energy Service Co. acquired NewCraft, LLC from a third party.
3/22/2007	AAV Synfuel, LLC was formed as a single-member LLC under Progress Fuels Corp.
3/30/2007	Progress Telecom Holding, Limitada and Progress Telecom Do Brazil, Limitada (subsidiaries of PT Holding Company, LLC) were dissolved.
3/30/2007	Ceredo Synfuel LLC was sold to a third party.
6/11/2007	Progress Ventures, Inc. and Progress Genco Ventures, LLC sold their membership interests in the following entities: Effingham County Power, LLC; MPC Generating, LLC; Walton County Power, LLC; and Washington County Power, LLC.
6/29/2007	Progress Energy Carolinas' ownership interest in Microcell Corporation became 1.986%.
6/29/2007	PEC and PEF each became 12.5% members of APOG, LLC, a newly-formed LLC owned by various Southeastern utilities.
7/27/2007	3079936 Nova Scotia Company, a subsidiary of Progress Fuels Corp., was dissolved.
8/10/2007	Progress Telecom International, LLC (a subsidiary of PT Holding Company, LLC) was dissolved.
8/21/2007	Progress Telecom Virginia, LLC (a subsidiary of PT Holding Company, LLC) was dissolved.
8/31/2007	NewCraft, LLC, a wholly-owned subsidiary of Progress Energy Service Company, LLC, was dissolved.
9/14/2007	Westpower-Fort Drum, LP was dissolved.
10/8/2007	Westmoreland-Fort Drum, LP was dissolved.
10/25/2007	Progress Real Estate Holdings, Inc. merged into Progress Energy Service Co, LLC.
10/31/2007	Progress Genco Ventures, LLC (a subsidiary of Progress Ventures, Inc.) was dissolved.
11/1/2007	Progress Materials, Inc. was converted into a single-member LLC known as PMI Target, LLC.
11/5/2007	Progress Materials, LLC was sold to a third party.
12/31/2007	West Drum Holdings Corporation was dissolved.
12/31/2007	PEC Fort Drum, Inc. was dissolved.
12/31/2007	Progress Provisional Holdings, Inc. was dissolved.

Analysis of Diversification Activity New or Amended Contracts with Affiliated Companies

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

Provide a synopsis of each new or amended contract, agreement, or arrangement with affiliated companies for the purchase, lease, or sale of land, goods, or services (excluding tariffed items). The synopsis shall include, at the minimum, the terms, price, quantity, amount, and duration of the contracts.

Name of Affiliated Company (a)	Synopsis of Contract (b)
Progress Energy Service Company (PESC)	Amendment to Article IV of the Utility Service Agreement executed January 1, 2001 between Progress Energy Florida (PEF) and Progress Energy Service Company (PESC) to include personal computers that PEF will provide to PESC. Effective date: October 18, 2007 Duration: open ended Price: higher of cost or market

Analysis of Diversification Activity Individual Affiliated Transactions in Excess of \$500,000

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

Provide information regarding individual affiliated transactions in excess of \$500,000. Recurring monthly affiliated transactions which exceed \$500,000 per month should be reported annually in the aggregate. However, each land or property sales transaction even though similar sales recur, should be reported as a "non-recurring" item for the period in which it occurs.

Name of Affiliate	Description of Transaction	Dollar Amount
(a)	(b)	(c)
Progress Energy Service Company LLC	Recurring monthly Service Company functions and services. See Page 457 for description.	\$ 179,700,952
Carolina Power & Light Company (d/b/a Progress Energy Carolinas)	Recurring monthly shared utility functions and services. See page 457 for description.	51,355,310
Carolina Power & Light Company (d/b/a Progress Energy Carolinas)	Non-recurring nuclear refueling outage assistance	2,179,245
Carolina Power & Light Company (d/b/a Progress Energy Carolinas)	Recurring monthly Service Company functions and services. See Page 457 for description.	10,170,009
	·	

Analysis of Diversification Activity Summary of Affiliated Transfers and Cost Allocations

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

Grouped by affiliate, list each contract, agreement, or other business transaction exceeding a cumulative amount of \$300 in any one year, entered into between the Respondent and an affiliated business or financial organization, firm, or parthership identifying parties, amounts, dates, and product, asset, or service involved.

- (a) Enter name of affiliate.
- (b) Give description of type of service, or name the product involved.
- (c) Enter contract or agreement effective dates.
- (d) Enter the letter "p" if the service or product is purchased by the Respondent: "s" if the service or product is sold by Respondent.
- (e) Enter utility account number in which charges are recorded.
- (f) Enter total amount paid, received, or accrued during the year for each type of service or product listed in column (c). Do not net amounts when services are both received and provided.

				Total Charge for Year		
Name of Affiliate (a)	Type of Service and/or Name of Product (b)	Relevant Contract or Agreement and Effective Date (c)	"p" or "s" (d)	Account Number (e)	Dollar Amount (f)	
Carolina Power & Light Company (d/b/a Progress Energy Carolinas)	Shared utility functions, technical services support, operations support, combustion turbine operations & maintenance, core environmental services; Transmission & Distribution support, distribution design; Customer service performance solutions, answer customer calls; Nuclear services and business operations oversight, nuclear security support, management, regulatory, engineering, contract and material support; Energy Delivery management & oversight, distribution design; Power Operations operations support; Residential support services	Utility Service Agreement 1/1/2001	S	1460001	10,170,009	
Carolina Power & Light Company (d/b/a Progress Energy Carolinas)	Shared utility functions and services such as nonreg transmission maintenance service, ECCR energy efficiency support, retail energy sales support, premier power support, PPS managed services support, transmission/distribution support, ED management/ovrsight, contract services, customer service management, performance solutions, nuclear management, nuclear IT, nuclear analytical services, common nuclear services, nuclear security support, regulatory assessment/oversight, engineering programs, materials and contract support, coal procurement and transportation, power ops management and finance, techical services support, CT ops/maintenance RCO purchased power contract support, RCO joint owner contract support, RCOoperational support, RCO gas and oil procurement, regulated lighting support, exterio lighting support, fuel forecasting and regulatory support.	Utility Service Agreement 1/1/2001	P	2340001	53,534,555	
Progress Energy Ventures	Technical, Support & Training Svcs, CT Operations & Maintenance support, CT Performance Improvement support	Utility Service Agreement 11/1/2002	S	1460020	169,194	
Effingham County Power, LLC ¹	Technical Support for CT Operations	Utility Service Agreement 11/1/2002	s	1460025	6,749	
MPC Generating, LLC ¹	Technical Support for CT Operations	Utility Service Agreement 11/1/2002	S	1460032	5,461	

Analysis of Diversification Activity Summary of Affiliated Transfers and Cost Allocations

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

Grouped by affiliate, list each contract, agreement, or other business transaction exceeding a cumulative amount of \$300 in any one year, entered into between the Respondent and an affiliated business or financial organization, firm, or parthership identifying parties, amounts, dates, and product, asset, or service involved.

- (a) Enter name of affiliate.
- (b) Give description of type of service, or name the product involved.
- (c) Enter contract or agreement effective dates.
- (d) Enter the letter "p" if the service or product is purchased by the Respondent: "s" if the service or product is sold by Respondent.
- (e) Enter utility account number in which charges are recorded.
- (f) Enter total amount paid, received, or accrued during the year for each type of service or product listed in column (c). Do not net amounts when services are both received and provided.

				Total Char	ge for Year
Name of Affiliate (a)	Type of Service and/or Name of Product (b)	Relevant Contract or Agreement and Effective Date (c)	"p" or "s" (d)	Account Number (e)	Dollar Amount (f)
Walton County Power, LLC ¹	Technical Support for CT Operations, Line maintenance support	Utility Service Agreement 11/1/2002	S	1460033	6,452
Washington County Power, LLC ¹	Technical Services Support, CT Ops/Maint support	Utility Service Agreement 11/1/2002	s	1460034	15,286
Progress Fuels Corporation	Fly Ash sales, Potable & Process Water sales	Ash Management Contract Extensions 9/1/1995 and 9/2/2005	S	1460061	259,979
Progress Fuels Corporation	Fly Ash storage	Ash Management Contract Extensions 9/1/1995 and 9/2/2005	Р	2340061	348,313
PT Holding Company LLC	Network Services, Land Lease, Revenue Sharing	Master Service and Wireless Attachment Agreements - 12/19/2003	S	1460071	2,945,232
Progress Energy Service Company LLC	Labor and associated expenses, materials	Utility Service Agreement 1/1/2001	S	1460098	3,943,464
Progress Energy Service Company LLC	Executive Management, Legal, IT, Accounting Svcs, Audit Svcs, Planning, Telecom, Public Affairs, Human Resources, Corp Communications, Security, Supply Chain Svcs, Real Estate Svcs, Tax Svcs, Risk Mgmt, Environmental Svcs, Health & Safety Svcs, Treasury, Risk Mgmt, Disbursement Svcs, Other Shared Corp Svcs. Excludes convenience payments and pay agent transactions.	Utility Service Agreement 12/1/2000	P	2340098	179,700,952

¹ Entity sold to an unrelated third party on 6/11/07. Transactions reported above represent goods and services provided from 1/1/07 through 6/11/07.

Analysis of Diversification Activity Assets or Rights Purchased from or Sold to Affiliates

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

Provide a summary of affiliated transactions involving asset transfers or the right to use assets.

Name of Affiliate	Description of Asset or Right	Cost/Orig. Cost	Accumulated Depreciation	Net Book Value	Fair Market Value	Purchase Price	Title Passed Yes/No
Purchases from Affiliates:							
None							
	!						
				,			-
_							
Total		<u>\$</u>	-	<u>\$</u>	<u>\$ -</u>	\$ -	
Sales to Affiliates:		\$	\$	\$	\$	Sales Price	
Progress Energy Service Company	Computers	124,021.48		124,021.48	124,021.48	124,021.48	
- 							
			·				
1							
- 1							
						44.004.15	
Total						124,021.48	

Analysis of Diversification Activity Employee Transfers

Company: Progress Energy Florida, Inc. For the Year Ended December 31, 2007

List employees earning more than \$30,000 annually transferred to/from the utility to/from an affiliate company.

	Company	Company	Old	New	Transfer Permanent
	Transferred	Transferred	Job	Job	or Temporary
	From	To	Assignment	Assignment	and Duration
CPL.		FPC	Sr Engr	Mgr-Trans Engr	Permanent
FPC		CPL	Sr Administrative Assistant-FL	Sr Admin Assistant	Permanent
CPL.		FPC	Mgr-Trans Area Maintenance	Mgr-Power Sys Ops-FI	Permanent
FPC		CPL	Field Meter Technician	Dist I&C Tech II (IO)	Permanent
FPC		svc	Mgr-Call Services-ED	Dir-Accounting Operations	Permanent
CPL.		FPC	Sys Operator II	Sys Operator II	Permanent
svc		FPC	Admin Asst to Depart Head-FL	Admin Asst to Depart Head-FL	Permanent
SVC		FPC	Sr Fin Spec	Sr Fin Spec	Permanent
FPC		CPL	Comb Turbine Technician	Sr Comb Turbine Tech	Permanent
ÇPL.		FPC	Supt-Maintenance-FGD	Supt-Planning & Scheduling-CR	Permanent
svc		FPC	Legal Secretary I-FL	Administrative Assistant I-FL	Permanent
FPC		CPL	Supv-System Integrity	Sr Engr	Permanent
FPC		CPL	Mgr-Nuclear Assessment	Plt General Mgr-BNP	Permanent
SVC		FPC	Supv-Projects Business Units	Supv-Projects Business Units	Permanent
SVC		FPC	Sr Plant Services Assistant-FL	Sr Plant Services Assistant-FL	Permanent
svc		FPC	Sr Acquisition Agent	Sr Acquisition Agent	Permanent
FPC		svc	Sr ED Project Analyst	Sr Auditor	Permanent
SVC		FPC	Lead Fin Spec	Lead Fin Spec	Permanent
FPC		CPL	Lineman SL	Supv-Distribution Field	Permanent
SVC		FPC	Sr Human Resources Spec	Supv-Customer Service	Permanent
CPL.		FPC	QA/QC/NDE Tech I-Nuc	QA/QC/NDE Tech I-Nuc	Permanent
CPL.		FPC	Sr Bus Fin Anlyst	Sr Bus Fin Anlyst	Permanent
CPL		FPC	Sr Nuclear Security Spec	Lead Nuclear Security Spec	Permanent
FPC		CPL	Sr Planning Analyst-TOP	Lead Engr	Permanent
EFC		FPC	Project Mgr-PFC	Project Mgr-PFC	Permanent
FPC		CPL	Sr Engineering Trainer-EDG	Sr Engr	Permanent
CPL.		FPC	Pit General Mgr-BNP	Mgr-Nuc Project Controls	Permanent
FPC		CPL	Mgr-Region Resource	Supv-Dist Contract Resources	Permanent
CPL.		FPC	Dir-Operations Business Svcs	VP-So Coastal Region	Permanent
CPL		FPC	IT Program Leader-POG	IT Program Leader-POG	Permanent
svc		FPC	Sr Land Acquis/Dispos Spec	Sr Land Acquis/Dispos Spec	Permanent
FPC		CPL	Project Planner	Supv-Svc & Project Planning	Permanent
FPC		CPL	Rev Protect/Energy Theft Spec	Rev Protect/Energy Theft Spec	Permanent
FPC		svc	Logistics Planning Anlyst	Logistics Planning Anlyst	Permanent
FPC		CPL	Supt-Planning & Scheduling-CR	Mgr-Maint&Diagnostic Center	Permanent
SVC		FPC	Sr Fac Projects Engineer	Sr Fac Projects Engineer	Permanent
PVI		FPC	Sr Comb Turbine Tech	Gener Process Spec	Permanent
CPL.		FPC	Engineer II	Engineer II	Permanent
SVC		FPC ·	Fac Projects Engineer	Sr Fac Projects Engineer	Permanent
SVC		FPC	Sr Comm Spec	Sr Comm Spec	Permanent
FPC		svc	Sr Bus Fin Anlyst	Sr Bus Fin Anlyst	Permanent
CPL.		FPC	Dir-Plt Const Proj-POG	Dir-Plt Const Proj-POG	Permanent
CPL.		FPC	Sr Fin Spec	Sr Planning Analyst-TOP	Permanent
FPC		CPL	Gen Mgr-Trans Const & Engring	Gen Mgr-Trans Asset Mgmt	Permanent
CPL.		FPC	Lead Engr	Lead Engr	Permanent
FPC	,	svc	Proj/Outage Support Spec-POG	Project Assurance Program Lead	Permanent
		FPC	1	,	
SVC		į	Sr Auditor	Proj Leader-TOP	Permanent
CPL.		FPC	Storekeeper A	Sr Logistics Planning Anlyst	Permanent
CPL.		FPC	VP-East Region	VP-East Region	Permanent
FPC		svc	Sr Plant Services Assistant-FL	Sr Plant Services Assistant-FL	Permanent
svc		FPC	Mgr-Property/Projects	Mgr-Property/Projects	Permanent

Analysis of Diversification Activity Non-Tariffed Services and Products Provided by the Utility

Company: Florida Power Corporation

For the Year Ended December 31, 2007

Provide the following information regarding all non-tariffed services and products provided by the utility.

Description of Product or Service (a)	Account No.	Regulated or Non-regulated (c)
Rent from Electric Properties	4540001	Regulated
Managed Services	4170000	Non-Regulated
Turnkey Solutions	4170000	Non-Regulated
Power Quality Services	4170000	Non-Regulated
Homewire	4170000	Non-Regulated
All-Connect	4170000	Non-Regulated
Lighting	4170000	Non-Regulated
Infrared Scanning Services	4170000	Non-Regulated
High Voltage Services	4170000	Non-Regulated
Distribution Services	4170000	Non-Regulated
- Vegetation Services	4170000	Non-Regulated
Metering Services	4170000	Non-Regulated
Transformer Services	4170000	Non-Regulated
Material Solutions	4170000	Non-Regulated
Joint Trenching	4170000	Non-Regulated
General System Planning	4170000	Non-Regulated
Transmission Construction & Maintenance	4170000	Non-Regulated
Substation Design, Construction & Maintenance	4170000	Non-Regulated
System Protection & Control, Fiber Optic & Meter Services	4170000	Non-Regulated
Land Management	4170000	Non-Regulated
Wireless Transmission Tower Attachments	4210708	Non-Regulated

Nonutility Property (Account 121)

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

- 1. Give a brief description and state the location of nonutility property included in Account 121.
- 2. Designate with a double asterisk any property which is leased to another company. State name of lessee and whether lessee is an associated company.
- 3. Furnish particulars (details) concerning sales, purchases, or transfers of nonutility property during the year.
- 4. List separately all property previously devoted to public service and give date of transfer to Account 121, Nonutility Property.
- 5. Minor items (5% of the balance at the end of the year, for Account 121 or \$100,000, whichever is less) may be grouped by (1) previously devoted to public service, or (2) other property nonutility property.

Description and Location	nce at ng of year	Purchases, Sales, Transfers, etc.	Balance at end of year
Previously Devoted to Public Service			
Land - Marion County - Florida	\$ 135,191		\$ 135,191
Structures - Pinellas County, Florida	177,011		177,011
Minor Items	527,365		527,365
Not Previously Devoted to Public Service			
Land - Volusia County, Florida (1)	1,636,204	-13,813	1,622,391
Equipment - Meters System (Florida) (2)	5,423,549		5,423,549
Equipment - Walk of Fame, St. Pete, FL	1,380,193		1,380,193
Other	325,828		325,828
Generators on Customer premises	732,987		732,987
Communication Equipment (3)	 0		<u>0</u>
			·
·			
Totals	\$ 10,338,328	\$ (13,813)	\$ 10,324,515

Number of Electric Department Employees

Company: Progress Energy Florida Inc. For the Year Ended December 31, 2007

- 1. The data on number of employees should be reported for the payroll period ending nearest to October 31, or any payroll period ending 60 days before or after October 31.
- 2. If the respondent's payroll for the reporting period includes any special construction personnel, include such employees on line 3, and show the number of such special construction employees in a footnote.
- 3. The number of employees assignable to the electric department from joint functions of combination utilities may be determined by estimate, on the basis of employee equivalents. Show the estimated number of equivalent employees attributed to the electric department from joint functions.

d (Date)	10/28/2007
	3979
orary Employees	308
	4287
6	
300	
2	
308	
֡	300 2

Particulars Concerning Certain Income Deductions and Interest Charges Accounts

Company: Florida Power Corporation For the Year Ended December 31, 2007

Report the information specified below, in the order given, for the respective income deduction and interest charges account. Provide a subheading for each account and a total for each account. Additional columns may be added if deemed appropriate with

- (a) Miscellaneous Amortization (Account 425): Describe the nature of items included in this account, the contra account charged, the total of amortization charges for the year, and the period of amortization.
- (b) Miscellaneous Income Deductions: Report the nature, payee, and amount of other income deductions for the year as required by Accounts 426.1, Donations; 426.2, Life Insurance; 426.3, Penalties; 426.4, Expenditures for Certain Civic Political and Related Activities; and 426.5, Other Deductions, of the Uniform System of Accounts. Amounts of less then 5% of each account total for the year (or \$1,000, whichever is greater) may be grouped by classes within the above accounts.
- (c) Interest on Debt to Associated Companies (Account 430) -- For each associated company to which interest on debt was incurred during the year, indicate the amount and interest rate respectively for (a) advances on notes, (b) advances on open account, (c) notes payable, (d) accounts payable, and (e) other debt, and total interest. Explain the nature of other debt on which interest was incurred during the year.
- (d) Other Interest Expense (Account 431) -- Report particulars (details) including the amount and interest rate for other interest charges incurred during the year.

Item	Amount Debit / (Credit)
Account 426 - Miscellaneous Income Deductions	
Donations	
Civic & Community Organizations	489,087.69
Cultural & Arts Organizations	547,825.08
Economic Development	518,631.75
Education Related Contributions	1,535,537.57
Environment	125,671.30
Health & Human Services Contributions	911,332.26
Other	272,197.23
Subtotal Accounts 4261014, 426180T, 4261BUD	4,400,282.88
Investment in Company Owned Life Insurance	(2,507,651.00)
Subtotal Accounts 4262016, 4262041	(2,507,651.00)
Penalties	2,111,224.86
Subtotal Account 4263001	2,111,224.86
Certain Civic, Political & Related Activities	4,097,876.28
Subtotal Accounts 4264100, 4264200, 4264300	4,097,876.28
Other Deductions	1,162,300.87
Subtotal Account 4265001	1,162,300.87
Total Miscellaneous Income Deductions - Account 426	9,264,033.89
Account 430 - Interest on Debt to Associated Companies	
Money Pool (Avg Rate 5.49%)	2,199,542.83
Total Interest on Debt to Associated Companies - Account 430	2,199,542.83
Account 431 - Other Interest Expense	
Commitment Fees (4310010)	473,767.11
Other Interest Expense (4310001, 4310011)	598,938.20
Customer Deposits - Rate 6 to 7% per annum	10,601,213.47
Interest related to OPC Petition Customer Refund- Rate 4.87%	1,755,990.00
Interest related to Dixie Fueis Surcharge - Rate 30.24%	2,079,593.64
Interest related to Projected Tax Deficiency on various audit issues - Rate 6.7%	2,796,676.52
Total Other Interest Expense - Account 431	18,306,178.94

Page 1 of 1

FLORIDA PUBLIC SERVICE COMMISSION	Explanation:	Provide an analysis of all non-utility operations such as orange groves, parking lots, etc. that utilized all or part of any utility					Type of da	ata shown:		
Company: PROGRESS ENERGY FLORIDA INC.		plant that are not included in Schedule C-31.						X Projected Test Year Year Prior Year Ended		
Docket No. 090079-EI								X Historical Year Witness: Toomey		12/31/2009 12/31/2008
(/	A) (B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)
Line .										
No. 1										
2	Progress End	ergy Florida Inc.	does not have	any non-utility	perations usin	ng all or part	of utility plant	t		
3	that are not i	ncluded in Sched	dule C-31.		•	•	• •			
4										
5 6										
7										
8										
9										
10 11										
12										
13										
14										
15 16										
17										
18										
19										
20 21										
22										
23										
24										
25 26										
27										
28										
29	•									
30 Supporting Schedules:								Door Cal	odulos	
Supporting Scriedules.								Recap Sch	eaules:	

FLORIDA PUBLI	FLORIDA PUBLIC SERVICE COMMISSION		Provide a schedule for the last four prior ye	ars and test year of other	Type of data shown:		
			operation and maintenance expense summ	ary by average customer,			
Company: PROG	Company: PROGRESS ENERGY FLORIDA INC.		selected growth indices, selected growth ra	ites and average number of	X Projected	Test Year Ended	12/31/201
			customers.		X Prior Yea	r Ended	12/31/200
Docket No. 0900	79-EI				X Historica	l Year Ended	12/31/200
					Witness:	Toomey/Oliver/Crisp/Jo	oyner
					Sorrick/Y	oung/Morman/Wyckoff	
Line	(A)	(B)	(C)	(D)	(E)	(F)	
No.	·	2006	2007	2008	2009	2010	
1							
2 SUMMARY	OF OTHER O&M EXPENSES (DOLLARS PER C	•					
3 Power Pro	oduction Expense	120.31		141.03	144.97	169.83	
4 Transmiss	sion Expenses	20.78		21.50	21.36	27.39	
5 Distributio	·	70.62		73.58	76.62	87.55	
6 Customer	Account Expenses	31.08		30.47	31.32	32.73	
7 Customer	Service Expenses	2.19		1.81	1.50	1.48	
8 Sales Exp	ense	1.46		1.00	0.95	1.02	
9 Administra	ation & General Expenses	122.58		122.66	165.06	175.29	
3 10 Total Ot	her O&M Expenses	369.01	1 404.95	392.06	441.78	495.29	
11							
12 GROWTH	INDICES						
13 Consume	r Price Index	201.6		215.3	222.0	225.2	
14 Average (Customer	1,620,373		1,638,911	1,642,481	1,655,423	
15 CPI Perce	ent Increase		2.9%	3.8%	3.1%	1.5%	
16 Average (Customer Percent Increase		0.7%	0.4%	0.2%	0.8%	
17 Index Per	cent CPI x Customer Growth	1.0000		1.0802	1.1164	1.1415	
18 Average (Customer Increase		12,057	6,481	3,570	12,942	
19							
20 DOLLAR A	AMOUNTS, IN CURRENT DOLLARS AND ANNUA	AL GROWTH RATES FOR:					
21 O&M Expe	nse Less Fuel per KWH Sold	\$ 0.15	\$0.17	\$0.17	\$0.19	\$0.21	
22 Capital Cos	st per Installed Kilowatt of Capacity	\$1,033	3 \$1,051	\$1,098	\$1,119	\$1,220	
23 Revenue p	er KWH Sold	\$10.5	5 \$10.54	\$10.38	\$12.30	\$12.53	
24							
25 AVERAGE	NUMBER OF CUSTOMERS						
26 Residential	!	1,431,742	1,442,854	1,449,041	1,451,638	1,461,865	
27 Commercia	al	162,774	162,837	162,569	163,231	165,826	
28 Industrial		2,697		2,587	2,575	2,564	
29 Street Ligh	ting	1,748	1,692	1,652	1,630	1,594	
30 Other Sales	s to Public Authorities	21,412		23,062	23,407	23,574	
31 Total		1,620,373	1,632,430	1,638,911	1,642,481	1,655,423	

Supporting Schedules: C-6, C-9, C-40

STATISTICAL INFORMATION

LORIDA PUBLIC SERVICE COMMISSION		planatior Provide the following st		Type of data sh	iown:			
Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-EI								
Line		(A)	(B)	(C)	(D)	(E)	(F) AVERAGE ANNUAL	
No. ITEM		2008	2007	2006	2005	2004	GROWTH RATE	
1 THE LEVEL AND ANNUAL GROW	TH RATES FOR:							
3 Peak Load MW 4		10,155	10,405	10,094	10,226	9,125	2.7%	
5 Peak Load Per Customer (KW) 6		6.2	6.4	6.2	6.5	5.9	1.3%	
7 Energy Sales (MWH) 8		45,333,039	45,203,343	43,964,779	44,632,672	43,293,950	1.2%	
9 Number of Customers (Average) 10		1,638,935	1,632,451	1,620,396	1,583,417	1,548,627	1.4%	
11 Installed Generating Capacity (MW)12	Summer	9,289	9,293	8,844	8,976	8,475	2.3%	
13 Population of Service Area 14		3,573,335	3,552,304	3,533,542	3,449,223	3,368,023	1.5%	
15 End of Year Miles of Distribution Lir16	nes	48,361	44,266	43,726	42,129	40,820	4.3%	
17 End of Year Miles of Jurisdictional 318	ransmission Lines	4,928	4,885	4,830	4,757	4,431	2.7%	
19 20 21								
22 23								
24 25								
26	·							
27 28								

SCHEDULE C-35	Payroll & Fringe Benefit Increases Compared to CPI							Page 1 of 2
FLORIDA PUBLIC SERVICE COMMISSION	Explanation:			e Benefits data for the histor is used, provide the same			Type of data shown: x Projected Test Year Ended	12/31/2010
Company: PROGRESS ENERGY FLORIDA INC.		test year and for prior	x Prior Year Ended x Historical Years 12/31/2006	12/31/2009 12/31/2007 12/31/2008				
Docket No. 090079-EI .						Witnesses:	Wyckoff, Morman, Sorrick, You Deschamps, Joyner, Oliver, T	
	(A)	(B)	(C)	(D)	(E)	(F)		
Line	A	2010 (Test Year)	CDI	Amount	2009 % Inc	CPI		
No	Amount	% Inc	CPI	Amount	% INC	CPI		
1 Total Company Basis:	♠ 444.40€.04E	10.41%	1.45%	\$ 375,137,884	10.77%	3.13%		
2 Base Payroll - Regular Full-Time Employees	\$ 414,186,245	2.22%	1.45%	33,150,631	6.28%	3.13%		
3 Incentive Compensation Plan	33,886,020 16,704,435	4.46%	1.45%	15,990,593	29.80%	3.13%		
4 Long Term Incentive Plan	464,776,700		1.45%	\$ 424,279,108	11.01%	3.13%		
6 Total Payroll				\$ 81,420	4.94%	3.13%		
7 Gross Average Salary	88,143	8.26%	1.45%	\$ 01,420	4.94%	3.1370		
8								
9 Fringe Benefits:	04 000 000	0.000/	4.450/	¢ 00 000 070	40.400/	2.420/		
10 Federal Insurance Contribution Act	31,300,932		1.45%	\$ 29,258,075	12.46%	3.13% 3.13%		
11 Federal & State Unemployment Taxes	1,485,881	7.20%	1.45%	1,386,094	-12.01%			
12 Worker's Compensation	3,144,313		1.45%	3,144,313	-38.57%	3.13%		
13 Pension Plan Expense	45,798,787	24.73%	1.45%	36,717,361	285.31%	3.13%		
14 Life Insurance Benefits	1,360,137	15.00%	1.45%	1,182,754	2.80%	3.13%		
15 Medical Insurance Benefits	45,013,653		1.45%	37,511,532	13.50%	3.13%		
16 Retiree Health/Life Benefits	30,297,527	8.39%	1.45%	27,951,721	1.22%	3.13%		
17 Long-Term Disability Health/Life Benefits	1,307,666		1.45%	1,148,859	-19.16%	3.13%		
18 Long-Term Disability Salary Continuation	1,491,977	12.87%	1.45%	1,321,800	-14.22%	3.13%		
19 Employee Educational Assistance	1,102,147	6.18%	1.45%	1,037,989	61.50%	3.13%		
20 Performance Awards and Relocation Costs	2,936,904		1.45%	3,292,585	-20.60%	3.13%		
21 Employee Savings Plan	21,457,968		1.45%	18,748,557	10.05%	3.13%		
22 Wellness Program	1,570,061	_ 15.45%	1.45%	1,359,981	-5.12%	3.13%		
23 Total Fringe Benefits	188,267,953	14.75%	1.45%	\$ 164,061,621	62.54%	3.13%		
24								
25 Total Payroll & Fringe Benefits	\$ 653,044,653	11.00%	1.45%	\$ 588,340,729	21.78%	3.13%		
26		-						
27 Average Regular Full Time Employees	5,273	1.19%	1.45%	5,211	5.79%	3.13%		
28		=						
29 Payroll & Fringe Benefits per Employee	123,847	9.69%	1.45%	\$ 112,904	15.12%	3.13%		
20 7 dylon a r ringo bonomo por Employos	.20,017	= 2.2070						

Supporting Schedules:

ORIDA PUBLIC SERVICE COMMISSION ompany: PROGRESS ENERGY FLORIDA INC.	·	two prior years	. If a projected t	nd Fringe Benefits data for est year is used, provide t include two historical year	he same data		Type of data shown: x Projected Test Year Ended x Prior Year Ended x Historical Years 12/31/2006	12/31/2010 12/31/2009 12/31/2009 12/31/2009
ocket No. 090079-El					\	Witnesses:	Wyckoff, Morman, Sorrick, Yo Deschamps, Joyner, Oliver, 1	ung
	(A)	(B)	(C)	(D)	(E)	(F)		
ne		2008			2007		2006	
0.	Amount	% Inc	CPI	Amount	% Inc	CPI	Amount	
1 Total Company Basis:								
2 Base Payroll - Regular Full-Time Employees ¹	\$ 338,678,217	5.19%	3.84%	\$ 321,980,592	9.91%	2.85%	\$ 292,948,864	
3 Incentive Compensation Plan	31,192,187	18.40%	3.84%	26,343,936	21.72%	2.85%	21,643,491	
Long Term Incentive Plan Restricted Stock Grant Amortization	12,319,236	-41.31%	3.84%	20,989,804	177.34%	2.85%	7,568,185	
6 Total Payroll	382,189,640	3.49%	3.84%	369,314,332	14.64%	2.85%	\$ 322,160,540	
7 Gross Average Salary	77,586	5.15%	3.84%	73,789	9.60%	2.85%	\$ 67,327	
•	77,000	: 0.1070	0.0470	10,100	0.0070	2.007.		
8 0 Eriana Barafita								
9 Fringe Benefits:	26,016,349	3.94%	3.84%	25,029,096	3.94%	2.85%	24,079,608	
10 Federal Insurance Contribution Act	1,575,349	-32.64%	3.84%	2,338,552	-5.09%	2.85%	2,463,923	
11 Federal & State Unemployment Taxes	5,118,851	-52.04 % -50.81%	3.84%	10,407,303	247.31%	2.85%	2,996,584	
12 Worker's Compensation	(19,813,807)		3.84%	(15,203,212)	-47.12%	2.85%	(10,334,189)	
13 Pension Plan Expense	1,150,533	9.32%	3.84%	1,052,441	42.71%	2.85%	737,444	
14 Life Insurance Benefits	33,049,567	-6.81%	3.84%	35,464,976	35.89%	2.85%	26,098,363	
15 Medical Insurance Benefits	• •	-5.70%	3.84%	29,285,831	17.50%	2.85%	24,923,993	
16 Retiree Health/Life Benefits	27,615,099 1,421,154	-3.70 % -48.56%	3.84%	2,762,579	137.49%	2.85%	1,163,248	
17 Long-Term Disability Health/Life Benefits		-27.68%	3.84%	2,130,599	149.66%	2.85%	853,400	
18 Long-Term Disability Salary Continuation	1,540,921 642,727	13.56%	3.84%	565,960	-4.17%	2.85%	590,612	
19 Employee Educational Assistance		9.28%	3.84%	3,794,703	-24.69%	2.85%	5,038,516	
20 Performance Awards and Relocation Costs	4,147,001		3.84%	16,396,901	28.02%	2.85%	12,807,796	
21 Employee Savings Plan	17,036,050	3.90%	3.84%	430,433	#DIV/0!	2.85%	0	
22 Wellness Program	1,433,324	233.00%	3.84% 3.84%	114,456,162	#كانىرە 25.20%	2.85%	\$ 91,419,298	
23 Total Fringe Benefits	100,933,118	-11.82%	3.04%	114,430,102	23.20 /6	2.0376	ψ 91,419,230	
24 25 Total Payroll & Fringe Benefits	\$ 483,122,758	-0.13%	3.84%	\$ 483,770,494	16.97%	2.85%	\$ 413,579,838	
26								
27 Average Regular Full Time Employees	4,926	-1.58%		5,005	4.60%		4,785	
28		=						
29 Payroll & Fringe Benefits per Employee	98,076	1.47%	3.84%	96,657	11.83%	2.85%	\$ 86,433	

Supporting Schedules: C-4

FLORID	A PUBLIC SERVICE COMMISSION		a comparison of the change in a		Type of data shown:	
	ny: PROGRESS ENERGY FLORIDA INC.	to the Ci		e years and the lest year	 X Projected Test Ye X Prior Year Ended X Historical Year En Witness: Toomey Morman/Sorrick/Y 	12/31/2009 ded 12/31/2008 Joyner/Oliver
		(A)	(B)	(C)	(D)	
Line						
No	·	2010	2009	2008	2007	
1 2 3 4 5	Non-Fuel Operations & Maintenance Expenses (Excluding Conservation, Adjusted for Regulatory Adjustments)	868,158	746,874	661,111	658,994	
6 7 8 9	Percent Change in Non-Fuel Operations & Maintenance Expense Over Previous Year	16.24%	12.97%	0.32%		
10 11 12 13	Percent Change in CPI Over Previous Year	1.45%	3.13%	3.84%		
14 15 16 17 18	Difference Between Change in CPI and Non-Fuel Operations & Maintenance Expense	14.79%	9.84%	-3.52%		
19 20 21 22 23 24 25 26						

Supporting Schedules: C-6, C-39, C-40

FLORIDA PUBLIC SERVICE COMMIS	functionalized O&M expense. (Thousands)					Type of data sho	own:			
Company: PROGRESS ENERGY FLO Docket No. 090079-EI						Prior Year Ended 1 Historical Year Ended 1 Witness: Toomey/Joyner/Oliver/Sorrick/ Young/Morman/Wyckoff			12/31/2010 12/31/2009 12/31/2008	
	. (A) Test Year	(B)	(C) Adjusted	(D) Base Year	(E)	(F) Test Year	(G) Unadjusted	(H) Unadj Benchmark	(I) Adjusted	
Line No. Function	Total Company Per Books	O&M Adjmts	Test Year O&M	Adjusted O&M	Compound Multiplier	Benchmark (D) x (E)	Benchmark Variance	Variance Excluding:	Benchmark Variance	
1 Production - Steam	99,303	- Aujinis	99,303	72,614	1.1174	81,138	variance	Excluding.	18,165	
2 3 Production - Nuclear 4	103,559	-	103,559	81,570	1.1174	91,146			12,413	
5 Production - Other 6	76,132	-	76,132	36,853	1.1174	41,179			34,953	
7 Other Power Supply	2,152	-	2,152	3,906	1.1174	4,365			(2,213)	
9 Transmission 10	45,336	-	45,336	33,676	1.1415	38,441			6,895	
11 Distribution 12	144,926	-	144,926	114,428	1.1415	130,620			14,306	
13 Customer Accounts 14	54,185	-	54,185	50,356	1.1415	57,481			(3,296)	
15 Customer Service and Informa 16	tion 2,448	-	2,448	3,547	1.1415	4,049			(1,602)	
17 Sales Expenses 18	1,688	(36)	1,652	2,338	1.1415	2,669			(1,017)	
19 Administrative & General 20	290,183	(3,394)	286,789	195,169	1.1415	222,786			64,004	
21 TOTAL	\$819,912	(\$3,430)	\$816,482	\$594,458		\$673,875	\$0	\$0	\$142,606	
22 23 24 25 26										
27 28 29										

O&M BENCHMARK COMPARISON BY FUNCTION

	· · · · · · · · · · · · · · · · · · ·			enchmark varia O&M expense		ssi yeai	Type of data sho	744(1.		
any: PROGRESS ENERGY FLORIDA et No. 090079-EI	INC.	(Thousands)						Projected Test Year EndedX Prior Year EndedHistorical Year Ended		
,	· (A) Test Year Total Company	(B)	(C) Adjusted Test Year	(D) Base Year Adjusted	(E)	(F) Test Year Benchmark	(G) Unadjusted Benchmark	(H) Unadj Benchmark Variance	(I) Adjusted Benchmark	
Function									Variance	
1 Production - Steam	83,730	-	83,730	72,614				, , ,	3,753	
z 3 Production - Nuclear 4	96,909	-	96,909	81,570	1.1014	89,841			7,068	
5 Production - Other 6	55,346	-	55,346	36,853	1.1014	40,590			14,757	
7 Other Power Supply 8	2,129	-	2,129	3,906	1.1014	4,302			(2,173)	
9 Transmission 0	35,085	-	35,085	33,676	1.1164	37,596			(2,511)	
1 Distribution 2	125,842	-	125,842	114,428	1.1164	127,748			(1,906)	
3 Customer Accounts 4	51,442	-	51,442	50,356	1.1164	56,217			(4,775)	
5 Customer Service and Information 6	2,458	-	2,458	3,547					(1,502)	
7 Sales Expenses 8	1,565									
9 Administrative & General ດ	271,108	(4,477)	266,631	195,169	1.1164	217,887			48,744	
1 TOTAL	\$725,614	(\$4,511)	\$721,103	\$594,458		\$660,728	\$0	\$0	\$60,375	
2 3 4 5 6 7										
	Function Function Production - Steam Production - Nuclear Production - Other Tother Power Supply Transmission Distribution Customer Accounts Customer Service and Information Sales Expenses Administrative & General TOTAL TOTAL	(A) Test Year Total Company Function Per Books 1 Production - Steam 83,730 2 Production - Nuclear 96,909 4 Production - Other 55,346 5 Production - Other 55,346 6 Tother Power Supply 2,129 8 Transmission 35,085 9 Transmission 125,842 2 Customer Accounts 51,442 4 Customer Service and Information 2,458 6 Tother Power Supply 2,129 8 Transmission 35,085 9 Administrative & General 271,108 1 TOTAL \$725,614	(A) (B) Test Year Total Company O&M Per Books Adjmts 1 Production - Steam 83,730 - 2 3 Production - Nuclear 96,909 - 4 5 Production - Other 55,346 - 6 7 Other Power Supply 2,129 - 7 1 Distribution 125,842 - 2 3 Customer Accounts 51,442 - 4 5 Customer Service and Information 2,458 - 6 6 7 Sales Expenses 1,565 (35) 8 9 Administrative & General 271,108 (4,477) 1 TOTAL \$725,614 (\$4,511)	(A)	t No. 090079-EI (Thousands) (A) (B) (C) (D) Test Year Adjusted Adjusted O&M Test Year Adjusted O&M O&M Per Books Adjmts O&M O&M O&M Per Books Adjmts O&M O&M O&M Per Books Adjmts O&M Per Books Adjusted O&M Per Books P	No. 090079-EI	No. 090079-EI	No. 090079-E No. 090079-E	No. 090079-E	No. 090079-E No. 090079-E No. 090079-E No. 090079-E No. 090079-E No. 090079-E No. 090079-E No. 09007-E No.

	RIDA PUBLIC SERVICE COMMISSION Dany: PROGRESS ENERGY FLORIDA INC.		Explanation:		of adjustments made t expense by function.	o test year	<u>X</u> P _ P	ata shown: rojected Test Year Ended rior Year Ended istorical Year Ended	12/31/2010 12/31/2009 12/31/2008
Docke	et No. 090079-Ei				(Thousands)		W	/itness: Toomey/Joyner/Oliv oung/Morman/Wyckoff	
Line		(A) 2010 System	(B) Eliminate Recoverable	(C) Eliminate Recoverable	(D) Eliminate Recoverable	(E) Eliminate Recoverable	(F) Accounting & Proforma	(G) Adjusted 2010 System	
No.	Function	Per Books	Fuel/CCR	Nuclear	ECRC	ECCR	Adjustments*	Per Books	
2 3 4 5 6	Production Fossil Nuclear Other Production Other Power Supply Fuel & Purch Power	\$99,303 108,483 76,132 2,152 3,199,918	3,199,918	4,925				\$99,303 103,559 76,132 2,152	
7	Subtotal Production	3,485,988	3,199,918	4,925				281,145	
	ECRC	63,370	0,100,010	1,020	63,370			-	
1 10 12 11 12	ECCR	84,428				84,428		-	
	Transmission	45,336						45,336	
16	Distribution	144,926						144,926	
18	Customer Accounts	54,185						54,185	
20	Customer Service	2,448						2,448	
22 23	Sales Economic Development	1,688					(36)	1,688 (36)	
24 25 26 27 28 29 30	Administrative & General Retail Rate Case Expenses Corporate Aircraft Image Building Advertising Interest Expense on Tax Deficiency Industry Association Dues	290,183					1,394 (3,565) (3,863) 2,667 (25)	290,183 1,394 (3,565) (3,863) 2,667 (25)	
31 32	Total O&M Expense	\$4,172,552	\$3,199,918	\$4,925	\$63,370	\$84,428	(\$3,430)	\$816,482	

O&M ADJUSTMENTS BY FUNCTION

	DA PUBLIC SERVICE COMMISSION ny: PROGRESS ENERGY FLORIDA INC.		Explanation:		of adjustments made to expense by function.	o test year	<u>X</u> P	rojected Test Year Ended rior Year Ended	12/31/2010 12/31/2009
Docket	No. 090079-Ei					Historical Year Ended 12/31/20 Witness: Toomey/Joyner/Oliver/Sorrick/ Young/Morman/Wyckoff			
Line		(A) 2009 System	(B) Eliminate Recoverable	(C) Eliminate Recoverable	(D) Eliminate Recoverable	(E) Eliminate Recoverable	(F) Accounting & Proforma	(G) Adjusted 2009 System	
No.	Function	Per Books	Fuel/CCR	Nuclear	ECRC	ECCR	Adjustments*	Per Books	
	Production								
2	Fossil	\$86,069	\$2,340					\$83,730	
3	Nuclear	106,347	3,707	5,731				96,909	
4	Other Production	55,648	302					55,346	
5	Other Power Supply	2,129						2,129	
6	Fuel & Purch Power	3,172,972	3,172,972					<u></u>	
7	Total Production	3,423,166	3,179,321	5,731	•	-	-	238,114	
8									
9	ECRC	56,508			56,508			-	
10									
	ECCR	76,489				76,489		-	
12									
13	Transmission	35,085						35,085	
14									
	Distribution	125,842						125,842	
16									
	Customer Accounts	51,442						51,442	
18								44	
	Customer Service	2,458						2,458	
20								4 505	
	Sales	1,565					(05)	1,565	
22	Economic Development						(35)	(35)	
23		07/ 100						074 400	
	Administrative & General	271,108						271,108	
25	Retail Rate Case Expenses						- (0.00c)	(2.205)	
26	Corporate Aircraft						(3,395)	(3,395)	
27	Image Building Advertising						(4,009)	(4,009)	
28	Interest Expense on Tax Deficiency						1,113	1,113	
29	Miscellaneous Interest Expense						1,839	1,839	
30	Industry Association Dues						(24)	(24)	
31									
32	Total O&M Expense	\$4,043,663	\$3,179,321	\$5,731	\$56,508	\$76,489	(\$4,511)	\$721,103	
33	TOTAL OOM EXPENSE	φ4,043,003	φυ, 17 υ,υΖ1	ψJ,7 J l	φυυ,υυσ	ψ1 U, 1 U3	(94,011)	Ψ1Z1,100	

	RIDA PUBLIC SERVICE COMMISSION pany: PROGRESS ENERGY FLORIDA INC.	Explanation:	Provide adjustments t expenses recoverable Explain any adjustme	through mechanisms			X	Type of data shown: Projected Test Year E Prior Year Ended	Ended 12/31/2010 12/31/2009 12/31/2008
Dock	et No. 090079-EI		(Thousands)					Prior Year Ended Witness: Toomey/Joy Sorrick/Young/Wycko	ner/Oliver/Morman
		(A)	(B) Eliminate	(C) Eliminate	(D) Accounting &	(E) Allowed	(H)	(I) 2006	
Line No.	Function (They sends)	2006	Recoverable	Recoverable ECCR & ECRC	Proforma	2006	Compound	O&M	
	(Thousands) 1 Production	O&M Expenses	Fuel Expense	ECCR & ECRC	Adjustments	O&M Expenses	Multiplier	Benchmark	
	2								
;	3 Fossil	1,281,365	(1,199,022)	(9,730)		72,614	1.1174	81,138	
:		572,468	(490,893)	(5)		81,570	1.1174	91,146	
	7 Other Generation	870,737	(833,885)			36,853	1.1174	41,179	
		3,906				3,906	1.1174	4,365	
145	Total Production	2,728,476	(2,523,799)	(9,735)	0	194,942		217,828	
	2 Transmission	35,652		(1,977)		33,675	1.1415	38,440	
1:					1	1	1.1415	<u> </u>	
14		35,652	0	(1,977)	1	33,676		38,441	
1: 1: 1:	6 Distribution	125,572		(11,144)		114,428	1.1415	130,620	
	3 Customer Accounts	111,516		(61,160)		50,356	1.1415	57,481	
	Customer Service	3,547				3,547	1.1415	4,049	
	2 Sales Expense	2,364				2,364	1.1415	2,698	
2	,				(26)	(26)	1.1415	(29)	
- 2	Subtotal - Sales Expense	2,364	0	0	(26)	2,338		2,669	
2									
	Administrative & General	198,624			(0.404)	198,624	1.1415	226,730	
2					(2,461)	(2,461)		(2,809)	
2					75	75	1.1415	86	
2	<u>.</u>				(669)	(669)	1.1415	(764)	
31					(70)	(70)		(80)	
3:	2 Subtotal - Administrative & General	198,624	0	0	(330) (3,455)	(330) 195,169	1.1415	(377) 222,786	
3:	3 4 Total O&M Expense	\$3,205,752	(\$2,523,799)	(\$84,016)	(\$3,480)	\$594,458		\$673,875	
J.	T TOLAR CARR EXPENSE	ΨΟ,ΣΟΟ,1 ΟΣ	(ΨΣ,ΟΣΟ,1 ΟΟ)	(404,010)	(40,400)	Ψυυτ,4υυ	**********	4010,010	

	ORIDA PUBLIC SERVICE COMMISSION Inpany: PROGRESS ENERGY FLORIDA INC.		Provide adjustments t expenses recoverable Explain any adjustme	through mechanisms	X	Type of data shown: Projected Test Year Ended Prior Year Ended	12/31/2009		
Do	ket No. 090079-Ei		(Thousands)					Prior Year Ended Witness: Toomey/Joyner/C Sorrick/Young/Wyckoff	12/31/2008 Niver/Morman
		(A)	(B) Eliminate	(C) Eliminate	(D) Accounting &	(E) Allowed	(H)	(I) 2006	
Lin		2006	Recoverable	Recoverable	Proforma	2006	Compound		
No.	(Thousands)	O&M Expenses	Fuel Expense	ECCR & ECRC	Adjustments	O&M Expenses	Multiplier	Benchmark	
	2								
	3 Fossil	1,281,365	(1,199,022)	(9,730)		72,614	1.1014	79,977	
	5 Nuclear	572,468	(490,893)	(5)		81,570	1.1014	89,841	
	7 Other Generation 8	870,737	(833,885)			36,853	1.1014	40,590	
	9 Other Power Supply	3,906				3,906	1.1014	4,302	
	10 Total Production	2,728,476	(2,523,799)	(9,735)	0	194,942		214,709	
	11 12 Transmission 13 RTO Start-Up Costs	35,652		(1,977)	4	33,675	1.1164	37,595	
	14 Subtotal - Transmission	35,652	0	(1,977)		33,676	1.1164	<u>1</u>	
	15	30,002	U	(1,577)	1	33,076		37,596	
	16 Distribution	125,572		(11,144)		114,428	1.1164	127,748	
	18 Customer Accounts	111,516		(61,160)		50,356	1.1164	56,217	
	20 Customer Service 21	3,547				3,547	1.1164	3,960	
	22 Sales Expense	2,364				2,364	1.1164	2,639	
	Remove portion of Economic Development Expenses				(26)	(26)	1.1164	(29)	
	24 Subtotal - Sales Expense 25	2,364	0	0	(26)	2,338		2,610	
	co 26 Administrative & General	198,624				400.004	4.4404	004.744	
	27 Eliminate Image Building Advertising	130,024			(2,461)	198,624 (2,461)	1.1164	221,744	
	28 Miscellaneous Interest Expense				(2,461) 75	(2,461) 75	1.1164 1.1164	(2,747) 84	
	29 Eliminate Corporate Aircraft				(669)	(669)	1.1164	84 (747)	
	30 Industry Dues				(70)	(70)	1.1164	(747) (79)	
	Int. Exp on Income Tax Deficiency				(330)	(330)	1.1164	(368)	
	Subtotal - Administrative & General	198,624	0	0	(3,455)	195,169	1.1104	217,887	
	34 Total O&M Expense	\$3,205,752	(\$2,523,799)	(\$84,016)	(\$3,480)	\$594,458		\$660,728	
	•					7777	*****	7500,120	

COL			C 40
SUF	ヒいし	JLE	C-40

O&M COMPOUND MULTIPLIER CALCULATION

Page 1 of 1

FLORIDA I	PUBLIC SERVICE COMMISSION	Explanation:	For each year sin	nce the benchmark year, p	rovide the amounts and	T	ype of data shown:	
	PROGRESS ENERGY FLORIDA INC. 090079-EI		percent increase associated with Customers and average CPI. Show the calculation for each compound mu;Itiplier.				Prior Ye Historic	ed Test Year Ended 12/31/2010 ear Ended 12/31/2008 al Test Year Ended 12/31/2008 s: Toomey
	(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)
		T	AVERAGE OTAL CUSTOME		A	VERAGE CPI-L (2006 = 100)	J	
Line No.	Year	<u>Amount</u>	% Increase	Compound <u>Multiplier</u>	Amount	% Increase	Compound <u>Multiplier</u>	Inflation and Growth Compound Multiplier
1								-
2 3	2006	1,620,373		1.0000	201.6		4.0000	
4	2007	1,632,430	0.74%	1.0074		0.050/	1.0000	1.0000
5	2007	1,632,430	0.40%	1.0114	207.3	2.85%	1.0285	1.0361
6	2009				215.3	3.84%	1.0680	1.0802
7	2010	1,642,481	0.22%	1.0136	222.0	3.13%	1.1014	1.1164
,	2010	1,655,423	0.79%	1.0216	225.2	1.45%	1.1174	1.1415
8 9								
10								
11								
12								
13								
14								
15								
16								
17								
18								
19								
20								
21								

SCF			

Page 1 of 18

	PUBLIC SERVICE COMMISSION Explanation:	Provide a schedule of operation and maintenance expenses by function for the test year, the benchmark	Type of data shown: X Projected Test Year Ended	1 12/31/2010
	: PROGRESS ENERGY FLORIDA INC.	year and the variance. For each functional benchmark variance, justify the difference.	Prior Year Ended Historical Year Ended	12/31/2009 12/31/2008
	o.: 090079-EI		Witness:	See Below
Line No.				
1				
2				
3				
4				
5				
6	<u>Function</u>	Witness	Table of Contents	
7				
8	Production Steam & Other	Sorrick	Page 2 - 4	
9				
10	Production Nuclear	Young / Toomey	Page 5 - 6	
11				
12	Transmission & Other Power Supply	Oliver	Page 7 - 8	
13				
14	Distribution	Joyner	Page 9 - 11	
15				
16	Customer Accounts	Morman	Page 12 - 13	
17				
18	Customer Service & Information	Morman	Page 14	
19				
20	Sales Expense	Morman	Page 15	
21				
22	Administrative & General	Wyckoff / DesChamps / Toomey	Page 16 - 18	
23				
24				
25				
26				
27				
28				
29				
30				
31				
32				
33				
34 35				
36				
37				
38				
39				
40				
70				

Supporting Schedules:

SCHEDULE C-41				
	COL	ובחו	11 -	C 44

Page 2 of 18

	ORIDA PUBLIC SERVICE COMMISSION Ompany: PROGRESS ENERGY FLORIDA INC.		nation:	Provide a sche expenses by fu year and the variance instift	nction for the to oriance. For each	est year, the be ch functional b	enchmark	Type of data shown: X Projected Test Year Ende Prior Year Ended	12/31/200
Docket No.	090079-EI			variance, justify	the difference	•		Historical Year Ended Witness: Sorrick	12/31/200
Line	FERC Accounts: 500-514, 546-554, and 55	57. Exclu	des rec	overable fuel ex	pense.		·	·	
No.									
1									
2				// 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2					
3				(In Millions - (F	-avorable)/Un	favorable)			
4 5						v	lasian a a		
6		20	10		2010		ariance From		
7			hmark	Δ	djusted		nchmark		
8	Production - Steam	\$	81.1	\$	99.3	\$	18.2		
9	1100000011	•	V 1	•	33.0	•	10,2		
10	Production - Other		41.2		76.1		35.0		
11		*****				 			
12	Total	\$	122.3	\$	175.4	\$	53.1		
13			/	· · · · · · · · · · · · · · · · · · ·					
14									
15						į.	Mount		
16	Summary of Variances				_	(Favorab	le)/Unfavor	able	
17					-				
18	New Generation					\$	21.3		
19	Retirement						(7.2)		
20	Additional Outage Projects						15.1		
21	Maintenance on Existing Fleet						14.7		
22	Labor and Material Cost Increases						7.3		
23	Incremental Security						1.9		
24						\$	53.1		
25									
26 27									
28									
29									
30									
31									
32									
33									
34									
35									
36	•								
37									
38									
39									
40									

Supporting Schedules: C-6, C-37, C-39

Docket No.: 090079-EI (\$ Millions) FIRC Accounts: 500-514, 546-554, and 557. Excludes recoverable fuel expense. No.: 1	Pa	age 3 of 18
Company: PROGRESS ENERGY FLORIDA INC. year and the variance. For each functional benchmark variance, justify the difference. (\$ Millions) FERC Accounts: 500-514, 546-554, and 557. Excludes recoverable fuel expense. No. No. No. No. No. No. No. N		
Cocket No.: 090079-EI	12	/31/2010 /31/2009 /31/2008
Line No. FERC Accounts: 500-514, 546-554, and 557. Excludes recoverable fuel expense. No. New Generation Since 2005 PEF has added two power blocks at the Hines Energy complex and is targeting June of 2009 for the addition of the Bartow Combined Cycle Energy Complex. The Hines Energy Complex consists of four Power Blocks, each containing two combustion turbines and one steam turbine, capable of producing a total of 1,930 MW. The third Power Block began commercial operations in November of 2005. The fourth Power Block was added in late in 2007. As a result of these added additional Power Blocks, staffing levels and maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 20	121	10112000
No. New Generation		
New Generation Since 2005 PEF has added two power blocks at the Hines Energy complex and is targeting June of 2009 for the addition of the Bartow Combined Cycle Energy Complex. The Hines Energy Complex consists of four Power Blocks, each containing two combustion turbines and one steam turbine, capable of producing a total of 1,930 MW. The third Power Block began commercial operations in November of 2005. The fourth Power Block was added in late in 2007. As a result of these added additional Power Blocks, staffing levels and maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010.		
New Generation Since 2005 PEF has added two power blocks at the Hines Energy complex and is targeting June of 2009 for the addition of the Bartow Combined Cycle Energy Complex. The Hines Energy Complex consists of four Power Blocks, each containing two combustion turbines and one steam turbine, capable of producing a total of 1,930 MW. The third Power Block began commercial operations in November of 2005. The fourth Power Block was added in late in 2007. As a result of these added additional Power Blocks, staffing levels and maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010.		
New Generation Since 2005 PEF has added two power blocks at the Hines Energy complex and is targeting June of 2009 for the addition of the Bartow Combined Cycle Energy Complex. The Hines Energy Complex consists of four Power Blocks, each containing two combustion turbines and one steam turbine, capable of producing a total of 1,930 MW. The third Power Block began commercial operations in November of 2005. The fourth Power Block was added in late in 2007. As a result of these added additional Power Blocks, staffing levels and maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010.		
Since 2005 PEF has added two power blocks at the Hines Energy complex and is targeting June of 2009 for the addition of the Bartow Combined Cycle Energy Complex. The Hines Energy Complex consists of four Power Blocks, each containing two combustion turbines and one steam turbine, capable of producing a total of 1,930 MW. The third Power Block began commercial operations in November of 2005. The fourth Power Block was added in late in 2007. As a result of these added additional Power Blocks, staffing levels and maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation	\$	21.3
Bartow Combined Cycle Energy Complex. The Hines Energy Complex consists of four Power Blocks, each containing two combustion turbines and one steam turbine, capable of producing a total of 1,930 MW. The third Power Block began commercial operations in November of 2005. The fourth Power Block was added in late in 2007. As a result of these added additional Power Blocks, staffing levels and maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam	·	
The Hines Energy Complex consists of four Power Blocks, each containing two combustion turbines and one steam turbine, capable of producing a total of 1,930 MW. The third Power Block began commercial operations in November of 2005. The fourth Power Block was added in late in 2007. As a result of these added additional Power Blocks, staffing levels and maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010.		
capable of producing a total of 1,930 MW. The third Power Block began commercial operations in November of 2005. The fourth Power Block was added in late in 2007. As a result of these added additional Power Blocks, staffing levels and maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
fourth Power Block was added in late in 2007. As a result of these added additional Power Blocks, staffing levels and maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
maintenance projects outlays have increased approximately \$10.1 million from 2006 to 2010. The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
The Bartow Combined Cycle plant is a state of the art plant scheduled to go commercial in June 2009. The plant consists of four combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
combustion turbines feeding one steam turbine, capable of producing a combined 1,259 MW. In preparation of the plant's commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
commercial operation, staffing levels and associated costs will increase significantly over 2006 levels since 2010 is the first scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
scheduled year of full operation of the plant. Base/Routine costs will increase by approximately \$6.6 million. The first scheduled outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
outage will take place in 2010. The outage maintenance work that will be performed is being driven by the terms and agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
agreements of the Bartow Long-term service agreement. The Bartow LTSA allows PEF the ability to manage its parts and labor costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
costs associated with major maintenance with a high degree of certainty. The LTSA also offers more warranty coverage on key parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
parts and services that would not otherwise be covered by the original equipment manufacturer (OEM). The benefit to PEF is more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
more protection for key components and less financial exposure to unexpected events that would otherwise result in additional expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
expense to the company. We estimate the costs of that maintenance work covered by the LTSA to be approximately \$4.6 million for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
for the completion of two combustion inspections and two Balance of Plant outages in 2010. Retirement The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
23 24 25 Retirement 26 The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be 27 retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
24 25 Retirement 26 The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be 27 retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
25 Retirement 26 The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be 27 retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		
The Bartow Steam facility, which has three heavy oil units that began commercial operation between 1958 and 1963, will be retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of		/ 7 2\
27 retired in 2009. A comparison of 2006 O&M spend to budgeted spend in 2009 at the Bartow steam plant indicates a reduction of	¥	(7.2)
20 approximately £7.2 million primarily attributable to the reduction in statting due to the retirement of the Partous Steam teality when		
approximately \$7.3 million primarily attributable to the reduction in staffing due to the retirement of the Bartow Steam facility when the Bartow Combined Cycle unit comes onlines. The reduction in staffing was accomplished through retirements,		
 the Bartow Combined Cycle unit comes onlines. The reduction in staffing was accomplished through retirements, redeployments and layoffs. 		
31 redeployments and tayons.		

Additional Outage Projects

\$ 15.1

Crystal River Unit 4 is in the process of adding major Clean Air equipment in the form of Flue Gas Desulferization Systems (FGD) and Selective Catalytic Reduction (SCRs). These major capital equipment installations, including turbine rotor replacements of \$9.9 million and precipator upgrades of \$5.2 million, require an unusually long unit shutdown.

The extended outage at Crystal River will allow PEF the opportunity to conduct approximately \$9.9 million on a major boiler and turbine outage. The type of work that will be performed during the boiler outage includes scaffolding the boiler, inspecting the boiler and repairing the items identified during the inspection. The type of work that will be performed during the turbine outage, which is typically performed every 9 years, includes the inspection and repairs of the internal and external steam components.

Supporting Schedules: C-6, C-37, C-39

		C-41

Page 4 of 18

No. 1 2 3 4 5 6	FERC Accounts: 500-514, 546-554, and 557. Excludes recommended to be part of the installed. PEF would normally schedule these redecided to accelerate them to capture synergies in outlost generation instead of taking an additional outage.	performed during the Spring of 2010 at the same time naintenance outages in the normal course of its opera			
No. 1 2 3 4 5 6	Therefore, these outages have been scheduled to be will be installed. PEF would normally schedule these redecided to accelerate them to capture synergies in out	coverable fuel expense. Derformed during the Spring of 2010 at the same time naintenance outages in the normal course of its opera			
1 2 3 4 5 6	will be installed. PEF would normally schedule these redecided to accelerate them to capture synergies in out	naintenance outages in the normal course of its opera			
2 3 4 5 6	will be installed. PEF would normally schedule these redecided to accelerate them to capture synergies in out	naintenance outages in the normal course of its opera			
3 4 5 6	decided to accelerate them to capture synergies in out	-			
4 5 6	, , ,				
5 6	lost generation instead of taking an additional outage,	age costs with the outage for the 1 OB and OOK work	as well as minimize		
6					
7	Maintenance of Existing Fleet			\$	14
	The Company must perform various maintenance of the	ne CT and CC units in its existing fleet. Unlike the ma	intenance associated	4	17
	with fossil steam generating units, which have convent				
	maintenance of CT and CC units is dynamic and depe				
	performance engines, and their maintenance needs ar				
	test, therefore, simply does not and cannot capture the				
	CC units.	a yramio rataro or the over thanging mantenance in			
14					
	Specifically, there are approximately \$4.7 million of ma	aior maintenance projects for various CT plants. Thes	e projects include:		
	rotor inspections and rotor out work for the various De				
	to 5; hot gas path inspections for Debary units 7 and 9	•	,,,		
18		,,,			
	The Hines Energy Complex and Tiger Bay have appro	ximately \$4.7 million of major outages scheduled in 2	010. The type of		
	maintenance work that will be performed during these	· · · · · · · · · · · · · · · · · · ·			
	repair of the combustion part, inspection and repair of	-	· •		
	components.	·	·		
23					
24	Additionally, there is approximately \$5.3 million budge	ted for emerging equipment issues and parts repairs in	n 2010. This funding		
25	would be used for forced outage repairs or to take adv	antage of opportunities to enhance the fleet.			
26					
27					
28	Labor and Material Cost Increases			\$. 7
29	Labor and material escalations have increased the cos	its to perform unit operations and maintenance, but th	e work must be done		
30	despite these increasing costs. Some examples include	de projects that will be performed at Crystal River.			
31					
	Crystal River units will be performing approximately \$3				
	replacements, boiler circulating pumps, repairs of the o	circulating water pump system, generator stator rewed	dge and other boiler		
	repair work in the pendant reheat section.				
35					
	Other increases of \$3.8 million from 2006 to 2010 inclu	·	<u>-</u>		
	flyash disposal costs. The increases at Crystal River a		e boiler feed pump		
	turbine inspection as well as reductions in concrete rep	pairs on the previous cooling towers.			
39	1				,
	Incremental Security Cost	through the Operation Country (COS)	Nh a comma d	2	1.
	Incremental security costs were previously recovered to In 2010 they are included in base rates.	inrough the Capacity Cost Recovery (CCR) clause in	tne year incurred.		

Supporting Schedules: C-6, C-37, C-39

SCH	EDI	11	e .	C 44

Page 5 of 18

FLORID/	A PUBLIC SERVICE COMMISSION	Expla		expense	a schedule of operations by function for the to	est year, the	benchmark	ype of data shown:	
Company	y: PROGRESS ENERGY FLORIDA	INC.			d the variance. For each, justify the difference		benchmark	X Projected Test Year Ended Prior Year Ended	12/31/2010 12/31/2009
Docket N	lo. 0900079-El							Historical Year Ended Witness: Young/Toomey	12/31/2008
Line No.	FERC Accounts: 517-532, E	xcludes	s recover	able fue	el expense.				
1						·			
2			//	A 4110	· /F	e			
3			(in	MIIIIONS	s - (Favorable)/Uni	avorable)			
4						Va	riance		
5 6		,	2010		2010		rom		
7			chmark		Adjusted		chmark		
8					,	5011			
9	Production - Nuclear	\$	91.1	\$	103.6	\$	12.4		
10				·					
11									
12									
13						An	nount		
14	Summary of Variances:				(Favorable)/Unfavora	ble	
15						-			
16	Contracts					\$	3.2		
17	Licenses & Fees						1.7		
18	Labor Costs						5.3		
19	Material Costs						2.4		
20	Security Costs						2.8		
21	Outage Accrual						(3.0)		
22						\$	12.4		
23									
24									
25 26									
26 27									
28									
29									
30									
31									
32									
33									
34									
35									
36									
37									
38									

Supporting Schedules: C-6, C-37, C-39

SCHEDULE C-41 O&M Benchmark Comparison by Function Page						
FLORID	A PUBLIC SERVICE COMMISSION Explanation:	Provide a schedule of operation and maintenance expenses by function for the test year, the benchmark	Type of data shown:			
·	y: PROGRESS ENERGY FLORIDA INC.	year and the variance. For each functional benchmark variance, justify the difference.	X Projected Test Year Ended Prior Year Ended	12/31/2010 12/31/2009		
Docket I	No. 0900079-EI		Historical Year Ended Witness: Young/Toomey	12/31/2008		
		(\$ Millions)				
Line No.	FERC Accounts: 517-532, Excludes recover	erable fuel expense.				
1	Contracts				\$	3.2
2	· · · · · · · · · · · · · · · · · · ·	sed operations training and training material &	development, water		,	
3	•	increases greater than standard escalation.	,			
4	•					
5						
6	Licenses & Fees				\$	1.7
7	License and fee increases due to increas	sed cost of NRC and FEMA fees.				
8						
9						
10	Labor Costs				\$	5.3
11	• •	ximately 34 more positions than were filled in 2				
12	positions which were added primarily for	operations & training to support increased train	ning needs.			
13						
14						
15	Material Costs	001			\$	2.4
16	Material costs have increases greater that	an CPI.				
17 18						
19	Security Costs				\$	2.8
20		sly recovered through the Capacity Cost Recov	ery (CCR) clause in the year		Ψ.	2.0
21	incurred. In 2010, they are included in ba		ory (o'or y oracoo iii iiio your			
22	mountai. In 2010, they are moraded in pe	100 Tatos.				
23						
24	Outage Accrual				\$	(3.0)
25	The above increases are offset by a lower	er outage accrual.				
26	·	•				
27						
28						
29						
30						
31						
32	•					
33						
34						
35						
36						
37 38						
OC.						

FLORIDA PUBLIC SERVICE COMMISSION Company: PROGRESS ENERGY FLORIDA INC			ę	expenses ear and t	schedule of opera by function for the the variance. For e justify the difference	test year, the ach functional	Type of data shown: X Projected Test Year Ende Prior Year Ended Historical Year Ended	ed 12/31/2010 12/31/2009 12/31/2008		
Docket N	o.: 090079-EI							Witness: Oliver		
Line No.	FERC Accounts: 556, 560-573									
1					······································					
2										
3			(In	Millions	s - (Favorable)/	Unfavorable)			
4										
5						Va	riance			
6		20)10		2010	F	rom			
7		Benc	hmark		Adjusted	Ben	chmark			
8										
9										
10	Other Power Supply	\$	4.4	\$	2.2	\$	(2.2)			
11										
12	Transmission		38.4		45.3		6.9			
13										
14	Total		42.8		47.5		4.7			
15										
16										
17										
18										
24							nount			
25	Summary of Variances:					(Favorable)/Unfavorab	le		
26										
27	Increased Vegetation M		ement S	pendir	ng	\$	2.0			
28	FERC Order 890 Expens						6.9			
29	FERC Account Reclass	es					(4.1)			
30						<u>\$</u>	4.7			
31										
32										
33									•	
34										
35										
36										
37										
38										
39 40										
40										

Company: F	Provide a schedule of operation and maintenance Type of data shown: expenses by function for the test year, the benchmark Year Ended 12/31/2010 PROGRESS ENERGY FLORIDA INC. year and the variance. For each functional benchmark variance, justify the difference. Type of data shown: X Projected Test Year Ended 12/31/2010 Prior Year Ended 12/31/2009 Historical Year Ended 12/31/2008	
Docket No	one of the second control of the second cont	
Line No.	FERC Accounts: 556, 560-573	
1	Increased Vegetation Management Spending	\$ 2.0
2		
3	Increase to transmission vegetation management program; bringing overall program spending up to \$9.3M for	
4	2010 to comply with NERC Standard FAC-003-1 and the Commissions storm hardening initiatives. Vegetation	
5	management within and adjacent to existing transmission corridors is a critical component of transmission	
6	maintenance, assuring the safe and reliable operation of the transmission system. Due to PEF's expanding	
7	transmission system, this funding is needed to maintain the positive trend in reliability measures and includes tree	
8	trimming, hand cutting, mowing, danger tree removal, proactive herbicide program and aerial patrols to assess	
9	system conditions.	
10		
11	FERC Order 890 Expenses	\$ 6.9
12		
13	Forecasted expenses to comply with recent FERC Order 890 related to credits to wholesale customers for	
14	integrated transmission facilities.	
15	·	
16	FERC Account Reclasses	\$ (4.1)
17		
18	During 2008, a company-wide effort was made to improve expense classification, ensuring costs are classified in	
19	the most appropriate FERC O&M accounts. PEF began recording amounts previously charged and budgeted to	
20	566 (Trans Misc Expenses) and 556 (System Control & Load Dispatch) in accounts 582 (Dist Station Expenses)	
21	and 592 (Dist Maint of Station Equip). An offsetting increase can be found in the Distribution section of this MFR.	
22		
23		
24		
25		
26		
27		
28		
29		
30		
31		
32		
33		
34		
35		
36		
37		

LORIDA PUBLIC SERVICE COMMISSION		Explan									
ompany: PRC	OGRESS ENERGY FLORIDA INC.	expenses by function for the test year, the benchmark X Projected Test Year Ende year and the variance. For each functional benchmark Prior Year Ended variance, justify the difference. Historical Year Ended							12/31/2009 12/31/2008		
ocket No.:	090079-El								Witness: Joyner		
Line No.	FERC Accounts: 580-598									•	
1											
2											
3			(In I	Millions - (i	Favorable)/Unfavo	rable)				
4			,	·	•		•				
5							Variance				
6							From				
7		Bend	chmark	Adj	usted		Benchmark				
8					,						
9											
10	Distribution	\$	130.6	\$	144.9	\$	14.3				
11											
12											
13							Amount				
14	Summary of Variances:				_	(Favo	rable)/Unfavorab	le			
15											
16	Vegetation Management					\$	13.9				
17	Environmental						2.6				
18	Operational Cost Efficienc	ies and	Re-Orga	anization			(6.3)				
19	FERC Account Reclasses					-	4.1				
20						\$	14.3				
21											
22											
23 24											
25											
26											
27											
28											
29											
30											
31											
32											
33	·										
34											
35											
36											
37											
38 39											
39											

FLORIDA PUBLIC SERVICE COMMISSION Explanation: Provide a schedule of operation and maintenance Type of data shown: expenses by function for the test year, the benchmark X Projected Test Year Ended 12/31/2010 Company: PROGRESS ENERGY FLORIDA INC. year and the variance. For each functional benchmark Prior Year Ended 12/31/2009 variance, justify the difference. Historical Year Ended 12/31/2008 Witness: Joyner Docket No.: 090079-EI (\$ Millions) Line FERC Accounts: 580-598 No. 1 2 13.9 Vegetation Management 3 4 Prior to 2006 PEF's distribution vegetation management focused on maintenance trimming that maintained PEF's 5 reliability performance or improved on it. In 2006, the Florida Public Service Commission (FPSC) proposed a 6 three-year vegetation management cycle for all feeders and branch lines as part of its storm hardening initiatives. In 7 response, PEF proposed a split vegetation management cycle of three years for feeders and five years for branch lines 8 based on its Integrated Vegetation Management (IVM) approach. The FPSC approved the IVM as consistent with the 9 Commission's storm hardening initiatives by Order No. PSC-06-0947-PAA-El dated November 13, 2006. 10 11 Subsequent to FPSC approval of the IVM, PEF's vegetation management costs increased dramatically, from 13 percent 12 from 2006 to 2007, due to rising labor, fuel, and other costs. To make more efficient use of its vegetation management expenditures during this period of increasing costs, PEF emphasized trimming feeder miles over branch miles. The 13 14 cost per mile to trim feeders is less than the cost per mile for branch lines because feeders are typically located where 15 there are fewer impediments to access and more efficient trimming methods can be used. For example, only 5 percent 16 of PEF's feeder miles are "climbing miles," i.e. located on backlot construction accessible only on foot, not by bucket 17 trucks, and thus more costly to trim. Conversely, 20 percent of PEF's branch miles are "climbing miles." Additionally, 18 more customers are served by feeders than branch miles thereby providing increased reliability performance per mile of 19 feeders compared to branch lines. PEF's efficient approach to vegetation management will result in PEF meeting the 20 PSC-approved, three-year vegetation management cycle for PEF's feeders. 21 22 PEF needs additional vegetation management expenditures to meet the Commission-approved, five-year vegetation 23 management cycle for PEF's branch lines. PEF's vegetation management costs are increasing less rapidly, increasing 24 only about 3 percent from 2008 to 2009, allowing for the more efficient use of vegetation management funds. This 25 occurred due to the stabilization of labor rates in the industry and switching the majority of our contracts from time & 26 equipment to unit based. PEF, therefore, expects to more efficiently trim branch lines than was the case the past two 27 years. PEF's requested vegetation management revenue requirements are consistent with the Commission-approved 28 IVM approach, and the variance from the benchmark objective is therefore a necessary result of meeting this 29 Commission-approved storm hardening initiative. 30 31 **Environmental** 2.6 32 33 The main driver of the O&M increase related to environmental costs is due to the transition of the environmental portion of the TRIP (Transformer Remediation Inspection Program) from a clause recoverable activity to a base rate activity. During 2008, it 34 was determined that the Phase I TRIP environmental inspection period following the DEP and Commission approved 35 Environmental Remediation Strategy (ERS) would be completed within the upcoming year. Upon that completion, Phase II would 36 begin in which another state-approved protocol, MODEF, would be followed. The transition to the new protocol, as well as the 37 completion of the inspection phase of transformers approved for clause recoverability, warranted the movement of this ongoing 38 maintenance into base rates. As such, this expense was not contemplated in the benchmark year, 2006, due to the cost 39 recoverable status. 40

Supporting Schedules: C-6, C-37, C-39

	BLIC SERVICE COMMISSION & ROGRESS ENERGY FLORIDA INC.	Explanation: Provide a schedule of operation and maintenance Type of data shown: expenses by function for the test year, the benchmark X Projected Test Year Ended 12/31/2009 year and the variance. For each functional benchmark Prior Year Ended 12/31/2009							
Company. 1	toories energy recommend	variance, justify the difference. Historical Year Ended 12/31/2008							
Docket No.:	090079-EI	Witness: Joyner (\$ Millions)							
Line	FERC Accounts: 580-598	(\$ MIIIIONS)							
No.	1 El 10 (localito) des des								
1									
2	Operational Cost Efficiencies	and Re-Organization	\$	(6.3					
3		ensure that we aggressively manage our distribution-related costs and that we are focused on the							
4		reasonable, and we are spending our money wisely. We utilize benchmarking as part of how we							
5		ent, set targets, allocate budget dollars, and monitor performance. Our organization performs we	II						
6	overall on distribution cost bend	chmark ranking near first quartile on "Distribution O&M and Capital Maintenance per Customer".							
7									
8									
9									
10	A Distribution Project Review 0	Group ("PRG") comprised of management from a range of functional areas within PEF provides							
11		ms, plans and budgets and provides a mechanism to continuously adjust priorities as changing							
12		iled level, system load growth prioritization and reliability/maintenance prioritization teams ensure							
13	<u> </u>	ork plans are targeted to the most critical issues. Our budgets and performance metrics are							
14	woven into incentive compensation goals for employees at all levels of the organization to ensure focus. Finally, our Business Operations group monitors spending each month for reasonableness and compliance with budget, while also acting as a facilitator for operational analysis, the development of improvement ideas, and the revision of spending projections. These								
15									
16	mechanisms for cost management have led to various operational cost efficiencies that have been incorporated into the								
17	distribution 2010 base budget.								
18	-								
19									
20									
21	In our continued effort to drive of	cost efficiencies, the workforce assessment reorganization is designed to focus on service and							
22	restoration as construction volu	me decreases. The Distribution Department is focused on system planning, performance and							
23		the operation centers in the four regions are focused on outage response, operations and local							
24		omer and community relations. These changes will streamline decision-making and calibrate							
25	staffing levels with construction	activity in the current economy providing cost savings to the organization.							
26									
27				•					
28									
29	FERC Account Reclasses		\$	4.1					
30									
31	During 2008, a company-wide e	effort was made to improve expense classification, ensuring costs are classified in							
32		M accounts. PEF began recording amounts previously charged and budgeted to							
33		d 556 (System Control & Load Dispatch) in accounts 582 (Dist Station Expenses)							
34		Equip). An offsetting decrease can be found in the Transmission section of this MFR.							
35	•								
36									
37									
38									
39									
40									

	C-41

Page 12 of 18

FLORIDA PUBLIC SERVICE COMMISSION Explanation: Company: PROGRESS ENERGY FLORIDA INC. Docket No.: 090079-EI			e y	xpenses bear and th	chedule of opera by function for the e variance. For e stify the differen	e test year, the be each functional b	ype of data shown: X Projected Test Year Ended Prior Year Ended Historical Year Ended Witness: Morman	12/31/201 12/31/200 12/31/200	
Line	FERC Accounts: 901 - 906								
No. 1									
2			(Ir	Millions	- (Favorable)	/Unfavorable)		
3									
4							ariance		
5			2010		2010		rom		
6		Ben	chmark		Adjusted	Ber	nchmark		
7									
8	Customer Accounts	\$	57.5	\$	54.2	\$	(3.3)		
9									
10									
11	0						mount		
12	Summary of Variances					(Favorable	e)/Unfavorable	<u>'</u>	
13 14	Call Services Supervisi	on				\$	2.1		
15	Mobile Meter Reading	UII				4	(3.3)		
16	Customer Records & Co	ollectio	on Exnen	se			2.2		
17	Uncollectible Accounts		on Expon	•			(1.2)		
18	Information Technology						(3.2)		
19	<u>.</u>					\$	(3.3)		
20									
21									
22									
23							•		
24									
25									
26									
27									
28									
29									
30 31									
32									
33									
34									
35									
36									
37									
38									
39									
40									

Supporting Schedules: C-6, C-37, C-39

_	40		4	_
Page	1.3	Ωī	1	a

FLORIDA	A PUBLIC SERVICE COMMISSION Explanation:	Provide a schedule of operation and maintenance	Type of data shown:		
	y: PROGRESS ENERGY FLORIDA INC.	expenses by function for the test year, the benchmark year and the variance. For each functional benchmark variance, justify the difference.	X Projected Test Year Ended Prior Year Ended Historical Year Ended	1	2/31/2010 2/31/2009 2/31/2008
Docket N	No.: 090079-El	(\$ Millions)	Witness: Morman		
Line	FERC Accounts: 901 - 906				
No.					
1					• •
2	Call Services Supervision	- to Oall Oan to a Committee had been the horself	dd 0040 advected	\$	2.1
3		e in Call Services Supervision between the bench ervices Supervision expenses were reclassified fro			
4	* * * * * * * * * * * * * * * * * * * *	Federal Regulations. The remaining \$1.2M are se			
5	Progress Energy Carolina Call Center.		, , , , , , , , , , , , , , , , , , , ,		
6	<i>.</i>				
7					
8	Mobile Meter Pending			\$	(3.3)
9 10	Mobile Meter Reading The decrease in mobile meter reading	expenses is due to fully implementing Mobile Met	er Reading (MMR) This	۳	(5.5)
11		ential customer meters electronically through the u			
12		in company vehicles versus manually through han			
13	PEF has experienced significant saving	gs in meter reading due to reduced staff, training a	and equipment.		
14					
15					
16					
17	Customer Records & Collection Exp	ense		\$	2.2
18		connect and account transfer expenses due to cur	rent economic		
19	conditions.				
20					
21					
22	Uncollectible Accounts			\$	(1.2)
23		the economic downturn; however, 2010 budget co			
24	less than the benchmark because of p	ractices implemented by PEF to mitigate its expos	sure to charge-off's.		
25					
26					
27	Information Technology			\$	(3.2)
28		s Information Technology Department costs to the			
29		nnology Department restructured its organization t	o acnieve furtner cost		
30	savings.				
31					
32					
33					
34 35					
36					
37					
38					
39					
40					
~	ting Cahadulas, C.C. C. 27, C. 20		Recan Schedules:		

	PUBLIC SERVICE COMMISSION PROGRESS ENERGY FLORIDA INC.	Explan	nation:	expenses by	unction for the	ion and mainter test year, the back the functional b	enchmark	Type of data shown: X Projected Test Year Ended Prior Year Ended		2/31/2010 2/31/2009
	: 090079-EI			variance, justi	fy the differenc	e.		Historical Year Ended Witness: Morman	1	2/31/2008
Line	FERC Accounts: 907 - 910									
No.										
1										
2			(II	n Millions - (I	avorable)/U	nfavorable)				
3										
4			040		040		iance			
5			010		010		rom			
6		Benc	hmark	(Ad	usted	Bend	hmark			
7	Customer Service	•	4.0	•	0.4		(4.6)			
8	and Information	\$	4.0	\$	2.4	\$	(1.6)			
9										
10						Ā				
11							nount	.1.		
12	Summary of Variances				-	(Favorable)	/Untavora	DIE		
13			•				(0.0)			
14	Customer Svc & Information S	Supervis	ion			\$	(0.9)			
15	Customer Assistance						(0.6)			
16						\$	(1.6)			
17										
18										
19										
20		_								40.01
21	Customer Service & Informati			-		ED0 004 1		1 C	\$	(0.9)
22	Call Services Supervision charg	es were r	reclass	ified from FE	RC 907 to F	ERC 901 ba	sed on inte	rpretation of the Code of		
23	Federal Regulations.									
24										
25										
26										
27	.								•	(0.0)
28	Customer Assistance Expens			anaulalla a las	.tmatla.na.a.r	analatanaa ta		the object of which is to	\$	(0.6)
29	This account includes the exper encourage safe, efficient, and e									
30	(Commercial, Industrial, & Gove									
31	in the FERC charging by the Ex					, , , ,		•		
32 33	• • • • • • • • • • • • • • • • • • • •									
33 34										
3 4 35										
36										
37										
38										
39										
40										
70										

Page	15	οf	1	١

	A PUBLIC SERVICE COMMISSION Y: PROGRESS ENERGY FLORIDA INC.	Explar	nation:	expenses by t	unction for the variance. For e	ation and mainte e test year, the le each functional ce.	benchmark	pe of data shown: X Projected Test Year Ended Prior Year Ended Historical Year Ended	12/3	1/2010 1/2009 1/2008
Docket N	lo. 090079-EI			variation, justi	iy tilo dilibion	.		Witness: Morman	12.0	112000
Line No.	FERC Accounts: 912.00 - 916.00									
1 2			(4	In Millions - (Favorable)/	'Unfavorable)			
3										
4							riance			
5			010		010		rom			
6		Beno	hmark	K Adj	usted	Ben	nchmark			
7	Outra Ermana		27		4.7	•	(4.0)			
8 9	Sales Expense	\$	2.7	\$	1.7	\$	(1.0)			
10										
11							mount			
12	Summary of Variances					(ravorable	e)/Unfavorable	_		
13 14	Economic Development					\$	(0.8)			
15	Sales Expense					Ψ	(0.2)			
16	cales Expense					\$	(1.0)			
17										
18										
19										
20										
21										
22										
23	Demonstration & Selling								\$	(0.8)
24	Decrease in demonstration & selli	ng expen	ises du	e to restruct	uring of the	CRM (Comm	nunity Relations	Manager) groups.		
25										
26										
27	Missellaneous Colos Evnense								•	(0.2)
28 29	Miscellaneous Sales Expense Micellaneous sales expenses are	continua	lly ravia	wed to man	ana avnans	es and use t	he most efficien	t channel to	Ψ	(0.2)
30	communicate with current and pro				ago expens	co ana asc t	ne most omolon	Condition to	•	
31										
32										
33										
34										
35										
36										
37										
38										
39										
40										

Page	16	of	1	٤

	DA PUBLIC SERVICE COMMISSION	Explanation:	ех	cpenses by		e test year, t	the benchmark	Type of data shown: X Projected Test Year Ended 12/31/201
	ny: PROGRESS ENERGY FLORIDA INC. No. 090079-EI				variance. For tify the differen		nal benchmark	Prior Year Ended 12/31/200 Historical Year Ended 12/31/200 Witness: Wyckoff, DesChamps,
								Toomey
Line No.	FERC Accounts: 920-935	,		•			· · · · · · · · · · · · · · · · · · ·	
1								
2			(In M	illions - /E	avorable)/Uni	avorable 1		
3 4			(III IVII	mioris - (r	avorablejrom	avorable)		
5						V	ariance	
6		2010			2010		From	
7		Benchma	rk	Ac	ljusted	Ве	nchmark	
8								
9	Administrative & General	¢ 22	2.8	\$	286.8	\$	64.0	
10 11	Administrative & General	\$ 22	2.0	-	200.0	Ψ	04.0	
12								
13								
14	Background:							
15	Overall the A&G variance is \$64.0M	unfavorable pri	marily	related to	test year bud	get varianc	es. A&G expe	nses consist of the following:
16	Corporate benefit costs, human resc	surces: financial						
. •								
17	regulatory affairs; insurance and info							
17 18								
17 18 19	regulatory affairs; insurance and info							
17 18 19 20	regulatory affairs; insurance and info							
17 18 19 20 21	regulatory affairs; insurance and info summarized below:					Significan	t drivers of the	unfavorable variances are
17 18 19 20 21 22	regulatory affairs; insurance and info summarized below: Summary of Variances:					Significan (Favorabl	t drivers of the	unfavorable variances are
17 18 19 20 21 22 23	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense					Significan	t drivers of the e) / Unfavorab 49.3	unfavorable variances are
17 18 19 20 21 22 23 24	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs					Significan (Favorabl	t drivers of the e) / Unfavorate 49.3 9.9	unfavorable variances are
17 18 19 20 21 22 23 24 25	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation	ormation techno	logy ar	nd telecom	nmunications.	Significan (Favorabl	t drivers of the e) / Unfavorab 49.3	unfavorable variances are
17 18 19 20 21 22 23 24	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs	ormation techno	dogy ar	nd telecom	nmunications.	Significan (Favorabl	e) / Unfavorat 49.3 9.9 8.2	unfavorable variances are
17 18 19 20 21 22 23 24 25 26	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation	ormation techno	dogy ar	nd telecom	nmunications.	Significan (Favorabl	e) / Unfavorat 49.3 9.9 8.2	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a	ormation techno	dogy ar	nd telecom	nmunications.	(Favorabl	e) / Unfavorate 49.3 9.9 8.2 67.5 9.2 (12.6)	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27 28 29 30	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a	ormation techno	dogy ar	nd telecom	nmunications.	Significan (Favorabl	e) / Unfavorab 49.3 9.9 8.2 67.5	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27 28 29 30 31	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a Storm Reserve Other A&G	ormation techno	dogy ar	nd telecom	nmunications.	(Favorabl	e) / Unfavorate 49.3 9.9 8.2 67.5 9.2 (12.6)	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a Storm Reserve Other A&G	ormation techno	dogy ar	nd telecom	nmunications.	(Favorabl	e) / Unfavorate 49.3 9.9 8.2 67.5 9.2 (12.6)	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a Storm Reserve Other A&G	ormation techno	dogy ar	nd telecom	nmunications.	(Favorabl	e) / Unfavorate 49.3 9.9 8.2 67.5 9.2 (12.6)	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a Storm Reserve Other A&G	ormation techno	dogy ar	nd telecom	nmunications.	(Favorabl	e) / Unfavorate 49.3 9.9 8.2 67.5 9.2 (12.6)	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a Storm Reserve Other A&G	ormation techno	dogy ar	nd telecom	nmunications.	(Favorabl	e) / Unfavorate 49.3 9.9 8.2 67.5 9.2 (12.6)	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a Storm Reserve Other A&G	ormation techno	dogy ar	nd telecom	nmunications.	(Favorabl	e) / Unfavorate 49.3 9.9 8.2 67.5 9.2 (12.6)	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a Storm Reserve Other A&G	ormation techno	logy ar	nd telecom	nmunications.	(Favorabl	e) / Unfavorate 49.3 9.9 8.2 67.5 9.2 (12.6)	unfavorable variances are
17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37	regulatory affairs; insurance and info summarized below: Summary of Variances: Pension Expense Employee Benefit Costs Long Term Compensation Subtotal Pension, Benefits a Storm Reserve Other A&G	ormation techno	logy ar	nd telecom	nmunications.	(Favorabl	e) / Unfavorate 49.3 9.9 8.2 67.5 9.2 (12.6)	unfavorable variances are

Supporting Schedules:

Type of data shown: FLORIDA PUBLIC SERVICE COMMISSION Explanation: Provide a schedule of operation and maintenance expenses by function for the test year, the benchmark X Projected Test Year Ended 12/31/2010 12/31/2009 Company: PROGRESS ENERGY FLORIDA INC. year and the variance. For each functional benchmark Prior Year Ended variance, justify the difference. Historical Year Ended 12/31/2008 Docket No. 090079-EI Witness: Wyckoff, DesChamps, Toomey (\$ Millions) Line FERC Accounts: 920-935 No. 49.3 1 Pension Expense/(Credit) The accounting for pension costs is performed using the guidelines as established in FAS No. 87, "Employer's Accounting for Pensions". 2 The Commission approved the use of FAS 87 for ratemaking purposes in Docket No. 910890-EI, Order No. PSC-92-1197-FLF-EI, dated 3 10/22/02. The test year budget was prepared using the results from an actuarial study prepared by a third party in accordance with FAS 87. 4 5 6 The test year (2010) pension expense is \$42.8M compared to a benchmark credit of \$6.5M. The pension expense reflects the fact that the expected return on plan assets did not exceed the service cost and other applicable components of pension expense. The volatility in the 7 stock market significantly impacts the investment return of the plan assets and can cause the amount of the pension expense or credit to 8 vary significantly from year to year. The current economic downturn has negatively impacted the investment returns of pension plans in 9 general including the Company's pension plan. The impact of the stock market and other FAS 87 expense determination factors make 10 comparison to a benchmark based on CPI and consumer growth inappropriate. 11 12 13 14 **Employee Benefit Costs** \$ 9.9 The Progress Energy employee benefits program is designed to be competitive and align with the Company's strategy, facilitate the 15 attraction and retention of a skilled workforce, and provide high-quality, affordable benefits to both employees and the Company. 16 17 Factors impacting benefits costs include, but are not limited to, plan design, employee participation, utilization of the benefits being offered, 18 changes in actuarial assumptions, and dynamic market conditions impacted by macro economic factors such as high medical cost inflation. 19 Due to the independent nature of these variables, a universal benchmark based upon CPI and customer growth will not properly predict 20 benefit cost changes. The actual and projected inflation rate for health benefit costs is higher than the benchmark of approximately 14.66% 21 for 2007 through 2010. In addition, the actual benefit costs, to which the 14.66% benchmark was applied, were lower than normal because 22 the benefit plans had fewer participants due to the Company's Voluntary Employee Retirement Program (VERP) of 2005. Under this 23 program, more than 700 Florida employees retired leaving vacancies for the Company to fill throughout 2006 and 2007. 24 25 26 27 8.2 **Long Term Compensation** Long Term Compensation interests of customers, shareholders, employees and management. The plans reward operational performance 28 results that are consistent with reliable and efficient electric service, and they are designed to attract and retain an experienced and capable 29 management team. The Board of Directors, through its Organization and Compensations Committee, establishes the Company's executive 30 compensation philosophy, approves all plan designs and files the proxy disclosures. The Committee engages an external consultant to 31 provide advice on current long-term compensation trends, perform benchmarking and market analysis, review current plan designs and 32 recommend changes as appropriate. 33 34 A variance of \$8.1 million exists between the 2010 benchmark of \$8.7 million and the 2010 budget of \$16.8 million. Of this, approximately 35 \$2 million of the variance is caused by an understatement of 2006 baseline expense due to a lower than expected payout of Performance 36 Share Sub-Plan. The remaining \$6.1 million is driven by an increase in plan participants and plan design changes made to increase the 37 competitiveness of the long-term compensation plans. 38 39 40

Supporting Schedules:

FLOR	ida publi	C SERVICE COMMISSION		Explanation:	Provide hedging expenses and plant ba		Type of data shown:	
Company: PROGRESS ENERGY FLORIDA INC. Docket No. 090079-El					the test year and the preceding three ye and/or maintaining a non-speculative fin program designed to mitigate fuel and p for the utility's retail ratepayers, exclusiv 3, Page 5 of Order No. PSC-02-1484-F0 plant recovered through base rates sepaplant recovered through the fuel clause.	ancial and/or physical hedging urchased power price volatility to of the costs referenced in Paragraph DF-EI. Show hedging expenses and arate from hedging expenses and	 X Projected Test Year Ended X Prior Year Ended X Historical Test Year Ended Witness: Toomey 	12/31/2010 12/31/2009 12/31/2008
			(A)	(B)	(C) (D)	(E) (F)	(G) (H)	
Line	Account		200		2008	2009	2010	
No.	No.	Account Title	Base Rates	Clause	Base Rates Clause	Base Rates Clause	Base Rates Clause	
1		EXPENSES:						
3		Hedging Expense						
4		riedging Expense						
5	547	CT Fuel NP	\$71,280		\$80,491	\$81,853	\$84,718	
6		Fossil Steam Fuel	15,859		17,909	18,212	18,849	
7	920	Salaries & Wages	120,804		124,487	127,937	132,415	
8		·				·	,	
9								
10		Total Hedging Expense	\$207,944		\$222,886	\$228,002	\$235,982	_
11					-			
12								
13		ANNUAL PLANT IN SERVICE:						
14 15		Hedging Related Capital Investment						
16			A1/A					
17			N/A					
18 19								
20								
21								
22		Total Hedging Investment						_
23					=			_
24								
25 26								
20								

Explanation: Provide a schedule of security expenses and security plant by

primary account and totals for the test year and the preceding three years. Show the security expenses recovered through base rates

FLORIDA PUBLIC SERVICE COMMISSION

Company: PROGRESS ENERGY FLORIDA INC.

XX Projected Test Year Ended 12/31/2010

Type of data shown:

Doc	Docket No. 090079-El			clauses. Sho	security expen w the plant bala nces supporting	nces support	ing base rates s			Prior Year Ended Historical Test Year Ended	12/31/2009 1 12/31/2008	
				(Thousands)			,		Witness: Toomey / Sorrick / Young			
			(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)		
Line	Account	·	200		200		200		20			
No.	No.	Account Title	Base Rates	Clauses	Base Rates	Clauses	Base Rates	Clauses	Base Rates	Clauses		
		EVERNOES										
		EXPENSES										
;	•	Expense	6446		ተባባ		\$105		\$106			
	408	Taxes Other	\$116		\$98 700		\$105		\$100			
	500	Fossil Ops Supervision & Engineering	600	64 €07	782	¢ 0 000	950	60.040	1 046			
	506	Fossil Misc Steam Power Expense	680	\$1,527	269	\$2,880	850 0	\$2,340	1,946 0			
	520	Nuclear Steam Expense	10,148	1,071	(0) 10,321	2,386	8,181	3,707	12,177			
1 1		Nuclear Misc Power Expense Nuclear Maint of Structures	10,148	1,071	10,321	2,300	650	3,707	669			
87			0		100		030		009			
10		Nuclear Maint of Reactive Plant Equip	10		8		U		U			
1		Nuclear Maint of Electric Plant Equip CT Misc Power Expense	4	23	0	589	0	302	935			
1: 1:		A&G Salaries and Wages	562	25	492	303	0	302	0			
14		A&G Office Supplies	174		146		150		150			
1:		A&G Outside Services	161		471		808		808			
10		A&G Property Insurance	0		0		0		0			
1		A&G Employee Pensions & Benefits	421		335		350		371			
18		A&G Rents	0		0		0		0			
19		A&G Maintenance	0		0		0		0			
2		Total Security Expense	12,279	2,620	\$13,034	\$5,855	\$11,095	\$6,349	\$17,163	\$0		
2		rotal occurry Expense	12,270	2,020	4.0,00	40,000	\$71,000	(Note 1)				
2		ANNUAL PLANT IN SERVICE						(14016-1)				
2:		Capital Investment										
2	-	· · · · · · · · · · · · · · · · · · ·	\$0	\$ 333	\$0	\$ 504	\$0		\$0			
2		Steam Production	1,280	ΨΟΟΟ	1,193	Ψ 504	1,107		1,021			
2		Other Production	1,947		1,808		1,670		1,532			
2		Nuclear	12,603		12,124		11,645		11,167			
2		Transmission	1,655		1,611		1,567		1,523			
2		Distribution	3,265		3,159		3,052		2,945			
3		General Plant	4,016		3,873		3,731		3,589			
3		Total Security Capital Investment	\$24,765	\$0	\$23,769	\$0	\$22,773	\$0	\$21,777	\$0		
3		,,			, ,							
		lause recoverable security in 2009 is slightly low	er than the amount	orojected in th	ne 2009 Canaci	ly Clause filin	a from 10/15/08	due to undat	ing the hudget	with more current estimate	ie.	

00	115	, D.I.	11 1		
SC	пь	וטו	JLI	Ξι.	,-44

REVENUE EXPANSION FACTOR

Page 1 of 2

FLORIDA PUBLIC SERVICE COMI	MISSION Explanation:	Provide the calculation of the revenue expansion factor for the test year	Туре с	of data shown:	
Company: PROGRESS ENERGY F Docket No. 090079-EI	FLORIDA	tor the test year		X Projected Test Year EndedPrior Year EndedHistorical Year EndedWitness: Toomey	12/31/2010 12/31/2009 12/31/2008
Line No.		Description	(A) Percent		
1 2 2	Revenue Requi	rement	100.000%		
3 4 5	Less: Gross Receipts	Tax Rate	0.000%		
6	Regulatory Ass		0.072%		
8 9 10	Uncollectible Ad		<u>0.284%</u> 99.644%		
11 12	State Income T		5.500%		
13 14 15	State Income T	ax	5.480%		
16 17	Net Before Fed	eral Income Tax	94.164%		
18 19	Federal Income		35.000%		
20 21 22	Federal Income		32.957%		
22 23 24	Revenue Expar Net Operating I	ncome Multiplier	61.207% 163.381%		
25 26	·	·			
	Gross receipts taxes are not inc	luded in Base rates in this filing.			

Supporting Schedules:

FLORIDA PUBLIC SERVICE COMM	IISSION Explanation:	Provide the calculation of the revenue expansion	actor Type of o	data shown:	
Company: PROGRESS ENERGY FL Docket No. 090079-EI	LORIDA	for the test year		Projected Test Year Ended X Prior Year Ended Historical Year Ended Witness: Toomey	12/31/2010 12/31/2009 12/31/2008
Line No.	-	Description	(A) Percent		
1 2	Revenue Requi	rement	100.000%		· · · · · · · · · · · · · · · · · · ·
3	Less:				
4 5	Gross Receipts	Tax Rate	0.000%		
6	Regulatory Ass	essment Rate	0.072%		
7	41 11 211 4		0.07004		
8 9	Uncollectible Ad	ccounts	0.276%		
10	Net Before Inco	me Taxes	99.652%		
11 12	State Income Ta	ax Rate	5.500%		
13 14	State Income Ta		5.481%		
15	otate moone n	un.	0.40170		
16 17	Net Before Fed	eral Income Tax	94.171%		
18	Federal Income	Tax Rate	35.000%		
19 20	Federal Income	Tax	32.960%		
21 22	Revenue Expar	nsion Factor	61.211%		
23					
24	Net Operating In	ncome Multiplier	<u>163.368%</u>		
25 26					
27 Note: G	Gross receipts taxes are not incl	uded in Base rates in this filing.			

Supporting Schedules: